Standard Frame Series




Aluminum Component Ser ies

For small covering and fixing sensor, etc
2 Groove Width 6mm Nut Below M5

SF
@
Q
=]
Q.
Y
=
o
m
=
Q
3
(]

Frame

SF-20-20 P24 SF-20-40 P24 SF-20-60 P25 SF-20-80 P25

SF-40-40-2S p25 SF-40-60-SS P25 SF-40-80-SS P25

Ly

SF-25-25 r26 SF-20-20-1F r26

SF-20-20-2H p27

SF-40-402S1F P28  SF-40-402S2F  p28  SF-20-40-40 r28

SF-20-DE45 P29 SF-20-DE30 p29 SF-20-DE6O p29

Nut (for 20 Series)

T Nut SS P30 EasyNutSS p30 AtterNut SS P31 LockNutSS  p31 S FreeNutSs p31
Anti-Skid Cap SS After Nut Support SS

/

Joint Bar $5120 P31 TNut SS Material P31
After Nut SS Material

10



Bracket (for 20 Series)

4 £

= -l -
D Bracket SS  Electroless nickel P32 D Bracket Spacer SS P32 D Bracket 2040 Electroless nickel P32

P3

(3%

Hard Bracket P34  Hard Bracket P34 Hard Bracket P34
SS2040 SSG2040 SSW2040

=

Angle Bracket SS P36  Angle Bracket P36
Hard SS

T
i
Q
o
QO
(9}
P
D
a

Hard Bracket SS P33  Hard Bracket SSG P33

)]
<
hg
N
o

[ %]

(3)]

5
3
o
8
=%
23

Hard Bracket P33  Hard Bracket P35
SS2060 SSG2060

)]
%)
N
o
(o]
o

oy

Angle Bracket P36  Angle Bracket P36 P37  SBindBracketSS P38  Block Bracket P38
SS2040 SS2060 SS Kit

e

Corner Block P38
SS Kit

\

Q
o
[
<}
2
[9)]
)]

F

g
L +

Tapping Bolt SS P39  Torque Bit T25 p39  Torque Driver P39  Plate Bracket P40

T25

Hard Bracket P41  HardBracket P41 HardBracket P41 HardBracket P41 TussJdointSS P41  Turn Bracket20 P42
SS-DE135 SS-DE45 SS2040-DE135 SS2040-DE45 Truss Cap SS

.

E=

J

_..-:_,.-l

Parts (for 20 Series)

- - a7
2 - >

Adjuster Kit P43 FootBase P44  Caster Plate SS P44  Frame Cap P45  Hard Bracket Cap P45  Slot Cap SS r46

Slot Seal SS P46 CoverHolderSS p47  Cable ClampSS P48  SlotRollerSS P48
Cover Support SS Slot Hook SS

11

SF
(]
—
Q
=]
Q
Y
=
Q
m
=
o
3
(]




SF
(7))
-
Q
=]
Q.
Y
=
o
o
=
Y
=
(]

12

Series

Aluminum Component

Frame

For medium cover or conveyer frame
30 Groove Width 8mm Nut Below M6

SF2-30-30 p50 SF2-30-60 pH0 SF-K-30-30 r51

SF-60-602S P52 SF-60-90 P52

SF2-30-30-2F P53 SF2-30-30-3F P53 SF2-30-30-2H P53

SF-60-60-2S-1F  pH4 SF-60-60-2S-2F P54

SF-30-DE30 r56 SF-50-50-2S pS7

SF-50-50-25-2F  pB7 SF-35-35-1F P58

SF-35:70 r59 SF-35-70-1F P59 SF-35-70-2F P59

SF-30-90 ro1

SF2-30-60-2H r54

SF-30-DE45 P56

el

SF-50-50-25-1F  pB7

3

SF-3535-2H P58




SF
()
-
Q
=
Q.
o
=
[N
m
=
Y
3
(]

Nut (for 30 Series)

V2 4 - €O

TNutS P60 Easy Nut SS r60 After Nut S r61 Lock Nut S S Free Nut S r61
Anti Sliding Cap S After Nut Support S Plastic Nut S

—

Joint Bar S140 r62 TNut S Material P62 Free Nut with Headless Bot S P62 Double Round Nut P62 S Double Joint 30 P62
After Nut S Material Free Stud S S30
Free Nut Stopper S

Bracket (for 30 Series)

D Bracket S Electroless Nickel P63  DBracketSpacrS P63 ~ DBracket3060 P63  DBracketS3060 P63
e ———

Hard Bracket S r64 Hard Bracket SG P64 Hard Bracket P64 Hard Bracket S3060 P65 Hard Bracket SG3060 P69
SW3030

Hard Bracket P65 Hard Bracket Hard Bracket P66 Hard Bracket P66 Hard Bracket P66

SW3060 S3090 SG3090 SW3090 S50
- -

Hard Bracket r66 Angle Bracket S r67 Angle Bracket P67 Angle Bracket S3060 P67

T
)

Ik
(%]

SG50

Angle Bracket P68  Angle Bracket r68 QC Joint S r69 TG Joint Kit 30 r70 S Double JointKit30 P70
S50 S3090 Wrench Hole Cap

13



SF
(7))
v
Q
3
Q.
Y
=
o
o
=
Y
3
(]

14

Series

Aluminum Component

For medium cover or conveyer frame
3 Groove Width 8mm Nut Below M6

S Blind BracketS  p71 Block Bracket S Kit P71 Corner Block SKit P71 RBracketSKit  p71

Tapping Bolt S P72 Torque Bit T40 P72 Torque Driver T40 P72 Plate Bracket S r73 L Bracket S(Stainless) P74

Hard Bracket Hard Bracket p74  Hard Bracket Hard Bracket p7/4 TussJointS P79  Tum Bracket30A P79
S'‘DE135 S'DE45 S3060-DE135 S3060-DE45 Truss Cap S Turn Bracket 30B

Bend Bracket S r76

Parts (for 30 Series)

> o

Adjuster Kit p77 Foot Base p78 Anchor Bracket p79 Anchor Plate 60602S P79 Caster Plate S r79

Anchor Plate Bracket
amr,
-

L\

> e A
Frame Cap P80 Frame Cap p81 DBracketCapS P81 Slot Cap S r81 Slot Seal S P81
Lock Type Hard Bracket Cap

(|
CoverHolderS P82 Cable Clamp S p82 Slot Hook S p82 Slider S r83 Slot Roller S r83

Cover Support S



For rack frame or large covering
o Groove Width 10mm Nut Below M8
Auminum Component ser ies

Frame

SF
(7))
-
(Y
=}
o
o
=
o
m
=
o
3
()

SF-K-40-80 P87 SF-80-80 p87 SF-80-80-H r87

SF2-40-40 P86  SF2-40-80 r86

SF-40160 P88 SF-80-160 p88 SF-60-60-1S P88 SF-80.80-1s P88

.‘-'-"'f

SF2-40-40-3F P89  SF2-40-402H p89  SF2-40-80-1F P89 SF-40-80-80 P90

SF2-45-45 P92 SF2-45-90 P92  SF-K4545 P93  SF-K-45-90 P93

SF-40-DE30 P91

T

4

SF-90-90-H P93  SF2-45451F p94

SF2-45-45-3F P94  SF2-45452H p94

SF-K45451F  pO5  SFK45452F  p9H  SF2-45-90-1F P95

SF-45180 P96  SF-90-180 P96

SF-4590-90 P96 SF-45DE45 P97  SF-45DE30 P97  SF-45-DE60 P97

15



SF
(7))
P
Q
3
o
Y
=
o
o
=
Y
3
(1]

16

For rack frame or large covering
Groove Width 10mm Nut Below M8
Alminum Component series

Nut (for 40-45 Series)
TNutL P98 Anti-SkidCapl  p98 Easy NutL P98 After Nut L P99 Lock NutL P99 SFreeNutL p100

After Nut Support L

Joint BarL200  pQQ T Nut L Material p99 Free Nut with Headless Boit L Free Stud L p100 Double Round Lock P100 S Double Joint 100
After Nut L Material Free Nut Stopper L Nut L40/L45 40/45

Bracket (for 40-45 Series)

D Bracket L Electroless nickel P10 D Bracket Spacer L p107 D Bracket 4080/4590 Etectrotess nickel P101 Hard Bracket L p102 Hard Bracket LG p102

Hard Bracket LW p102 Hard Bracket p103 Hard Bracket P103 Hard Bracket P103 Hard Bracket p104 Hard Bracket pP104
L4080 G80 G80160 LW4080 GW80

Hard Bracket ~ p105 Hard Bracket P105 Hard Bracket p105 Hard Bracket P106 Hard Bracket p106 Angle Bracket p107
L4590 G90 G90180 LW4590 GW90 L40

Angle Bracket P107 Angle Bracket p107 Angle Bracket P108 Angle Bracket pP108 Angle Bracket P108 L BracketL r109
Hard L40 L4080 L45 Hard L45 L4590

Hard Bracket P109 Hard Bracket p109 Hard Bracket p110 Truss Joint L40/45 p110
L-DE135/45 L4080-DE135/45 L4590-DE135/45 Truss Cap L

Turn Bracket P111 BendBracketl40 pP112 QC JointL p113 TGJointkit 114 SDouble JointKit P114 S Blind BracketL p115
40/45A-B Wrench Hole Cap



RBracket L40Kit pP115 Tapping Bolt L40 P116 Torque Bit T40 P116 Torque Driver T40 P116  piate p117~118
R Bracket L45 Kit Bracket L

=

Adjuster kit~ p119 CasterPlate L. p112 Foot Base p120 AnchorBracket P121 AnchorPlate  p121 Frame Cap P122
Anchor Plate Bracket

S -

Parts (for 40-45 Series)

e

-~

N

Frame Cap p123 D Bracket Cap L p123 SlotCap L P124 Siot Seal L p124 CableClampL P125 SiotHookL  p125
Lock Type 4040/4545  Hard Bracket Cap

Cover Holder L p125 Slider L p126 Slot Roller r126
Cover Support L6 L40/L45

/ l,’ample}( Parts

Flat Bar p128 Angle p129 Channel p130 Panel Guard p130 square P131 Panel Guard T3 P131

UF p132 SFLight15-15 p133 SFLight30-30 p133 SFLight45-45 p133 Adjuster-Foot-Caster r134~136
Castter Plate as Single Item

Caster Pad P139 DuctCover P137~138 Duct Clip kit r138

17

SF
2
[Y
=}
[=}
Y
=
o
m
=
Y
3
()




SF
(]
—
[
3
Q.
[
=
[=3
m
=
o
3
(]

18

s F Convenient items for hinged door, sliding door or fixed panel, etc
Aluminum Component ”aor l a”el

i

Fixed Hinge P140  Slip-Joint Hinge P141  Free Hinge P142~143  Door Lock p144  pul p145  VegetCacn p146~148
Electroless Nickel/Acrylic Paint Free Size Free Hinge NU

>=1=

Magnet Catch G P149  MagnetCatch P150~152  Magnet CatchG P153  Sattylnstument P154~164
with Limit Switch with Limit Switch

AL

Panel Fix p172~173 Seal Cover p172~173  Panel Frame SS p174 Siiding Door Rall p176~177 Siding Door Rall p176~177

Panel Fix Rubber (Resin) 2 Rows'3 Rows{Aluminum)

e

Slding Door Frame p178  Rail GuideKit  P178  Folding DoorSider P179  MagtCathiorotdighor PT80  MapetCathuitnLintSvich pT180

Ball Catch p170

Panel Joint Kit Sliding Door Wheel forFoldng Door
Wooden Board r182 Resin Panel r182 Anti-Static-Parttion Sheet  P183 Steel Plate Panel  p183
Plate to fix Sheet

s F To support customers to design and assemble
-~
e/ lechmecal Data

DATA

|& - /,/"’/

Standard Unit Type: p187~191 Aluminum Material Data P192~
Example of Free unit

Howtouse Nut  p197 How to use Bracket p198

Q&A
>
How to install P204~205 Auminum Frame Q& A p206 Frame Processing Chat p208
Resin Panel



l_

Standard
- Frame

SF is best suited for machine table or clean booth,
and is very effective as components with the
flexibility and recyclability. Also, the price setting
is reasonable, with overturning the existing idea
which says*Aluminum component is expensive” .
(SF corresponds to design support service and
assembly shipment.)

19



SF
@
Q
=]
Q
Y
=
Qo
Ly
=
Y
3
(]

Standard Frame

Total support from CAD design, arrangement to assembly shipment

To construct the aluminum component system, SUS is conducting

“Assembly Shipment” and “Free Unit Quotation Service” which
we draw up cubic diagram and parts table to estimate the cost
based on customer's sketch drawing. Please utilize these services
to reduce total cost and to shorten the working hours.

Responds to resin and steel plate panel or assembly shipment

SUS processes various panels for covers or doors in production
line, and assembles when delivery.

Realized further price down

SUS realized the lower price than ever for SF series by reducing
distribution costs and producing in our own factory. Thus, the
price is more reasonable and you can decide to introduce
equipment more easily.

New service started to enable local buying in overseas

In view of high reputation in Japan, SUS is spreading to overseas.
It's making a good progress to expand into Asian countries which
developed countries' are impressively advancing in. We are
organizing the system to enable purchasing component directly at
your locations, establishing the bases across Asia.

From Aluminum Frame & Resin Panel to Assemble Shipment

Flexible Response and Quick Delivery

Degree of freedom to design is increased because frame is cut by
0.1mm unit from 50mm to 4000mm (some of them can be cut to
6000mm as special order). Also, parts standardization and
self-manufacture enabled quick delivery.

Excellent Recyclability

Aluminum frames in SF series are combined by bolt and nut, so
it's easy to disassemble and they can be reused. Also, in case you
dispose, they can be recycled as resources.

SUS takes back the aluminum products in SF catalog as part of
the recycling activities. We will reduce the amount of money for
the next purchase, according to the weight of the received
aluminum products.

High-Stiffness and Beautiful Frame

At joint part, binding strength is highly ensured by using exclusive
nuts. Aluminum surface is finished by alumite treatment (more than
9 um thickness) and it will maintain the glaze for a long time.

20



SF
@
8
=}
2
o
8
=1
n
u
o
3
®

Applications

Auto Loader

1 | Auto Loader

Coating Machine

21



22



STANDARD FRAME

SF20

SERIES

23



6

SF20 series 1 =

SF
[
=+
O
3
o
Q
=
o
i
=
Q
3
(]

SF-20-20

&

20
8 _4
JTL
N
B M
]

SF-20-20 ( £=4000) SF-20-20 £=50~-4000

Item No. SFF-202-T SFF-204-T

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment ---- RoHS Compliant
Green Procurement

Geometrical Ix=0.74 X 10%mm*

moment of inertia  |y=0 74 x 104mm*

Section Modulus - Zx=0.74 X 10°m®
Zy=0.74 X103

Unit Mass 0.49kg/m

SF-20-40

20
12
6
[\
Y
4R/ o
= -
ol —- () N V.
A
7 2-¢04.2
x | S
7N 2
i 4-R1
SF-20-40 ( £=4000) SF-20-40 £=50~4000 —
Item No. SFF-242-T SFF-244-T
MMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant
Green Procurement
Geometrical Ix=5.12X10%m*
moment of inertia  |y=1 36 x 104mm¢
Section Modulus - Zx=2.56 X 10%mm*
Zy=1.36%x10%m®
Unit Mass 0.88kg/m
SF Frame o
@ Standard ( 2=4000) (Cut by customer) In case of specifying the length (Cut by SUS) 3Order by 0.tmm unit
24 ltem No. 2 =4030-Effective range of use £ =4000 Quantity (pcs) Item No. Length (mm)

Exanplofordr SFF-202-T ] SFF-204-T 2=800



This sign shows the product is designed
for Asia region only

SF
2
-
[
3
Q
Y
=
Q
T
=
o
3
(]

SF-20-60 / SF-20-80

BMMaterial/Technical Data

Material Aluminium Alloy 20
Alumite Treatment 20 12

Environment - RoHS Compliant 12 Y| 6,
Y

Green Procurement
SF-20-60 SF-20-80
Geometrical Ix=15.97X10‘m* [x=36.13X 10‘m*
Moment of Inertia y=197X104m*  ly=258X 104m*
Section Modulus -- Zx=5.30X 10%m° Zx=9.03X 10%mn*
Zy=197X10%m° Zy=258X10%m*

AN\

4
Unit Mass 1.26ke/m  1.64ke/m X DOC

é

F
<o
10
8 4
7
b‘
<
&1 10

}

AR

x
20
80

20
Rt o7 o7 o

YA
20

D
SF-20-60 ( £=4000) SF-20-60 £=50~4000 E\ll =4
Item No. SFF-262-T SFF-264-T 4Rt =4
4-R1
SF-20-80 ( £=4000) SF-20-80 £=50~4000
SF-20-60 SF-20-80
Item No. SFF-282-T SFF-284-T
SF-40-40-2S
HMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment --- RoHS Compliant
Green Procurement 40
Geometrical Ix=8.89% 10°mm* 4-R1 12
Moment of Inertia |, —g 89  10¢mn N 6 Ay
Section Modulus - Zx=4.45 X 10°m° < 9K
Zy=445X10°m? ol 1
Unit Mass 1.29kg/m as L=\
2 & ¢ )
Ne. &
YT JA
SF-40-40-2S5 ( £=4000) SF-40-40-2S £=50~4000 ||z E\_/s
i 2
Item No. SFF-402W-T SFF-404W-T 0 4-94.2
@Long Length (up to 6000mm) is available by special order.
SF-40-60-SS / SF-40-80-SS
HMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment 40
Environment - RoHS Compliant 40 4-R1 124
Green Procurement 4-R1 12 6 m"Y [
SF-40:60+SS SF-40-80-SS o 6.1 Y o _7(+\ 1
Geometrical _ =2703X 10" h=B3E2XI0W¢ 75T - oo, »
Moment of Inertia =1263x 104m ly=1838x10m¢ |+ =~ Za J

E

20
[P
S
R
N

1.5
(4

w

[6)]

Section Modulus ~ Zx=3.01X10°m® Zx=15.88x10°m°
Zy=631X10°m® Zy=9.20X 10%m° 8
Unit Mass 1.80ke/m  2.70kg/m ° X

0
TN\
h

80
20
<

) '
© >:| :}r\mr
b b
iy 4 S

AL

6
20
RTINS

'\
SF-4060:88 ( £=4000) SF-40-60-5S 8=50~4000 S \S‘V‘f‘ 8 )
- L] Yo ol
Item No. SFF-462-T SFF-464-T 20 4042 |2 %—;U;ﬁ
SF-40-80-SS ( £=4000 SF-40-80-SS £=50~4000
( ) SF-40-60-SS SF-40-80-SS
Item No. SFF-4082-T SFF-4084-T
@Exclusive Nut T Nut SS @Exclusive Cap @Additional processing and surface treatment are also availabl.

After Nut SS Frame Cap
Lock Nut SS
Free Nut SS P45 P208~ 25

End Face Tapping ] Drilling e

P30~



SF
()
—
Q
=]
Q.
Q
=
o
o
=
Q
3
(]

2 0 SERIES E =

SF-25-25

EMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
Environment --- RoHS Compliant 25
Green Procurement 12
Geometrical IX=1.64X10%mm*

Moment of Inertia  y=1 54 % 104mm¢
Section Modulus-- Zx=1.31 X 10°mm?
Zy=1.31x10°mm?
Unit Mass 0.78kg/m

SF-25-25 ( 2=4000) SF-25-25 £=50~4000

Item No. SFF-252-T SFF-254-T

SF-20-20-1F

EMMaterial/Technical Data
Material Aluminium Alloy

Alumite Treatment
Environment - RoHS Compliant
Green Procurement

Geometrical 1x=0.83 X 10%mm*
Moment of Inertia |y —( 75 x 104mm¢ < % 20
Section Modulus-- Zx=0.78 X 10%m? L Y
Zy=075X10°m® < $4.2
Unit Mass 0.52kg/m 8 ol x CJ
—
‘-
SF-20-20-1F ( £=4000) SF-20-20-1F £=50~4000 2,144

Item No. SFF-E22-T SFF-E24-T

SF-20-20-2F

MMaterial/Technical Data
Material Aluminium Alloy

Alumite Treatment
Environment - RoHS Compliant
Green Procurement

. Geometrical 1x=0.81X10%mm* 7~,9 20
' Moment of Inertia =0 81 x 10¢mm* 7

Section Modulus-- Zx=0.79 X 10°mm* g
—| 13mm3
Zy=0.79103mn ;\
Unit Mass 0.53kg/m

20
12
6
x
P’
—

.20 - \00-2F =50~ 2,4 &
SF-20-20-2F ( 2=4000) SF-20-20-2F £=50~4000
Item No. SFF-F22-T SFF-F24-T
SF Frame
Standard ( & =4000) (Cut by customer) In case of specifying the length (Cut by SUS)Order by 0.1mm unit
26 Item No. £=4030-Effective range of use £ =4000  Quantity (pcs) ltem No. Length (mm)

SFF-252-T [JL] SFF-254-T ¢=800



£

This sign shows the product is designed
for Asia region only

SF
)
-
[
=}
o
Y
=
Q
o
=
Y
3
(]

SF-20-20-3F / SF-20-20-2H
BMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant
Green Procurement
SF-20-20-3F SF-20-20-2H 2
Geometrical  Ix=081x10'm* [x=074x10m* 6 20
Moment of Inertia ™ jy=0,89x 10m¢ Iy=089X 10m* ~ X 4-R1
Section Modulus- Zx=078X10%m* Zx=0.74X10%m* Y
Zy=089X 0°m® Zy=089X 10°m? h hJ -
Unit Mass 056ke/m  0.54kg/m l x o) [ S) < 0N
II')C&'I 1.5 $4.2 [—\
$4.2 4, 2
SF-20-20-3F ( £ =4000) SF-20-20-3F £=50~4000
Item No. SFF-FF22 SFF-FF24-T
SF-20-20-2H ( & =4000) SF-20-20-2H 2=50~4000
SF-20-20-3F SF-20-20-2H
Item No. SFF-FH22-T SFF-FH24-T

SF-20-20-R

EMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant
G P
. reen Procurement $33
Geometrical Ix=0.55X 10mm*

Moment of Inertia  |y=0 55 % 104mm*
Section Modulus--- Zx=0.48 X 10°mm®

Zy=0.48% 10°m? X
Unit Mass 0.40kg/m :
6
2-R1/ 12 \EL
10
SF-20-20-R ( 2 =4000) SF-20-20-R 2 =50~4000 20
Item No. SFF-R52 SFF-R54

SF-20-40-1F

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant 20
Green Procurement
Geometrical  Ix=5.40x10m* 12
Moment of Inertia "~ y=1 53 % 10%mm¢ 6 0042
Section Modulus- Zx=2.70 10%m? Y
Zy=1.44X10%mm3 '
o
Unit Mass 0.93kg/m '\l J -
o] > S
SF-20-40- 1F ( 2 =4000) SF-20-40-1F £ =50~4000 © N V
% o
Item No. SFF-E242-T SFF-E244-T ‘
4-R1

@Exclusive Nut T Nut SS

@Exclusive Cap @Additional processing and surface treatment are also avr:.lilable.

After Nut SS
Frame Cap
Lock Nut S
Free Nut SS P 27

End Face..Tapping DriIIiné

P30~



6

SF20seres 1 =

SF
()
-
[
=
o
[
=
[=X
o
=
Y
3
o

SF-40-40-2S-1F

BMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment 4-R1 4-942
Environment -~ RoHS Compliant 2,44 v
Green Procurement L |
Geometrical 1x=9.78 X 10%mm* = <: '
Moment of Inertia =g 30 x 104mm¢ 9£ © I -
Section Modulus - Zx=5.08 X 10°mm®
Zy=4.66 X 10%m° Qg x |
Unit Mass 1.41kg/m I |
o
SF-40-40-2S-1F ( 2=4000) SF-40-40-25-1F £=50~4000 of
10 | 20 10
Item No. SFF-E02W SFF-E04W 40
SF-40-40-25-2F
MMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment 4-R1 o 4 4-4.2
Environment - RoHS Compliant Y
Green Procurement
Geometrical 1x=9.60 X 10*mm* = I \!
Moment of Inertia  |y=g 50 x 104mm* ¥y—lo | - —
Section Modulus— Zx=4.89x 10°mm®
Zy=4.89 X 10°mm3 Q I

Unit Mass 1.35kg/m

10,
|
7

SF-40-40-25-2F ( 2=4000) SF-40-40-2S-2F £=50~4000 o
10 | 20 | 10
Item No. SFF-FO2W SFF-FO4W 40
SF-20-40-40
HMaterial/Technical Data
Material Aluminium Alloy 20
Alumite Treatment 12
Environment - RoHS Compliant 5-R1 6
Green Procurement ) Y
Geometrical Ix=6.61X10%mm*
Moment of Inertia  |y=g 51 x 104mm* SIIEEN
Section Modulus - Zx=3.82 X 10°mm® ) () 2-042
Zy=3.82x10%m? '[) )
Unit Mass 1.16ke/m ol o I )
< & X \\‘1/
o
k — C —
i 4
SF-20-40-40 ( £=4000) SF-20-40-40 £=50~4000 PN
10 20 10
Item No. SFF-G02 SFF-G04 0
SF Frame o
Standard ( 2=4000) (Cut by customer) In case of specifying the length (Cut by SUS) 3Order by 0.1mm unit
28 Item No. £ =4030-Effective range of use £ =4000  Quantity (pcs) Item No. Length (mm)

SFF-E02W L] SFF-E04W ¢=800



£

SF-20-DE45

HMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment -~ RoHS Compliant
Green Procurement

Geometrical Ix=0.82 X 10“mm*

Moment of Inertia |y =0 9o x 104mm¢
Zx=0.59%10°mm?
Zy=0.69%10°m?

0.59%g/m

Section Modulus

Unit Mass

SF-20-DE45 ( 2=4000)

SF-20-DE45 £=50~-4000

Item No.

SFF-J52B

SFF-J54B

SF-20-DE30

BMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

Geometrical Ix=0.80 X 10“mm*

Moment of Inertia™ |y =0 9g x 104mm¢
Zx=0.60%10°mm?
Zy=0.77X10°mm?

0.61kg/m

Section Modulus

Unit Mass

SF-20-DE30 ( £=4000)

SF-20-DE30 £=50~-4000

Item No.

SFF-J52A

SFF-J54A

SF-20-DE6O

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

Geometrical Ix=0.86 X 10“mm*

Moment of Inertia ™ |y =0 9o x 104mm¢
Zx=0.63 X 10°mm3
Zy=0.73 X 10%mm3

0.61kg/m

Section Modulus

Unit Mass

SF-20-DE60 ( £=4000)

SF-20-DE60 £=50~4000

Item No.

SFF-J52C

SFF-J54C

@Exclusive Nut T Nut SS
After Nut SS
Lock Nut SS
Free Nut SS
P30~

@Exclusive Cap

@Additional processing and surface_ treatment are also available.

Frame Cap
P45

17.07
Y
N2
¥ %

N )
SERIPA ~
—<

6 2-94.2
4-R1 T
10
20
15
<0
Y
lo
S
(9]

X ff Q
SEIPA @
—| <

N 6
A 2-¢4.2

12
10
20
©
©
Te]
4.2

} - B g
End Face Tapping §§ Drilling

SF
()
I~
o
>
o
Y
=
o
o
b~
(Y
3
o




6

SF20series ] =

TNutSS (M%) /Anti-Skid Cap SS

SF
(7))
-
(Y
=}
o
Y
=
o
m
=
Y
3
(]

T Nut SS (M3)

\‘\\\\ Z

Pl

N

Anti-Skid Cap SS

T Nut SS(M5) T Nut SS(M4) T Nut SS(M3) (for T Nut SS)
(ST Nut SS (M5) ) (ST Nut SS (M4) ) (ST Nut SS (M3) ) 126
Item No. SFB-013(SFN-TX5) SFB-012(SFNTX4) SFB-011(SFN-TX3) 102 i
Anti-Skid Cap SS
(50pcs/pack) —- = 2
Item No. SFA-905 .
0.9
F——————=F—Y |1
C———= |

HWUsable Frame

Compatible to all SF20 series ~ MMaterial/Technical Data

(Groove Width 6mm) T Nut SS ST Nut SS Antj-Skid Cap SS
Material  Equivalent Stainless Black Polyamide
t0 S10C With conductive
Uni-Chrome function
Weight 2g 2g 0.09g/piece

Envionment RoHS Compliant Green Procurement

Easy Nut SS (M3%)

17

6.5

[6)]
58
8.4

Los

#One-Touch to
insert later and M
Anti-Skid as well

Easy Nut SS(M5) Easy Nut SS(M4) Easy Nut SS(M3)
Item No. SFB-PN15 SFB-PN14 SFB-PN13
Easy Nut SS(M5) S Easy Nut SS(M4) S Easy Nut SS(M3)
CN Stainless Stainless
Item No. SFB-PN39 SFN-EX4 SFN-EX3
HWUsable Frame
Compatible to all SF20 series
(Groove Width 8mm)
Parts
How to order
30 Item No. Quantity (pcs)

SFB-013 [ ][]

HMMaterial/Technical Data
S Easy Nut SS | Easy Nut SS CN
Material Stainless Equivalent to S10C
With conductive| Ni-plating
Weight 4g/piece
Environment RoHS Compliant Green Procurement

Easy Nut S
Equivalent to S10C
Uni-Chrome plating




After Nut SS (M3%) / After Nut Support SS

#Using After Nut Support together After Nut SS(M3) After Nut Support SS

prevents from slipping. (for After Nut)

32 15
i =
£ 1
N
M
After Nut SS(M5) After Nut SS(M4) After Nut SS(M3) MUsable Frame —
3#1(S After Nut SS(M5) ) {S After Nut SS(M4) > {S After Nut SS(M3) > COmDﬁﬂb‘e o 5” SFEO Seﬂ'eS
Item No. SFB-B05(SFB-SHS) SFB-B04(SFN-AX4) SFB-B03(SFN-AX3) (Groove Width 6mm)
After Nut Support SS(50pcs/pack) HMMaterial/Technical Data
After Nut SS S After Nut SS After Nut Support SS
Item No. SFA-9A1 Material  Equivalentto S10C ~ Stainless PP Resin
31 No conductive type with S After Nut SS Uni-Chrome With conductive function
Weight 2g 28 0.10g/piece

Enviroment RoHS Compliant Green Procurement

Lock Nut SS (M%) /S Free Nut SS (M3¥) |

*You can fix Nut and conduct
electricity by tightening attached
Set Screw.

Lock Nut SS(M5) Lock Nut SS(M4) Lock Nut SS(M3)
(S Lock Nut SS(M5) ) (S Lock Nut SS(M4) ) (S Lock Nut SS(M3) )
Item No. *SFB-4D5(¥sFB-sD5) % SFB-4D4A(XSFN-LX4) *SFB-4D3(XSFN-LX3)
S Free Nut SS(M4) S Free Nut SS(M3)
Item No. ¥SFN-FX4 ¥SFN-FX3
. |
Lock Nut SS (M3x) HMUsable Frame —
Compatible to all SF20 series
. (Groove Width 6mm)
1
17
6.5 7 35 HMMaterial/Technical Data
Lock Nut SS Lock Nut SS S Free Nut SS
f\ 7D Material Equivalent to S10C Stainless Stainless
AJ NN With M4 Set screw Uni-Chrome With conductive
M function
#1 M3 and M4: Length 15 Weight 2g 2g g

Environment % RoHS Compliant *Green Procurement

Joint Bar SS 120 /T Nut SS Material
After Nut SS Material Joint Bar S§120

4.1 120
' @ |10 40 L 20 20 10
0] T T T T
|74 I I I Il
I & o O [
4-M5
T Nut SS Material After Nut SS Material

Joint Bar §5120 Joint Bar §5120 Kit (ST Nut 88 Material)

8
© 58
Item No. ¥SFJ-605 Item No. *SFK-605 o[ ] ] TS—'S"

0.8

<+,,_f T
- o 54—
T Nut SS Material £ =(2800) T Nut SS Material 2 =450 < Ry < 7
{ST Nut SS Material £=(2800) ) (ST Nut SS Material £ =450)
Item No. XSFX-105ksFx-001) XSFX-125 (XsFx-505) MUsable Frame — g it Bar s8120 Kit contents—
Compatible to all SF20 series  @Joint Bar SS120x1
After Nut SS Material 2 =(2800)| After Nut SS Material £ =450 (Groove Width 8mm) @Set screw(M5x5)x4
{8 After Nut SS Material £=(2800) ) (S After Nut SS Material £ =450)
Item No. ¥SFX-106 (X sFx-006) ASFX-126 (X5FX-506) M Material/Technical Data
5 T Nut SS Material ST Nut SS Material
" " N N " Joint Bar SS120 ) ;
« Note : T nut material will be delivered without plating. oint Bar After Nut SS Material S After Nut SS Material

Material Equivalentto S10C  Equivalent to S10C SUS303
Uni-Chrome plating Not plating
Weight about 25g 250g/m(T Nut SS) 256g/m(ST Nut SS)
170g/m (After Nut 8S) 174g/m (S After Nut SS)
Envionment % RoHS Compliant *Green Procurement

il

We sell Nut Material and  PUUSSUECE]! X EETGR=EEICRSSH VETEE / ' W -:{ 31
Bracket Material as well. P31 B @Angle Bracket SS Material ! .

Material Frame

SF
2
Q
=}
Q
Y
=
Q
m
=
Y
S
(]




M5

-
(

SF 2 0 SERIES

D Bracket SS
& &

SF
)
-
[
3
o
[
=
o
o
=
Y
3
(]

D Bracket SS D Bracket SS with Tap

Q &
5 q
q
L
M5 Tapping
D Bracket SS D Bracket SS-CN
(D Bracket SS with Tap) (D Bracket SS-CN with Tap)
Item No. XSFJ016(KsFu017) XSFJ-016NCESFI017N)
D Bracket SS Kit | D Bracket SS(Stainless)Kit D Bracket SS-CN Kit
(D Bracket SS Kit with Tap) | (D Bracket SS with Tap (Stainless) it ) (D Bracket SS-CN Kit with Tap) ’5
Item No. FSFK-016¢45rk017) | ¥SFK-0165(XSrk.0175) XSFK-016N(XSFK-017N) 1) o7
Please use Kit with Tap to install Side Cover. (Refer P47 for details.)
BUsable Frame WKt Contents MMaterial/Technical Data

Material Aluminum Die-Cast
(CN:Electroless nickel plating)
With Anti-Skid Function

Weight 118

Enitoment *RoHS Compliant
*Green Procurement

Compatible to all SF20 series @D Bracket SS<or with Tap)x1
(Groove Width 6mm) @Hexagon Socket Bolt (M5X10) X 2

@T Nut SS(M5)x2
#*Bolt and Nut in CN (Stainless)
Kit are Stainless.

D Bracket Spacer SS

@ @Setting to bottom of D Bracket
i enables to fix on a flat base.

MUsable Frame

D Bracket Spacer SS Compatible to all SF20 series HMaterial/Technical Data
(Groove Width 6mm) Material SUS304
Item No. SFJ-4008 Weight 4g
Eniment RoHS Compliant

Green Procurement

D BraCket 2040 : D Bracket 2040 D Bracket 2040 with Tap

2-M5 Depth 7
(Both sides)

D Bracket 2040 0.7
(D Bracket 2040 with Tap ) __. 07 e
~
Item No. SFJ-020(SFJ-020T) 5 =
I C
D Bracket 2040 Kit D Bracket 2040 (Stainless) Kit 1.5 . 15_ 2
(D Bracket 2040 Kit with Tap » (D Bracket 2040 with Tap (Stainless) Kit) edl AL
4 N // N,

Item No. SFK-020(SFK-020T) SFK-020S (SFK-020P) © (AN o N\

g 7 4 < S 74 <

D Bracket 2040-CN
(D Bracket 2040-CN with Tap)

Item No. - ¥
te ° SPJ020N (P 0200) Please use Kit with Tap to install Side Cover. (Refer P47 for details.)

D Bracket 2040-CN Kit
(D Bracket 2040-CN Kit with Tap)

BEMaterial/Technical Data

Item No. SFK-020N(SFK-020C)
Material Aluminum Die-Cast
MUsable Frame HKit Contents ——————— (CN:Electroless Nickel Plating)
Compatib\g to all SF20 series @D Bracket 2040<or with Tapyx 1 With Anti-Skid Function
(Groove Wigth 6mm) @Hexagon Socket Bolt (M5X10) X 4 Weight 358
@T Nut SS(MB)x4 Enioment RoHS Compliant
*Bolt and Nut in CN (Stainless) Kit Green Procurement
are stainless.
Parts @Cap for Bracket
How to order P45

32

Item No. Quantity (pcs)

SFJ-016 [ ][]




SF
(2}
I~
o
>
[=%
Q
=
o
m
=
Q
3
(]

Hard Bracket SS

12

¢4.2
<M5 Tapping>

Hard Bracket SS

{Hard Bracket SS with Tap) Please use Kit with Tap to install Side Cover. (Refer P47 for details.)
Item No. XSFUNOT (§sFuno1m)
Hard Bracket SS Kit Hard Bracket SS(Stainless)Kit [ ERERElVEEnEE] PEE
(Hard Bracket SS Kit with Tap) Hard Bracket S with Tap (Stainless) Kit) HKit Contents Material Aluminium Alloy
Item No. $SFKNO1 GRsFicnoT) $SFKNO1SsFA01P) ®Hard Bracket SS(or with Tap)x 1 Alumite Treatment
@Hexagon Socket Bolt (M5x10) x 2 Perpendicular surface is machining finished
@T Nut SS(MB)x2 Weight 158
BMUsable Frame — %Bolt and Nut in (Stainless) Eniroment kRoHS Compliant
Compatible to all SF20 series Kit are stainless. *Green Procurement
(Groove Width 6mm)

Hard Bracket SSG .

$4.2
<M5 Tapping>

Hard Bracket S8G Please use Kit with Tap to install
{Hard Bracket SSC with Tap) Side Cover. (Refer P47 for details.)
Item No. KSFU-N23(fsFunea)
Hard Bracket SSG Kit Hard Bracket SSG(Stainless)Kit Whatenaljlechnicallbats
(Hard Bracket SSG Kit with Tap) (Hard Bracket SSG with Tap(Stainless)Kit) HKit Contents Material Aluminium Alloy
Item No. isFK-NQS(:SFK-NEBU zSFK-N23S<¥SFK-N23P> @Hard Bracket S8G<or with Tap)X1 Alum‘te Treatmeht ‘
@Hexagon Socket Bolt(M5X14) X 2 Perpendicular surface is machining finished.
@T Nut SS(MB)x2 Weight 318
HMUsable Frame — *Bolt and Nut in (Stainless) Eniroment XRoHS Compliant
Compatible to all SF20 series Kit are stainless. BT ETOEUTETER
(Groove Width 6mm)

Hard Bracket SSW2020

77

20
57

12
30

$4.2
<M5 Tapping>

Hard Bracket SSW2020
(Hard Bracket SSW2020 with Tap)

Please use Kit with Tap to install Side Cover. (Refer P47 for details.)

Item No. SFJ-N14(SFU-N14T)
Hard Bracket SSW2020 Kit | Hard Bracket SSW2020(Stainless)Kit MMateriallechnicallbatd
(Hard Bracket SSW2020 Kit with Tap) | (Hard Bracket SSW2020 with Tap(Stainless)Kit) Material Aluminium Alloy
Alumite Treatment
Item No. SFR-NT4(SFCNTAT) SFK-N14S(SFKCN14P) HKit Contents —Mm™ (Special order:Black Alumite is also available.)
@Hard Bracket SSW2020(or with Tap)X 1 Perpendicular surface is machining finished.
HMUsable Frame — @Hexagon Socket Bolt (M5x10) X 4 Weight 228
Compatible to all SF20 series zg l\lltut SdS&Mf?MSt o Eniroment RoHS Compliant
(Groave Width 6mm) ¥Bolt and Nut in (Stainless) Green Procurement

Kit are stainless.

We sell Nut Material and T Nut SS Material § @Hard Bracket SS Material 33
Bracket Material as well. P: @Angle Bracket SS Material

Material Frame




SF
(2]
~
Q
=}
Q
Y
=
Q
o
=
Y
3
(]

6

SFZ OSERIES ] =
Hard Bracket SS2040

4-5.5 Drillin,

Hard Bracket SS2040
(Hard Bracket S52040 with Tap)
Item No. XSFUNO2CKsFuNo2T)
Hard Bracket S52040 Kit Hard Bracket 552040 (Stainless)Kit
(Hard Bracket 552040 Kit with Tap) (Hard Bracket 532040 with Tap (Stainless) Kit) HKit Contents
Item No. FSFK-NO2ksricnozn FSFK-NO2S (¥sFicozP) ®ard Bracket 882040 (0r wih Tap)x1
@Hexagon Socket Bolt (M5X10)x4

MUsable Frame ——— ——
SF-20-40/5F-40-40-25/SF-40-60-SS/

N
e SFR040400R

Hard Bracket SSG2040

@T Nut SS(M5)x4
%Bolt and Nut in (Stainless)
Kit are stainless.

4-5.5 Drilling

Hard Bracket SSG2040
(Hard Bracket SSG2040 with Tap)
Item No. XSFUN24CKSFIN24T)
Hard Bracket 5562040 Kit Hard Bracket 5562040 Stainless)Kit
(Hard Bracket 5562040 Kit with Tap) (Hard Bracket 5562040 with Tap (Stainless) Kit) Kt Contents
Item No. XSFK-N24 K sFicN24T) XSFK-N24S FsFk-n2ap) @Hard Bracket S5G2040 (or with Tap) X1
@Hexagon Socket Bolt (M5X14)x4

HMUsable Frame
SF-20-40/SF-4040-25/3F-40:6055/

.
" SF040400P

@T Nut SS(M5)x4
*Bolt and Nut in (Stainless)
Kit are stainless.

Hard Bracket SSW2040
(Hard Bracket SSW2040 with Tap)

Item No. SFJ-NT5(SFJN15T)
Hard Bracket SSW2040 Kit Hard Bracket SSW2040(Stainless)Kit
(Hard Bracket SSW2040 Kit with Tap) {Hard Bracket SSW2040 with Tap (Stainless) Kit)
Item No. SFK-N15(SFK-N15T) SFK-N15S(SFK-N15P) EKit Contents

@Hard Bracket SSW2040 or with Tap)X1
@Hexagon Socket Bolt (M5x10)x8
@T Nut SS(M5)x8
*Bolt and Nut in (Stainless)

Kit are stainless.

HMUsable Frame
SF-20-40/SF-4040-25/3F-40:6055/

V SF204040(1F)

Parts

How to order
Item No. Quantity (pcs)

SFJ-N02 [ ][]

Please use Kit with Tap to install Side Cover. (Refer P47 for details.)

EMMaterial/Technical Data
Material Aluminium Alloy

Alumite Treatment
Pernendicular surface is machining finished.

Weight 368
Environment wROHS Compliant

*Green Procurement

942

<2-M5 Depth 15 (Both sides)>

Please use Kit with Tap to install
Side Cover. (Refer P47 for details.)

MMaterial/Technical Data
Material Aluminium Alloy

Alumite Treatment
Perpendicular surface is machining finished.

Weight 758
Enironment wROHS Compliant

*Green Procurement

30)\_20
57

P42
<2-M5 Depth 15 (Both sides)>

Please use Kit with Tap to install Side Cover. (Refer P47 for details.)

BMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
(Special orderBlack Alumite is also available.)
Perpendicular surface is machining finished
Weight 568
Enitoment ROHS Compliant
Green Procurement

@Cap for Bracket
P45



20

Hard Bracket SS2060

SF
(7]
-
Q
3
Q.
Y
=
o
o
=
Y
3
(]

6-5.5 Drilling

$4.2
<2-M5 Depth 15 (Both sides)>

Hard Bracket SS2060
(Hard Bracket SS2060 with Tap)

Item No. SFJ-NO9(SFUNOST) Please use Kit with Tap to install Side Cover. (Refer P47 for details.)

BMMaterial/Technical Data

Hard Bracket SS2060 Kit Hard Bracket SS2060(Stainless)Kit
(Hard Bracket SS2060 Kit with Tap) (Hard Bracket SS2060 with Tap (Stainless) Kit) Material Aluminium Alloy
Item No. SFK-NOS(SFK-NOST) SFK-NO9S(sF-NogP) HKit Contents ——— (SQ‘;BPJ;%‘;;;%ES ar\]sz avaiable)
EUsable Frg'r:neeog ::ngaggraocnkest Oscsfgteg grt (m;?g; ] e Pg;grgmu\ar surface is machining finished.
\/ SF:4O‘BO ;go’\lltu;r?dslimf ?: t?Sta\'n\ess) et gt:::‘%?gnopulirir;;em

Kit are stainless.

Hard Bracket SSG2060

6-5.5 Drilling

942
<2-M5 Depth 15 (Both sides) >

Hard Bracket SSG2060
(Hard Bracket SSG2060 with Tap)

Item No. SFJ-N25(SFUN25T) Please use Kit with Tap to install Side Cover. (Refer P47 for details.)

BMaterial/Technical Data

Hard Bracket SSG2060 Kit Hard Bracket SSG2060(Stainless)Kit
(Hard Bracket SSG2060 Kit with Tap) (Hard Bracket SSG2060 with Tap (Stainless) Kit) Material Aluminium Alloy
Alumite Treatment
. - SFK-N25T, - SFK-N25P; i . .
Item No SFIN25( / SFK-N25S ¢ ’ HKit Contents (Special OrderBlack Alumite s also avaiable)
Usable Frame — @Hard Bracket S862060 (or with Tap)x1 Perpendicular surface is machining finished
u @Hexagon Socket Bolt (M5X14) X6 Weight 119g
. SF-2060 @7 Nut SS(M5)x6 Enironment RoHS Compliant
L SF-40-60 %Bolt and Nut in (Stainless) G P &
- Kit are stainless. ) PUEEHREE

Hard Bracket SSW2060

Hard Bracket SSW2060
(Hard Bracket SSW2060 with Tap)

Item No. SFJ-N16(SFINTET) Please use Kit with Tap to install Side Cover. (Refer P47 for details.)

BMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Hard Bracket SSW2060 Kit Hard Bracket SSW2060(Stainless)Kit
(Hard Bracket SSW2060 Kit with Tap) (Hard Bracket SSW2060 with Tap (Stainless) Kit)

Item No. SFK-N1B(SFKCN1ET) SFK-N1BS(SFKCNTER) MKit Contents ———————— (Special OrderBlack Alumite Treatment)
EUsable Frame — @Hard Bracket SSW2080<or with Tap)x1 Perpendicular surface s machining finished
SF-20-60 @Hexagon Socket Bolt (M5x10)X12 Weight 89g
}/ SF-40-60 OT Nut SS(M5)x12 Enoment ROHS Compliant
‘¥ ->.<Bplt and N_ut in (Stainless) Green Procurement
Kit are stainless.

35

Material Frame

We sell Nut Material and T Nut SS Material [ @Hard Bracket SS Material
Bracket Material as well. P31 @Angle Bracket SS Material




6

SF20 series ] =

Angle Bracket SS / Angle Bracket Hard SS

SF
)
-
Q
=]
Q
Y
=
[
m
=
Q
3
(]

Angle Bracket Hard SS

5.5 Drilling, 14
9.5 Deep Spot Facing,
Depth 17

Angle Bracket SS

5.5 Drilling

Angle Bracket SS Angle Bracket Hard SS
Item No. XSFU-A01 XSFJ-A14
Angle Bracket SS Kit Angle Bracket Hard SS Kit BMMaterial/Technical Data
(Angle Bracket SS(Stainless) Kit) (Angle Bracket Hard SS(Stainless) Kit) WKt Contents Angle Bracket SS Angle Bracket hard SS
Item No. ESFK-AQT (RSFcAOTS) KSFKAT4(KsFA149) Qb 59 10Kl A A,

Weight 4g 98

@T Nut SS(MB)x2
Enionment % RoHS Compliant

%Bolt and Nut in (Stainless)

WUsable Frame

R Compatible to all SF20 series
'?' (Groove Width 6mm) Kit are stainless. *Green Procurement

Angle Bracket SS2040

Angle Bracket 52040
Item No. XSFJ-AD2
Angle Bracket SS2040 Kit . .
(Angle Bracket SS2040(Stainless) Kit) EKit Contents HEMaterial/Technical Data
Material Aluminium Alloy
Item No. HSFK-AOR (¥SFK-AO2S) ®/Angle Bracket 5520401 JA
@Hexagon Socket Bolt (M5x8)x4 umite Treatment

HWUsable Frame
Non SF-20-40/1F

/ SF-20-4040

Angle Bracket SS2060

@T Nut SS(M5)x4
*%Bolt and Nut in (Stainless)
Kit are stainless.

Weight 10g
Enironment wROHS Compliant
*Green Procurement

20

Angle Bracket 52060
Item No. SFJ-A09
Angle Bracket SS2060 Kit
{Angle Bracket SS2060(Stainless) Kit)
BEMaterial/Technical Data
Item No. SFK-AQ9(SFK-A09S) HKit Contents Material Aluminium Alloy
Alumite Treatment
le Fram @Angle Bracket SS2060X1 :
BUsable Frame @Hexagon Socket Bolt (M5Xx8)x6 Weight 158
. SF-20-60 @®T Nut SS(M5)X6 nioment RoHS Compliant
,-,;/ %Bolt and Nut in (Stainless) O —
* Kit are stainless.
Parts
How to order
36 Item No. Quantity (pcs)

SFJ-A01 [ []



20

QC Joint SS

QC Joint SS(Common Parts) SS Round metal tool

Outer
diameter ¢ 7

Inside ’

diameter ¢ 4.

SSKit | SS40Kit | SS60 Kit
2 8 28 48

QC Joint SS Kit QC Joint S840 Kit QC Joint SS60 Kit

Item No. SFK-Q20 SFK-Q21 SFK-Q22
= Kit Name QC Joint Round metal tool Bolt
= ) )
9 QC Joint SS Kit 95 Round metal o0l 20¢1 | Hexagon Socket Bolt (M3X15)StainlessX 1 EMaterial/Technical Data
g = - | ) ) )
& QCJoint 5840 kit | 3CJOIME S8 fen 4 meta 0014011 Hexagon Socket Bolt (M3x35)Stainlessx] i) (10 Jelli &3 IFTas) (S el
% X1set Stainless Stainless

QC Joint SS60 Kit 58 Round metal tool 60x1| Hexagon Socket Bolt (M3x55)Stainlessx 1 With Conductive Function

Weight 14g(SSKit) 18g(SS40Kit) 23g(SSB0 Kit)

Enionment ROHS Compliant Green Procurement

QC Joint SS

{Characteristics)
It's easy to set vertically and hardly make gap, because 2 frames are pulled at each other to combine. Also, you don’t have to let nuts into frame in

advance, and strong fixing is possible by one bolt, so the assembly man-hour is reduced.
(How to assemble)
(DTighten
@QC Joint pulls up|
another frame.
@The strong joint
is realized. ] |

Hole-drilled frame

(Example of kit selection)

@QC Joint SS Kit @QC Joint SS40 Kit
(For drilled hole to the directi (For dilled hole to the direction of 40mm)
!

(Drilling )
SF-20 in common

$7.1 Tapping

37

We sell Nut Material and  ULERESIEEE] N EEGREIER GRS VAL
Bracket Material as well. P31 @Angle Bracket SS Material

Material Frame

SF
()
—
(Y
=}
Q.
Y
=
o
m
=
Y
3
[}




6

SF20series ] =

SF
2
——
[
3
o
Y
=
Q
il
=
Q
3
o

S Blind Bracket SS

S Blind Bracket SS HMMaterial/Technical Data
BMUsable Frame ———  Material Stainless(SCS13)
Item No. SFK-6008 Compatible to (2 Set Screws M4x5 Stainless Included.)

all SF20 series Weight 11g
(Groove Width 8mm)  gyymet RoHS Compliant

Green Procurement

Block Bracket SS Kit / Corner Block SS Kit

Block Bracket SS Block Cap SS

Corner Block SS

2-$10 Deep Spot Facing,

Corner Cap SS

Depth 0.7 2-9$53
’s
0
~
“
% Hold the Pin edge to insert Cap.
Block Bracket SS Kit
(Black) (Light Gray)
Item No SFK-Q11 SFK-Q116 EMMaterial/Technical Data
Block Bracket SS Corner Block SS
Corner Block SS Kit Material Zinc Dig-Cast(Block Bracket SS) Stainle_ss(Comer Block SS)
(Black) (Light Gray) Polyamide (Block Cap SS) Polyamide (Corner Cap SS)
Hexagon Socket Button Bolt (M6X15)3pcs  Hexagon Socket Button Bolt (M5X15)2 pcs
Item No. SFK-Q61 SFK-Q61G (Block Bracket) (Corner Block)
Weight 27g(Block Bracket SS) 23g(Corner Block SS)
HWUsable Frame 3g(Block Cap SS) 2g(Corner Cap SS)
N ¢Block Bracket SS Kit) SF-20-20(1F/2F) Enironment RoHS Compliant
‘-,‘/ {Corner Block SS Kit) SF-20-20(1F/2F/3F/2H) %M Tap Processing is needed to the section of SF20-20 (or 1F/2F). (Refer P209~ for details.)
- 3 Corner block SS Kit is installable by Tapping Bolt as well.
R Bracke-t SS K,t R Bracket SS R Cap SS
: g i &
| ¥ @
il A
Nt 0= oI
» - MUsable Frame
;‘/ SF-2020R
MMaterial/Technical Data
R Bracket SS Kit R Bracket SS R Cap SS
(Black) (Light Gray) Material Stainless(SCS13) Polyamide
Hexagon Socket Bolt (M4x12)3 pcs Color/Black-Light gray
Item No. SFK-RO1 SFK-RO1G Weight 18g o8

Environment RoOHS Compliant
3%M4 Tap Processing is needed to the section of SF-20-20+R to mount. (Refer P209~ for details.)

Parts @Cap for Bracket
How to order P45
38 Item No. Quantity (pcs)

SFK-600S [ 1]



SF
()
I~
Q
>
Q.
Q
=
o
T
=
Q
3
(]

Tapping Bolt SS

*How to fix Tapping Bolt
Refer below in this page.

Tapping Bolt SS

Item No. SFB-T20

BMMaterial/Technical Data

Material SWCH 18A
Uni-Chrome Plating

HMUsable Frame
SF-20-20(1F/2F/3F/2H)

~ SF-20-40(1F) .
‘st SF-20-60/20-80 Weight 2g
SF-40-40-2S(1F/2F) Enioment ROHS Compliant

Green Procurement

Torque Bit T25 / Torque Driver T25

75
6.35
25
s ]
— 38 O
T25
Weight 13g Weight 78g
Torque Bit T25 Torque Driver T25
Item No. SFA-JT25 Item No. SFA-T25H
How to fix Tapping Bolt
@® @ ®
6 Drilling
I
|
%, ,ﬂ:@: s =i

1l
1

Fix the frame with jig etc, and screw the Put the bolt head through T slot of another Tighten by Manual tool to fix.

Tapping Bolt halfway into the end face. frame. #Manual tool is recommended, because the reaction

(Temporary joint) of torque up is big by using electric drill.

% In case it is too tight, please use cutting oil.

@Drillid by SUS
Processing Symbol P216~

We sell Nut Material and  ULERESIEEE] N EEGREIER GRS VAL
Bracket Material as well. P31 @Angle Bracket SS Material

Material Frame




SF
(2]
P
Q
35
Q.
Y
=
o
o
=
Y
3
(1]

SF 2 0 SERIES

Plate Bracket

6
[

]

S Plate Bracket SSG
50

&

S Plate Bracket SS-L Type

10 30 10 3 _1_89_ °
T r3
2 {}, 4-955 {P ol

g8 N o Mo

o [ X ‘ 1=3 g e @ t=2
4-¢55 12)_ 28 47 So.
85 &
S Plate Bracket SSG S Plate Bracket SSG Kit S Plate Bracket SS-L type S Plate Bracket SS-L type Kit
Item No. SFJ-1218 SFK-1218 SFJ-109S SFK-109S

Kit
Contents @sT Nut SS (M5)x4

@Plate Bracket SSGX1
@Hexagon Socket Bolt (M5x8)Stainlessx4

@S Plate Bracket SS-L typeX1
@Hexagon Socket Bolt (M5x6)Stainlessx4
@ST Nut SS (M5)X4

S Plate Bracket SS-T Type

100
41 18 41
To
Ly
$j—
°
o (2]
N
3 +
4-955
| 4055
- mﬁT 1 6-C3
10 80 10

t=2

S Plate Bracket SS-+ Type
80

31 18 31
9
=
“He
8| 8 <
ré
10] 10:
8| rl B
- ) \6-¢55

56
10 30
—
LS

S Plate Bracket SS-T type S Plate Bracket SS-T type Kit

S Plate Bracket SS-+ type S Plate Bracket SS-+ type Kit

Item No. SFJ-1108

SFK-1108 SFJ-1118 SFK-1118

HWUsable Frame

Compatible to all SF20 series
(Groove Width 6mm)

HKit Contents
Refer table for right

EMaterial/Technical Data

@S Plate Bracket SS-T Typex1 @S Plate Bracket SS-+ TypeX1

Name Weight(¢g)| Material | Environment

Plate Bracket SSG 46
S Plate Bracket SS-L| 54
S Plate Bracket SST| 56 RoHS
S Plate Bracket SS-+| 78 Compliant
Plate Bracket S3-H2 | 83 Sus304 Green
Plate Bracket SS-H4 | 187 Procurement
Comer Suppart Bracket SS| 65
Corner Support Plate SS| 104

Parts

How to order

Item No. Quantity (pcs)

SFJ-121S [ ]

Kit  @Hexagon Socket Bolt(M5x6)Stainlessx4 @Hexagon Socket Bolt (M5x6)Stainlessx6
Contents @gT Nut SS(MB5) x4 @ST Nut SS(M5) x6
S Plate Bracket SS-H2 S Plate Bracket SS-H4
36 80
X, Z,
O’@ _ls._ 20 8 o(, 10 20 ., 20 ,_ 20 10
q N T
@ 0|
© *——ﬁ—{% © *— —%—%@——{3—@\—}
2-955 4065
t=2 t=2
Plate Bracket SS-H2 Plate Bracket SS-H2 Kit Plate Bracket SS-H4 Plate Bracket SS-H4 Kit
Item No. SFJ-1248 SFK-124S SFJ-1288 SFK-128S
@Plate Bracket SS-H2X1 @Plate Bracket SS-H4X1
c it @Hexagon Socket Bolt (M5x6)Stainlessx2 @Hexagon Sacket Bolt (M5xX6)Stainlessx4
ontents @ ST Nut SS (M5)x2 @ST Nut SS (M5)x4
S Corner Support Bracket SS S Corner Support Plate SS
168
18 3.c2

100

2-¢55
9

Corner Support Bracket SS  Corner Support Bracket SS Kit

Corner Support Plate SS  Corner Support Plate SS Kit

Item No. SFJ-1358

SFK-135S SFJ-136S SFK-136S

Kit
Contents @sT Nut SS (M5)x2

@Corner Support Plate SSX1
@Hexagon Sacket Bolt (M5xX6)Stainlessx4
OST Nut SS (M5)x4

@Corner Support Bracket SSX1
@Hexagon Socket Bolt (M5x6)Stainlessx2




Hard Bracket SS‘DE135 Hard Bracket SS:DE45
(Hard Bracket SS-DE 135 with Tap) (Hard Bracket SS-DE45 with Tap)
Item No. SFJ-N31(SFJIN31T) SFJ-N32(sFJ-N32T)
SS-DE135Kit SS'DE135(Stainless)Kit SS-DE45Kit S§5+DE45(Stainless)Kit
(SS'DE135 Kit with Tap) ~ |(SSDE135 with Tap(Stainless)Kit) (SS'DE45 Kit with Tap)  |(SSDE45 with Tap(Stainless)Kit)
Item No. SFK-N3T(SFKN3TT) | SFK-N31S(SFK-N31P) SFK-N32(sFk-N32T) | SFK-N32S(SFk-N32p)

Hard Bracket SS2040-DE

HWUsable Frame

S Compatible to all SF20 series
e

(Groove Width Bmm)

Hard Bracket SS2040-DE135 Hard Bracket SS2040-DE45
(Hard Bracket SS2040-DE 135 with Tap) (Hard Bracket SS2040-DE45 with Tap)
Item No. SFJ-N38(sFJ-N38T) SFJ-N37(SFJ-N37T)
§S2040-DE138Kit | 5520400135 (Stainless)Kit §S2040-DE45Kit | S52040DE45 (Stainless)Kt
(S52040DE135 Kit with Tap) | (5520400 hiTaSteness))  (SS2040-DEAS Kit with Tap) | (S520400E45 with Tap(Staness i)
Item No. SFK-N38(SFK-N38T) | SFK-N38S(sFK-N38P) SFK-N37(SFK-N37T) | SFK-N37S(SF-N37P)

Truss Joint SS

MUsable Frame

SF20 Series 45°slant cut frame

Npo
.i:/ (Refer from P208)

Hard Bracket SS-DE135

HKit Contents

(Hard Bracket SS-DE 135Kit)
@Hard Bracket SS'DE135(0 apX1
@Hexagon Socket Bolt (M5 x2

@T Nut SS (M5)x2

(Hard Bracket SS-DE45Kit)

@Hard Bracket SS-DE45(or with Tap)X1

@Hexagon Socket Bolt (M5X14)x2

@T Nut SS (M5)x2

#*Bolt and Nut in (Stainless)
Kit are stainless.

Hard Bracket SS2040-DE135

2-M5 Depth 15

HKit Contents
(Hard Bracket 552040-DE135Kit)
@Hard Bracket S52040DE135(0r with Tep)X1

@Hexagon Socket Bolt (M5X14)x4
@T Nut SS (MB)x2
(Hard Bracket $52040-DE45Kit)
@Hard Bracket SS2040-DE45(0r with Tap)X1
@Hexagon Socket Bolt (M5X14)x4
@T Nut SS (M5)x2
#Bolt and Nut in (Stainless)

Kit are stainless.

Truss Joint SS
11

H\ 7

T
I
7
|
42

Truss Joint SS

(Black)

Truss Cap SS
(Light Gray)

% Groove size is as same as SF20-20.

Item No. SFJ-JO1

SFA-JO1

SFA-JO1G

HWUsable Frame
(Frame to reinforce) SF-20-20

Both Sides]

21 :
5.5 Drilling 9.5 Deep Spot
Facing, Depth 14.5 3
13

Hard Bracket SS-DE45

HMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 48g(DE135)
41g(DE45)

Enironment RoHS Compliant
Green Procurement

Hard Bracket SS2040-DE45

HMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 127g(DE135)
107g(DE45)

Eniomet RoOHS Compliant
Green Procurement

Truss Cap SS

11

. [
o ®®
- 4 &
T

MMaterial/Technical Data
Truss Joint S8 Truss Cap SS
Material Aluminium Alloy ~Polyamide
Alumite Treatment
Weight 15g 2g
Enitoment RoHS Compliant
Green Procurement

SF
(7]
v
Q
3
Q
Y
=
o
o
=
Y
3
(]

(Frame to combine) SF-20-30-40-45 series are installable

Example of mounting Truss Joint
Best suited to reinforce in 45° or truss stiffening.

3% Guide of bolt size

QC-Processed Frame @/ QC-Processed Frame Frame to mount to Bolt size
(Processing instructions P216~) (Processing instructions P216~) 3
,.&\' = SF20 Series M58
\ \ Yist \ SF30 Series M5x10
T -— — === e
| [ T\ ] SF40 - 45 Series M5x 14

Hexagon Socket Bolt (3) \Connecting Frame T Nut (M5)

(Refer table for bolt size.)

T Nut SS Material
P31

Hexagon Socket Bolt (3¢) \ Connecting Frame T Nut (M5)

(Refer table for bolt size.)

@Hard Bracket SS Material
@Angle Bracket SS Material

We sell Nut Material and
Bracket Material as well.

Material Frame




6

SF20s:res ] =

Turn Bracket 20 17
SN2

Countersink for M4,

SF
(7))
-
(Y
=}
o
Y
=
o
m
=
Y
3
()

55
20 Drilling 5 o
©

— ¥ J.

L &
& & [] o
| 2 | A= =
10 / 2
M4 o

—1_ o7

(Attachment) Hexagon Socket Flat Head Cap Screw M4 X6 Stainless 1 pcs/set
MUsable Frame

Turn Bracket 20 (SEEGE Suerfg(ée |f|TSt_8||ati00) HEMaterial/Technical Data
B -20-20 Exclusive ) .
ltem N SFK-44A LA (Side Surface Installation) Weteria Alum!mum Alloy
em No. - a Installable if connecting Alumite Treatment
T Nutis (M5). Weight 26g/set

Enionmet RoHS Compliant
Green Procurement

%2 pes/set

Example of mounting Turn Bracket

{In case of installing to sections of the Frames.) {In case of installing to side and end of the Frames.)

s

End Face Tapping

T Nut SS(M5) 1 pcs
Hexagon Socket Bolt M5X15 2 pcs

Hexagon Socket Bolt M5X10 1 pcs

Turn Bracket 20
Turn Bracket 20

End Face Tapping
Hexagon Socket Bolt M5X15 1 pcs

End Face Tapping

Parts
How to order
Item No. Quantity (set)

SFK-44A [ 1]

42




20].50

SF
(2]
~
Q
=}
Q
Y
=
Q
o
=
o
3
(]

HPlate HMAdjuster
Adjuster Caster Plate SS Adjuster Caster Plate 40 Adjuster M12 Adjuster M16 Adjuster BM16(Stainless)
Adjuster Caster Plate SS(Stainless) Adjuster M12(Stainless)
|
100 ‘ ox2 i
1 M16x
35 18 54 T20_‘8 9 M12x1.75 M16x2 ‘
8’_ 30T 87 10 6 = P ! |
=Ll g o | o
wr—v LI sze*éé»m 18 wh o ¥ o | 2 o
3 5-5.5 Drilling Qo ® N = $ ! ~
0 3 | o | 4-M6 <*>
~ ,\Ffé} Qqlf N | i
a \2:M12 ~ 8-5.5 Drilliny |
SHé ﬂ 3 oo ‘
T Sl ¢ ==
120 P i e ® (L] )
8] 20 [ a6 |11 55 = /LTK
$60 75
Material | Treatment |Weight Material | Treatment
Adjuster Caster Plate SS $8400 | Uni-chrome 045k [Material | Treatment [Weight | Adjuster M12 $8400 | Uni-chrome | 500kg | 169g | [ { [ [ Bottom [ Material | Treatment | I
Adjuster Caster Plate S (Stainless)| SUS304| —— ¢ Adjuster Caster Plate 40 \88400\ Uni-chrome \082kg Adjuster M12(Stainless)| SUS304 [Eecholic 300kg | 165 | Adjuster MWG\SSAOO\ZH B\ack\ 500kg\386g\Neopvene rubber | Adjuster BMWG[SIam\ess)( SUS304 \zw:r,'mwg\ 560kg \ 3758
Adjuster Plate SS Adjuster Caster Plate 40(Stainless) | MiCaster
Adjuster Plate SS(Stainless) Caster A Caster B Caster B(Stainless)
. )
100 Caster A with Brake 3
18 54 208 9 | Caster A(Stainless) 70
' Caster A with Brake(Stainless) 8 54 8 4065 ool
- 0|
75 555 Driling | |2 4 ¢ S M12x1.75 25 al [ 1
8 30 2710 /6 T & &L - & &
e Russ + 413 o 11D
o TE— & ¥ o glL o ® \ / 55
ol [ vl o a\k 70
o “He N =" R ame® o o . +
N Aui2 855 Diilling | 18 8% L 25 Sra——
of ¢ Hef & ] = & H
& 7 @ H g i 4’/50 o
a3 oHe ¢ & @ gl ‘ - j =
26
Material |Load capacity|Weight
Material | Treatment |Weight Caster A Rubber | 30kg | 189g
Adjuster Plate S 55400 | Unictvome o [ Materil [ Treatment | Weight | Caster A with Brake | Rubber | 30kg | 223g [ Material _JLoad capecitWeight [ Material _[Load cepaciy|Weight
Adjuster Plate )5304]  — € | Aduster Caster Ple 40(Sinless | SUS304] —— | 083g | Caster A(Stainless) | Nylon | 40.8kg| 147g | Caster B | Phenol Resin | 150kg [340g | Caster B(S! | Phenol Resin | 71.4kg |285g
Item No. Name Compatible Frames Kit Contents
> | SFK-510A Level Adjuster Kit  |Compatible to all SF20 series| @Adjuster Plate SSx1 @Adjuster M12X1
o 3 SS (Groove Width 6mm) @T Nut SS(MB)x4 @Hexagon Socket Bolt(M5X10)x4
c
% SFK-510S Level Adjuster Kit  |Compatible to all SF20 series| @Adjuster Plate SS(Stainless)X1 @Adjuster M12(Stainless)X1
= : SS(Stainless) (Groove Width 6mm) @ST Nut SS(M5)x4 @Hexagon Socket Bolt(M5x10) Stainlessx4
+ SFK-C2o | Level Adjuster Kit SF-40-40-2S or Black @Adjuster Caster Plate 40X @T Nut SS(M5)x8
o 40 SF-40-60 SF-40-80-SS @Adjuster M16X1 @Hexagon Socket Bolt(M5X14)Xx8
% SFK-C22U Level Adjuster Kit SF-40-40-2S or Black @Adjuster Caster Plate 40(Stainless)x 1 @ST NutSS(M5)x8
40(Stainless) SF-40-60 SF-40-80-SS @Adjuster BM16(Stainless)X1 @Hexagon Socket Bolt(M5x14) Stainlessx8
O |SFK-C21A Caster Kit Compatible to all SF20 series| @Adjuster Plate SSX1 @Caster AX1 @Hexagon Nut(M12)X1
& : SS (Groove Width 6mm) @T Nut SS(M5)x4 @Hexagon Socket Bolt(M5X10)x4
(7]
r"_lg" SFK-C21S Caster Kit Compatible to all SF20 series|  @Adjuster Plate SS(Stainless)x1 @Caster A(Stainless)X 1 @Hexagon Nut(M12)Stainlessx 1
. SS(Stainless) (Groove Width 6mm) @ST Nut SS(M5)x4 @Hexagon Socket Bolt(M5X10) Stainlessx4
+ SFK-C22A Caster Kit Compatible to all SF20 series| @Adjuster Plate SSX1  @Caster A with Brake X1 @Hexagon Nut(M12)X1
o SS with Brake (Groove Width 6mm) @T Nut SS(MB)x4 @Hexagon Socket Bolt(M5X10)x4
% SFK-C22B Caster Kit Compatible to all SF20 series| ~ @Adjuster Plate SS(Stainless)x1 @Caster A with Brake(Stainless)xX1  @Hexagon Nut(M12)StainlessX 1
SS with Brake (Stainless) (Groove Width 6mm) @ST Nut SS(MB)*x4 @Hexagon Socket Bolt(M5X10) Stainlessx4
> 5| SFK-C20A Level Adjuster Kit |Compatible to all SF20 series| @Adjuster Caster Plate SSx 1 @Caster AX1 @Hexagon Nut(M12)x1
% S : SS with Caster (Groove Width 6mm) ®T Nut SS(M5)x4 @Hexagon Socket Bolt(MEX10)xX4  @Adjuster M12X1
(%2}
% § SFK-C20S Level Adjuster Kit  |Compatible to all SF20 series| ~ @Adjuster Caster Plate SS(Stainless)x1 @Caster A(Stainless)x 1 @Hexagon Nut(M12)Stainlessx1
"+ SS with Caster (Stainless) (Groove Width 6mm) @ST Nut SS(M5)x4 @Hexagon Socket Bolt(M5X10)Stainlessx4 @Adjuster M12(Stainless)X 1
SFK-C23 Level Adjuster Kit SF-40-40-2S or Black @Adjuster Caster Plate 40X1 @Caster BX1 @Hexagon Socket Bolt(M5X14)X8
o 40 with Caster SF-40-60 SF-40-80-SS @Adjuster M16X1 @7 Nut SS(M5)x8  @Hexagon Socket Bolt(MBx10)x4
% SFK-C23s | Level Adjuster Kit SF-40-40-2S or Black @Adjuster Caster Plate 40(Stainless)x1  @Caster B(Stainless)x1  @Hexagon Socket Bolt(M5x14)Stainlessx8
40 with Caster (Stainless), SF-40-60 SF-40-80-SS @Adjuster BM16(Stainless)x 1 @ST Nut SS(M5)%x8 @Hexagon Socket Bolt(M8x10) Stainlessx4

@Hard Bracket SS Material
@Angle Bracket SS Material

We sell Nut Material and
Bracket Material as well.

T Nut SS Material
P31

Material Frame




SF
[}
-
[
3
(=X
[
=
[=X
o
=
o
3
o

SF 2 0 SERIES ﬁ

Foot Base

Foot Base 2040

39
95 _ 20 _95
M8
0
o 2| = L
Tl w
® |
195 | 195

2-5.5 Drilling, 9.5 Deep Spot Facing, Depth 5.5

(Material)

&

Foot Base 2060

59
95 20 20 95

19
95 95
i

19.5 J, M8 39.5 \

355 Drilling 9.5 Deep Spot Facing, Depth 5.4 \
I R e
TR S
] ] ]

(Material)

Foot Base 404028
38

9. 20 _9

T

M12
19

4-5.5 Drilling 9.5 Deep Spot Facing, Depth 5.4

N

(Material)

QH@ 7@9
m:H@@?@Q

$8400 Uni-chrome plating Include 2 Hexagon

Environment % RoHS Compliant Foot Base 2040 gyt Bols 515 ielght/dlg

$8400 Uni-chrome plating Include 3 Hexagon
Foot Base 2060 gy s (N5X15) Meigh/ig

85400 Uni-chrome plating Include 4 Hexagon
Foot Base 404025 et ks (H5x20) Weht/ 04g

*Green Procurement

Foot Base 2040/ SUS304 Include 2 Hexagon Socket Bolts

Foot Base 2060| SUS304 Include 3 Hexagon Socket Bolts

(Stainless) (M5x15) Stainless Weight/40g (Stainless) (M5x15) Stainless Bolts Weight/60g
Usable Frame Usable Frame
SF-20-40 SF-20-60
N Ny
SF-20-40-1F e

Foot Base 40402S | SUS304 Include 4 Hexagon Socket Bolts
(Stainless) (M5%20) Stainless Weight/105g

Usable Frame
SF-40:40-2S(1F/2F)

Foot Base 2040

(Foot Base 2040(Stainless))

Foot Base 2060
(Foot Base 2060(Stainless))

Foot Base 40402S
{Foot Base 40402S(Stainless))

Item No.

*SFK-55A (XSFK-55AS)

*SFK-50A (XSFK-50AS)

*SFK-51AKSFK-51AS)

Foot Base 4060SS

Foot Base 4080SS

Foot Base 204040

58 80 19 4 2.55 Drilling
9 40 > 9 10 60 19 9 9.5 Deep Spot Facing, Depth 5.4
) o
g M12 o)
S @ 2 - ©OF |2 \j»/ M12
g ] |/ 1 8|8 > 8 /
[l
@, 7@ o A ® Q4 > @ o
o o W il o 7|
M12 \ 40 40 135 i
19 39 \_ 4525 Dilling, 9.5 Decp Spot Fcing, Depih 5.4 29 9
4-5.5 Drilling 9.5 Deep Spot Facing, Depth 5.4 38
| | | < >
T T T R T
T | T T
nogow !
' ! I I
Environment - kRoHS Compliant (Materialy (Material) (Material)

*Green Procurement 53400 Unichrome plating Include 4 Hexagon

Foot BaseA060SS)| gyvet ot 5x20) Vieght/ 76

8400 Uni-chrome plating Include 4 Hexagon
Foot Base4080SS | 5yet Bls (V5¢15) Weigh/ 1945

88400 Uni-chrome plating Include 2 Hexagon
Foot Base204040 et Bos(5420) WeghiB1g

Foot Base4060SS| SUS304 Include 4 Hexagon Socket Bolts
(Stainless) (M5%20)Stainless Weight/177g

Foot Base4080SS | SUS304 Include 4 Include 4 Hexagon Socket

(Stainless) Bolts (M5x15)Stainless Weight/196g

Foot Base204040 | SUS304 Include 2 Hexagon Socket Bolts (M5%20)
(Stainless) Stainess Weight/81g

Usable Frame
SF-40-60-SS

Usable Frame
SF-40-80-SS

Usable Frame
SF-20-40-40

Foot Base 4060SS
(Foot Base 4060SS(Stainless))

Foot Base 4080SS

(Foot Base 4080SS(Stainless))

Foot Base 204040
(Foot Base 204040 (Stainless))

Item No.

*SFK-62A (¥SFK-62AS)

*SFK-67AKSFK-67AS)

*SFK-61AKSFK-61AS)

How to use

©® Adjuster M12

® Caster A

® Caster B

® Commercial Hanging
Bolt, etc

Caster Plate SS
(Caster Plate SS(Stainless) »

Item No. *SFJ-7A1CSFITATS)
Parts
How to order
44 Iltem No. Quantity (set)

SFK-55A [ ]

60

ﬁ‘ 4-655

(14.31)

(54.31

I
o] T
i

HMUsable Frame

(Groove Width 6mm)

MMaterial/Technical Data
Caster Plate SS

Material SS400
Uni-chrome

Weight 530g

Compatible to all SF20 series

Caster Plate SS(Stainless)
SUS304

5308

Enioment %W ROHS Compliant *Green Procurement



SF
()
—
o
=]
Q.
o
=
o
o
=
Y
3
(2]

Frame Cap

Frame Cap 2020 Frame Cap 2040 Frame Cap 2060

20

20

&

-+

Al

40

18 B
Ny

60

DO

ottt

Usable Frame

Usable Frame Usable Frame
Weight/1.3g E‘ SF-20-20(1F/2F/3F/2H) | Weight/2.3g ?‘( ;}le:%gégpzo-mqﬁ Weight/4.1g '? SF-20-60
Eﬁf,li”m;'{/ﬁ’.ﬁ{{é g:)ig;-‘am Frame Cap 2020 Frame Cap 2040 Frame Cap 2060
Green Procurement (Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray)
Weight/In the
drawing Item No. SFA-009 SFA-009G SFA-010 SFA-010G SFA-012 SFA-012G

*Use 2 pcs for SF20-80

Frame Cap 2525 Frame Cap 40402S Frame Cap 20-DE45 Frame Cap 20-DE30 Frame Cap 20-DEG0O
25 40
Il
&
o | ® @&
° Q@ «
@ |
Weight/2.03m4:% Weight/5.1 g”‘jwj Weight/1.58 Weight/1.5g Weight/1.5g “F—
Usable Frame Usable Frame Usable Frame Usable Frame Usable Frame
25. -40-40-2S ( ) SF-20'DE45 SF-20-DE30 SF-20-DE60
E‘ SF-25-25 E‘ /‘ §<FS:O4808§SS ; F/2F ': ? E‘
Frame Cap 2525 Frame Cap 40402S Frame Cap 20-DE45 Frame Cap 20-DE30 Frame Cap 20-DE6O
(Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray)
Item No. SFA-027 SFA-027G SFA-014 SFA-014G SFA-J5B SFA-J5BG SFA-J5A SFA-J5AG SFA-J5C SFA-J5CG
*Use 2 pcs for SF40-80-SS
Frame Cap 4060SS Frame Cap 204040 Frame Cap 20-20-R
60 20 R15
@f f@ P ©
2 e ¢ & = ° TN\
&, ® 9.9 SANE
b & — e
W § . 118 k—2—Ram
Usable Frame Usable Frame Usable Frame
Weight/8.9g SF-40-60-SS Weight/4.3g SF-20-40-40 Weight/1.2g SF-20-20-R
Frame Cap 4060SS Frame Cap 204040 Frame Cap 20-20-R
(Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray)
Item No. SFA-017 SFA-017G SFA-J9A SFA-J9AG SFA-023 SFA-023G

Hard Bracket Cap

-
\

30

MMaterial/Technical Data

Material Polyamide

Weight 1.8g

Enionment RoHS Compliant
Green Procurement

Hard Bracket Cap
(Light Gray)

SFA-J11G

(Black)
SFA-J11

Item No.

MUsable Frame
Hard Bracket SSG

N
Q Hard Bracket S562040
"-./ Hard Bracket $5G2060

@Hard Bracket SS Material

We sell Nut Material and
@Angle Bracket SS Material

Bracket Material as well.

Material Frame

T Nut SS Material
P31




SF
(2}
—~
(Y
=2
o
Y
=
o
M
=
Y
3
(]

6

SF 2 0 SERIES @

Slot CapSS

i

Slot Cap SS £2=2000/pcs
(Black) (Light Gray)

Item No. SFA-103 SFA-103G

Slot Cap SS £=2000/pcs
(Blue) (lvory) (Green) (Yellow) (Red)

Item No. SFA-103L SFA-103V SFA-103M SFA-103Y SFA-103R

Slot Seal SS

Slot Seal SS 2 =5000/pcs

Item No. SFA-170

Parts

How to order
46 % , Item No. QuaﬁtityD(pcs)
‘ SFA-103

M5

Slot Cap SS

—
fl

©

BMaterial/Technical Data

Material  Polyethylene
unit mass 14g/m

BUsable Frame Enionment RoHS Compliant

. Compatible to all SF20 series e a—
-;‘/ (Groove Width 6mm)
Slot Seal SS
6.5
6
—>—
©

EMMaterial/Technical Data
Material  Elastomer

MUsable Frame ————— UnitMass ~ 21g/m
R Compatible to all SF20 series Enicment ROHS Compliant
y (Groove Width Bmm) Green Procurement

® Exclusive Cutter for Slot Cap and Slot Seal is available.



20

Cover Holder SS / Cover Support SS / Cover Support SS Flat

Cover Holder SS Cover Suppot SS

2-5.5 Drilling, 9.5 Deep
Spot Facing, Depth 5.5

HKit Contents
{Cover Support SS Kit) {Cover Support SS Flat Kit)
@Cover Support SSX1 @Cover Support SS Flatx1

MUsable Frame

V Compatible to all SF20 series
>

@®T Nut SS(M5) x2 @T Nut SS(M5) x2

(Groove Width 6mm) @Truss Screw(M5X10) X1

@Truss Screw(M5X10) X1

@Hexagon Socket Bolt (M5x20) X2 @Hexagon Socket Bolt (M5X8) x2

- %Bolt and Nut in CN (Stainless) Kit are stainless.
Cover Support SS Kit Cover Support SS Flat Kit
Cover Holder SS Cover Support SS {Cover Support SS(Stainless)Kit) Cover Support SS Flat (Caver Support SS Flat(Stainless)Kit)
Item No. *SFAKHS ¥SFUKO1 XSFK-KO1CFsFr-ko1S) KSFAKIN XSFKK11 CFsFiek118)

How to fix Cover

SF
0
~
Q
=}
Q
Y
=
Q
m
=
Y
3
(]

Cover Suppot SS Flat

BMMaterial/Technical Data
Cover Holder SS
Material Polyamide
Color/Light gray
Weight 4g
#MB5 Nut X1
Environment % RoHS Compliant
*Green Procurement

Cover Suppot SS

Cover Suppot SS Flat
Material ABOB3S-T5(Special order:

Black Alumite is also available.)
Weight 19g(Cover Support SS)

10g (Cover Suppot SS Flat)
Enitoment % ROHS Compliant

*Green Procurement

{Cover Holder SS. Cover Support SS Indication of Resin Plate Dimension)

7  — T

e

In case of t=5 (=500mm) —

In case of t=3 (=300mm)
" In case of t=5 500mm pitch
l’ In case of t=3 300mm pitch

L-2

]

J{w

L-2

e - Fiﬂ mé L

— T e

\ Cover Holder SS. Cover Support SS

Hard Bracket SS with Tap

Hard Bracket SSG with Tap,
Cover Support SS
* t=23 Exclusive

Hard Bracket SS.”SSG or D Bracket SS

D Bracket SS
Cover Holder SS
% For both t=3 and t=5

(Resin plate)

Various Resin Plates are available.
Refer P182~.

{Door accessories)

Various parts for door are available.
Refer P140~.

We sell Nut Material and
Bracket Material as well.

T Nut SS Material§ @Hard Bracket SS Material
P31 @Angle Bracket SS Material

Material Frame



SFZ 0 SERIES E =

Cable Clamp SS(last-in) / Slot Hook SS (U), (J)

SF
(7))
-
Q
=
Q.
Y
=
o
o
=
Y
=
(]

Cable Clamp SS Slot Hook SS
U Type
20 12
— =
s o= g
T 8
T § §
) _
(Cable ClampSS) (Slot Hook SS) -
] L0 10 J Type
20
turn © (
!_‘ : 9] @ 8
@ Bandable ©
L= Area
ST 11 o
Pt ¢ 10
Cable Clamp SS 2
(Black) (Light Gray) ~
Item No. C1P-B03C C1P-003C MUsable Frame ——————
S Compatible to all SF20 series
Slot Hook SS ¢ (Groove Width 6mm)
(U Type) (J Type) ) )
BMMaterial/Technical Data
Item No. SFKK31U SFKK31J Cable Clamp SS Slot Hook SS U Type-J Type
Material Polyamide (Body) Stainless(Hook) Polyamide (Body) Stainless(Hook)
Color/Black-Light Gray Color/Light Gray
Weight 1g/piece 2.5g(U Type) -3g(J Type)/Load capacity 1.5k

Eniomet RoHS Compliant
Green Procurement

How to use Slot Hook

(To hang small article and tool) (To hang memo pad) (To store manual where you can see anytime)

Example of use

Hexagon

! Socket Bolt
(To frame's movable part) nexss

Slot Roller SS

Resin Roller

Bearing

$29
P24

3% Smooth operation is possible M
because cutting work is done
with Roller. HMUsable Frame

~ Compatible to all SF20 series (As door roller)
=t (Groove Width 6mm)
@\ EMMaterial/Technical Data
% Material Nylon 6 (Resin Roller)
S45C(Collar)

Steel(Bearing)
Slot Roller SS Weight 18g
Envionment RoHS Compliant —
Item No. SFK-805 Green Procurement Cap Nut (M5)

O

3% Size of the attaching bolt : M5
3 Appropriate Tightening Torque : 7.4N-m
%2 Bearings*1 Collar1 Washer

Parts
How to order
Item No. Quantity (Pac)

C1P-B03C [ ][]







SF
(7))
-
(Y
=}
o
Y
=
o
m
=
Y
3
(]

SF30s:ries ] <

SF2-30-30

30
16.5
8

SF2-30-30 2=4000 SF2-30-30 £=50~4000

Item No. SFF-322-T SFF-324-T

BMMaterial/Technical Data
Material Aluminium Alloy

Alumite Treatment
Environment - RoHS Compliant
Green Procurement
Geometrical Ix=2.85 X 10%mm*
Moment of Inertia ly=2.85 X 10mm*
Section Modulus— Zx=1.90 X 10°mm*
Zy=1.90% 10%mm3
Unit Mass 0.83kg/m

SF2-30-60

=

|

|
L P

16.5

3
/5]

<
&
SF2-30-60 2= 4000 SF2-30-60 £=50~4000 2.068
Item No. SFF-332-T SFF-334-T
HEMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant
Green Procurement
Geometrical 1x=20.79 X 10*mm*
Moment of Inertia  |y=5 41 x 104mm¢
Section Modulus - Zx=6.93 X 10°m*
Zy=3.61x10%m3
Unit Mass 1.49kg/m
SF Frame o
Standard(2 =4000) (Cut by customer) In case of specifying the length (Cut by SUS) 3Order by 0.1mm unit
50 ltem No. 2=4030-Effective range of use £ =4000  Quantity (pcs) Item No. Length (mm)

SFF-322-T [JL] SFF-324-T ¢=800



This sign shows the product is designed
for Asia region only

SF
0
~
Q
=}
Q
Y
=
Q
m
=
Y
3
(]

EMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment ---- RoHS Compliant
Green Procurement

Geometrical 1x=2.38 X 10%mm* 30
Moment of Inertia  |y=p 38 x 104mm*

Section Modulus - Zx=1.59 X 10°mm* 165
Zy=1.59 X 10°mm? . 8
Unit Mass 0.73kg/m N Y 4—R2

o =
SF-K-30:30 £2=4000 SF-K-30-30 £=50~4000 .L/er
Item No. SFF-B12-T SFF-B14-T CI—

MMaterial/Technical Data 30
Material Aluminium Alloy
Alumite Treatment 16.5

Environment--- RoHS Compliant
Green Procurement

Geometrical 1x=16.68X 10%m*
Moment of Inertia  y—4 53 % 104mm*

Section Modulus - Zx=5.56 X 10°m*
Zy=3.09 X 10%mm3

Unit Mass 1.30kg/m

SF-K-30-60 2= 4000 SF-K-30-60 £=50~4000
Item No. SFF-B22-T SFF-B24-T
(SF-30-90 only)

EMaterial/Technical Data 4R2 30

Material Aluminium Alloy 16. o
Alumite Treatment >t s i<

Environment - RoHS Compliant 0 ﬁ ~
Green Procurement 30 " ey
SF-30-90 SF-30-120 185,71 4. 042 A

Geometrical ~  [x=6628X10m* [x=15216X10"m" [\ S 4-¢$6.8

Moment of Inertia =g a4 10tm* ~ Iy=1119x 10m* N @ D T 0

Section Modulus -~ Zx=147x10fm®  Zx=25.36X 10°m° o Pany m

2y=56XI09°  2y=746X 10w N ~

120
30
N
x

fi - .
Unit Mass 244kg/m 321kg/m I‘E j 3

o
G T o
SF-30-90 £=4000 SF-30-90 £=50~4000 ( j 5 o ( j
Item No. SFF-392-T SFF-394-T = —
% " . &)
SF-30-120 2=4000 SF-30-120 2=50~4000 @ o - l& EI b4z
Item No. SFF-312 SFF-314
@Exclusive Nut T Nut S @EXxclusive Cap @Additional processing and surface Ereatment are also availabl.
After Nut S EE E :
Last-In Lock Nut S Frame Cap ;

Free Nut S | T 51

End Face Tapping f§ Drilling



SF30s:ries ] <

SF-60-60-2S

BEMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment..... RoHS Compliant

SF
(7))
-
(Y
=}
o
Y
=
o
m
=
o
3
()

Green Procurement 4-R2 165 &0
Geometrical Ix=41.38% 10%m* N 8. | ™y
Moment of Inertia  |y=41 38 x 104mm* ,\1
Section Modulus-~ Zx=13.79 % 10%mm? AN A
U~ b4
Zy=13.79x10°m? I~ (=X
Unit Mass 2.63kg/m 2/ 3 XI“E: :j:l
N\~ ~/
Yz Y
T pA
SF-60-60-2S 2= 4000 SF-60-60-2S £=50~4000 4&1 ¥u
30 4-96.8
Item No. SFF-602W-T SFF-604W-T
SF-60-90
EMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment ---- RoHS Compliant 4-R2
Green Procurement Nﬁ
Geometrical IXx=111.61X10%mm* ~
Moment of Inertia |y =50 55 x 104mm*
Section Modulus - Zx=24.8 X 10°mm3
Zy=17.56 X 10°mm® =
Unit Mass 3.10ke/m
ol X
)
(o]
™|
SF-60-90 £=4000 SF-60-90 £=50~4000
Item No. SFF-692 SFF-694 | @

SF-60-120

60

EMMaterial/Technical Data
Material Aluminium Alloy 4-R2
Alumite Treatment

8V
Environment - RoHS Compliant
Green Procurement ™~
Geometrical 1x=242.90 X 10%mm* D
Moment of Inertia |y —g5 97 x 104mm* ) "4 L\_I'
Section Modulus - Zx=40.48 X 10°mm* =]

Zy=21.99x10%m?
Unit Mass 4.13kg/m

TTITTITY
N

SF-60:120 2=4000 SF-60-120 £2=50~4000
[e]
Item No. SFF-612 SFF-614 ®
~) (™
7 30 4-¢96.8
SF Frame
Standard(2 =4000) (Cut by customer) In case of specifying the length (Cut by SUS) 3Order by 0.1mm unit
52 Item No. £ =4030-Effective range of use £ =4000 Quantity (pcs) Item No. Length (mm)

SFF-602W-T [JL] SFF-604W-T  2=800



D This sign shows the product is designed
for Asia region only

SF
0
~
Q
=}
Q
Y
=
Q
o
=
Y
3
(]

SF2-30-30-1F

EMMaterial/Technical Data
Material Aluminium Alloy

Alumite Treatment
Environment .. RoHS Compliant

Green Procurement
Geometrical 1x=3.03 X 10“mm* 2 7,12

30

Moment of Inertia  y—p g0 % 104mm¢ @
. _ RO.5 "
Section Modulus - Zx=1.99x 10%mm® -
Zy=1.88x10%m? \
Unit Mass 0.85kg/m

30
16.5
8

>

?J
|
GC | JU

SF2-30-30:1F 2=4000 SF2-30-30-1F £=50~4000 C]
Item No. SFF-3E2-T SFF-3E4-T %o
©68 R
SF2-30-30-2F
EMMaterial/Technical Data
Material Aluminium Alloy 30
Alumite Treatment 2 7 12
Environment ---- RoHS Compliant v
Green Procurement RO.5 3
1
Geometrical 1x=3.09 X 10“mn* \ D
Moment of Inertia =3 09 x 104nm* —
Section Modulus - Zx=1.98 X 10%mn3 J—\ oA q
Zy=198x10°m" 8 | < XY
Unit Mass 0.89kg/m 1
=i
4799
$6.8
SF2-30-30-2F 2= 4000 SF2-30-30-2F £=50~4000
Item No. SFF-3F2-T SFF-3F4-T
SF2-30-30-3F / SF2-30-30-2H
MMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment--- RoHS Compliant
Green Procurement
SF2-30-30-3F  SF2-30-30-2H 30 30
Geometrical ~ =301X10'm*  =27X10‘m* ol 7 12 16.5
Moment of nerti iy=gz7x0m¢  Iy=326x 0fm .- N RO
Section Modulus— Zx=133X107m°  Zx=18X10°m? — MY
Zy=218X10°  Zy=217X 10 INEE= N §
Unit Mass 090kg/m  0.86keg/m o gg/j
8 8 o) xi—312 g ]
(£ a8 S
e | L WO UL
SF2-30-30-3F £= 4000 SF2-30-30-3F £=50~4000 $6.8 \\3 $6.8 \9
Item No. SFF-3G2-T SFF-3G4-T SF2-30-30-3F SF2-30-30-2H
SF2-30-30-2H €= 4000 SF2-30-30:2H £ =50~4000
Item No. SFF-3H2-T SFF-3H2-T
@Exclusive Nut T Nut S @Exclusive Cap @Additional processing and surface treatment are also ava.ilable.
After Nut S Frame Cap - =
Last-In Lock Nut S
Free NutS P60~ P80.81 P208~ 53

End Face.Tapping DriIIin.-g




SF30s:ries ] <

SF2-30-60-1F / SF2-30-60-2H

EMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement
SF2-30-60-1F  SF2-30:60-2H

Geometrical [x=2093X10m*  Ix=21.21 X 10m*

Moment of Inertia y=595X10m¢  ly=B.35X10'm’
Section Modulus - 7x=698X10%m*  Zx=7.08X 10°m’

SF
(2]
P
Q
35
Q.
Y
=
o
o
=
Y
3
(]

Zy=381X10°m°  Zy=423X10°m*
Unit Mass 1.55kg/m 1.58kg/m
SF2-30-60-1F £= 4000 SF2-30-60-1F £=50~4000
Item No. SFF-5E2-T SFF-5E4-T
SF2-30-60-2H £ = 4000 SF2-30-60-2H £ =50~4000 SFesue0r Sresoe0aH
Item No. SFF-6H2-T SFF-6H4-T
SF-60-60-2S-1F
" mMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment - ReHS Compliant 4R2 217 4068
Green Procurement Y 9
Geometrical Ix=45.35 X 10%mm* l
Moment of Inertia =43 34 x 10%mn* 2 N (h %]
Section Modulus -~ Zx=15.6110°m* (2 é

Zy=14.45x10%m° ]
Unit Mass 2.90kg/m

9
pWa

A\ 72
o N\ N\
N N " U
SF-60-60-2S-1F 2= 4000 SF-60-60-2S:1F £=50~4000 o
Item No. SFF-EG2W SFF-EB4AW 15 20 15
60
SF-60-60-2S-2F
MMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment 4R2 2,7 4-¢6.8

Environment---- RoHS Compliant
Green Procurement
Geometrical x=43.75 X 10*mm*

15
|l
r\G
\J 3
PN

Moment of Inertia |y =43 75 x 104mm* N J
Section Modulus - Zx=14.66 X 10°m? AT 3\ L
Zy=14.66%10°mm? o
Unit Mass 2.73ke/m 8 8 g x
NF4 N
A4 O
0|
SF-60-60-2S-2F 2= 4000 SF-60-60-2S-2F 2=50~4000 3 1 C'_l
[so]
Item No. SFF-FE2W SFF-FB4AW 15 28 15
SF Frame
Standard(2 =4000) (Cut by customer) In case of specifying the length (Cut by SUS) 3Order by 0.1mm unit
54 ltem No. 2 =4030-Effective range of use £ =4000  Quantity (pcs) Item No. Length (mm)

SFF-5E2-T L] SFF-5E4-T ¢=800



This sign shows the product is designed
for Asia region only

SF
(7]
-
Q
=]
Q
Y
=
o
o
=
Y
3
(]

SF-30-60-60

BMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
RoHS Compliant
Green Procurement
Ix=27.29 X 10%mm*
ly=27.29 X 10%mm*
Zx=10.75X10°mm®
Zy=10.75X10°mm®
2.33kg/m

Environment

Geometrical
Moment of Inertia

Section Modulus

60

Unit Mass

SF-30-60-60 £= 4000 SF-30-60:60 £=50~4000

Item No. SFF-G12 SFF-G14

SF-30-30°R

BMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
RoHS Compliant
Green Procurement
Ix=2.42 X 10%mm*
ly=2.42 X 10%mm*
Zx=1.53X10%mm3
Zy=1.53x10%mm®
0.82/m

Environment

Geometrical
Moment of Inertia

Section Modulus

30

Unit Mass

16.5 R2

SF-30-30-R £=4000 SF-30-30-R £=50~4000

Item No. SFF-R62 SFF-R64

SF-30-30-R

How to use Frames

(SF-30-60-60)

SF-30-. 3%3030

SF-30-60-60

(SF-30-30-R) (SF-30-30-1F)

(SF-30-30-2F)

(SF-30-DE30)
(SF-30-DE45)
(SF-30-DE60)

/
i

SF-30-30-2F

SF-30-30-2F SF-30-30-2F

SF-30-30-R
SF-30-30-2F

=

SF-30-30-1F

\_SF-30-DE45

SF-30-60

n

-

SF-30-60 SF-30-30-1F SF-30-30-1F _SF-30-30-1F

@As the reinforcing Frame at
corner, or to ensure space inside.

@For safety and beauty by the
round corner.

@For the clean environment
without Frame grave externally.

@Many variations to construct angles
other than 90°

@Exclusive Nut T Nut S

After Nut S

Last-In Lock Nut S
Free Nut S P60~

¢

@Exclusive Cap

Frame Cap
\/ P80.81

@Additional processing and surface treatment are also avail_able.

End Face Tapping f§ Drilling

S 85



SF
(]
f~d
Q
3
Q
Y
=]
Q
mn
=
Q
=
(]

BMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment ---- RoHS Compliant
Green Procurement
Geometrical Ix=3.21 X 10%mm*
Moment of Inertia |y =3 70 x 104nm¢

Section Modulus -- Zx=1.56 X 10°mm*

25.61

Zy=1.86X10°mm®
Unit Mass 1.08kg/m
SF-30-DE45 2= 4000 SF-30-DE45 £=50~4000 6-R2 16.
15
Item No. SFF-J62B SFF-J64B 30
EMaterial/Technical Data
Material Aluminium Alloy 225
Alumite Treatment y
Environment ---- RoHS Compliant S
Green Procurement Y
Geometrical Ix=3.15 X 10%mm*
Moment of Inertia ly=3.86 10%mm* W
Section Modulus - Zx=1.58 X 10°mm®
Zy=2.00X 10°%mm? 8 2
Unit Mass 1.17ke/m ) \ N
AU)
e
SF-30-DE30 2= 4000 SF-30-DE30 2=50~4000 6-R2 15
30
Item No. SFF-J62A SFF-JB4A

HMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant
Green Procurement
Geometrical [x=3.33 X 10%mm*
Moment of Inertia  |y=3 70 x 104mm*

Section Modulus -- Zx=1.67 X 10°mm?

27.99

S

Zy=1.89 X 10%mm3 3
Unit Mass 1.10kg/m
[~
SF-30-DEBO 2= 4000 SF-30-DEBO 2=50~4000 6-R 16. i
Item No. SFF-J62C SFF-JB4C %0
Standard(2 =4000) (Cut by customer) In case of specifying the length (Cut by SUS) 3Order by 0.1mm unit

56 Item No. £ =4030-Effective range of use £ =4000 Quantity (pcs) Item No. Length (mm)



D This sign shows the product is designed
for Asia region only

SF
(7))
[~
o
=]
o
Y
=
(=3
m
=
o
3
()

HEMaterial/Technical Data
Material Aluminium Alloy

Unit Mass 2.32kg/m

Alumite Treatment S0
Environment RoHS Compliant 15 20 15
Green Procurement 16.5 4-R2
Geometrical Ix=21.67 X 10%mm* 8
Moment of Inertia ™ |y=p1 67 x 10¢m* . ﬁ f v
Section Modulus - Zx=8.67 X 10°mm*
Zy=8.67x10%m?3 0 ~ t_ﬁ

3| ] X
SF-50-50-2S 2= 4000 SF-50-50-25 £=50~4000 v
Item No. SFF-502-T SFF--504-T
HMaterial/Technical Data 50
Material Aluminium Alloy
Alumite Treatment 15 20 15
Environment ---- RoHS Compliant v 7,2 4R
Green Procurement
q
Geometrical Ix=153.40 % 10*mm* © j E
Moment of Inertia |y =40 48 x 104mm* - -~ m r;’ ©
Section Modulus - Zx=30.68  10%mm° GV ®lo
_ Zy=16.99x 10%m° Q C :) .
Unit Mass 4.28kg/m f:n nc\
U l_] \J 8-¢6.8
=~
x 8| 8 2
L=
SF-50-100:2S £=4000 SF-50-100-2S £2=50~4000 f\uﬁuf\
\3 CJ
Item No. SFF-512-T SFF-514-T & C :)
a :n nc\
U U U
| LYY

HMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant
Green Procurement
SF-50-5025'1F  SF-50-50-25-2F 50 50
Geometrical [x=22.23X10m*  [x=22.26X 10m*
q 4-R2 -
Morment of inertia o) 4x |~ ly=po26 0t v ohE? 62 v
Section Modulus- 7x=887x10fm*  Zx=877x10°m’ o [R—= ™ © Re—
Zy=856X10%W°  Zy=877X10%m? T JO-1D
. L=
UnitMass - 233ke/m  236ke/m 2 | |“;<Cr’ ‘;) alel x |“:<C, ‘;]
- N—-Nn
N PAS AP
w 4
A BLTLT cos | 1AL ICT I w000
8
[aV) StH1<
SF-50-50-25-1F 2= 4000 SF-50-50-25:1F 2=50~4000 15| 20 | 15 16.5
15| 20 | 15
Item No. SFF-E52 SFF-E54
SF-50-50-2S-2F £= 4000 SF-50-50-25-2F £2=50~4000
Item No. SFF-F52 SFF-F54
@ExclusiveNut T Nut S @Exclusive Cap @Additional processing and surface_ trelatment are also availabl.
After Nut S e
Last-n Lock Nut S T 02 T | = - : 57
Free Nut S | -

End Face..Tapping DriIIinE L



SF
()
I~
o
>
Q.
Q
=
o
o
b~
Q
3
(0]

SF30series

SF-35-35

[

]

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment ---- RoOHS Compliant
Green Procurement

Geometrical Ix=5.12%10%mm*

Moment of Inertia ly=5.12X 104mm*
Zx=2.93% 10%m?
Zy=2.93% 10%m3

1.11kg/m

Section Modulus

Unit Mass

SF-35-35 £=4000

SF-35-35 £=50~4000

Item No.

SFF-3A2

SFF-3A4

SF-35-35-1F / SF-35-35-2F

e
f.\

‘

v

MMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant
Green Procurement
SF-35:351F  SF-35:35:2F
Geometrical [x=498X10'm*  [x=5.37X10°m*
Moment of Inertia =5 17x10qm¢ ~ 1y=537x 10m
Section Modulus - Zx=284X10%m°  Zx=298X 10°m*
Zy=2RX10°m?  Zy=298X10°m?
Unit Mass 1.06kg/m  1.09ke/m

SF-35-35-1F £=4000

SF-35-35-1F £=50~4000

Item No. SFF-EA2 SFF-EA4
SF-35-35-2F 2= 4000 SF-35-35-2F £=50~4000
Item No. SFF-FA2 SFF-FA4

SF-35-35-2H

EMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment---- RoHS Compliant
Green Procurement

Geometrical Ix=4.83 X 10%mn*

Moment of Inertia =5 03 x 104mn#
Zx=2.76X10%m?3
Zy=2.99%10%m?®

1.02kg/m

Section Modulus

Unit Mass

SF-35-35-2H 2= 4000

SF-35-35-2H £=50~4000

Item No.

SFF-GA2

SFF-GA4

~M6

35

35
16.
o s v
~ D\ ?P 22
)
st
(.
Gt D
35
16.5
35
< 8
~ R ﬁ . 2’99 v
2
~ I e w
\V)
So{tE
A n’ N\
ot 2J) N IGE Y
21
« 16.
SF-35-35-1F SF-35-35-2F
35
16.
8
z
N ’%’ j
\22
~ -k
g = x

N

SF Frame
Standard(2 =4000) (Cut by customer)
Item No. £ =4030-Effective range of use £ =4000  Quantity (pcs) Item No.

SFF-3A2 ] SFF-3A4

In case of specifying the length (Cut by SUS) Order by 0.1mm unit
Length (mm)
2=800

58



50

SF-35-70

BMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

Geometrical 1x=35.09 X 10%mm*

Moment of Inertia
Section Modulus

ly=9.04 X 10°mm*
Zx=10.03x10°mm®
Zy=5.16x10°mm?

Unit Mass 1.80kg/m

SF-35-70 £=4000

SF-35-70 £=50~4000

Item No. SFF-3B2

SFF-3B4

SF-35-70-1F

MMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment---- RoHS Compliant
Green Procurement

Geometrical 1x=33.94 X 10%m*

Moment of Inertia ly=9.47 X 10%mn*

Zx=9.70x10°m°
Zy=5.36 X 10°m?
1.78kg/m

Section Modulus

Unit Mass

SF-35-70-1F £=4000

SF-35-70-1F £2=50~4000

Item No. SFF-EB2

SFF-EB4

SF-35-70-2F

HMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment --- RoHS Compliant
Green Procurement

Geometrical Ix=34.26 X 10*mm*

Moment of Inertia |y =g 40 x 104mm¢
Zx=9.79X10°mm*
Zy=527x10°m°

1.77kg/m

Section Modulus

Unit Mass

SF-35-70-2F 2= 4000

SF-35-70-2F 2=50~4000

Item No. SFF-FB2

SFF-FB4

@Exclusive Nut T Nut S

After Nut S
<

@Exclusive Cap

Last-In Lock Nut S
Free NutS P60~

¢

@Additional processing and surface treatment are also available.
- =

Frame Cap
z P80.81

o s %85 .
S -,
o
G|
o %, ' .
S T O]
3 r:)@ QGI Y
(]
175 35 2¢125
o o]
L ) )
& r/@ 1 Y
A AN
175 35 29125

End Face Tapping f Drilling

o

3 s

SF
)
—
o
=}
o
Y
=
Q
o
=
Q
3
[}




SF30series ] <

T Nut S (M3%)/ Anti-Sliding Cap S

SF
2
-
o
3
o
9
Q
i
=
Q
3
o

T NutS (M)
14

—
7.5

ﬂmf
~NT TN

AN

M
Anti-Sliding Cap S
T Nut S(M6) TNut S(M5) T Nut SS(M4) T Nut SS(M3) (for T Nut S and Aluminum T Nut S)
(ST Nut S (M6) ) (STNutS (M5) ) (ST Nut SS (M4) ) (ST Nut SS (M3) ) 16.5
Item No. SFB-002(sFN-Ts6)  SFB-001(sFN-Tss)  SFB-O0B(SFN-TS4) SFB-005(SFN-TS3) %
==
Anti-Sliding Cap S i
(50pcs/pack) S ! (P
Item No. SFA-906 ‘
N o
‘ [/
D: - jj v
T
BMUsable Frame EMaterial/Technical Data
Compatible to all SF30 series T Nut SS STNutSS  |Anti-Sliding Cap SS
(Groove Width 8mm) Materidl Equivalent Stainless Black Polyamide
to S10C With Conductive
Uni-Chrome | Function
Weight 8g 8g 0.2g/piece

Ewionment RoHS Compliant Green Procurement

Easy Nut SS (M%)

17
8 65
©
N
| w o~
s O]
% One-Touch to —J%O'E’ M
insert later and
Anti-Skid as well
Easy Nut S Easy Nut S Easy Nut S Easy Nut S BUsable Frame
(M6) (M5) (M4) (M3) Compatibe to all SF30 series
Item No. SFB-PN19 SFB-PN18 SFB-PN17 SFB-PN16 (Groove Wigth &mm)
SEasyNutS SEasyNutS SEasyNutS SEasyNutS . i
(me) (M5) (M4) (M3) HMMaterial/Technical Data
Stainless Stainless Stainless Stainless Easy Nut S S Easy Nut S
Material  Equivalent Stainless
Item No. SFN-ES6 SFN-ES5 SFN-ES4 SFN-ES3 10S10C With Conductive
Uni-Chrome plating
Weight Bg/piece
Enionment RoHS Compliant Green Procurement
Parts

How to order
60 Item No. Quantity (pcs)
L]

SFB-002



50

After Nut S(M3x) / After Nut Support S

SF
(2]
-
o
=
o
Y
=
o
m
=
Q
3
(]

After Nut S(M3) After Nut Support S
17 (for After Nut - Last-In Lock Nut)
6.3 85
0.8
T‘i
% Using After Nut Support together
prevents from slipping. © .u-) g)
I
After Nut S(MB) Free Nut S Free Nut S Free Nut S M
(S After Nut S(MB) ) (S After Nut S(M5) ) (S After Nut S(M4) ) (S After Nut S(M3) )
Item No. SFB-616(sFN-Ase)  SFB-B15(sFN-ASs)  SFB-814(sFN-As4)  SFB-613(SFN-AS3)
After Nut Support S(50pcs/pack) MMaterial/Technical Data After Nut
After Nut S | SAfter NutS | SupportS
Item No. SFA-9A2 Material Equivalentto | Stainless PP Resin
S10C
HUsable Frame — UniChrome
~~ Compatible to all SF30 series Weight7g 78 0.2g/piece
(Groove Width 8mm) Ewroment < RoHS Compliant

*Green Procuremen

Lock Nut S (M%)

#You can fix Nut and
conduct electricity by
tightening  attached

Set Screw.
6.3 17
5.5 0.8 6.5 7 3.5
oz L) 7D
s AR
Lock Nut S(M6)  Lock Nut S(M5) Lock Nut S(M4)  Lock Nut S(M3) [ M
(SLock NutS(MB) )  {Lock Nut S(M5) )  {Lock Nut S(M4) ) (S Lock Nut S(M3) ) /
With M4 Set scre
Item No. ¥SFB4B6 (fsriis6) ¥SFB4B5 (fsriLs5) ¥SPB4BAYSsH) ¥SFB4B3srvisy)
HMMaterial/Technical Data
Lock NutS | S Lock Nut S
BUsable Frame —— Mateid  Equivalent to| Stainless
* 7 Compatible to all SF30 series = ] oe
 (Groove Width 8mm) Uni-Chrome
Weight 78 78

Enionment % RoHS Compliant
*Green Procuremen

S Free Nut S (M%)

S Free Nut S(M3)

oo

@
O
%1 S Free Nut S(MB) S Free Nut S(M5) S Free Nut S(M4) S Free Nut S(M3) e
Item No. SFB-S64 SFN-FS5 SFN-FS4 SFN-FS3
MMaterial/Technical Data
S Free Nut S
BUsable Frame Material Stainless
With Conductive
Compatible to all SF30 series Function
(Groove Width 8mm) Weight 4g

Enitoment RoHS Compliant
Green Procurement
31 No conductive type for S Free Nut S (M6)

We sell Nut Material and  [ULNLERECER FOTECRE CE R e d 7 y 4 61
Bracket Material as well. P62 [l @Angle Bracket S Material K A4 d /“.'A/: _ﬂlu':h
aterial Frame




SF30seres B

Free Nut S with Headless Bolt S (M5) / Free Stud S (M5) / Free Nut Stopper S

Free Nut S with Headless Bolt S(M5) Free Stud S(M5)

<>

SF
]
—
[
=]
Q.
Y
=
Q
m
=
Y
3
[

75 16.3
A
?@% s
e M5
|
Q I wms
N 2l o
N
8 | ] J\'
I T T
15
Free Nut S with Headless Bolt S(M5) Free Stud S(M5) Free Nut Stopper S
Item No. ISFN-NSS :SFN-NSE] HMaterial/Technical Data
Free Nut S with | Free Stud S Free Nut
Headless Bolt S Stopper S
Free Nut Stopper S Material Stainless | SPHC Polyamide
m@%ﬁw dhete Uni-Chrome Plating
Item No. FSFA-9F1 Welght -y P 0%

Eniroment e RoHS Compliant
*Green Procurement

HWUsable Frame —

Compatible to all SF30 series

(Graove Width 8mm) #Tightening Torque is below 1.2N-m for Free Stad S.

(Use Knurling Nut)

Double Round Lock Nut S30/S Double Joint 30

Double Round Lock Nut S30
295

S Double Joint 30

o 295
K
215 oS e 4l
| ]
i —r =
@ & gl TS
jé’ } View A
2-M5
S
MUsable Frame EMaterial/Technical Data
Double Round Lock Nut S30 S Double Joint 30 SF-30-30.SF-30-60 Double Round Lock Nut $30| S Double Joint 30
SF-30-90.8F-30-120 Material Stainless Stainless
Item No. SFJ-250S SFK-391S Weight 19g 34g

Enonment %y RoHS Compliant
*Green Procurement

Joint Bar S140/ T Nut S Material / After Nut S Material

Joint Bar S140 Joint Bar S140

Joint Bar S140 Kit Contents

@Joint Bar S140x1
@Set Screw (MB6%8)x4

T Nut S Material
(T Nut S Material)

After Nut S Material
(After Nut S Material)

62

15 115
8
Joint Bar S140 Joint Bar $140 Kit @ J 7.8 @ L T—T
o
Item No. ¥SFJ-606 Item No. *SFK-606 T jpm— T
) ®
T Nut S Material 2=(2800) T Nut S Material 2=450 © \ ©
(ST Nut S Material 2=(2800) ) (ST Nut S Material £2=(450) )
Item No. XSFX-100(¥sFx-002) XSFX-120(¥sFxs00)
After Nut S Material 2=(2800) | After Nut S Material £=450 q "
(S After Nut S Materiall 2=(2800) ) (S After Nut S Material =(450)) WiNatsoalglechnicallbata
Joint Bar $140 | T Nut S material | ST Nut S material
Item No. XSFX-103(¥srx007) XSFX-123(}srx807) After Nut § material | S After Nut S materia
- - - - - - Material Equivalent to S10C | Equivalent 0810C | Stainless
* Note : T Nut material will be delivered without plating.
p & MUsable Frame Uni-Chrome Plating | Not plating
Compatible to all SF30 series Weight 868 653g/m(TNutS) | 668g/m(ST Nut S)

Parts
How to order
Item No.

SFN-NS5

Quantity (pcs)

(Groove Width 8mm)

483g/m(After Nut
Enviomentk RoHS Compliant
*Green Procurement

S) 1494g/m(S After Nut

9



D Bracket S

D Bracket S-CN
{D Bracket S-CN with Tap)

D Bracket S
{D Bracket S with Tap)

Item No. SFJ-018¢(sFJ-019) SFJ-018N(sFJ-019N)

D Bracket S Kit | D Bracket S(Stainless)Kit D Bracket S-CN Kit

(D Bracket S Kit with Tap) | (D Bracket S with Tap (Stainless) Kit ) (D Bracket S-CN Kit with Tap)
Item No. SFK-018(sFk-019) | SFK-018S(sFk-0198) SFK-OT8N(SFK-019N)

MUsable Frame

Compatible to all SF30 series
(Groove Width 8mm)

@®Cap

D Bracket Spacer S

Item No.

SFJ-4018

D Bracket 3060 D Bracket S3060
(D Bracket 3060 with Tap) (D Bracket S 3060 with Tap)
Item No. SFJ-021(sFJ-021T) SFJ-A13(SFJ-A13T)
3060Kit  3060(Stainless)Kit $3060 Kit $3060(Stainless)Kit
(3060 Kit with Tap) (3080 with Tap(Stainless)Kit) ~ (S3060 Kit with Tap) (53060 with Tap(Stainless)Kit)
Item No. SFK-021(srk021T)  SFK-021S(SFK-021P) SFK-AT3(sFK-A13T)  SFK-AT3S(SFK-A13P)
D Bracket 3060-CN
(D Bracket 3060-CN with Tap)
Item No. SFJ-02 1N(sFJ-021C)
D Bracket 3060-CN Kit
(D Bracket 3060-CN Kit with Tap)
Item No. SFK-02 1N(sFK-021C)

HMUsable Frame

SF-30-60 /1F
SF-60-60-25/1F/2F
SF-60-90/60-120

@Setting to bottom of
D Bracket enables to
fix on a flat base.

HKit Contents

@D Bracket S<or with TapyX1

@Hexagon Socket Bolt (MBX12) x 2

@7 nut S(MB)x2

%Bolt and Nut in CN- (Stainless)
Kit are stainless.

HWUsable Frame
Compatible to all SF30 series

(Groove Width 8mm)

HKit Contents

<D Bracket 3060 Kit)

@D Bracket 3060<¢or with TapyX1
@Hexagon Socket Bolt (MBX15)x4
@T Nut S(MB)X4

{D Bracket S3060 Kit)

@D Bracket S3060<or with Tap)X1
@Hexagon Socket Bolt (MBX12)x8
@T Nut S(MB)X8

BMaterial/Technical Data

Material Aluminum Die-Cast(ADC12)
(CN/Electroless Nickel Plating)
With Anti-Skid Function

Weight 138

Enionment *ROHS Compliant
*Green Procurement

BMaterial/Technical Data

Material Stainless

Weight 8g

Enionment *RoHS Compliant
*Green Procurement

D Bracket 3060

EMaterial/Technical Data

D Bracket 3060 D Bracket S3060
Material Aluminum Die-Cast(ADC12)

(CN/Electroless Nickel Plating)
Weight With Anti-Skid Function

1008 65g
Enitonment % RoHS Compliant

*Green Procurement

We sell Nut Material and
Bracket Material as well.

%Bolt and Nut in CN- (Stainless) Kit are stainless.

63

Material Frame

SF
(]
—
(Y
=}
(=}
o
=
o
m
=
Y
3
(]



SF30series : <

Hard Bracket S

e

SF
(2]
-
Q
=]
Q
Y
=
Q
i
=
L
3
(]

51

2-7 Drilling

1
%41

4.2
<M5 Tapping>

Hard Bracket S

(Hard Bracket S with Tap) Please use Kit with Tap to install Side Cover. (Refer P82 for details.)

Item No. SFJ-NO3(SFJ-NO3T)
Hard Bracket S Kit Hard Bracket S(Stainless)Kit MMaterial/Technical Data
(Hard Bracket S Kit with Tap) (Hard Bracket S (Stainless) Kit with Tap) . -
Material Aluminium Alloy
Item No. SFK-NO3(SFK-NO3T) SFK-NO3S (SFK-NO3P) MKit Contents Alumite Treatment
@Hard Bracket S<or with Tap)X1 Peroendicular surface is mechining finished.

HMUsable Frame ——
/ Compatiole to all SF30 series
Z / (Groove Width 8mm)

Hard Bracket SG

Hard Bracket SG
{(Hard Bracket SG with Tap)

@Hexagon Socket Bolt (M6X15) X 2
@T Nut S(M6)x2
%Bolt and Nut in (Stainless)

Kit are stainless.

44g
Weight RoHS Compliant
Enoment Green Procurement

Please use Kit with Tap to install Side Cover. (Refer P82 for details.)

Item No. SFJ-N26(SFJ-N26T)
Hard Bracket SG Kit Hard Bracket SG(Stainless)Kit MMaterial/Technical Data
(Hard Bracket SG Kit with Tap) (Hard Bracket SG(Stainless)Kit with Tap) . .
Material Aluminium Alloy
Item No. SFK-N26 (SFK-N26T) SFK-N26S (SFK-N26P) HKit Contents Alumite Treatment
@Hard Bracket SG<{or with Tap)X1

HWUsable Frame ——

Compatible to all SF30 series
(Groove Width 8mm)

Hard Bracket SW3030

Hard Bracket SW3030
(Hard Bracket SW3030 with Tap)

@Hexagon Socket Bolt (M6x22) X 2
@T Nut S(MB)x2
*%Bolt and Nut in (Stainless)

Kit are stainless.

Perpendicular surface is machining finished.
101g

Weight RoHS Compliant

Enioment Green Procurement

Please use Kit with Tap to install Side Cover. (Refer P82 for details.)

Item No. SFJ-NTT(SFINTIT)
Hard Bracket SW3030 Kit | Hard Bracket SW3030(Stainless)Kit e
{Hard Bracket SW3030 Kit with Tap) (Hard Bracket SW3030(Stainless)Kit with Tap) Material Aluminium Alloy
Alumite Treatment
Item No. SFK-NTT(SFNTIT) SFK-NTTS(SFKNT1P) WKt Contents Weight 768

HUsable Frame —
% Compatible to all SF30 series
; / (Groove Width 8mm)

@Hard Bracket SW3030¢or with TapyX1
@Hexagon Socket Bolt (M6x15) X 4
@T Nut S(MB)x4

*Bolt and Nut in (Stainless)

Eniomett RoHS Compliant
Green Procurement

<N
O Kit are stainless.
Parts @Cap for Bracket
How to order P81
64 ltem No. Quantity (pcs)

SFJ-N03




Hard Bracket S3060
(Hard Bracket S3060 with Tap)

Item No. SFJ-NO4(sFJ-N04T)
Hard Bracket S3060 Kit Hard Bracket S3060(Stainless)Kit
(Hard Bracket S3060 Kit with Tap) (Hard Bracket S3060 (Stainless) Kit with Tap)
Item No. SFK-NO4 (sFK-No4T) SFK-NO4S (sFk-No4p)

HMUsable Frame ——
SF-30-60/1F
SF-60-60-2S/1F/2F
SF-60-90/60:120

Hard Bracket SG3060
(Hard Bracket SG3060 with Tap)

Item No. SFJ-N27(SFJN27T)
Hard Bracket SG3060 Kit Hard Bracket SG3060(Stainless)Kit
{Hard Bracket SG3060 Kit with Tap) (Hard Bracket SG3060 (Stainless) Kit with Tap)
Item No. SFK-N27 (SFK-N27T) SFK-N27S(sFk-N27P)
MUsable Frame ——
SF-30-60/1F
SF-60-60-2S/1F/2F

SF-60-90/60-120

Hard Bracket SW3060
(Hard Bracket SW3060 with Tap)

Item No. SFJ-NT2(sFJN12T)
Hard Bracket SW3060 Kit Hard Bracket SW3060(Stainless)Kit
(Hard Bracket SW3060 Kit with Tap) (Hard Bracket SW3060 (Stainless) Kit with Tap)
Item No. SFK-N12(sFk-N12T) SFK-N12S(sFk-N12P)

We sell Nut Material and
Bracket Material as well.

4-7 Drilling

Please use Kit with Tap to install Side Cover. (Refer P82 for details.)

HKit Contents
@Hard Bracket S3060¢or with TapyX1
@Hexagon Socket Bolt(MBX15)Xx4
@T Nut S(MB)x4
*Bolt and Nut in (Stainless)

Kit are stainless.

4-7 Drilling

HMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Perpendicular surface is machining finished
Weight 111g
Enionmet ROHS Compliant
Green Procurement

Please use Kit with Tap to install Side Cover. (Refer P82 for details.)

HKit Contents
@Hard Bracket SG3060(or with Tap)X1
@Hexagon Socket Bolt (M6X22) x4
@T Nut S(M6)x4
#Bolt and Nut in (Stainless)

Kit are stainless.

BMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Perpendicular surface is machining finished.
Weight 256g
Environment RoHS Compliant
Green Procurement

Please use Kit with Tap to install Side Cover. (Refer P82 for details.)

MUsable Frame ——
SF-30-60/1F
SF-60-60-2S/1F/2F
SF-60-90/60-120

HKit Contents

@Hard Bracket SW3060(or with Tap)X1
@Hexagon Socket Bolt (M6x15)x8
@T Nut S(MB)*8
#*Bolt and Nut in (Stainless)

Kit are stainless.

EMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 192g

Environment RoHS Compliant
Green Procurement

65

Material Frame

SF
(2]
v
Q
3
Q.
Y
=
o
o
=
Y
3
(]




SF
[7)]
—
Q
=]
Q.
o
=
o
o
=
Y
=)
(]

Hard Bracket S3090

Hard Bracket S3090
(Hard Bracket S3090 with Tap)

Hard Bracket SG3090
(Hard Bracket SG3090 with Tap)

Item No. SFJ-N10(sFJ-N10T) SFJ-N28(sFJ-N2sT)
S3090 Kit  [S3090(Stainless) Kit SG3090 Kit  |563090(Stainless) Kit
(83090 Kit with Tap) | (53090 (Stainless) Kit with Tap) (SG3090 Kit with Tap) | (563090 (Stainless) Kit with Tap
Item No. SFKNTO(SFKAOM) SFK-N10S(sFkN10P) SFK-N2B(SFk-18m) SFK-N2BS (sFi-Nesp)

HWUsable Frame ——
SF-30-90
SF-60-90

Hard Bracket S50
(Hard Bracket S50 with Tap)

Hard Bracket SG50
(Hard Bracket SG50 with Tap)

Item No. SFJ-N45(SFJ-N45T) SFJ-N47(sFJ-N47T)
S50 Kit 850(Stainless) Kit SG50 Kit 8650 (Stainless) Kit
(S50 Kit with Tap) S50 (Stainless) it with Tap ) (SG50 Kit with Tap) SG50 (Stainless) Kit with Tap )
Item No. SFK-NAB (SFK-NsT) SFK-N4BS (SFK-N45P) SFK-NAT (SFkaTT) SFK-NATS (SFkN47P)

MUsable Frame ——
SF-50-50-25
SF-50-100-2S8

Hard Bracket SW3090
(Hard Bracket SW3090 with Tap)

HKit Contents

{Hard Bracket S3090 Kit)
@Hard Bracket S3090¢or with Tap)X1
@Hexagon Socket Bolt (M6x15)x6
@T Nut S(MB)*6
{Hard Bracket SG3090 Kit)
@Hard Bracket SG3090<or with Tap)X1
@Hexagon Socket Bolt (M6x22)x6
@T Nut S(M6)x6
*Bolt and Nut in (Stainless)

Kit are stainless.

Hard Bracket S50

HIKit Contents
{Hard Bracket S50 Kit)
@Hard Bracket S50(or with Tap)X1
@Hexagon Socket Bolt (MBX15)X4
@T Nut S(MB)x4
{Hard Bracket SG50 Kit)
@Hard Bracket SG50or with Tap)X1
@Hexagon Socket Bolt (M6x22)x4
@T Nut S(MB)x4
*Bolt and Nut in (Stainless)

Kit are stainless.

Hard Bracket SG3090

Please use Kit with Tap to install Side
Cover. (Refer P82 for details.)

BMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Weight 180g(S3090)
409g(SG3090)
Enionment ROHS Compliant
Green Procurement

Please use Kit with Tap to install Side
Cover. (Refer P82 for details.)

BMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Weight 95g(S50)
218g(SG50)
Enionmet ROHS Compliant
Green Procurement

Item No.

SFJ-NT3(sFJN13T)

Please use Kit with Tap to install Side Cover.(Refer P82 for details.)

Hard Bracket SW3090 Kit
(Hard Bracket SW3090 Kit with Tap)

Hard Bracket SW3090(Stainless)Kit
{Hard Bracket SW3090 (Stainless) Kit with Tap)

Item No.

SFK-N13(SFK-N13T)

SFK-N13S(sFk-N13P)

HKit Contents

66

How to order

Item No. Quantity (pcs)

HMUsable Frame ——
SF-30-90
SF-60-90

@Hard Bracket SW3090{or with TapyX1
@Hexagon Socket Bolt(MBX15)X12
@T Nut S(M6)x12
*Bolt and Nut in (Stainless)

Kit are stainless.

BMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 309g

Enionmet ROHS Compliant
Green Procurement

@Cap for Bracket



30

Angle Bracket S

Angle Bracket S

Item No. *SFJ-A03
Angle Bracket S Kit
{Angle Bracket S(Stainless) Kit)
Item No. ¥SFK-AO3(XSFK-A03S)

MUsable Frame ——
Compatible to all SF30 series
(Groove Width 8mm)

Angle Bracket Hard S

Angle Bracket Hard S

Item No. SFJ-A15
Angle Bracket Hard S Kit
(Angle Bracket Hard S(Stainless) Kit)
Item No. SFK-A15(SFK-A158)

MUsable Frame ——

Compatible to all SF30 series
(Groove Width 8mm)

Angle Bracket S3060

Angle Bracket S3060

Item No. XSFJ-A04
Angle Bracket S3060 Kit
{Angle Bracket S3060(Stainless) Kit)
Item No. ¥SFK-AO4(XSFK-AD4S)

Q

N

2—7 Dirilling

Yo
:' > ﬂ/
® -
o |21
Q0

>

HKit Contents
@Angle Bracket Hard Sx1
@Hexagon Socket Bolt(M6X12)x2
@T Nut S(M6)x2
*#Bolt and Nut in (Stainless)

Kit are stainless.

SF
()
—
Y
=]
Q.
o
=
o
m
=
o
3
(2]

MMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 14g

Enionment X RoHS Compliant
*Green Procurement

2—7 Drilling,
11 Deep Spot Facing, Depth 25

HKit Contents

@Angle Bracket Hard Sx1
@Hexagon Socket Bolt(M6X12)x2
@T Nut S(M6)x2
*#Bolt and Nut in (Stainless)

Kit are stainless.

4-7 Drilling

HWUsable Frame ——

Compatible to all SF30 series
(Groove Width 8mm)
#Doesn't meet with SF-35-35
(include 1F/2F/2H)SF-36-70(include 1F/2F)

HKit Contents

@Angle Bracket S3060x1

@Hexagon Socket Bolt(M6x12)x4

@T Nut S(M6)x4

#*Bolt and Nut in (Stainless)

Kit are stainless.

We sell Nut Material and
Bracket Material as well.

T Nut S Material @ @Hard Bracket S Material
P62 @Angle Bracket S Material

EMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 37g

Enionmet ROHS Compliant
Green Procurement

EMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
358

Weight *RoHS Compliant

Enionment % Green Procurement

Material Frame



SF30series ] <

Angle Bracket S50/ S3090

SF
(7))
—
[V
=]
Q.
Y
=
o
m
=
1Y
3
(]

Angle Bracket S50 Angle Bracket S3090

o
®
Angle Bracket S50 Angle Bracket S3090
Item No. SFJATI SFJ-A10 HKit Contents ———————————— MMaterial/Technical Data
; : {Angle Bracket S50 Kit) Material Aluminium Alloy
Angle Bracket 350 K|_t Angle Bracket SBQQO K!t @®Angle Bracket S50X] Alumite Treatment
(Angle Bracket S50(Stainless) Kit) {Angle Bracket S3090(Stainless) Kit) @Hexagon Socket Bolt(M6X12)x4 Weight 292(S50)
Item No. SFK-AT1(SFK-AT1S) SFK-A10(SFK-AT0S) T Nut S(ME>X4 60g(S3090)
{Angle Bracket S3090 Kit) Enionmet ROHS Compliant

@Angle Bracket S3090X1
.Usab.le Frame . @Hexagon Socket Bolt(M6X12)x6
/ (Cénmpat\%ediz aBH SF)SO series T Nut S(MB)x6
roove Width 8mm ) )
#Doesn't meet with SF-35:35 it ang Mut I (Stainiess)
(include TF/2F/2H)SF-36-70(include 1F/2F) ’

Green Procurement

<

How to use Angle Bracket - Angle Bracket Hard - Offset Angle S3060

Angle Bracket Angle Bracket Hard

.

@For cross joint of frames and base fixing @For the point which is applied vertical load

Parts
How to order

68 Item No. Quantity (pcs)
SFJ-Al1 Nl



QC Joint S(Common Parts) Round Metal Tool S

Spot Facing
0|
™
SKit | S50Kit | S60Kit | S0Kit | S100Kit | S120Kit
£ 112 |32 |42 | 72 | 82 | 102
MUsable Frame ——
Compatible to all SF30 series
(Groove Width 8mm)
#Doesn't meet with SF-35-35
(include 1F/2F/2H)SF-35-70(include 1F/2F)
QC Joint S Kit QC Joint S50 Kit QC Joint S60 Kit QC Joint S90 Kit QC Joint ST100 Kit QC Joint S120 Kit
Item No. SFK-Q30 SFK-Q31 SFK-Q32 SFK-Q33 SFK-Q34 SFK-Q35
Kit Name QC Joint Round metal tool Bolt BEMaterial/Technical Data
§ QC Joint S Kit Round metal tool S30x1 Hexagon Socket Bolt (M5x22) Stainlessx 1 QC Joint S Round metal tool S
9 QC Joint S50 Kit Round metal tool S50X1 Hexagon Socket Bolt (M5x45) Stainlessx1 Material Stainless Stainless
3 QC Joint 860 Kit QC Joint Sx1 Set Round metal tool SB0X1 | Hexagon Socket Bolt (M5X55) StainlessX1 With conductive function
'g'_ QC Joint S90 Kit Round metal tool S90X1 Hexagon Socket Bolt (M5X85) Stainlessx1 SKit SbOKit Se0Kit S90Kit S100Kit  S120Kit
®  QC Joint S100 Kit Round metal tool S100x1 | Hexagon Socket Bolt (M5x90) Stainlessx| Weight 45g  58g 63g 828 87g 1008
QC Joint S120 Kit Round metal tool S120X1 | Hexagon Socket Bolt (M5X115)Stainlessx 1 Eniomet ROHS Compliant Green Procurement
QC Joint S

(Characteristics) It's easy to set vertically and hardly make gap, because 2 frames are pulled at each other to combine. Also, you don't have to let nuts
into frame in advance, and strong fixing is possible by one bolt, so the assembly man-hour is reduced.

(DTighten
®@QC Joint pulls u
another frame.
®The strong joint
is realized.
(Example of Kit Selection)

@QC Joint S Kit @QC Joint S50 Kit @QC Joint S60 Kit @QC Joint S0 Kit @QC Joint S100 Kit @QC Joint S120 Kit

(For drilled hole to the direction of 30mm ) (For drilled hole to the direction of 50mm ) (For drilled hole to the direction of 60mm ) (For drilled hole to the direction of 90mm ) (For drilled hole to the direction of 100mm ) (For cilled hole to the direction of 120mm )

(How to Assemble)

Hole-Drilled Frame

(Drilling)
Common in SF-30 series

@Drillid by SUS
Processing Symbol P212~

I
¢ 11.1 Tapping

We sell Nut Material and ‘
Bracket Material as well. v ‘ i
Material Frame

69

SF
(2]
-
Q
>
Q.
Y
=
[
T
=
Y
3
(]




SF30series ] <

TG Joint Kit 30 / Wrench Hole Cap

SF
)
—
[
=}
Q
Y
=
Q
o
=
Y
3
()

TG Plate 30

‘ %Hole Cover for Flat Type Frame
1.5 (For 1F,2F,2H,3F)

HMMaterial/Technical Data

~ SF-30-30/1F/2F/2H/3F o
TG Joint Kit 30 Wrench Hole Cap SF-30-60/1F/2H . TG Joint kit 30 Wrench Hole Cap
S SF-30-90 Material SPCC(TG Plate 30) | Polypropylene (Grey)
Item No. *SFK-206 Item No. §SFA-155 SF-680-60-2S/1F/2F Uni-Chrome Plating
: Weight 13g 0.2g

HKit Contents

@7G Plate30x1
@Hexagon Socket Button Bolt (MBx20)X1

S Double Joint Kit

Enviromentk RoHS Compliant
*Green Procurement

HWUsable Frame

Compatible to all SF30 series
~ (Groove Width 8mm)

,ﬁ, % Doesn't meet with SF-30-30:2F/SF-60
g 80:2S(or 1F/2F)SF-80-90/SF-60+120,

Doesn't meet with SF-35-35(include 1F/
S Double Joint Kit 30 2F/2H)SF-35-70finclude 17/2F). MMaterial/Technical Data
Material Stainless
Item No. SFK-301S HKit Contents ———————————— Weight 34g
@S Double Joint SX1 Enioment RoHS Compliant
OT Nut S(MB)x2 Green Procurement

@Hexagon Socket Bolt (M5x22)Stainlessx2

TG Joint - Double Joint - KF Joint

@TG Joint Kit @S Double Joint Kit TG, Double Joint, KF Joint are easy to set
vertically and hardly make gap, because 2
o1t frames are pulled each other.
vvvvv : Also, it looks clear because the joint part
. - s doesn't bulge outside.
)
" M8 End Face Tapping @How to assemble. Refer P198~
@KF Joint Kit
@Drillid by SUS
Processing Symbol P212~

Parts
How to order

70 Item No. Quantity (pcs)
SFK-206 Hl



30

S Blind Bracket S

SF
(]
—
Q
=]
[=3
Q
=
o
m
=
Q
3
(]

S Blind Bracket S

Item No. SFK-601S
BMMaterial/Technical Data

BMUsable Frame ———— Material Stainless
. ) Weight 26g
Compatible to all SF30 series Enioment RoHS Comnpliant

/// (Groove Width 8mm) Green Procurement
|

2 Set Screws M6x8 Stainless Included.

Block Bracket S Kit / Corner Block S Kit

Block Bracket S Block Cap S

0

M8 Tapping is needed to the section of SF30-30 (or 1F/2F).
3 (Refer P209~ for details.)
Corner Block S Corner Cap S
@ Deapth 0.5 &
¥ ¥ e

Lo Al
v Nt

¥ Hold the Pin edge to insert Cap.m

Block Bracket S Kit
(Black) (Light Gray)
Item No. SFK-Q12 SFK-Q12G M8 Tapping is needed to the
section of SF30-30 (or 1F/2F).
P (Refer P209~ for details.) ; :
Corner Black 8 Kit . % Corner block S Kit is installable by (IR Yl
(Black) (Light Gray) Tapping Bolt as well. Block Bracket S Kit*! | Corer Black S Kit*
Item No. SFK-Q62 SFK-Q62G BUsable Frame Material Zinc Die Cst(Block Brcket )| Stainless (Comer Block )
(Block Bracket S Kit ) Polyamide(Block Cap $) | Polyaride(Comer Cap )

SF-30-30(Include 1F/2F) Weight 59g(Block Bracket ) 71g(Comer Block S)
(Corner Block S Kit) 8g(Block Can §) 3.28(Comer Cap 9)
SF-30-30(1F/2F/3F/2H)  Enionment RoHS Compliant

31 3 Hexagon Socket Button Bolt M8%25 Included.
32 2 Hexagon Socket Button Bolt M8%25 Included.

R BraCket S K,t 59 R Bracket S RCap S

|
Q.ﬁ /U/

M8 Tapping is needed to the section of
R Bracket S Kit SF30-30-R. . MMaterial/Technical Data
(Black) (Light Gray) (Refer P209~ for details.) R Bracket S Kit*

Item No. SFK-R02 SFK-R02G MUsable Frame —— Material Stainless (R Bracket S)

. Polyamide (R Cap S)
// SF-30-30R Weight 478 (R Bracket S)
; / 6g(R Cap S)

é Enioment RoHS Compliant

A

33 Hexagon Socket Button Bolt M8%25 Included.

WEREIR MGV EIEETEDT I TGS Watcicl @ Hard Bracket Saterial ey 4 4 v/ ) / 71
Bracket Material as well. P62 @Angle Bracket S Material 4 L -f“..';* tuf" -T.Fn
aterial Frame




SF
(2}
=
o
=
o
Y
=
[
m
=
Q
3
o

72

SF30series

Tapping Bolt S

I

]

Tapping Bolt S

Item No. SFB-T30

29
5 24
i
‘g
T—40
HMUsable Frame ————  EMaterial/Technical Data
SF-30-30(1F/2F/3F/2H)  Material SWCH 18A
SF-30:60(1F) Uni-Chrome Plating
SF-30-90/30-120 Weight 9g
SF-60-60-28(1F/2F) Eniroment RoOHS Compliant

Green Procurement

Torque Bit T40 / Torque Driver T40

75

Torque Bit T40

Item No. SFA-JT40

s ]

?:@:@ O
T40
Weight 20g

25

6.35

Weight 1268

Torque Driver T40

Item No. SFA-T40H

How to fix Tapping Bolt

#H

Fix the frame with jig etc, and screw the
Tapping Bolt halfway into the end face.
(Temporary joint)

* In case it's too tight, please use cutting oil.

8 Drilling (Hole for Bit)

==

Put the bolt head through T slot of another Tighten by Manual tool to fix.

frame.

*Manual tool is recommended, because the
reaction of torque up is big by using electric drill.

@Drillid by SUS

Processing Symbol P212~

Parts
How to order
ltem No. Quantity (pcs)

SFB-T30




SF
()
-+
o
3
o
(Y
=
o
m
=
(Y
3
(]

Plate Bracket S

S Plate Bracket SG 5 Plate Bracket S-L Type % o
5C 5 -
§ 125 35 125 Y l
| s
-4 4-$6.6 A o
; 3
8|8 5
N $ 8 o B
\K 10 28 47
t=5 8 \ 47 o t=32 (=3) 85
. Plate Bracket S-L Type Plate Bracket S-L Type Kit
S Plate Bracket SG S Plate Bracket SG Kit (SPte Brackat SLTYRD, (3 Plate Bracket 8L Tome kid
Item No. SFJ-1228 SFK-1228 SFJ-104(sFJ-1045) SFK-104(sFK-104s)
y @Plate Bracket SGX1 @®Plate Bracket S-LX1 @S Bracket X1
Kit @Hexagon Socket Bolt(M6x12)Stainlessx4 @Hexagon Socket Bolt(MEX10)x4 @ Stainlessx4
contents @ST Nut S(M6)x4 ®T Nut S(MB)x4 @ST Nut S(M6)x4
Plate Bracket S-T Type 100 Plate Bracket 8-+ Type |,
36 28 805 |36 .28 56
4-$6.6 ” T i
ﬂT o r
P
o 8
gl © ¢
Q| ¢ -4
i 6-C5
10 80
t=8.2 (=3) t=3.2 ({=3)
Plate Bracket S-T Type Plate Bracket S-T Type Kit ~ Plate Bracket S-+ Type Plate Bracket S-+ Type Kit
(S Plate Bracket S-T Type) (S Plate Bracket S-T Type Kit) {S Plate Bracket -+ Type) (S Plate Bracket -+ Type Kit)
Item No. SFJ-103(sFJ-1038) SFK-103(sFK-103s) SFJ-105(sFJ-1058) SFK-105(SFK-1058)
" @Plate Bracket S-Tx1 @S Plate Brac -TX1 @Plate Bracket S-+x1 @S Pla
Kit @Hexagon Socket Bolt((M6X10)x4 B ainlessx4 @Hexagon Socket Bolt(MBX10)x6 @
contents @T Nut S(M6)x4 ®T Nut S(M6)X6 @ST Nut S(
Plate Bracket S-H2 Plate Bracket S-H4
55 115
k4 YO
Qs X J125_ 30 30 30 125
| N N
~ ~ T T T T
f Gk e & o
4-96.6
MMaterial/Technical Data t=3 =3
Name liegt(g) | Material | Environment
Plate Bracket SG 195 | SUS304 Plate Bracket S-H2 Plate Bracket S-H2 Kit Plate Bracket S-H4 Plate Bracket S-H4 Kit
Plate Bracket S-.L 92 |SPCC Uni-Chrome
Item No. SFJ-1258 SFK-125S SFJ-1298 SFK-1298
S Plate Bracket S-L 87 SUS304
Plate Bracket S-T 106 |SPCC Uni-Chrome
y @Plate Bracket S-H2x1 @®Plate Bracket S-H4X1
S Plate Bracket S-T 96 SUS304 | RoHS Kit  @Hexagon Socket Bolt(MEx10)Stainlessx2 @Hexagon Sacket Bolt(M6X 10)Stainlessx4
contents @ST Nut S(M6)x2 @ST Nut S(M6)x4

Plate Bracket S+ 145 |SPCC UniChrome| Gompliant
Green

SPlate Bracket S+ | 135 | SUS304
Plte BracketSH | 296 | sUsaod | CoUrement Corner Support Bracket S Corner Support Plate §

[l

3-C2
|

Comer Reinforced Bracket S| 200 | SUS304 ol ©
Corner Reinforced Plate S | 155.8 SUS304 °
]

HWUsable Frame —— 8

Compatible to all SF30 series

(Groove Width 8mm) P 2.666

%Plate Bracket S-H2/H4 doesn't = oo

meet with SF-35-35(include TF/2F/2H) =3 =

SF-35-70(include 1F/2F).

Plate Bracket SH4 | 622 SUS304 200 ﬂ»‘ 5 28,

227
200

Corner Support Bracket S Corner Support Bracket S Kit Corner Support Plate S Corner Support Plate S Kit

Item No. SFJ-1348 SFK-134S SFJ-1378 SFK-137S
) @Corner Support Bracket Sx1 @Corner Support Plate Sx1
Kit  @Hexagon Socket Bolt(M6x10) Stainlessx2 @Hexagon Socket Bolt(M6x10)Stainlessx4
contents @ST Nut S(M6)x2 @ST Nut S(ME)x4

We sell Nut Material and T Nut S Material @ @Hard Bracket S Material 73
Bracket Material as well. P62 @Angle Bracket S Material

Material Frame




SF
(7))
-
Y
3
o
Y
=
o
o
=
o
3
(]

L Bracket S (Stainless)

Item No. SFJ-1018
L Bracket S (Stainless)Kit
Item No. SFK-101S

HMUsable Frame

Compatible to all SF30 series
(Groove Width 8mm)

HKit Contents

@L Bracket S (Stainless)x1
@Hexagon Socket Bolt (M6x10)Stainlessx2
@ST Nut S(MB)*x2

Hard Bracket S - DE135

0.5

0.5

MMaterial/Technical Data

Material SUS304

Weight 18g

Enionmer RoHS Compliant
Green Procurement

Hard Bracket S - DE45

Hard Bracket S-DE135
(Hard Bracket S-DE135 with Tap)

Hard Bracket S-DE45
(Hard Bracket S+DE45 with Tap)

Item No. SFJ-N33(sFJN33T) SFJ-N34(sFJ-N34T)
SDET35 Kit §DE135(Stainless)Kit S'DE45 Kit SDE45(Stainless)Kit
(SDE135 Kit with Tap) | (SE135(Staile Ta) (S'DE45 Kit with Tap) (S:DE45(Stainess)Kit ith Tap)
Item No. SFK-N33(SFk-N3aT) SFK-N33S (sFk-NaaP) SFK-N34(SrkNaaT) SFK-N34S (SFi-N3aP)

4-7 Drilling

Hard Bracket S3060 - DE135

Hard Bracket S3060-DE135 Hard Bracket S3060-DE45
(Hard Bracket S3060-DE 135 with Tap) (Hard Bracket S3060-DE45 with Tap)
Item No. SFJ-N40(sFJ-N40T) SFJ-N39(sFJ-N3aT)
83060°DE135Kit | S3080DE135(Staless)it ~ S30B0-DEA5 Kit | S30B0-DEAS (Stainless)Kit
(S3080:DE135 Kit with Tap) | (S 135 5t E) (S3060-DE45 Kit with Tap) | (S30800E45(Stainess)it with Tap)
Item No. SFK-NAO (SFK-Na0T) SFK-NAOS (SFk-N40P) SFK-N39(SFK-NaaT) SFK-N39S (SFi-N39P)
How to order
74 Item No. Quantity (pcs)

HWUsable Frame —

SF30-DE45-SF356 Series

45°slant cut frame
(Refer P208)

HKit Contents

(Hard Bracket S-DE135 Kit)
@Hard Bracket SDE135or with Tapy X1
@Hexagon Socket Bolt(MBXx15)x2
@71 Nut S(MB)X2
(Hard Bracket S+DE45 Kit)
@Hard Bracket -DE45 {or with Tapy X1
@Hexagon Socket Bolt(MBx15)x2
@T Nut S(MB)x2
#Bolt and Nut in (Stainless)

Kit are stainless.

HWUsable Frame —
SF-30-60/60-60-25/

60-90/60-120Series
45°slant cut frame (Refer

P208)

HKit Contents

(Hard Bracket S3060-DE135 Kit)
@Hard Bracket S3060-DE 135 <or with Tapy X1
@Hexagon Socket Bolt(M6X15)x4
@T Nut S(MB)x4
{Hard Bracket S3060-DE45 Kit}
@Hard Bracket S3060-DE45 {or with Tap) X1
@Hexagon Socket Bolt(MBx15)x4
@T Nut S(MB)X4
#Bolt and Nut in (Stainless)

Kit are stainless.

Please use Kit with Tap to install
Side Cover.(Refer P82 for details.)

MMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 68g(DE135)
58g(DE45)

Enionment ROHS Compliant
Green Procurement

Hard Bracket S3060 - DE45

(2-M5 Depth 15
(Both sides))

Please use Kit with Tap to install
Side Cover.(Refer P82 for details.)

BMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 185g(DE135)
158g(DE45)

Enionment ROHS Compliant
Green Procurement



SF
»
-
Q
=]
o
Y
=
Q
i
=
Y
3
(]

Truss Joint S Truss Cap S
12
12
® ®
6.6 Drilling ¢ 11 Deep Spot 8
Facing, Depth 21
17 ® @

2-942

1 ! o

o 1L 1

wl 46
5 56 5 (uv'))
Truss Joint S
% Groove size is as same as SF-30-30
Item No. SFJ-J02
Usable Frame
Truss Cap S = _ HMaterial/Technical Data
(Black) (Light Gray) (Fsrs goéstc)o reinforce) Truss Joint S Truss Cap S
. . (Frame to combine) Material Aluminium Alloy Polyamide
Item No. SFA-J02 SFA-J026 SF30:4045 series nstalable Alumite Treatment
37g | 3.58

Weight RoHS Compliant
Eniromment Green Procurement

Turn Bracket 30A Turn Bracket 30B
38

25
"’l

Dz
D\

I
9‘0,
Countersink for M8 °

30 30
5,10,10,5 425 215 425
3 6 )
of 777772288 | Flp==== Fl 2Mm5
L b 2 F-
g 5] [ 3 ] *“
elpr---- EI N
******* BN FEEE R
Turn Bracket 30A Turn Bracket 30B MUsable Frame
(End Surface Installation) : :
Item No. SFK-41A SFK-41B SF-50-30 Exclusive. EMMaterial/Technical Data
(Side surface Installation) Turn Bracket 30A/B*
T Nut is MB. Material Aluminium Alloy

Alumite Treatment
Weight 33g(30A)/35g(30B)
Environment RoHS Compliant

#30A and B each include Hexagon Socket Flat Head Cap Screw (M8x12)

How to use Truss Joint-Turn Bracket

QC Joint S

(Truss Joint S)

QC Joint S
Truss Joint §

QC-Processed Frame
(Processing instructions P212~) SF30 series
&, (SF40+45 series )

Connecting Frame SF30 series

(SF40-45 series \
[
4? pep———

Hexagon Socket Bolt M6><12(16)/ \ T Nut S(L)M6 Hexagon Socket Bolt M6x12(16), \T Nut S(L)M6

(Turn Bracket)
(In case of installing to side and end of the Frames.) | {In case of installing to sections of the Frames.) | {In case of installing to side and end of the Frames.)

T Nut S(L) M6 1pcy

Hexagon Socket Bolt ~Turn Bracket 30A 1pcs Turn Bracket 308 1pcs Turn Bracket 30A 1pcs

M6x14(18) 2pcs SF30-30 SF30-30 SF30-30
;
5 i Hexagon Socket Bolt

Connecting Frame :
o S
Ears|
M5X22 2pcs Hexagon Socket Bolt M5X22 2pcs

SF30 series
(SF40-45 series )
T Nut S(L)
M6 2pcs § Double Joint 0(SFK-391S) Tpocs S Dodole Joint 30(SFK-391S) 1pos
Hexagon Socket Flat Head Cap Screw M8X12 2pcs Hexagon Socket Flat Head Cap Screw M8X12 2pcs

Turn Bracket 30B 1pcs

Hexagon Socket Bolt M5%22 2pcs
S Double Joint 30(SFK-3915) 1pcs
Hexagon Socket Flat Head Cap Screw M8X12 2pcs Hexagon Socket Bolt
Turn Bracket 30B 1pcs MBx14(18) 1pcs

@Use Processing Symbols written from P214~
to specify frilling for Double Joint.

Turn Bracket 30B 1pcs

@This product cannot be used as
supporting point of movable part.

We sell Nut Material and
Bracket Material as well.

75

Material Frame



SF30series ] <

Bend Bracket S

SF
@
Q
=}
Q
Y
=
o
o
=
[V
3
(]

Joint Bar
$140
-

QC Joint

(155)

225 =3

D Bracket S

(70 Straight part|

Bend Bracket S (Stainless)

Item No. SFJ-VO1 Ty

BMMaterial/Technical Data

HKit Contents Material Aluminium Alloy
. . Alumite Treatment
/ %O":”?g'a:}'nge /tSOF)SF'SO'SO series (Special order Black Alumite is available,)
. Weight 3328

Enionment RoOHS Compliant
Green Procurement

r¥y

Parts
How to order

76 ltem No. Quantity (pcs)
SFJ-Vo1 L]



= 'F -
HPlate B Adjuster HMCaster
Adjuster Plate S Adjuster Caster Plate S Adjuster M12 Caster A
Adjuster Plate S(Stainless) Adjuster Caster Plate S(Stainless) Adjuster M12(Stainless) Caster A brake attaching
75 135 Caster A(Stainless) Mi2x1.75
o Oriline 1325318 6 3 o5 87 1d 47 viing 6 ~M2:x1.75 Caster A with Brake o
Drilling T “ T T L2
(2]
gH b Kém ;H*%i ‘59 Drilling o = ,g_ P gﬁlL
« ~ Q Nl N
0| o L& © [se]
[ ] N S| 5
5 N 5 zmi2 9 g
o \4-7 Drilling ot & © ©
43 M12 43
122 ©f |_#55

Material |Load Capacity| Weight
Rubber 30kg 89g

[Material | Treatment [Weight [Material| Treatment [Weight [ Material | Treatment |oad CaacitWeight = Caster A
Adjuster Plate S 88400 | Uni-Chrome 0.24k Adjuster Caster Plate S $S400 | Uni-Chrome 0.44K; Adjuster M12 | '$S400 | Uni-Chrome | 500kg [169g = Caster A with Brake Rubber 30kg | 223g
Adjuster Plate S (Stainless)[SUS304 -c4ke Adjuster Caster Plate S(Stainless| SUS304 44k Adjuster M12(Stainless]| SUS304 |Electolytc Poishing| 300kg | 1658~ Caster A (Stainless) Nylon 40.8kg | 147g
Adjuster Caster Plate 50 Adjuster Caster Plate 50(Stainless) Adjuster M16 ‘ Caster B 70 4-¢6.5
" 120 36 171 | M16x2 Y 54 8
87 Dilg 1750 TG % 50 % T 1
[1420 -—: N
S v v = | WG
ol T R @ - Ol 4 $ < ©
Sl o g I o o | 3 o & J
3 e el ¥ U N4
1 I -
Q s a - 6 o N5 % - & o | o 25
- M16 5 R ‘ e &
° SH9 @5 F*—J$ 4-M8 B ©
S O Q N 87 Dill a o
< N4 © QUY P ng " L] o
— Il Il T -
96 60 | —— L
166 JgL 1420] 121 | 42 ] 560
[Material | Treatment [Weight [ Material [ Treatment [Weight [Material[Treatmentfloas M%w%Weiﬁl\ Bottom [ Material _[Load Capacity] Weight
Adjuster Caster Plate 50 SS400 | Uni-Chrome [1.03kg | Adjuster Caster Plate 50 (Stainless|SUS304] [1.04kg  Adjuster M16{SS400|Zn Black | 500kg | 386g [Neoprene rubber -~ Caster B Phenol Resin | 150kg 340g
. . . . . . )
Adjuster Caster Plate 60 Adjuster Caster Plate 60(Stainless) Adjuster BM16(Stainless) Caster B(Stainless) )
125 125 t
9 [—2 9
12151541 30 12 dals1s, 41 9004 iy i
T T w ' 1
B 7S PP = @A & b= M16X2 ‘
o 29, 1400 | © e K%&P&'ﬂ?&‘éﬁm = i o
\ Spot Facis. Depth 4| & [l 3
O \uis o H@ 4\M ﬁ 4 ‘ - R
& 3 87 Diiling | & q5 87 Drilg 5
o o Te He % ® 5
8 © 8 ¥ : -
< < © 2
L Hﬁ; T \4-M6 T P o /“‘Hl\ ]
12 30 [21] 54 ; 4-M
12 30 J18y 55 8 $75 26
Material | Treatment _|Load Capacity Material | Treatment |Load Capacity Material | Treatment |Load Capacity| Weight Material Load Capacity| Weight
Adjuster Caster Plate 60 SS400 | Uni-Chrome [ 1.03kg | Adjuster Caster Plate 60 (Stainless|]SUS304] 1.04kg  Adjuster BM16(Stainless)[SUS 304 Ekectoytic Poishingl 560kg |375g ~ Caster B (Stainless)| Phenol Resin | 71.4kg 285g
Item No. Name Compatible Frame Kit contents
; ; _20- @Adjuster Plate SX1 @Adjuster M12x1
5= SFK-503A | Level Adjuster Kit S | SF-30-30 | g7 Nut s(ME)x4 @®Hexagon Socket Bolt(MEX12)x4
& | SFK-503S Level Adjuster Kit SF-30-30 @Adjuster Plate S(Stainless)x 1 @Adjuster M12(Stainless)x1
5) S(Stainless) @ST Nut S(MB)x4 @Hexagon Socket Bolt(M6x12)Stainlessx4
=3 ~ " . _EO-E(). @Adjuster Caster Plate 50x1 @Adjuster M16x1
@ | SFK-517 | Level Adjuster Kit 50 | SF-50-50-2S | g\t s(Me)=8 @Hexagon Sooket Bolt (MEX15)x8
+ Level Adjuster Kit @Adjuster Caster Plate 50(Stainless)Xx1 @Adjuster BM16(Stainless) X1
o) SFK-517S 50 (Stainless) SF-50-50-28 @ST Nut S(M6)x8 @®@Hexagon Socket Bolt(M6x15)Stainlessx8
Q - . AO-A0- @Adjuster Caster Plate 601 @Adjuster M16x1
@ | SFK-511A | Level Adjuster Kit 60 [ SF-60-60-2S | g7\t 5vi6)<B @Hexagon Socket Bolt(MEx15)x8
Level Adjuster Kit A0-60- @Adjuster Caster Plate 60(Stainless)X1 @Adjuster BM16(Stainless) X1
SFK-511S 60 (Stainless) SF-60-60-23 @ST Nut S(M6)x8 @Hexagon Socket Bolt(M6X15)Stainlessx8
~ . 20 @Adjuster Plate SX1 @Caster AX1 @Hexagon Nut(M12)x1
o | SFK-505A Caster Kit S SF-80-30 | @7 Nut S(ME)x4 @Hiexagon Socket Bolt (MEX12)x4
7] - - - - -
= Caster Kit S _20. @Adjuster Plate S(Stainless)x1 @Caster A(Stainless) X1 @Hexagon Nut(M12)Stainlessx 1
< SFK-505S (Stainless) SF-30-30 @ST Nut S(MB)x4 @Hexagon Socket Bolt(MBx12)Stainlessx4
+ Caster Kit S @Adjuster Plate Sx1 @CasterA brake attachingx1 @Hexagon Nut(M12)x1
U SFK-506A with Brake SF-30-30 @T Nut S(MB)x4 @Hexagon Socket Bolt(MB6X12)x4
@ SFK-506S Caster Kit S SF-30-30 @Adjuster Plate S(Stainless)X1 @CasterA brake attaching(Stainless)X1 @Hexagon Nut(M12)StainlessX 1
@ with Brake (Stainless) @ST Nut S(M6)x4 @®@Hexagon Socket Bolt(M6X12)Stainlessx4
Level Adjuster Kit _20- @Adjuster Caster Plate Sx1 @Caster AX1 @Hexagon Socket Bolt(M6X12)x4
> SFK-504A with Caster S SF-30-30 @Adjuster M12X1 @T Nut S(MB)x4 @Hexagon Nut(M12)X1
80| SFK-504S Level Adjuster Kit with SF-30-30 @Adjuster Caster Plate S(Stainless)x1 @Caster A(Stainless)x1 @®@Hexagon Socket Bolt(M6x12)Stainlessx4
% 8 Caster S(Stainless) @Adjuster M12(Stainless) X1 @ST Nut S(MB)x4 @Hexagon Nut(M12)Stainlessx1
lolo) SFK-518 Level Adjuster Kit SF-50-50-2S @Adjuster Caster Plate 50x1 @Caster BX1 @Hexagon Socket Bolt(MB6xX15) %8
== with Caster 50 @Adjuster M16x1 @T Nut S(MB)*8 @Hexagon Socket Bolt(M6x10)x4
+ SFK-518S Level Adjuster Kit with SF-50-50-2S @Adjuster Caster Plate 50(Stainless)X1 @Caster B(Stainless)X1 @Hexagon Socket Bolt(M6X15)Stainlessx8
o Caster 50 (Stainless) @Adjuster BM16(Stainless)X1  @ST Nut S(M6)x8 @Hexagon Socket Bolt(M8Xx12)Stainlessx4
o | SFK-512A Level Adjuster Kit SF-60-60-2S @Adjuster Caster Plate 60X1 @Caster BX1 @Hexagon Socket Bolt(M6X15) %8
T with Caster 60 @Adjuster M16X1 @T Nut S(MB)X8 @Hexagon Socket Bolt(M6X10)x4
SFK-512S Level Adjuster Kit with SF-60-60-2S @Adjuster Caster Plate 80(Stainless)x1 @Caster B(Stainless)x1 @®Hexagon Socket Bolt(M6x15)Stainlessx8
Caster 60 (Stainless) @Adjuster BM16(Stainless)x1 @STNut S(MB)X8 @Hexagon Socket Bolt(M8X12)Stainlessx4

We sell Nut Material and
Bracket Material as well.

Material Frame

77

SF
(7))
—
Q
=]
Q.
o
=1
o
o
=
Y
=)
(]




SF
(]
-
Q
=]
[=3
(Y
=
o
mn
=
Y
3
(]

<

Environment
*RoHS Compliant
*Green Procurement

Environment
*RoHS Compliant
% Green Procurement

Environment
*RoHS Compliant
*Green Procurement

Environment
*RoHS Compliant
*Green Procurement

Parts
How to order
Item No.

SFK-56A

78

Quantity (pcs)

SF30series

Foot Base

Foot Base 3060

(Material)

8
59
14.5 30 14.5| 2-9 Drilling
o 14 Deep Spot Facing, Depth 8.5
o SH- V|
a1\ k\/ &
\M12
295 29.5

i [0 O R B

8400 UniiChrome PlatingHexagon MUsable Frame

Foot Base 3090

Foot Base3060 | syet l(Ex20]nciude 2 Vieght/100g

Foot Base3060

SUS304 Hexagon Socket Bolt (M8x20)
(Stainless)

Include 2 Stainless Bolts Weight/101g

SF-30-60(or 1F)

89
3-9 Dirilling
145 30 30 145] 14 Deep Spot Facing,
o} Depth 8.6
o SHENE—EF |
all k{ S>>
205 | M2 go0
— T T
of [LLA[HRLY GLF ]
(Material) '
88400 Uni-Chrome Piating Hexagon | IllUsable Frame
Foot Base 3090 soet Bol18¢20) nolue Wieghi 156
Foot Base 3090| SUS304  Hexagon Socket Bolt (M8x20) SF-30:90
(Stainless) Include3 Stainless Bolts Weight/157g|

Foot Base 3060
(Foot Base 3060(Stainless))

Foot Base 3090
(Foot Base 3090(Stainless))

Item No. *SFK-BBA S sFic58AS) *SFK-52AKsFI52A8)
Foot Base 60602S 58 Foot Base 6090 a8
12,30 __1 3 5 ]
S R 2
A 3 " @) @} 3
| @ 8
g g T ol g Jan
DI 8 @A @ 3
d T o I
4.9 Drilling 4.9 Drilling :
14 Deep Spol Facing, Deph 85 29 29 N\ M16 14 Deep Spot Facing, Depth 86 44 \MT6 44
— 1 1 1
o e | o O "I E L
(Materialy S (Material) I l T[‘ 5 [ 5 _'J‘ l
35400 Uni-Chvome Plating Hexagon WUsable Frame $S400 Uni-Chrome plating Hexegon | IUsable Frame
Foot Base 506025‘ SocketBotMB¥20) ncue 4 Weght/257g Foot Base 6090] soeyet Bol(MEx20) ncluced Weigh/427,
FootBase 60602S] SUS304. Hexzgon Scket Bolt NEX20) SF-60-60-25(0r TF) [ Foot Base 6090] SUS304 Heragon Sucket Bl (MBX20) SF-60-90
(Stainless) Include 4 Stainless Bolts Weight/259g| (Stainless) Include4 Stainless Bolts Weight/431g|

Foot Base 60602S
(Foot Base 60602S(Stainless))

Foot Base 6090
(Foot Base 6090(Stainless))

Item No. *SFK-58ACKSFI58AS) *SFK-53AK S 53AS)
Foot Base 505028 - Foot Base 501002S 97
135 10,10 135 135 35 35 135
SEINIGN I
o TR {19 o 9
SENzZN 7% Iz o
0 \J/ \< © N\
- 4-9 Drilling - 14-9 Drilling
M12, 14 Deep Spot Facing, Depth8.6 M12 14 Deep Spot Facing, Depth 8.6
T ¥ I | |
o LIRS o TLLT H LT
(Materialy o (Material) T T 1 T
85400 Uni-Chrome Plating Hexagon | llUsable Frame $5400 Unichrome Plating Hexegon | Usable Frame
Foot Base S05025) gt Bot20) nclce 4 Weight 164 FootBese S010025) ot Bot (1820) e e/ 400g
Foo Base 505025 SUS304 _Hecgon SocetBot (NEXL) SF-605025 FootBese 5010025 SUS304. Heragon Socket Bol (820) SF-50100-28
(Stainless) Include 4 Stainless Bolts Weight/165g] (Stainless) Include4 Stainless Bolts Weight/404g
Foot Base 505025 Foot Base 501002S
(Foot Base 50502S(Stainless)) (Foot Base 5010028 (Stainless))
Item No. *SFK-GBA(’,{SFK-GBAS) *SFK-69A<§SFK-59AS>
Foot Base 306060 20 Foot Base 60120 118
- 14 90 14
- 2M12 - w20
g 7l &1 i 3
Bl o o A
, @ ©| @
414 N[ NP .
g °
59 59
4-9 Drilling 14 Deep Spot Facing, Depth8.6
of TELE A N
(Material) {Material) g g g
$3400 Uni-Chrome Plating Hexagon Bolt | IllUsable Frame $S400 Uni-Chrome Plating Hexagon | EUsable Frame
Foot Base 306060 s e g x20)ncluce 3 Weigﬂt/181g‘ Foot Base 60120] goryetBot(MBx20)ncuce 4 Weight/578,
FootBase 306060] SUS204_Feregon Bol it Foe \’MSXZO]‘ SF-30-60-60 Foot Base 60120] SUS304_Heragon Socket Bol (V8X20) SF-80-120
(Stainless) Include 3 Stainless Bolts Weight/182g (Stainless) Include 4 Stainless Bolts Weight/83g|
Foot Base 306060 Foot Base 60120
(Foot Base 306060 (Stainless)) (Foot Base 60120(Stainless))
Item No. *SFK-63A(Jsric63As) *SFK-64A FsFi84AS)




Anchor Bracket
{Anchor Bracket(Electroless nickel plating))

Item No. SFJ-70A(SFJ-70AS)
Anchor Kit S
(Anchor Kit S(Electroless nickel plating))
Item No. SFK-70A(SFK-70AS)

WUsable Frame

Compatible to all SF30 series
(Groove Width 8mm)
%2F Frame excluded

HKit Contents

@Anchor Bracketx1

@T Nut S(MB)x3

@Hexagon Socket Bolt (M6X14)x3

@MB Flat Washerx3

#Bolt and Nut in (Electroless nickel)
Kit are stainless.

Anchor Plate 60602S

4-9 Drilling 14 Deep Spot Facing, Depth 8.5
160

30
Tis
17 s{ | #82
]
- :
™
8 8.2
[Te)
N !
N
0
Q
z ==
20 50 50

BMMaterial/Technical Data

Anchor Bracket Anchor Bracket
(Electroless nickel piating)

Material S45C S45C
Anion Electrodeposition Coating Electroless nicke! plating
Weight 577g 5778

Enionment RoOHS Compliant
Green Procurement

Anchor Plate Bracket 60602S Kit

(Anchor Base 60602S)
190

65 30 65 575 75 575

N i t
2 @ @/ 8 4.C3 Q 4.M6 © 3
vl & & T4 89| Reats| o
o K & & %

20, 120 20, 20 150 20
/ 2—14 Drilling 50 5. -
S 2 R SITTY_TX memmy
(Anchor Block 60602S)
9
Y 15 75
- ~
Anchor Plate 606025 BWUsable Frame 2666 -
SF-60-60-25 ¢ ¢
Item No. SFK-79A ) -,

° ~

2-¢ 6.

Anchor Plate Bracket 60602S Kit
HMMaterial/Technical Data
Item No. SFK-79B MKit Contents Anchor Plate 608025 Aoy Pee Bt RIS

@®Anchor Base 606025X1
@®Anchor Block 606025x2
@Hexagon Socket Bolt (M6X60)Stainlessx4
@Hexagon Socket Bolt (MBx22)Stainlessx4
@ST Nut S(MB)x4

@Anti-Sliding Cap S

SUS304 (Base)
6053 Aunte Teat menAnchor Bock)
Weight 8908 13288

Enironment RoHS Compliant

Green Procurement
s#Hexagon Socket Bolt (M8x25) Stainless 4

Material SUS304

162 y 497
M12 W
N ~ 2
= = N
N N
: 01_4*

4—M6 (14.56)

130 =g (54.56)

103(102.5) 54(55)
260

Caster Plate S
{Caster Plate S(Stainless))

Item No.

*SFJ-7A2(SFu-7A2S)

We sell Nut Material and
Bracket Material as well.

S0

HMUsable Frame

Compatible to all SF30 series
(Groove Width 8mm)

HHow to use

@Adjuster M12

@Caster A

@Caster B

@Commercial Hanging Bolt, etc

MMaterial/Technical Data

Caster Plate S Caster Plate S(Stainless)
Material SS400 SUS304
Uni-Chrome Plating
Weight 9008 909g

Envioment % RoHS Compliant
*Green Procurement

79

Material Frame

SF
(7))
[~
o
=]
o
Y
=
o
m
=
Y
3
(]




SF
(]
=
)
3
=3
)
2
o
m
=
R)
3
o

Material Polyamide

Weight Refer Drawing

Eniroment RoHS Compliant
Green Procurement

Frame Cap 60602S
60

=
,p‘# #,
0#:7@ mWe\ght/l 26g

MUsable Frame ——
SF-6060(or 1F/2F)

SF30series

Frame Cap

]

Frame Cap N3030
30

~M6

Frame Cap 3060
60

+
&

Frame Cap 3090

Weight/2.4g O ———T———"T=7 \eight/4.7g
MUsable Frame % MUsable Frame % MUsable Frame %
SF-30-30(or 1F/2F/3F/2H) o SF-30-60.SF-30-60-1F, o SF-30-90 o
SF Light 30-30/SFK-30-30 SF-K-30-80%SF-30-120
Frame Cap 3030 Frame Cap 3060 Frame Cap 3090
(Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray)
Item No. SFA-033B SFA-033G SFA-005 SFA-005G SFA-013 SFA-013G
%Use 2 pcs for SF-30-120.
Frame Cap 6090 Frame Cap 60120 Frames(gap 306060
20 120
&@¢ ¢@¢ +{9+ + +@f ’@’
8 & & 8 ® == & g r s @»
@ 8
- L SR S SR S le o 4
° NEE N - .oE - Weight/10.0g
Weight/19.62 ' Weight/25 88 _\m fan g ‘
MUsable Frame 7@ MUsable Frame 7@ MUsable Frame 7@
SF-60-90 At SF-60-120 o SF-30-60-60 o

Frame Cap 60602S
(Black) (Light Gray)

Frame Cap 6090
(Black) (Light Gray)

Frame Cap 60120
(Black) (Light Gray)

Frame Cap 306060
(Black) (Light Gray)

Item No. SFA-011 SFA-Q11G

SFA-Q15 SFA-015G

SFA-018 SFA-018G

SFA-J9B SFA-J9BG

Frame Cap 30-DE45

Frame Cap 30-DE30

Frame Cap 30-DEGO

Frame Cap 5050

50 4-R2

| ) ey

50

f 0 A m Vieght/32¢ B AR Wweenvzee
[k y ) [T v} - ™
MUsable Frame 7@ MUsable Frame 7@ MUsable Frame 7@ MUsable Frame 7@
SF-30-DE45 o SF-30-DE30 At SF-30-DEBO o SF-50-50-25%SF-50-10025
Frame Cap 30-DE45 Frame Cap 30-DE30 Frame Cap 30-DE6G0O Frame Cap 5050
(Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray)
Item No. SFA-J6B SFA-JBBG SFA-JBA SFA-JBAG SFA-JBC SFA-JBCG SFA-026 SFA-026G
%¥Use 2 pcs for SF-50-100.
Frame Cap 30-:30-R Frame Ca3g 3535 Frame Cap 3570
R22 5 10
i
Weight/24g q Weight/36¢ m*:% Weight/6.5¢
MUsable Frame 7@ MUsable Frame 7@ MUsable Frame 7@
SF-30-30R o SF-35:35(or 1F/2F/2H) SF-3570(or 1F/2F)
Frame Cap 30-30-R Frame Cap 3535 Frame Cap 3570
(Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray)
Item No. SFA-020 SFA-020G SFA-031 SFA-031G SFA-032 SFA-032G
Parts
How to order
80 ltem No. Quantity (pcs)
SFA-001 [ 1]



30

Frame Cap Lock Type

Material Polyamide(Cap), SWCHIOR(Bolt), Chromate Black Treatment o Stainless (Bolt)
Weight 3.7g(3030).5.9g(3060)
Enviomet RoHS Compliant

Green Procurement

HMUsable Frame
SF-30-30/SF-K-30-30

*Provided bolt enabled to lock without
Tap Processing to Frame.

30

HMUsable Frame @

SF-30-60/8F-K-30-60

Frame Cap Lock Type 3030(Black) Frame Cap Lock Type 3030(Light Gray)*2 Frame Cap Lock Type 3060 (Black)*3

Frame Cap Lack Type 3060(Light Gray)##

Item No. SFK-05LB SFK-05LG SFK-04L

SFK-04LG

3%1 With Small Flat Screw with Cross Hole (M4x12) Chromate Black 32 With Small Flat Screw with Cross Hole (M4X12) Stainless ~ 3¢3 With Small Flat Screw with Cross Hole (M4x12) Chromate B

D Bracket Cap S/ Hard Bracket Cap/ G Cap

29
l'e
$-
AN
30
A
59

lack 34 With Small Flat Screw with Cross Hole (M4x12) Stainless

D Bracket Cap S Hard Bracket Cap Hard Bracket G Cap
3 12
T

D Bracket Cap S Hard Bracket Cap Hard Bracket G Cap
(Black) (Light Gray) (Black) (Light Gray)  (Black) (Light Gray)
Item No. SFA-J13  SFAJ13G  SFA-J11 SFAJ11G SFAJ12  SFAJ12G

MUsable Bracket
(D Bracket Cap)
D Bracket S/Black/CN
(Hard Bracket Cap)
Hard Bracket S/S3060
S3090/Black
(Hard Bracket G Cap)
Hard Bracket SG/SG3060
SG3090/Black

Slot Cap S / Slot Seal S

Slot Cap S

Slot Cap S

BMMaterial/Technical Data

Material Polyamide

Weight 2.1g(D Bracket Cap S)
1.8g(Hard Bracket Cap)
6.1g(Hard Bracket G Cap)

Enioment RoOHS Compliant
Green Procurement

Slot Seal S
85

8
|

[ |
I 1

s

Slot Cap S(£2=2000mm/pcs)

(Black)  (Light Gray)  (Blue) (Ivory) (Green) (Yellow) (Red)

Item No. SFA104  SFA-1046  SFA-I0AL  SFAI04V  SFAI04M  SFAI04Y  SFAI04R
Slot Seal S(£=5000mm/pcs)
Item No. SFA-171

MUsable Frame
Compatible to all SF30 series
(Groove Width 8mm)

T Nut S Material @ @Hard Bracket S Material
P62 @Angle Bracket S Material

We sell Nut Material and
Bracket Material as well.

e

« Exclusive Cutter for Slot Cap and Slot Seal
is available.

MMaterial/Technical Data

Slot Cap S Slot Seal S
Material Polyethylene  Elastomer
uitmess  25g/m 45g/m

Enionmet RoHS Compliant
Green Procurement

Material Frame

SF
)
-+
Q
3
o
(Y
=
[
m
=
Q
3
(]




SF30s:ries ] <

Cover Holder S/ Cover Suppot S

SF
(]
-
Q
=}
Q
Y
=
Q
o
=
L
3
(]

Cover Holder S Cover Suppot S

15 (‘0—-1

Cover Holder S Cover Suppot S MUsable Frame
Compatible to all SF30 series . i
Item No. *SFA-KHB ¥sFUKo2 (Groove Width 8mm) EMaterial/Technical Data
Cover Holder S* Cover Suppot S
Material Polyamide Aluminium Alloy

Cover Suppot S Kit
Alumite Treatment

(Cover Suppot S(Stainless)Kit) Kit tent
XSFKKO2CE :C;v(:gj;ost ax] (Special orderBlack Alumite
. - (XSFK-K02S) .
Item No x * @Hexagon Socket Bolt(MBx12)x2 ’ EREA
®T Nut S(M8)x2 Weight Gg 178
@Truss Screw(M5x10)x1 Enitoment RoHS Compliant
*Bolt and Nut in (Stainless) Green Procurement
Kit are stainless.
#With M5 nut
Cable Clamp S/ Slot Hook S (U)*(J)
Cable S Slot Hook S Cable S Slot Hook S
20 u TyDe12
) m[ g
) (===
1] Ty ]
20

g Bk
[] a % ® ,  JType
9 Bandable Area iﬁ (

éo

Cable S(50pcs/pack) ¢ 3
(Black) (Light Gray) ﬂ
™)
Item No. C1P-BO4C C1P-004C '—
Slot Hook S - ’
(U Type) (J Type) EMMaterial/Technical Data
Cable S Slot HookS
Item No. SFK-K32u SFK-K32J Material Polyamide Polyamide (Body)
Stainless (Hook)

HWUsable Frame——

Compatible to all SF30 series
(Groove Width 8mm)

Weight 2g/piece 3g(U Type)-48(J Type)/Load capacity] 5kg
Evioment RoHS Compliant
Green Procurement

How to fix Cover
{Indication of Cover Holder S,Cover Suppot S,Resin Plate Size)

= (Resin plate)
[¢)
. _ _ [tﬂo
Q1 3N Cover Holder S
H D Bracket S with Tap : ”
Hard Bracket S with Tap —
H- Hard Bracket S G with Tap
l @Various Resin plates are available.
Refer P182~.
et —=4<°

11

In case of 1=5E§500mm} In case of t=5 500mm pitch
In case of t=3(=300mm) In case of t=3 300mm pitch

{Door accessories)

Tre 7 °X4
ﬂ t APy A f
i I T |
1 [rgog
[
Each Bracket with Tap Cover Holder 8, Cover Suppot § It the cover thickness is 5mm,

Frame and Cover surfaces become flat

@ Various parts for doors are available.
Refer P140~.

Parts
How to order
82 Item No. Quantity (pcs)

SFK-K96 [ ]



Slider S

Slider S

SFA-510

Item No.

HWUsable Frame

%9 Compatible to all SF30 series
~ (Groove Width 8Bmm)

MRecommendation Bolt and Nut Installation List

Appropriate Tightening Torque(N-m)

Name Installation Frame Recommendation Bolt Recommendation Nut
Slider S SF30 series Hexagon Socket Flat Head Cap Screw(M3x20) | T Nut S(M3) 0.7
Slot Roller S
Slot Roller S
| Resin Roller
‘ 0 Bearin;
o < I
< ™) | 4 7]
o 9 ‘
P
| Collar
106 (7.8
3.7
Smooth operation 22.1

is possible
because cutting
work is done with

Slot Roller S

Item No. SFK-806

Slider S

2-Counterbore for M3 from the back

MMaterial/Technical Data

Material Polyacetal (Gray)

Weight 9g

Environment RoOHS Compliant
Green Procurement

HMUsable Frame

Compatible to all SF30 series
(Groove Width 8mm)

4

SN

MMaterial/Technical Data

Material Nylon 6 (Resin Roller)
S45C(Collar)
Steel(Bearing)

Weight 458

Envionment ROHS Compliant
Green Procurement

#Installation bolt size M6
s Appropriate Tightening Torgue 9.0N'm
#With 2 Bearings, Collar and Flat Washer.

How to use Slot Roller

{As door roller)

(To frame's movable part)

Hexagon
Socket Bolt
M6x30

@Hard Bracket S Material
@Angle Bracket S Material

We sell Nut Material and
Bracket Material as well.

T Nut S Material
P62

/E?’w"a.*xr':. 83

Material Frame

SF
(2]
-
Q
=
Q.
o
=
o
m
=
Q
3
o




84



STANDARD FRAME

SF40-45

SERIES

85



SF40 ¢ 45s:res I

SF2-40-40

SF
0
—
Q
=]
Q.
Y
=
o
m
=
o
3
(1]

N

(=} JE—— -
<
ey
\( ‘ J
I
£ \ 8105
SF2-40-40 (£=4000) SF2-40-40 2=50~4000
Item No. SFF-422-T SFF-424-T
MMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment -~ RoHS Compliant
Green Procurement
Geometrical Ix=10.54 X 10%mm*
Moment of Inertia ly=10.54 X 10%mm*
Section Modulus— Zx=5.27 X 10°mm*
Zy=5.27 X 10°mm?
Unit Mass 1.61kg/m
SF2-40-80
40
20
o 10
) ﬁ\
) s N
I O
N

™\

T -
R g

gﬁﬂ‘

SF2-40-80 (2=4000) SF2-40-80 £=50~4000 q]é‘_ ?F

\/
Item No. SFF-432-T SFF-434-T %

1

80
40

\.

HMaterial/Technical Data
Material Aluminium Alloy

Alumite Treatment
Environment - RoHS Compliant

Green Procurement
Geometrical Ix=72.40 X 10mm*

Moment of Inertia ly=19.92X 104mm*

Section Modulus Zx=18.10x 10°mm?

Zy=9.96 X 10°mm®
Unit Mass 2.8kg/m

SF Frame
Standard (£=4000) (Cut by customer) In case of specifying the length (Cut by SUS) sx0rder by 0.1mm unit
86 Item No. Quantity (pcs) Iltem No. Length (mm)

SFF-422-T L] SFF-424-T 2=800



D This sign shows the product is designed
for Asia region only

SF
(7]
v
Q
3
Q
Y
=
o
o
=
Y
3
(]

SF-K-40-40

EMaterial/Technical Data

Material Aluminium Alloy 40
Alumite Treatment
Environment - RoHS Compliant 20
Green Procurement 0
Geometrical  Ix=7.5X10‘m* 0 10 _4-R3
Moment of Inertia ly=7.5X 104m?
Section Modulus - Zx=3.7 X 10%m3
Zy=3.7%10°m?
Unit Mass 1.33kg/m
SF-K-40-40 (£2=4000) SFK-40-40 £=50~4000
Item No. SFF-CO2-T SFF-CO4-T
SF40-
45
-
2]
N
(]

SF-K-40-80 w

MMaterial/Technical Data 4-R3

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

Geometrical ~Ix=55.3X10%m*
Moment of Inertia ly=14.4 % 10%m*

55

Section Modulus - Zx=13.8 10%m3
Zy=7.2x10°mm®
Unit Mass 2.31kg/m

80

SF-K-40-80 (£2=4000) SFK-40-80 £=50~4000

Item No. SFF-C482-T SFF-C484-T

SF-80-80/ SF-80-80-H SF-80-80

80
MMaterial/Technical Data 4-R3 20 :,‘)O 20 ©
Material Aluminium Alloy N’Z 6 10 o v e
Alumite Treatment © i ] ()
O
Environment - RoHS Compliant Green Procurement N :‘ J g e~

SF-80-80 SF-80-80-H
Geometrical [x=129.84X10%m* 1x=1825X10m* I:
B
X

<N5

Moment of Inertia ™ |y=129.84x10‘m* |y=1825x104m*
Section Modulus - 2x=32.46x10%m°  Zx=45.6x10°m*

80
0

x4 DY)
A\4-96.8 "Af\:jl:l

7y=3246X10m°  Zy=456X10°%m° \E"_k )..\‘5’
Unit Mass 457kg/m 7.13kg/m o
SRR
SF-80-80-H
SF-80-80 (£=4000) SF-80-80 £=50~4000 80
20 40 20
Item No. SFF-802 SFF-804 4-R3 20,
TN 10y
[t5) . ~|
SF-80-80-H( 2=4000) SF-80-80-H £=50~4000 ol~ /J,\i 5{;
FanY FanY
Item No. SFF-H82 SFF-H84 A A\n
ol o < >
o I X
=h -y A P
| a4
4-9638
@Exclusive Nut T Nut L @Exclusive Cap @Additional processing and surface treatment are also available.
After Nut L Frame Cap - -
Lock Nut L 2
Free Nut L P122-123 ! 87

End Face.Tapping DriIIin§

P98~



SF
)
<3
o
=}
Qo
Y
=
Q
o
=
Q
3
o

M8

S‘ :
SF-40-160 / SF-80-160
MMaterial/Technical Data
Material Aluminium Alloy ‘218
Alumite Treatment 3 10, 4-R3
Environment - RoHS Compliant ° Y
~+18d!
Green Procurement N
SF-40-160  SF-80-160
Geometrical ~ x=4988X10‘m* [x=10009X10‘m* o
Morment of Inertia™ 38 5 10/~ Iy=295 3 10 ¥
Section Modulus— Zx=623x10%m° Zx=125.1 X 10°mn® =
Zy=192X10°m? Zy=738X10°m°
Unit Mass 554ke/m  10.51ke/m el «x 3 8
° 4-¢10.5
SF-40-160 (£=4000) SF-40-160 £=50~4000 N
Item No. SFF-4162 SFF-4164 ol o |
of
SF-80-160 (£=4000) SF-80-160 £=50~4000 62
SF-40-160
Item No. SFF-812 SFF-814

SF-60-60-1S

EMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
RoHS Compliant
Green Procurement

1x=49.27 X 10*mm*
ly=49.27 X 10*mm*
Zx=16.42x10°m?
Zy=16.42 X 10°mm?
3.72ke/m

Environment

Geometrical
Moment of Inertia

Section Modulus

Unit Mass

SF-60-60-15 (£=4000)

SF-60-60-1S £=50~4000

Item No.

SFF-602-T

SFF-604-T

SF-80-80-1S

HEMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
RoHS Compliant
Green Procurement

1x=90.46 X 10*mm*
ly=90.46 X 10%mm*
Zx=22.62 X 10°m?
Zy=22.62 X 10°mm?
3.94ke/m

Environment

Geometrical
Moment of Inertia

Section Modulus

Unit Mass

SF-80-80-15 (£=4000)

SF-80-80-1S £=50~4000

Item No.

SFF-822-T

SFF-824-T

88

SF Frame

Standard (¢=4000) (Cut by customer)

Item No.

SFF-4162

60

Length (mm)

2=800

4-R3

In case of specifying the length (Cut by SUS) 3xOrder by 0.1mm unit
Quantity (pcs) Item No.

(L] SFF-4164



This sign shows the product is designed
for Asia region only

SF
2
——
[
3
o
Y
=
o
i
=
o
3
(v}

SF2-40-40-1F

BMMaterial/Technical Data

Material Aluminium Alloy %0
Alumite Treatment
Environment - RoHS Compliant 55 7 _15 o
Green Procurement Y \L
Geometrical 1x=9.7 X 10*mm* (’
Moment of Inertia  |y—g 99 x 10%mm¢ SN
f BN
Section Modulus - Zx=4.58 X 10°mm3 2| glot x-8 ?3

Zy=5.00%10°mm? 55
Unit Mass 1.53kg/m : ]ﬁ
&
0105 | G

SF2-40-40-1F (£=4000) SF2-40-40-1F £=50~4000

Item No. SFF-E12-T SFF-E14-T

SF40-
45

0z1S

SF2-40-40-2F

MMaterial/Technical Data
Material Aluminium Alloy 40

Alumite Treatment
Environment - RoHS Compliant

Green Procurement
Geometrical 1x=9.72 X 10%mm*

Moment of Inertia ly=9.72 X 10mm*

Section Modulus—- Zx=4.81 X 10%mm*

Zy=4.81x10%m*
Unit Mass 1.49kg/m

55 7 15

SF2-40-40-2F (£=4000) SF2-40-40-2F £=50~4000

Item No. SFFF12T SFFF14T

SF2-40-40-3F / SF2-40-40-2H SF-40-40-3F

40
EMMaterial/Technical Data 55 z 1Y5
Material Aluminium Alloy
Alumite Treatment 0
Environment - RoHS Compliant ?PQ
Green Procurement gle OE-% N
SF2-40-40-3F SF2-40-40-2H r )
Geometrical  x=10.1x10m* Ix=10.15X10‘m* =
Moment of Inertia =052 104 Iy=1055x 10‘m* 1 2
9 4 R3
Section Modulus - Zx=5.00X 10°m® Zx=508x10%m* ¢10.5 \
Zy=526X10°m® Zy=5.28X10%m°
Unit Mass 1.55kg/m  1.57kg/m SF-40-40-2H
40
20
0 o 10
SF2-40-40-3F (£=4000) SF2-40-40-3F 2=50~4000 0 AUY
Rr
Item No. SFF-FF12-T SFF-FF14-T ~ K 25
ol v X g\(\/? =
< - {/l J
SF2-40-40-2H(2=4000) SF2-40-40-2H £=50~4000 \_{ L
Item No. SFF-FH12-T SFF-FH14-T ﬁ/ %
@Exclusive Nut T Nut L @Exclusive Cap @Additional processing and surface treatment are also available.
After Nut L - =
Frame Cap
Lock Nut L L
Free Nut L P122-123 W 89

End Facé.Tapping Drilling

P98~




SF40 4555 <

SF2-40-80-1F

MMaterial/Technical Data

SF
[}
-
o
=
o
Y
=
o
m
=
Y
3
(]

Material Aluminium Alloy
Alumite Treatment = 40
Environment - RoHS Compliant 5.5, \‘(
Green Procurement _ﬁ ~
Geometrical Ix=71.00X 104mm* FTC
Moment of Inertia "~ |y =0 35 x 10%mn* |
. o LA N
Section Modulus - Zx=17.75 10°mm? =) 0T
Zy=10.16X10°m3 v &F“jk_/
35 x

Unit Mass 2.82kg/m
2.7
o ¢ {
e

SF2-40-80-1F (£=4000) SF2-40-80-1F £=50~4000

Item No. SFF-4E82-T SFF-4E84-T “’g S/

SF-40-80-80

MMaterial/Technical Data 5R3 40
Material Aluminium Alloy - 20
Alumite Treatment [to) 10
Environment - RoHS Compliant O N Y
Green Procurement M
Geometrical Ix=94.15 X 10%mm* T =\
Moment of Inertia  y—g4 15 10%mn* - e
Section Modulus- Zx=20.53 X 10°mm? k
Zy=2053%10%m3 1/
Unit Mass 4.19kg/m
8 < X
mh s
SF-40-80-80 (£=4000) SF-40-80-80 £2=50~4000 o —L)éh
«
Item No. SFF-G22 SFF-G24 D
20 40 20
80
SF-40-40-R
BMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Environment - RoHS Compliant
$8.5
Green Procurement
Geometrical x=7.82x10mm*
Moment of Inertia |y =7 g0 x 104mm¢
Section Modulus— Zx=3.53x 10°mm®
Zy=3.53X10°mm? o
Unit Mass 1.53kg/m <
N~
0
2-R1 10 h
SF-40-40-R (£=4000) SF-40-40-R 2=50~4000
20
Item No. SFF-R72 SFF-R74 " R3
SF Frame o
Standard (£=4000) (Cut by customer) In case of specifying the length (Cut by SUS) sx0rder by 0.1mm unit
90 Item No. Quantity (pcs) Item No. Length (mm)

SFF-4E82-T L] SFF-4E84-T  2=800



EE

SF-40-DE45

0

HMMaterial/Technical Data

Material

Environment

Geometrical
Moment of Inertia

Section Modulus

Unit Mass

Aluminium Alloy
Alumite Treatment
RoHS Compliant
Green Procurement
1x=9.87 X 10%mm*
ly=10.37 X 10%mm*
Zx=359%10°mm°
Zy=38.99 X 10°mm?
1.83ke/m

SF-40-DE45 (£2=4000)

SF-40-DE45 £=50~4000

Item No.

SFF-J72B

SFF-J74B

SF-40-DE30

HMaterial/Technical Data

Material

Environment

Geometrical
Moment of Inertia

Section Modulus

Unit Mass

Aluminium Alloy
Alumite Treatment
RoHS Compliant
Green Procurement
1x=9.89 X 10%mm*
ly=10.64 X 10*nm*
Zx=8.73 X 10°mm3
Zy=4.20X10°mm?
1.88ke/m

SF-40-DE30 (£2=4000)

SF-40-DE30 £=50~4000

Item No.

SFF-J72A

SFF-J74A

SF-40-DE60

MMaterial/Technical Data

Material

Environment

Geometrical
Moment of Inertia

Section Modulus

Unit Mass

Aluminium Alloy
Alumite Treatment
RoHS Compliant
Green Procurement
1x=9.99 X 10%mm*
ly=10.53 X 10mm*
Zx=8.74X10%m?
Zy=4.14x10%mm?
1.84kg/m

SF-40-DE60 (£2=4000)

SF-40-DE60 £=50~4000

Item No.

SFF-J72C

SFF-J74C

@Exclusive Nut T Nut L
After Nut L
Lock Nut L
Free Nut L
P98~

@Exclusive Cap

Frame Cap
P122:123

This sign shows the product is designed
for Asia region only

Yo

SO

SF
(7]
Pd
[
3
o
Y
=
o
m
=
[V
3
()

34.14\<

SF40-

°ZIS 1 &

37.32

@
s
3 b

110 | \eg
20
20
40
37.32

l ~
o)
w0
6R3 L 119 | le4
20
20
40

End Face.Tapping DriIIinE




SF
()
—
o
=]
Q.
(Y
=
o
o
=
Q
3
(o]

SF40 ¢ 45 s:ries <

SF2-45-45

s

s
e Hﬁﬁj
NI a4

45
\
|

&
S
N
[6)]

SF2-45-45 (£=4000)

SF2-45-45 £=50~4000

Item No.

SFF-442-T

SFF-444.T

SF2-45-90

MMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment -~ RoHS Compliant
Green Procurement

Geometrical Ix=15.28 X 10mm*

Moment of Inertia ly=15.28 X 10%mn*

Section Modulus— Zx=6.79 X 10°mm®
Zy=6.79 X 10°mm3

Unit Mass 1.92kg/m

SF2-45-90 (£=4000)

SF2-45-90 £=50~4000

HMaterial/Technical Data
Material Aluminium Alloy

Alumite Treatment
Environment -~ RoHS Compliant

Green Procurement
Geometrical Ix=129.24 X 10*mm*

Moment of Inertia  |y=33 32 x 104mm*

Section Modulus— Zx=28.72 X 10%mm*

Zy=14.81x10°m3
Unit Mass 3.87kg/m

In case of specifying the length (Cut by SUS) sx%0rder by 0.1mm unit

Item No. SFF-472-T SFF-474-T
SF Frame
Standard (¢=4000) (Cut by customer)
92 Item No.

SFF-442-T

Quantity (pcs) Item No. Length (mm)

(] SFF-444-T  :-800



B This sign shows the product is designed
for Asia region only

SF
)
—
[
=}
(=3
Y
=
Q
o
=
Y
3
(]

SF-K-45-45

HMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment --- RoHS Compliant
Green Procurement

Geometrical Ix=11.73X10%Mm*

Moment of Inertia ly=11.73%10%Mm*

Section Modulus- Zx=5.21 X 10%mm?®
Zy=5.21 X 10%mm3

Unit Mass 1.70kg/m

SF-K-45-45 (£=4000) SF-K-45-45 £=50~4000

Item No. SFF-BO2-T SFF-B04-T

SF-K+-45-90

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment --- RoHS Compliant
Green Procurement

Geometrical [x=87.16 X 10*mm*

Moment of Inertia  |y—o0 87 104mm*

Section Modulus-- Zx=19.37 X 10°m*
Zy=10.16 X 10°mm3

Unit Mass 2.98kg/m >

SF-K-45-90 (£2=4000) SF-K-45-90 £=50~4000 e‘\
Item No. SFF-B492-T SFF-B494-T
2-$125

SF-90-90/ SF-90-90-H =

225

22.5

4-R3 20
HMaterial/Technical Data ©| 191 o Y
Material Aluminium Alloy 1 — HTI
N~
Alumite Treatment ! = S 7 D
Environment - RoHS Compliant Jtn' - 'tbl .
Green Procurement olw
SF90.90  SF-90-90H o< X
Geometrical  [x=2092x10‘m* [x=30340X10'm* \ P «
Moment of Inertia™ 1, —o0g 2x 10 Iy=303.40x04n* (/‘A - ,S\‘\k .
Section Modulus - Zx=465X10°m® Zx=67.42X10°m* ID | f
Zy=465X10°m° Zy=67.42X10°m° - lJ_LI 4-$6.8

Unit Mass 5.8kg/m 8.83kg/m
SF-90-90 (£=4000) SF-90-90 £=50~4000 4R3

Item No. SFF-902 SFF-904 ©

~
SF-90-90-H (£2=4000) SF-90-90-H £=50~4000

Item No. SFF-H92 SFF-H94 o|w

o <

N ]
I 45 I 4-96.8
SF-90-90-H

@Exclusive Nut T Nut L @Exclusive Cap
After Nut L =
Lock Nut L te 10285
Free Nut L

P98~




SF40+ 45555 <

SF2-45-45-1F

BMMaterial/Technical Data

SF
(7]
-
o
=
Qo
Y
=
o
Ly
=
Q
3
(]

Material Aluminium Alloy

Alumite Treatment 45
Environment - RoHS Compliant

Green Procurement 6 7 Y e
Geometrical Ix=13.94 X 10%m*
Moment of Inertia  y—14 71 x 10%n*
Section Modulus-- Zx=5.97 X 10°mm® A

Zy=6.53% 10°mn? M
Unit Mass 1.83kg/m N

: “8 g x—H 4
=
SF2-45-45-1F (2=4000) SF2-45-45-1F 2=50~4000 35 / ﬂ]
X
Item No. SFF-4J2-T SFF-444-T
12. S
¢12.5 %
SF2-45-45-2F

MMaterial/Technical Data
Material Aluminium Alloy

Alumite Treatment 45
Environment---- RoHS Compliant

Green Procurement 6 4 y ©
Geometrical Ix=14.14X10%m*

Moment of Inertia  |y—14,14 % 104mm*

Section Modulus-- Zx=6.15X10%mm®
Zy=6.15X10%mm3 |

Unit Mass 1.78kg/m Q:\i +

—
SF2-45-45-2F (£=4000) SF2-45-45-2F £=50~4000 3.5

Item No. SFF-4K2-T SFF-4K4-T
$12.5 y"%

]
=

45
20
10
x

SF2-45-45-3F / SF2-45-45-2H s

Y
6 7 o~
BMMaterial/Technical Data \L
Material Aluminium Alloy [} J
Alumite Treatment fﬁ 2
Environment - RoHS Compliant olo oS
Green Procurement Q| N = X i + [
SF2-45-45-3F SF2-45-45-2H
Geometrical  x=14.91x10%mn Ix=1455X10‘m* 3.5 L\
Morment of Inertia™ ,=15,09 x 10‘m* y=1473x 10‘m* -
Section Modulus- Zx=654X 10%m° Zx=6.47X10°m? ¢12.5 85
Zy=B71X10°m° Zy=6.55X10°m° SF2-45-45-3F
Unit Mass 1.83kg/m 1.83kg/m 45
20
B
SF2-45-45-3F (£=4000) SF2-45-45-3F 2=50~4000 —& Y ¢ ©
D 41
Item No. SFF-AL2T SFF-ALAT | TH ~
o w1579

dﬂe

SF2-45-45-2H (£2=4000) SF2-45:45-2H £=50~4000
Item No. SFF-4M2-T SFF-4M4-T )
¢ 12.5,

SF2-45-45-2H
SF Frame
Standard (£=4000) (Cut by customer) In case of specifying the length (Cut by SUS) sxOrder by 0.1mm unit
94 Item No. Quantity (pcs) Item No. Length (mm)

SFF-4J2-T [JL] SFF-4J4-T ¢=800



B This sign shows the product is designed
for Asia region only

SF
(7]
-~
(Y
=
Q.
Q
=
o
o
=
Y
3
o

SF-K-45-45-1F / SF-K-45-45-2F —

BMMaterial/Technical Data
Material Aluminium Alloy

Alumite Treatment f g
Environment RoHS Compliant 3 8 lx q"N’?
Green Procurement K &“
SFK-45+45-1F  SFK-45-45-2F =i
Geometrical Ix=1088X10mn* Ix=11.13X 10*mn* —
Moment of Inertia =11 a3 104t Iy=11.13X 10m* 55| |7 \ 0125
Section Modulus- Zx=504X10°m° Zx=4.99X10%m° -
Zy=503X10°m° Zy=491X10°m> SF-K+45+45+1F
Unit Mass 1.60kg/m 1.58kg/m

SF-K-45-45-1F (£=4000) SF-K-45-45-1F £=50~4000

Item No. SFF-BEO2 SFF-BEO4 N
B Ce
SF-K-45-45-2F (8=4000) | SF-K-45-45:2F £=50~4000 I -
[72)
Item No. SFF-BFO2 SFF-BFO4 J a‘;
55 7
N $12.5
SF-K+45-45-2F
SF2-45-90-1F
BMMaterial/Technical Data
Material Aluminium Alloy 45
Alumite Treatment
Environment - RoHS Compliant 6.7 v
Green Procurement
Geometrical Ix=117.53% 10%mn’ R1 gﬁ 5
Moment of Inertia "~ |y=30 08 x 10 L
Section Modulus - Zx=26.12 10% fler~"" |97 E
Zy=14.07X10%m? [ T
Unit Mass-— 36 1kg/m )
353 3
n
s |
S
SF2-45-90-1F (£=4000) SF2-45-90-1F £=50~4000 — *i%
Item No. SFF-EFRT SFF-EFA-T N
— &
2-¢125 %

SF-45-45-R

MMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant
Green Procurement

Geometrical IX=11.33X10%mm*

Moment of Inertia "~ y—17 33 10%mn* $10.5 Y
Section Modulus - Zx=4.52 X 10°m?
Zy=4.52x 10°mn? R35 ‘
Unit Mass 1.78kg/m ¢ 4 _ X 9
<
2, .
I~
‘ ] o
SF-45-45-R( £=4000) SF-45-45:R £=50~4000 2-R1 LQ) \ A3
20
Item No. SFF-R82 SFF-R84 45
@Exclusive Nut T Nut L @Exclusive Cap @Additional processing and surface. treatment are also available.
After Nut L .
Frame Cap
Lock Nut L
s Ll P122:123 [ P206~ -1

End Face Tapping DriIIing_

P98~



SF40 ¢ 45seq:s <

SF-45-180/ SF-90-180

EMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Environment - RoHS Compliant

SF
(2]
-
[
3
o
Y
=
[=X
o
=
Q
3
()

Green Procurement 23 e 225 32 225
SF-45-180  SF-90-180 ©f | [0 - 0T v 43
Geometrical ~ k=80481x10'm* [x=2138.6x10‘m" 8 et L RIS \
Moment of Inertia =60 75x 10 Iy=50851x10/m* ST
i J 8-96.8
Section Modulus- 2x=89.42x10%m® Zx=237.4x10°m° © -
Zy=27X10°m*  Zy=133x10°m’ N |
Unit Mass 7.12kg/m  17.07kg/m | — 40125 [ A— -
8ol 3 3wl 75 I
X Y X ‘
SF-45-180 (£=4000) SF-45-180 £=50~4000 Q © m
< N
Item No. SFF-4182 SFF-4184 Ry m;—@?
o o
T k =
N
SF-90:-180 (£=4000) SF-90:180 £=50~4000
SF-45-180 SF-90-180
Item No. SFF-912 SFF-914
SF-45-90-90
BMMaterial/Technical Data 45
Material Aluminium Alloy 2
Alumite Treatment SR8 0
Environment - RoHS Compliant Qg‘ Y
Green Procurement © —
Geometrical IXx=149.63 X 10°mm* LI J HD
Moment of Inertia  |y—1 49 53 x 10%mm* N N N
Section Modulus— Zx=28.83 X 10°mm* S\’Je
Zy=28.83x10%mm3 1/ &~—\S ] 3-¢10.5
Unit Mass 5.55kg/m |:_ 7 f
o| v x
N C o
-2 Mty
—_ — <
SF-45-90-90 (£2=4000) SF-45:90-90 2=50~4000 “ _LJ PARS %E:
AN
Item No. SFF-G32 SFF.G34 « O ? i q?D
N
22.5 45 225
90
How to use Frame
(SF-40-80-80) (SF-45-45-1F) (SF-40-DE30) (SF-45-DE30)
(SF-45-90-90) (SF-45-45-2F) (SF-40-DE45) (SF-45-DE45)
(SF-40-DE60) (SF-45-DE60)
< > SF-40-40
G . (SF-45-45) SF-45-45-2) \ SF-45-45:2F
SF-45-45-2F
/ SF-40-DE45
SF-40-80 AEAE. SF-45-45-1F (SF-45-DE45)
(SF-45-90
SF-40-80-80
(SF-45-90-90)
@As the reinforcing Frame at corner, @For the clean environment without @Many variations to construct
or to ensure space inside groove on Frame externally angles other than 90°
SF Frame o
Standard (£=4000) (Cut by customer) In case of specifying the length (Cut by SUS) 3¢ Order by 0.1mm unit
96 Item No. Quantity (pcs) Item No. Length (mm)

SFF-4182 [ ] SFF-4184 4=800



EE

SF-45-DE45

SF
(2
I~
o
>
Q.
Q
=
o
o
b~
Q
3
@

MMaterial/Technical Data
Material Aluminium Alloy 38.41

Alumite Treatment
Environment RoHS Compliant
Green Procurement s
Geometrical Ix=14.78 X 10*mm*
Moment of Inertia ~ y=15 49 x 10%mm* S
Section Modulus— Zx=4.72 X 10°mm* N
Zy=5.36 X 10°mm3
Unit Mass 2.22kg/m
<
0
9]
SF-45-DE45 ( 2=4000) SF-45:DE45 2=50~4000
Item No. SFF-J82B SFF-J84B
SF40-
45
-
@
N
(1]
SF-45-DE30
BMMaterial/Technical Data
Material Aluminium Alloy 33.75
Alumite Treatment
Environment - RoHS Compliant
Green Procurement
Geometrical IX=14.91 X 10%mm*
Moment of Inertia ly=15.95X 10“nn*
Section Modulus - Zx=4.95 X 10°m*
Zy=5.70%10%mm3
Unit Mass 2.30kg/m
/Y (o2}
R
o p) g
Q| ~ [ |
SF-45-DE30 ( £=4000) SF-45-DE30 £=50~4000 N
o (5
Item No. SFF-J82A SFF-J84A R &% lo7
22.5
45

SF-45-DE60

HEMaterial/Technical Data 41.99
Material Aluminium Alloy

Alumite Treatment
Environment - RoHS Compliant

Green Procurement
Geometrical Ix=14.94 X 10%mm*

Moment of Inertia ly=15.93 X 10“nn*

Section Modulus— Zx=4.86 X 10°mm*

Zy=5.78 X 10%mm3
Unit Mass 2.26kg/m

6p-

0
I\
SF-45-DE60 (£=4000) SF-45-DE60 £=50~4000 o
10
Item No. SFF-J82C SFF-J84C 6-R3 9240 05
22.5
45
@Exclusive Nut T Nut L @Exclusive Cap @Additional processing and surface treatment are also available.
After Nut L Frame Cap - =
Lock Nut L b e
Free Nut L P122:123 P206 97

End Face..Tapping DriIIiné .

P98~



SF40 ¢ 45s:rs <

T Nut L(M3%) / Anti-Skid Cap L40/ L45

SF
(]
=
Q
=]
Q
Y
=
o
o
=
o
E
(]

T Nut L(M3%)
17
L 8.5
I
: L
ElEaEs
0| —
|
M
Anti-Skid Cap
(for T Nut L)
20 20
TNutL(M8)  TNutL(MB)  TNutL(M5)  TNutL(M4) 17.2 172
(ST Nut L(M8) } (ST Nut L(M86) ) (ST Nut L(M5) } (ST Nut L(M4) )
Item No. SFB-004(sFn-TLe)  SFB-003(sFn-TLe)  SFB-008(sFN-TLS)  SFB-007(SFN-TL4) o .‘ o @
N o N~ o
Anti-Skid Cap L40 Anti-Skid Cap L45 J L
(50pcs/pack) (50pcs/pack) © © i
N2 ~| 0
Item No. SFA-907 SFA-908 BNt i j
HWUsable Frame
. Compatible to all SF40 and 45 series
-:./ (Groove Width 10mm)
EMaterial/Technical Data
T NutL ST Nut L Anti-Skid Cap
Material  Equivalent Stainless Black Polyamide(L40)
to S10C With Conductive  Gray Polyamide(L45)
Uni-Chrome Function 0.3g/piece(L40)
Weight 14g 14g 0.5g/piece(L45)
Environment RoHS Compliant Green Procurement
UJ
o
Easy Nut L(M 3%
20

8 8.5

% One-Touch to insert 05
later and Anti-Skid 9‘1& M

14.6

as well.
Easy NutL FEasyNutL FEasyNutL EasyNutlL EasyNutL HMUsable Frame
(M8) (MB) (M5) (M4) (M3) S Compatible to all SF40 and 45 series
V (Groove Width 10mm)
Item No. SFB-PN24 SFB-PN23 SFB-PN22 SFB-PN21 SFB-PN20 ‘oY
S Easy NutL S Easy NutL S Easy NutL S Easy NutL S Easy Nut L N ;
(M8) (M6) (M5) (M4) (M3) BMMaterial/Technical Data
Stainless  Stainless  Stainless  Stainless  Stainless Easy Nut L S Easy Nut L
Material  Equivalent to S10C Stainless
Item No. SFN-EL8 SFN-EL6 SFN-EL5 SFN-EL4 SFN-EL3 Uni-Chrome plating With Conductive
Weight 10g/piece
Environment RoHS Compliant Green Procurement
Parts
How to order
98 Item No. Quantity (pcs)

SFB-004 LI



s

After Nut L(M%¢) / After Nut Support L

After Nut L(M3)

After Nut Support L
(for After Nut and Lock Nut )

65 20
10
o
s /D 3]
%% Using After Nut Support together > A\ 4\/ *
prevents from slipping. O
M
After Nut L(M8)  After Nut L(MB)  After Nut L(M5)  After Nut L(M4)
(S After Nut L(M8) ) (S After NutL(MB) ) (S After NutL(M5) ) (S After Nut L(M4) ) BUsable Frame
Comoatib\e_ to all SF40 and 45 series
Item No. SFB-628(sFN-AL8) SFB-B26(SFN-ALE) SFB-B25(SFN-ALS) SFB-B24(SFN-AL4) (Groove Width 10mm)
After Nut Support L(50pcs/pack) MMaterial/Technical Data
After Nut L SAfter Nut L After Nut Support L
Item No. SFA-9A3 Material Equivalent to Stainless PP Resin
With Conductive
Uni-Chrome Function
Weight 10g 108 0.3g/piece
Environment RoHS Compliant Green Procurement
U
L]
Lock Nut L(M 3%
Lock Nut L(M3%)
20
858 35
1
#%You can fix nut and
conduct electricity by © 1. é%, With M4
tightening attached Set 3 Set Screw
Screw. M —
Lock Nut L(M8)  Lock NutL(M6)  Lock NutL(M5)  Lock Nut L(M4)
(S Lock Nut L(M8)) (S Lock Nut L(M8)) (S Lock Nut L(M5)) (S Lock Nut L(M4)) EUsable Frame
Item No. *SFB-4A8(§SFN-LL8) *SFB-4A6<§SFN-LL6> *SFBAAS(#SFN-LLS) *SFB-4A4(§SFN-LL4> Compatible to all SF40 and 45 series
(Groove Width 10mm)
HMMaterial/Technical Data
Lock Nut L S Lock Nut L
Material Equivalent to Stainless
With Conductive
Uni-Chrome Function
Weight 10g 10g

Environment % RoHS Compliant *Green Procurement

Joint Bar L200/ T Nut L Material / After Nut L Material

T Nut L Material
{ST Nut L Material)

Joint Bar L200
200
15, 70 L 30 70 15
L I L
B9} o O ©
: % =%

After Nut L Material
(S After Nut L Material)
145
9.8

Joint Bar L200 Joint Bar L200 Kit
Item No. *SFJ-607 Item No. *SFK-607
[«
T Nut L Material £=(2800) T Nut L Material £=450
(ST Nut L Material £=(2800)) (ST Nut L Material 2=450) h
HKit contents
*ry.107 Kary. *sEx-121 Karx-
Item No. ¥SFX-101 (¥sFx-003) KSFX-121(¥sFx-s01) @Joint Bar L200X]
@Set screw(M8x10) x4
After Nut L Material £=(2800) | After Nut L Material £=450
(S After Nut L Material £=(2800)) (S After Nut L Material 2=450) HMMaterial/Technical Data
Item No. ¥SFX-102CKsr008) SFX-122(sprs08) Joint Bar 200

+ Note : T Nut material will be delivered without plating.

HMUsable Frame
Compatible to all SF40 and 45 series

We sell Nut Material and
Bracket Material as well.

T Nut L Material
P99

(Groove Width 10mm)

@Hard Bracket L Material
@Angle Bracket L Material

Material Equivalent to S10C
Uni-Chrome plating
Weight 171g

|

NI

6.5

T Nut L Material ST Nut L Material
After Nut L Material S After Nut L Material
Equivalent to STOC SUS303

Not plating
926g/m(T Nut L) 940g/m(ST Nut L)
574g/m(After Nut L) 583g/m(S After Nut L)

Environment xRoHS Compliant *Green Procurement

Material Frame

SF
@
Q
=]
o
Y
=
o
M
=
Q
=
(v}




SF40 ¢ 45s:q:s <

S Free Nut L(M%)

SF
»
-+
Q
=]
o
(Y
=
o
i
=
[
3
(]

S Free Nut L(M3x)
8.5

N

15°
—
z

L]
S Free NutL(M8) S Free NutL(MB) S Free NutL(M5) S Free NutL(M4) ovJT AR

Item No. SFN-FL8 SFN-FLE SFN-FLS SFN-FL4

BMMaterial/Technical Data
S Free Nut L
Material Stainless
HWUsable Frame With Conductive

Compatible to all SF40 and 45 series Function
(Groove Width 10mm) Weight 78
Enionment RoHS Compliant Green Procurement

Free Nut with Headless Bolt L(M6) / Free Stud L(M5) / Free Nut Stopper L

Free Nut with Headless Bolt L(M6) Free Stud L(M5) Free Nut Stopper L

%
e
i

. s
Me T Position can be fixed by inserting it
M5 to the groove onto Free Nut.
~ S |
o P
B ] I
T ]
Free Nut with Headless Bolt L(MB) Free Nut Stopper L 3
Item No. XSFN-NLE XSFA-9F2
Free Stud L(MS5) MMaterial/Technical Data
KaFN. Free Nut with Headless Bolt L Free Stud L Free Nut Stopper L
tem No. *SFN-LET Meterl Stainless SPHC Polyamide
With Conductive Function Uni-Chrome
HEUsable Frame . _ Weight 12g 478 0.6g
So. Compatible to all SF40 and 45 series Enioment kRoHS Compliant *Green Procurement
i:./ (Groove Width 10mm)
Double Round Lock Nut L40 S Double Joint 40 W

il

r— . T

VA ! EEEES) e
SR o i i
Double Round Lock Nut L40 Double Round Lock Nut L45 L/ | 71 |
A

2.M6 { of o —1
Item No. SFJ-251S SFJ-2528 3
S Double Joint 40 S Double Joint 45
BMMaterial/Technical Data
Item No. SFK-394S SFK-392S Double Round Lock Nut L40/L45 S Double Joint 40/45
Material SUS304 SCS13(Stainless)
MUsable Frame ————— 36g(Double Round Lock Nut L40) ~ 61g(S Double Joint 40)

S~ SF-40-40, SF-40-80, SF-40-120,  Weight 55g(Double Round Lock Nut L45) ~ 73g(S Double Joint 45)
gn/ SF-45-45, SF-45-90, SF-45-180  Ewiomet RoHS Compliant Green Procurement

=t
Parts

How to order

Item No. Quantity (pcs)

SFB-104 L]



EDED

D Bracket L

D Bracket L-CN
{D Bracket L-CN with Tap)

D Bracket L
{D Bracket L with Tap)

Item No. XSFJ013(¥sru012) XSFJ-013NCEsFI0140)

D Bracket L-CN Kit
(D Bracket L-CN Kit with Tap}

D Bracket L(Stainless)Kit
(D Bracket L with Tap (Stainless) Kit )

D Bracket L Kit
(D Bracket L Kit with Tap)

Item No. XSFK-013¢%srk014)  FSFK-013S(Fsrr-0148)

XSFK-013N(¥srk-014N)

HWUsable Frame

N Compatible to all SF40 and 45 series
".4./

(Groove Width 10mm)

D Bracket Spacer L

@Setting to bottom of D Bracket
enables to fix on a flat base.

D Bracket 4080 / 4590

4-9 Drilling

D Bracket 4080 D Bracket 4080-CN D Bracket 4590 D Bracket 4590-CN
(4080 with Tap) (4080-CN with Tap) (4590 with Tap) (4590-CN with Tap)
Item No. SFJ-022(sFJ-022T)  SFJ-022N(sFJ-0220)  SFJ-023(sFJ-023T)  SFJ-023N(SFJ-023C)
4080 Kit 4080-CN Kit 4590 Kit 4590-CN Kit
(4080 Kit with Tap) ~ (4080-CN Kit with Tap) (4590 Kit with Tap) ~ (4590-CN Kit with Tap)
Item No. SFK-022(sFk-022T)  SFK-022N(sFk-022c)  SFK-023(sFk-023T)  SFK-023N(SFK-023C)
D Bracket 4080(Stainless) Kit D Bracket 4590(Stainless) Kit
{D Bracket 4080 with Tap (Stainless) Kit) (D Bracket 4590 with Tap (Stainless) Kit)
Item No. SFK-022S (sFK-022P) SFK-023S(sFK-023P)

We sell Nut Material and
Bracket Material as well.

T NutL Material
P99

WUsable Frame

@Hard Bracket L Material
@Angle Bracket L Material

D Bracket L with Tap

D Bracket L

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

HKit Contents

@D Bracket L{or with Tap)X 1

@Hexagon Socket Bolt(M8x20) X 2

@T Nut (M8)x2

#*Bolt and Nut in CN (Stainless)
Kit are stainless.

BMMaterial/Technical Data
Material Aluminum Die-Cast
(CN:Electroless Nickel Plating)
With Anti-Skid Function
Weight 54g(D Bracket L)
53g (D Bracket L with Tap)
Enironment %k ROHS Compliant
*Green Procurement

D Bracket Spacer L

Item No. SFJ-4025

BMaterial/Technical Data

Material SUS304

Weight 22g

Environment RoHS Compliant
Green Procurement

Compatible to all SF40 and 45 series
(Groove Width 10mm)

D Bracket 4080./D Bracket 4590

Bay- SR
> &

(Both Sides)
With Tap

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)
() is D Bracket 4590 size.

HMUsable Frame

SF-40-80/1F, SF-80-80/H
SF-45-90/1F, SF-90-90/H

HKit Contents

(D Bracket 4080 Kit)

@D Bracket 4080¢or with Tap)X 1

@Hexagon Socket Bolt (M8%20)x 4

@T Nut L(M8)x4

(D Bracket 4590 Kit)

@D Bracket 4590(or with Tap)X 1

@Hexagon Socket Bolt (M8x20)x 4

@T Nut L(M8)x4

%Bolt and Nut in CN (Stainless)
Kit are stainless.

BMMaterial/Technical Data
D Bracket 4080 D Bracket 4590
Material Aluminum Die-Cast(ADC-12)  Aluminum Die-Cast(ADC-12)
(CNElectroless Nickel Plating)  (CN:Electraless Nickel Piating)
With Anti-Skid Function With Anti-Skid Function
Weight 170g 180g
Eniooment ROHS Compliant Green Procurement

101

Material Frame

SF
»
-
Q
=
Q.
Y
=
o
m
=
Y
3
(]




SF
(2]
~
Q
=}
Q
Y
=
Q
o
=
Y
3
(]

SF40 4555

Hard Bracket L

Hard Bracket L
(Hard Bracket L with Tap)

Item No. XSFJ-NO5 (¥sFoN0sT)
Hard Bracket L Kit Hard Bracket L(Stainless)Kit
(Hard Bracket L Kit with Tap) (Hard Bracket L with Tap (Stainless) Kit)
Item No. ¥SFK-NOS (¥sFk-No5T) ¥SFK-NOBS (§sFk-NoSP)

HMUsable Frame

N Compatible to all SF40 and 45 series

o (Groove Width 10mm)
-.“

Hard Bracket LG

Hard Bracket L
(Hard Bracket LG with Tap)

Item No. ¥SFU-N29 (fsFunagam)

Hard Bracket LG(Stainless)Kit
(Hard Bracket LG with Tap (Stainless) Kit)

Hard Bracket LG Kit
(Hard Bracket LG with Tap Kit)

Item No. §SFK-N29<¥SF><—N29T) iSFK-NQQS(iSFKrNESP)

HMUsable Frame

Compatible to all SF40 and 45 series
(Groove Width 10mm)

Hard Bracket LW

Hard Bracket LW
(Hard Bracket LW with Tap)

Item No. SFJ-N19(sFJ-N19T)

Hard Bracket LW (Stainless)Kit
(Hard Bracket LW with Tap (Stainless) Kit)

Hard Bracket LW Kit
(Hard Bracket LW Kit with Tap)

SFK-N19(sFk-N19T) SFK-N19S(sFK-N19P)

Item No.

HWUsable Frame

Compatible to all SF40 and 45 series
(Groove Width 10mm)

Parts
How to order
Item No.

SFJ-N05

Quantity (pcs)

L]

M8

$4.2
<2-M5 Depth 15(Both sides) >

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

HKit Contents

@Hard Bracket L<or with Tap)X 1
@Hexagon Socket Bolt (M8%20) X 2
®T Nut L(M8)x2

#*Bolt and Nut in (Stainless) Kit are

stainless.

BMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
Perpendicular surface is machining finished.

Weight 66g

Environment % RoHS Compliant
*Green Procurement

(o]

(<]
o
<

g/qm.z

<2-M5 Depth 15(Both sides) >

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

HKit Contents

@Hard Bracket LG{or with Tap)X1
@Hexagon Socket Bolt (M8x25) x 2
@T Nut L(M8)x2

#*Bolt and Nut in (Stainless) Kit are
stainless.

BMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Perpendicular surface is machining finished.
Weight 1518
Envionment e ROHS Compliant
*Green Procurement

85

$4.2
<2-M5 Depth 15(Both sides) >

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

HKit Contents

@Hard Bracket LW<{or with Tap)X1

@Hexagon Socket Bolt (M8%20) X 4

®T Nut L(M8)x4

*#Bolt and Nut in (Stainless) Kit are
stainless.

HEMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
Perpendicular surface is machining finished.
Weight 113g
Envioment RoHS Compliant
Green Procurement

@Cap for Bracket
P123



EE

Hard Bracket L4080

SF
(7]
-
Q
>
Q
Y
=
o
o
=
o
3
(]

4-9 Drilling

Hard Bracket L4080
{Hard Bracket L4080 with Tap) L . . .
Please use Kit with Tap to install Side Cover. (Refer P125 for details.)
Item No. §SFJ-N06<¥SFJ-N06T> HMUsable Frame ———
R SF-40-80/1F ’ .
Hard Bracket L4080 Kit Hard Bracket L4080(Stainless)Kit S SF8080/M WMaterial/Technical Data
(Hard Bracket L4080 Kit with Tap) (Hard Bracket L4080 with Tap (Stainless) Kit) e Material Aluminium Alloy
HKit Contents ————— Alumite Treatment
Item No. ¥SFK-NOB (s XSFKA ¥srid
*SFK-NOBGrSFcNoBT) *SFK-NOBS GySFicNoGP) @Hard Bracket L4080 or with TapyX1 Perpendicular surface is machining finished.
@Hexagon Socket Bolt (M8x20)x4 Weight 154g

@T Nut L(M8)x4
*#Bolt and Nut in (Stainless) Kit are
stainless.

Envionment % RoHS Compliant
*Green Procurement

Hard Bracket G80

4-9 Drilling

Hard Bracket G80

(Hard Bracket GBO with Tap) Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

Item No. XSFJNO7 (Esrono7m WUsable Frame ———
; - - N SF-40-80/1F MMaterial/Technical Data
Hard Bracket G80 Kit Hard Bracket G80(Stainless)Kit p’/ SF-80-80/H ) N
(Hard Bracket G80 Kit with Tap) (Hard Bracket G80 with Tap (Stainless) Kit) -8 Material Aluminium Alloy
Item No x % N x HKit Contents ————————— Alumite Treatment
- XSFK-NO7 (¥sFk-NO7T) ¥SFK-NO78 (kSFK-NO7P) @Hard Bracket G80 (or with Tap)x1 Perpendicular surface is machining finshed.

@Hexagon Socket Bolt (M8%25)x4 Weight 380g

@T Nut L(M8)x4

#Bolt and Nut in (Stainless) Kit are
stainless.

Enironment ke RoHS Compliant
*Green Procurement

Hard Bracket G80160

8-9 Drilling

Hard Bracket G8B0O160
(Hard Bracket G80160 with Tap)

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

Item No. SFJ-N48(sFJ-N48T) HMUsable Frame

R SF-80-160 ] )
Hard Bracket GBO160 Kit | Hard Bracket GBO160(Stainless)Kit }.‘,/ WMaterial/Technical Data
(Hard Bracket G80160 Kit with Tap) | (Hard Bracket G80160 with Tap (Stainless) Kit) ‘o Material Aluminium Alloy

HKit Contents —— Alumite Treatment

Item No. SFK-N48(sFK-N4sT) SFK-NA4BS (sFK-N4gP) @Hard Bracket G80 160 (or with Tap)X1 Perpendicular surface is machining finished.
@Hexagon Socket Bolt (M8x25)x8 Weight 7708
OT Nut L(M8)x8 Eniromment k RoHS Compliant
#Bolt and Nut in (Stainless) Kit are *Green Procurement

stainless.

We sell Nut Material and ~ RREASECER NOTEGRIE CRRVETEE oy M‘{ 103
Bracket Material as well. P99 B @Angle Bracket L Material L,

Material Frame




SF
[}
-
o
=
o
9
[=}
m
=
[V
3
(]

SF40 ¢ 45 s:ries

Hard Bracket LW4080

104

Hard Bracket LW4080
(Hard Bracket LW4080 with Tap)

Item No. SFJ-N20(SFJ-N20T)
Hard Bracket LW4080 Kit Hard Bracket LW4080(Stainless)Kit
(Hard Bracket LW4080 Kit with Tap) (Hard Bracket LW4080 with Tap (Stainless) Kit)
Item No. SFK-N20(sFk-N20T) SFK-N20S(sFK-N20P)

Hard Bracket GW80

Hard Bracket GW80
(Hard Bracket GW80 with Tap)

Item No. SFJ-N17(SFJ-N17T)
Hard Bracket GW80 Kit Hard Bracket GW80(Stainless)Kit
(Hard Bracket GW80 Kit with Tap) (Hard Bracket GW8O0 with Tap (Stainless) Kit)
Item No. SFK-N17(SFK-N17T) SFK-N17S(sFK-N17P)

Parts
How to order
Item No.

SFJ-N20

Quantity (pcs)

8-9 Dirilling

M8

30
85

45

N

N\ P42

<2-M5 Depth 15(Both sides)>

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

HWUsable Frame
SF-40-80/1F

V SF-80-80/H

HKit Contents

@Hard Bracket LW4080{or with Tap)x1

@Hexagon Socket Bolt (M8x%20) X8

@T Nut L(M8)x8

*#Bolt and Nut in (Stainless) Kit are
stainless.

8-9 Drilling

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

HWUsable Frame
SF-40-80/1F

:i?./ SF-80-80/H

HKit Contents

@Hard Bracket GW80<or with Tap)X1

@Hexagon Socket Bolt (M8X25) X 4

@Hexagon Socket Bolt (M8%15) X4

@T Nut L(M8)x8

%Bolt and Nut in (Stainless) Kit are
stainless.

MMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 2678

Environment RoHS Compliant
Green Procurement

46
80

24

N

epth 15(Both sides)>

HMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 3338

Environment RoHS Compliant
Green Procurement

@Cap for Bracket
P123



Hard Bracket L4590

4-9 Drilling

Hard Bracket L4590
(Hard Bracket L4590 with Tap)

Item No. XSFJ-NO8 srnosT) MUsable Frame
x SF-45-90/1F
Hard Bracket L4590 Kit Hard Bracket L4590(Stainless)Kit }‘/ SF-90-90/45-90-90
(Hard Bracket L4590 Kit with Tap) (Hard Bracket L4590 with Tap (Stainless) Kit) >N
HKit Contents
Item No. XSFK-NO8 (§sri-NosT ¥SFK-NOBS (XsFi-nosp
te o x * ) * & ) @Hard Bracket L4590 {or with TapyX1

@Hexagon Socket Bolt (M8x20)Xx4

@T Nut L(M8)x4

#*Bolt and Nut in (Stainless) Kit are
stainless.

Hard Bracket G90

4-9 Drilling

Hard Bracket GO0
(Hard Bracket G90 with Tap)
Item No. LN ERCNED) BUsable Frame
5 SF-45-90/1F
Hard Bracket G90 Kit Hard Bracket G90(Stainless)Kit }i/ SF-90-90/H
(Hard Bracket G90 Kit with Tap) (Hard Bracket G0 with Tap (Stainless) Kit) ‘oY
HKit Contents
Item No. XSFK-N18(Xsrk- *sFK- Koy,
XSFK-N18(}SFK-N18T) *SFK-N18S(ksFK-N18P) @Hiard Bracket GI0or with Taoyx]

@Hexagon Socket Bolt (M8x25)x4

@T Nut L(M8)x4

#*Bolt and Nut in (Stainless) Kit are
stainless.

Hard Bracket G90180

8-9 Drilling

Hard Bracket G90180
(Hard Bracket G90180 with Tap)

Item No. SFJ-N49(sFJ-n4gT) HWUsable Frame
s SF-90-180
Hard Bracket G90180 Kit Hard Bracket G90180(Stainless)Kit V
(Hard Bracket G90180 Kit with Tap) (Hard Bracket G90180 with Tap (Stainless) Kit) ‘>N
HKit Contents
tem No. SFKNAS(srchaan SFK-NASS (srcNagP) @Hard Bracket GI0180(0r with Tap)X|

@Hexagon Socket Bolt (M8%25)x8

@T Nut L(M8)x8

*#Bolt and Nut in (Stainless) Kit are
stainless.

@Hard Bracket L Material
@Angle Bracket L Material

We sell Nut Material and
Bracket Material as well.

T Nut L Material
]

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

BMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
Perpendicular surface is machining finished.

Weight 163g

Environment % RoHS Compliant
*Green Procurement

942

<2-M5 Depth 15(Both sides)>

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

EMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Perpendicular surface is machining finished
Weight 3878
Envionment e RoHS Compliant
*Green Procurement

V2
$4.2

<2-M5 Depth 15(Both sides)>

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

BMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 8468

Enionment RoHS Compliant
Green Procurement

105

Material Frame

SF
(2]
-
o
3
o
9
Q
m
=
o
3
(]




SF
()
—
o
=]
Q.
o
=
o
o
=
Q
3
(]

SF40 ¢ 45s:res

Hard Bracket LW4590

Hard Bracket LW4590
(Hard Bracket LW4590 with Tap)

106

Item No. SFJ-N21(sFJN21T)
Hard Bracket LW4590 Kit Hard Bracket LW4590(Stainless)Kit
{Hard Bracket LW4590 Kit with Tap) | (Hard Bracket LW4590 with Tap (Stainless) Kit)
Item No. SFK-N21(SFK-N21T) SFK-N218(sFk-N21P)

Hard Bracket GW90

Hard Bracket GWS0
{Hard Bracket GW90 with Tap)

Item No. SFJ-N22(sFJN22T)
Hard Bracket GW9O0 Kit Hard Bracket GW90(Stainless)Kit
{Hard Bracket GW9O0 Kit with Tap) (Hard Bracket GWS0 with Tap (Stainless) Kit)
Item No. SFK-N22(SFk-N22T) SFK-N22S(sFK-N22P)

Parts
How to order
Item No.

SFJ-N21

Quantity (pcs)

L]

8-9 Drilling

M8

o

@
0
|

0|
K
: ibw,z

<2-M5 Depth 15 (Both sides)>

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

HMUsable Frame
SF-45-90/1F

N
,;!/ SF-80-90/45:90-90

HKit Contents

@Hard Bracket LW4590{or with Tap)x1

@Hexagon Socket Bolt (M8%20) X8

@T Nut L(M8)x8

*#Bolt and Nut in (Stainless) Kit are
stainless.

8-9 Drilling

EMMaterial/Technical Data
Material Aluminium Alloy
Alumite Treatment
Perpendicular surface is machining finished
Weight 2878
Environment RoHS Compliant
Green Procurement

N

2-M5 Depth 15 (Both sides)>

Please use Kit with Tap to install Side Cover. (Refer P125 for details.)

HMUsable Frame
SF-45-90/1F

o
_-;‘/ SF-90-90/45-90-90

HKit Contents

@Hard Bracket GW90 (or with Tap)x1
@Hexagon Socket Bolt (M8x25) X4
@Hexagon Socket Bolt (M8%15) X4
@T Nut L(M8)x8

#Bolt and Nut in (Stainless) Kit are

stainless.

EMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment
Perpendicular surface is machining finished
Weight 3598
Enionment ROHS Compliant
Green Procurement



EE

Angle Bracket L40

SF
)
-+
[
=}
o
Y
=
Q
o
=
o
3
(]

Angle Bracket L40

Item No. XSFJ-A05

BMaterial/Technical Data

Angle Bracket L40 Kit ) -
(Angle Bracket L40 (Stainless) Kit) Material Aluminium Alloy

I N * * HKit Contents Alumite Treatment
tem No. X SFK-AO5 (¥ SFK-AD5S) @®Angle Bracket L40X1 Weight 34g
MUsable Frame ———— :Hexagorz So)cket Bolt (M8x18)x2 Enioment kRoHS Compliant
T Nut L(M8)x2
i i *Green Procurement
Compatible to all SFAO series %#Bolt and Nut in (Stainless) Kit are

(Groove Width 10mm)

stainless.

2-9 Drilling,
14 Deep Spot Facing,
Depth 34

Angle Bracket Hard L40

Item No. SFJ-A16

EMaterial/Technical Data

Angle Bracket Hard L40 Kit )
(Angle Bracket Hard L40 (Stainless) Kit) Material Aluminium Alloy
Alumite Treatment

Item No. SFK-A16(sFK-A16S) MKt Contents Weight 103g
@Angle Bracket Hard L40X1 Enironment RoHS Compliant
BUsable Frame . . @Hexagon Socket Bolt (M8x%15)x2 Green Procurement
Ny Compatible to all SF40 series @®T Nut L(M8)x2
.':/ (Groove Width 10mm) #Bolt and Nut in (Stainless) Kit are
- stainless.

Angle Bracket L4080

Angle Bracket L4080

Item No. XSFJ-A06

HMaterial/Technical Data
Material Aluminium Alloy

Angle Bracket L4080 Kit
{Angle Bracket L4080(Stainless) Kit)

HKit Contents ————— Alumite Treati t
* ~ Kare. umite Treatmen
Item No. XSFK-ADB (xSFK-A08S) @Angle Bracket L4080X1 Weight 80g
@Hexagon Socket Bolt (M8x15)x4 Eniomet < RoHS Compliant

WUsable Frame

. . T Nut L(M8)x4
o Compatible to all SF40 series . ut L(M8) ) ) . *Green Procurement
"/ (Groove Width 10mm) *#Bolt and Nut in (Stainless) Kit are
‘> stainless.

Material Frame

We sell Nut Material and ~ RRCARECER N TEGEIEE CRRVETEE
Bracket Material as well. P99 B @Angle Bracket L Material




SF
()
I~
o
>
Q.
Q
=
o
o
=
Q
3
(0]

SF40+ 45555

Angle Bracket L45

Angle Bracket L45

Item No. SFJ-007
Angle Bracket L45 Kit
{Angle Bracket L45 (Stainless) Kit)
Item No. SFK-007(sFK-007s)

HMUsable Frame

(Groove Width 10mm)

Compatible to all SF45 series

Angle Bracket Hard L45

Item No. SFJ-A17
Angle Bracket Hard L45 Kit
{Angle Bracket Hard L45 (Stainless) Kit)
Item No. SFK-A17(SFK-A178)

HMUsable Frame

Compatible to all SF 45 series

Ny 4
u;/ (Groove Width 10mm)

Angle Bracket L4590

Angle Bracket L4590

Item No. SFJ-AO8
Angle Bracket L4590 Kit
{Angle Bracket L4590 (Stainless) Kit)
Item No. SFK-AQ8(sFK-A08S)

HWUsable Frame

Compatible to all SF45 series

Ny
_-;/ (Groove Width 10mm)

Parts
How to order
Item No. Quantity (pcs)

SFJ-007 L]

M8

HKit Contents

@Angle Bracket L45X1

@Hexagon Socket Button Bolt (M8X25)x2

@T Nut L(M8)x2

*#Bolt and Nut in (Stainless) Kit are
stainless.

9 Drilling,
15 Deep Spot Facing,
Depth 36

9 Drilling,
15 Deep Spot Facing,
Depth 26

HKit Contents

@Angle Bracket Hard L45X1

@Hexagon Socket Bolt (M8x25)x2

@7 Nut L(M8)x2

%Bolt and Nut in (Stainless) Kit are
stainless.

BMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 528

Enirooment ROHS Compliant
Green Procurement

BMMaterial/Technical Data

Material ~ Aluminium Alloy
Alumite Treatment

Weight 135g

Environment RoHS Compliant
Green Procurement

HKit Contents

@Angle Bracket L4590X 1

@Hexagon Socket Button Bolt (M8x25)x4

O@T Nut L(M8)x4

#*Bolt and Nut in (Stainless) Kit are
stainless.

HMaterial/Technical Data

Material - Aluminium Alloy
Alumite Treatment

Weight 175g

Environment RoHS Compliant
Green Procurement



i

L Bracket L (Stainless)

10 |5

L Bracket L(Stainless)
Item No. SFJ-102S
L Bracket L (Stainless) Kit MMaterial/Technical Data
Item No. SFK-1025 MKt Contents ";\",aFe:f' 238304
@L Bracket L (Stainless)X1 eig! g

Environment RoHS Compliant

@Hexagon Socket Bolt (M8X15)Stainlessx2
Green Procurement

@ST Nut L(M8)x2

HWUsable Frame

. Compatible to all SF40 and 45 series
-:./ (Groove Width 10mm)

Hard Bracket L-DE45

Hard Bracket L-DE135

Hard Bracket L+DE

29
¢a2 Drilling
<2-M5
Tapping>
Please use Kit with Tap to install Side Cover.
(Refer P125 for details.)
Hard Bracket L-DE135 Hard Bracket L-DE45
(Hard Bracket L-DE135 with Tap) (Hard Bracket L-DE45 with Tap)
Item No. SFJ-N35(SFU-N35T) SFJ-N3B(SFJ-N36T) BWKit Contents
- - - - - - {Hard Bracket L-DE135 Kit)
L-DE135 Kit L/DE135(Stainless)Kit L-DE45 Kit L'DE45(Stainless)Kit @Hard Bracket LDE1350r with Tap)X1 ) .
(L'DE135 Kit with Tap) | (LDE135 with Tep(Staess) ki)~ (L-DE45 Kit with Tap) | (LDE45 with Tap(Stainless) it @Hexagon Sacket Bolt (M8X20)x2 EMaterial/Technical Data
@T Nut L(M8)x2 i ini
Item No. SFKCNS5(SFNST) | SFKNBSSEFHAER)  SFRNSBISFCRET) | SFENGBSEFIEER)  (hyer Dot CDEAS Kity et
@Hard Bracket L-DE45 (or with Tap)X1 Weight 103g(L-DE135)

88g(L-DE45)
Enionment RoOHS Coompliant
Green Procurement

@Hexagon Socket Bolt (M8X20)%2

@T Nut L(M8)x2

#Bolt and Nut in (Stainless) Kit are
stainless.

HMUsable Frame

R SF-40-45 Series 457slant cut frame
‘l:‘/ SF-40-DE45/SF-45-DE45(L'DE135 only)

Hard Bracket L4080-DE

Hard Bracket L4080-DE135 Hard Bracket L4080-DE45

49
Drilling

Please use Kit with Tap to install Side Cover.
(Refer P125 for details.)

Hard Bracket L4080-DE45
{Hard Bracket L4080-DE45 with Tap)

Hard Bracket L4080-DE135
(Hard Bracket L4080-DE135 with Tap)

Item No. SFJ-N42(sFJ-n42T) SFJ-N41(SFI-N4TT) BWKit Contents
L4080 DE 135 Kit | UEEISScksst LADBODEAS Kit | [UBDEBSesski  @tostiases comb 1on o
L i ! ailess)Ki : i DES(Stailess)Ki @Hard Bracket L40BO:DE 135(0r vith Tap)X] ) -
(L40BO-DE'35 Kt with Tap) | (408D0EI36uit TpStinks) ) (LAOBO'DEAS Kitwith Tap) | (LAOBDDES it TelSares K¢ .Haéxa:;negocket Bolt (?\;éxgé)m BMaterial/Technical Data
OT Nut L(M8)x4 Material Aluminium Alloy
Item No. SFK-NA2(SFK-N42T) | SFK-NA2S(SFK-NA2P)  SFK-N4T(SFK-NATT) | SFK-N4TS(SFK-N41P) (Hard Bracket L4080-DE45 Kit) Alumite Treatment
@*Hard Bracket LA0BODE450r with Tap)x] Weight 258g(L4080-DE 135)

221g(L4080:DE45)
Enviroment RoOHS Compliant
Green Procurement

@Hexagon Socket Bolt (M8x20)x4

OT Nut L(M8)x4

#Bolt and Nut in (Stainless) Kit are
stainless.

T NutL Material  @Hard Bracket L Material
P99 W @Angle Bracket L Material

MUsable Frame ————
SF-40-80 45°%slant cut

Npe
,;/ frame

We sell Nut Material and
Bracket Material as well.

Material Frame

SF
)
—
[
=}
o
Y
=
Q
T
=
Q
3
o




SF
(7]
-
[
3
Q
Y
=
o
T
=
o
3
(v}

SF40 45555

Hard Bracket L4590-DE

10
ﬁ

Hard Bracket L4590-DE135

49
Drilling

M8

<y

Hard Bracket L4590-DE45

Please use Kit with Tap to install Side Cover.

Hard Bracket L4590-DE135 Hard Bracket L4590-DE45
(Hard Bracket L4590-DE 135 with Tap) (Hard Bracket L4590-DE45 with Tap)
Item No. SFJ-N44(SFJ-N44T) SFJ-N43(SFJN43T) HKit Contents
- —— - —— (Hard Bracket L4590-DE 135 Kit)
LA590'DE 135 Kit |L45900E135(5tarlesst  LASOO-DEAS Kit | LASO0DEABISNESSK  @rg Bracter LaSO0DE 136 0 v
(L4590DE135 Kit with Tap) |{L4590-DE135 with Tap(Stainless) Kit) ~ (L4590-DE4S5 Kit with Tap) | (L4590-DEA5 with Tap(Stainless) Kit) @Hexagon Socket Bolt (M8X20)x4
@7 Nut L(M8)x4
Item No. SFK-NA4(SFK-N44T) | SFK-NA4S(SFK-N44P)  SFK-N4A3(SFK-N43T) | SFK-N43S(SFK-N43P)
(Hard Bracket L4590-DE45 Kit)

HWUsable Frame

SF-45-90 45°slant cut

>'/ frame

Truss Joint L40/ L45

ML

Truss Joint L40

@Hard Bracket L4590-DE45 (or with Tap)X1

@Hexagon Socket Bolt (M8x20)x4

@T Nut L(M8)x4

*Bolt and Nut in (Stainless) Kit are
stainless.

Truss Joint L45
4,

20]

40

225

v
<

39 69 Drilling
614 Deep Spot Facing, Depth 29

39 09 Driling
14 Deep Spot Facing, Depth 29

(Refer P125 for details.)

EMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 277g(L4590:DE135)
236g(L4590-DE45)

Ewionment RoOHS Compliant
Green Procurement

Truss Cap L

3% Groove size is as same as SF-40-40, SF-45-45

Truss Joint L40

Truss Joint L45

Item No. SFJ-J03 SFJ-J04
. HEMaterial/Technical Data
Truss Cap L(Black) Truss Cap L(Light gray) WUsable F Truss Joint LAO/LAS Truss CapL
sable Frame Material Aluminium Alloy  Polyamide
%
Item No. SFA-J03 SFA-JO3G No (Frame to reinforce) Alumite Treatment
;;/ SF-40-40/SF-K-40-40  Weight 103g(L40)
- SF-45-45/SF-K-45-45 117g(L45)
(Frame to combine) Enioment RoHS Compliant  ©-58
Compatible to SF-40- Green Procurement
45 series
Truss Joint
(Truss Joint)
Best suited to reinforce in 45° or truss stiffening.
SF-45-45(or SF-40-40) Qc Joint

QC Joint

Truss Joint

Hexagon Socket Bolt M8X18 \ Frame to mount to T Nut M8

Truss Joint

SF-45-45(or SF-40-40)

QC-Processed Frame

Hexagon Socket Bolt M8X18

\Frame to mount to T Nut M8

Parts
How to order
ltem No.

SFJ-N44

110

Quantity (pcs)




SF
(2}
[~
o
>
o
Q
=
o
o
=
Q
3
(0]

Turn Bracket 40A /40B

Turn Bracket 40B

Turn Bracket 40A

20

40
20

Hexagon Socket Flat Head Cap Screw M10X 16 included

Hexagon Socket Flat Head Cap Screw M10X 16 included % Refer examples below to select bolt and nut you need.

BMMaterial/Technical Data

Material Aluminium Alloy
Alumite Treatment

Weight 97g(40A)
98g(40B)

Enviorment RoHS Compliant

HWUsable Frame

{Section Installation)
SF-40-40(1F/K/2H
include)

{Side Installation)
Compatible to all

Turn Bracket 40A Turn Bracket 40B

Item No. SFK-42A SFK-42B

SF40 series
Turn Bracket 45A Turn Bracket 45B
55 55
35
0 0 |
o o I
N laY) :
45 Countersink s 45 Countersink for M10,
6.5 16__16 6.5 5.5 34 55
|
) v B ’ — i
| AN |
L_ N
© Lo
| - S
i N I 2-M6 L
_l10 M10 10 "\M10

Hexagon Socket Flat Head Cap Screw M10 X 16 included

Hexagon Socket Flat Head Cap Screw M10X 16 included % Refer examples below to select bolt and nut you need.

EMaterial/Technical Data

Turn Bracket 45A

Turn Bracket 45B

Item No.

SFK-43A

SFK-43B

2 Hexagon Socket
Bolts M8%20

Turn Bracket 45A 1pcs
(Turn Bracket 40A) 1pcs

g

m = 2 Hexagon Socket

Bolts M6x30

S Double Joint 45(SFK-3925) 1pcs
(S Double Joint 40(SFK-394S)) 1pcs

2 Hexagon Socket Flat Head Cap Screws M10X16

Turn Bracket 45B 1pcs
(Turn Bracket 40B) 1pcs

WUsable Frame

{Section Installationy
SF-45-45(1F/K/2H
include)

(Side Installation)
Compatible to all
SF45 series

Turn Bracket 45A 1pcs

(Turn Bracket 40A) 1pcs
SF45-45
(SF40-40)

SF45-45
(SF40-40)

2 Hexagon Socket Bolts
M6%X30

S Double Joint 45(SFK-392S) 1pcs
(S Double Joint 40(SFK-394S)) 1pcs

2 Hexagon Socket Flat Head Cap Screws M10X16

SF45:45
(SF40:40)

Material Aluminium Alloy
Alumite Treatment

Weight 113g(45A)
1168(45B)

Environment RoHS Compliant

(o}

11
&

T Nut L M8

(Turn Bracket 40B) 1pcs
SF45-45
/(SF40-40)

Turn Bracket 45B 1pcs

1

Hexagon Socket
Bolt
M8X20 1pcs

Turn Bracket 45B 1pcs
(Turn Bracket 40B) 1pcs

2 Hexagon Socket
Bolts M6X30
S Double Joint 45(SFK-3928) 1pcs
(S Double Joint 40(SFK-394S)) 1pcs
2 Hexagon Socket Flat Head Cap Screws M10X16)

Jurn Bracket 45B 1pcs

(Turn Bracket 40B) 1pcs

@®Use Processing Symbols written from P214, P215
to specify frilling for Double Joint.
We sell Nut Material and T Nut L Material @ @Hard Bracket L Material
Bracket Material as well. P99 B @Angle Bracket L Material

Material Frame



SF40 ¢ 45seq:s <

Bend BraCket L4O (1oosnaight;::))iS (160)

SF
(7))
—
[Y
=]
(=}
Y
=
o
m
=
Y
3
[}

-
Joint Bar — ’g
1200 \ =
Z g
] Qc Joim\\g ] \ §
D Bracket L E ‘ g
0 S ‘ 2
40
MUsable Frame —————————  mMaterial/Technical Data
Bend Bracket L40 Ny Compatible 10 SFA0-40 gl Aluminium Alloy
=4 (1F. 2F. 2H, 3F, K) Alumite Treatment
' SFJVO2 Weight 7748
Item No, Enioment RoOHS Compliant

Green Procurement

Caster Plate L 3
0 fod
) M16
e
2 4 [ 4 ]
g e D D
45 s z 2 \o,?(
8 8
s o)
N % NS
vy 2 2 ) b 2
(20.21), 4-M8 (20.21)
(80.21) (80.21)
160
128.5 63
320
Caster Plate L o | | | | | | )
{Caster Plate L(Stainless)) - } } } t t t t
Item No. ¥SFJ-7A3(¥SF7A3S)
BMMaterial/Technical Data
HMUsable Frame Caster Plate L Caster Plate L
- - (Stainless)
V o) oy 2n0 45 seres Material SS400 SUS304
‘¥ HUse Example Uni-Chrome
@Adjuster M16  @Caster C Weight 2.1kg 2.1kg
@Double-Wheel Caster M16 Environment % RoHS Compliant
@Marketing Hanging Bolt etc *Green Procurement

Parts
How to order
ltem No. Quantity (pcs)

SFJ-V02 L]




EE

QC Joint L

QC Joint L(Common Parts) SS Round Metal Tool

<
™ Outer
| Spot Facing Diameter ¢ 13
| for M6
Inside
g:t\\ Diameter $8
e
L40 Kit | L45 Kit | L60 Kit | L8O Kit | L90 Kit
R 15 19 34 55 64
QC Joint L40 Kit QC Joint L45 Kit QC Joint LB0 Kit QC Joint L8O Kit QC Joint L9O Kit
Item No. SFK-Q40 SFK-Q41 SFK-Q42 SFK-Q43 SFK-Q44
Kit Name QC Joint | Round Metal Tool Bolt IMateriaI/T?chnical Ratd
QC Joint L40 Kit L Round Metal Tool 40x1|Hexagon Sacket Bolt (M6X30) Stainlessx1 _ EB R e oadigetelitas]
C Joint L45 Ki L Round et Tool 451 Hexagon Socket Bolt (MBX35) Stamessx] "o Stainiess Stainiess
e — QC Joint it ound Metal Toal lexagon Socket Bolt (| ) Stainless With Conductive Function
QC Joint LB0 Kit | QC Joint L |L Round Metal Tool 60x1| Hexagon Socket Bolt (M6X50) Stainlessx 1 L40 Kit L45Kit LBe0Kit L80Kit L90 Kit
QC Joint L8O Kit X1set L Round Metal Tool 80X1| Hexagon Socket Bolt (M6X70) StainlessX 1 Weight 88g 92g 104g 119g 129¢g
QC Joint L90 Kit L Round Metal Tool 90x1| Hexagon Socket Bolt (M6x80) Stainlessx 1 Enioment ROHS Compliant Green Procurement
QC Joint L

(Characteristics)
It's easy to set vertically and hardly make gap, because 2 frames are pulled at each other to combine. Also, you don’t have to let nuts into frame in
advance, and strong fixing is possible by one bolt, so the assembly man-hour is reduced.
(How to assemble)

Hole-Drilled Frame

DTighten

@QC Joint pulls up|
another frame.

@The strong joint

is realized.
Round @
Metal Tool /
f
(Example of Kit Selection)
@QC Joint L40 Kit @QC Joint L45 Kit @®QC Joint LB0 Kit @QC Joint L8O Kit @®QC Joint L9O Kit
(For drilled hole to the direction of 40mm) (For drilled hole to the direction of 45mm) (For drilled hole to the direction of 60mm) (For drilled hole to the direction of 80mm) (For drilled hole to the direction

3% SF-80-80-1S Drilling is as same as L60 Kit

$13.1 Tapping

{Drilling )
SF40 Series (SF-40/SF-K45) 20

SF45 Series (SF-60-1S/80-1S) 19.5

@Drillid by SUS
Processing Symbol P212

We sell Nut Material and  IRUARVEEER N EEGEEE AN EEEY
Bracket Material as well. P99 W @Angle Bracket L Material

Material Frame

SF
(]
—
Q
3
Q
Y
=
Q
o
=
L
3
(]




SF
(]
—
[
=]
o
[
=
o
o
=
[
3
(]

SF40 ¢ 45s:q:s

TG Joint Kit 4045 / 60/ 80 / Wrench Hole Cap

35

(TG Bolt M12)

Hexagon Hole

¢$18.1

(TG Plate 4045)

(TG Plate 60)

(TG Plate 80)

Wrench Hole Cap

40

18
|
n
=]
2
gy i pag
18
9
I |

{3\;?,

6.5

MUsable Frame

% For Anacac of
Flat type frame

74

5
T
o
78 ‘ (For 1F,2F,2H,3F)
‘

MUsable Frame

MUsable Frame

R SF-40-40, SF-40-80, SF-40-160 SF-60-60-1S _ SF-80-80(H)
S SF4545 SFA500, SFAE180  pegeee P
>3 SF-K-40-40,/K-40-80 - >3
BKit Contents HKit Contents HKit Contents
(TG Joint Kit 4045) (TG Joint Kit 60) (TG Joint Kit 80)
@7 Plate 4045 @TG Plate 60x1 @7G Plate 80x1
@TG Bolt M12X1 @Hexagon Socket Button Bolt M8x20(Uni-chrome) X2

@TG Bolt M12X1

EMMaterial/Technical Data

TG Joint Kit TG Bolt M12 TG Plate 4045/60/80 Wrench Hole Cap
4045 60 80 Wrench Hole Cap Material SCM435 SPCC
Uni-chrome Uni-chrome Polypropylene
Item No. XSFK-207 *SFK-208 *SFK-307 XSFA-155 (Color/Gray)

Weight 34.6g(Kit4045) -43.4g(Kit60) -43g(Kit80)
Enionment *ROHS Compliant «Green Procurement

0.3g(Wrench Hole Cap)

S Double Joint Kit 40 /45 /60 / 80

S Double Joint Kit 40

MUsable Frame

S Double Joint Kit 45

S Double Joint Kit 60

S Double Joint Kit 80

MUsable Frame

WUsable Frame

WMUsable Frame

SF-45-45, SF-45-90

SF-60-60-18

SF-80-80(H)

SF-40-40, SF-40-80
SF-K-40-40. SF-K-40-80

SF-K-45-45, SF-K-45-90

SF-80-80:18

SF-40-80

S Double Joint Kit EMaterial/Technical Data
40 45 60 80 MKit Contents Material ~ Stainless(SCS13)
(S Double Joint Kit 40/45/60/80) Weight 61g(Kit40) 85g(Kit60)
Item No. SFK-3048 SFK-3028 SFK-3038 SFK-3058 @Each S Double Joint Kitx1 73g(Kit45) 103g(Kit80)

(TG Joint Drilling Jig)

M12 Tapping

=

-M8 Tapping

@Hexagon Socket Bolt (M6x30) Stainless x2
@ST Nut L(MB)*x2

TG Joint - S Double Joint

TG, S Double Joint are easy to set vertically and hardly make

gap, because 2 frames are pulled each other.

Also, it looks clear because the joint part doesn't bulge outside.

.Refer from P 198 how to assemble

Envionment RoHS Compliant
Green Procurement

Processing size (mm)

Usable Frame H h D d
SF-40-40/K-40-40 20 91341
SF-45-45 20 | 225 615.1 ¢8
SF-60-60-1S 30

Usable Frame H h1 h2 D d
SF-80-80 (H) 20 20 | 40 $13.1 ¢8
SF-80-80-1S - — -

@Drillid by SUS
Processing
Symbol P212~

Parts

How to order

Item No.

SFK-207

Quantity (pcs)

(0



EE

S Blind Bracket L

SF
(]
—
Q
=}
Q
Y
=
Q
m
=
L
3
(]

S Blind Bracket L

S Blind Bracket L

Item No. SFK-602S

HMMaterial/Technical Data
S Blind Bracket L
Material Stainless(SCS13)
(2 Set Screws{M8x10)Stainless Included)

HWUsable Frame

Compatible to all SF40 and 45 series
(430): Other Frame SF30 series

'Q
e (K Frame excluded) Weight 70g
Enviroment RoHS Compliant Green Procurement

R Bracket L40 Kit / L45 Kit

L
o

g

F

R Bracket L40 Kit R Bracket L40 Kit ~ MlUsable Frame —————  mmaterial/Technical Data
(Black) (Light Gray) V g‘&agfzto l-fF‘-? Kit) R Bracket L40/L45 R Cap L40/L45
Item No. SFK-RO3 SFK-R03G -'o._ (R Bracket L45 Kit) Material Stainless(SCS13) Polyamide
SF.45-45.R Weight 130g(L40) 10g(L40)
R Bracket L45 Kit R Bracket L45 Kit ; 167€(L45) ) 128(L45)
(Black) (Light Gray) Environment RoHS Compliant
#L40 KitWith 3 Hexagon Socket Button Bolts¢{M10x30)
Item No. SFK-RO4 SFK-R04G L45 KitWith 3 Hexagon Socket Button Bolts(M12X35)

We sell Nut Material and T NutL Material  @Hard Bracket L Material
Bracket Material as well. P99 l @Angle Bracket L Material

Material Frame




SF
()
—
Q
=]
Q.
o
=
o
m
=
Y
3
(2]

SF40 ¢ 4555

Tapping Bolt L40

Tapping Bolt L40

Item No. SFB-T40

MUsable Frame

SF-40-40(1F/2F/3F/2H)

M8

46

3

BMMaterial/Technical Data

Material SAE1022Si
Uni-Chrome Plating

Weight 318

Environment RoHS Compliant

. . Green Procurement
;‘/ SF-4080(1F)

Torque Bit T40 / Torque Driver T40

75

Torqgue Bit T40

Item No. SFA-JT40

~
©

25

Weight 20g

Weight 126g

Torque Driver T40

Item No.

SFA-T40H

How to fix Tapping Bolt

-+

Fix the frame with jig etc, and screw the
Tapping Bolt halfway into the end face.
(Temporary joint)

% In case it is too tight, please use cutting oil.

=

Put the bolt head through T slot of another Tighten by Manual tool to fix.

frame.

@Drillid by SUS

*Manual tool is recommended, because the reaction of
torque up is big by using electric drill.

Processing Symbol P212~

Parts
How to order
Item No. Quantity (pcs)

SFB-T40




Plate Bracket L

S Plate Bracket LG

47

85
0 20 45 20 5
~ -
b
Rl <
& &
o \k\ HKit Contents
: . (Plate Bracket LG Kit)
t=5 = 4-9 Drilling @Plate Bracket LGX1
@Hexagon Socket Bolt (MBX15)Stainlessx4
@ST Nut L(M8)x4
S Plate Bracket LG S Plate Bracket LG Kit
Item No. ¥SFJ-123s ¥SFK-123S
Plate Bracket L-L Type 28
14
& 3.2 (3
06\ 9 j_r
B
@
o
9 HKit Contents
{Plate Bracket L-L Type Kit)

@Plate Bracket L-LX1

@Hexagon Socket Bolt (M8X15)x4
OT Nut L(M8)x4

{S Plate Bracket L-L Type Kit)

@S PI -LX1

@Hexagon (M8x15)Stainlessx4
@ST Nut L(

Plate Bracket L-L Type
{S Plate Bracket L-L Type)

Plate Bracket L-L Type Kit
(S Plate Bracket L-L Type Kit)

*SFJ-106 (XSFJ-1068)

*SFK-106 (¥sFk-106S)

MUsable Frame t=32
S Compatible to all SF40 and 45 series

=t (Groove Width 10mm)

(SF-60-60-1S, SF-40-DE, SF-45-DEskexcluded)
MMaterial/Technical Data
Name Weight(s)| Material | Environment Item No.
Plate Bracket LG 242 SUS304
Plate Bracket L-L 89 | SPCC Uni-chrome
*RoHS

S Plate Bracket L-L 89 SUS304 Compliant Plate Bracket L-T Type

Plate Bracket L-T 103 | SPCCUnichiome | & Green

S Plate Bracket L-T | 103 | SUS304 Procurement

Plate Bracket L-T 140 | SPCC Unihrome

S Plate Bracket L-+ | 140 SUS304

t=382

90

80

HKit Contents

(Plate Bracket L-T Type Kit)
@Plate Bracket L-TX1

@Hexagon Socket Bolt (M8X15)x4
OT Nut L(M8)x4

{S Plate Bracket L-T Type Kit)

@S Ple ra L-Tx1

@Hexae t Bolt (MBX15) Stainlessx4
@ST Nut L(M8)x4

Plate Bracket L-T Type
{S Plate Bracket L-T Type)

Plate Bracket L-T Type Kit
{S Plate Bracket L-T Type Kit)

Item No.

*SFJ-107XSFJ-107S)

*SFK-107 (XSFK-107S)

Plate Bracket L-+ Type

100
36 , 28, 36
8-C5 14,
— k
g 5
- &
© &

150
28
4
Il
S
=
5

61

10 o5
2

32 (3)

il HKit Contents
{Plate Bracket L-+ Type Kit)
M @Plate Bracket L-+X1
@Hexagon Socket Bolt (M8X%15)x6
OT Nut L(M8)x6
{8 Plate Bracket L-+ Type Kit)
T @S ket L-Tx1
gon Socket Bolt(M8X15)x6
@ST Nut L(M8)x6

3C
OC

Plate Bracket L-+ Type
(S Plate Bracket L-+ Type)

Plate Bracket L-+ Type Kit
{S Plate Bracket L-+ Type Kit)

*SFJ-108 <§SFJ—1 08s)

*SFK-108¥sFK-108s)

t=382

Item No.
We sell Nut Material and L Material
Bracket Material as well. P99

@Hard Bracket L Material
@Angle Bracket L Material

117

Material Frame

SF
(]
-
Q
>
Q
Y
=
[
m
=
Q
3
(]




SF40 ¢ 45seq:s <

S Plate Bracket

SF
()
I~
o
>
[=3
Q
=
o
T
=
Q
3
(]

S Plate Bracket L40-H2 S Plate Bracket L45-H2

HKit Contents

{Plate Bracket L40{L45) -H2 Kit)
@Plate Bracket L40-H2{or L45-H2)X1
@Hexagon Socket Bolt(MBX15)Stainlessx2
@ST Nut L(M8)x2

MUsable Frame

S Plate Bracket L40-H2
{S Plate Bracket L45-H2)

S Plate Bracket L40-H2 Kit
{S Plate Bracket L45-H2 Kit)

Item No.

SFJ-126S(sFJ-127S)

SFK-126S(sFK-127s)

O

=K

S Plate Bracket L40-H4

- 155

17.5, 40 40 40 17.5]

17.5
\
2]
t=3 |2 \&rﬁ

I = ° &

S Plate Bracket L45-H4

B 170

o
45 45 45 17.5]

RN

HKit Contents ————
(Plate Bracket L40{L45) -H4 Kit)
@Plate Bracket L40-H4{or L45-H4)X1
@Hexagon Socket Bolt(M8x15)Stainlessx4
@ST Nut L(M8)x4

Son Compatible to all SF40 and 45 series

q
=

EMMaterial/Technical Data

s (Groove Width 10mm)
(SF-60-60-18, SF-40-DE%, SF-45-DEsxexcluded)

S Plate Bracket L40-H4
{S Plate Bracket L45-H4)

S Plate Bracket L40-H4 Kit
(S Plate Bracket L45-H4 Kit)

Item No.

SFJ-131S(sFJ-132S)

SFK-131S(SFK-132S8)

SFJ-126S L]

Name Weight(¢)| Material | Environment
S Plate Bracket L40H2| 57.6
S Corner Support Bracket L
S Plate Bracket L45H2| 692 RoHS P
S Plate Bracket L40-H4| 1194 i
SUS302 Compliant
S Plate Bracket L45-H4| 147.7 Green
S Comer Support Bracket L| 570.6 Frocurement
S Corner Support Plate L| 374.4
HKit Contents
{Corner Support Bracket L Kit)
t= @Corner Support Bracket LX1
@Hexagon Socket Bolt(M8X15)Stainlessx2
@ST Nut L(M8)x2
S Corner Support Bracket L S Corner Support Bracket L Kit
Item No. SFJ-133S SFK-133S
S Corner Support Plate L
150
3CA\ | 555, 765
0
8
Q
7w
©
~
E— HKit Contents
{Corner Support Plate L Kit)
t=3 @Corner Support Plate Lx1
@Hexagon Socket Bolt(M8x15)Stainlessx4
@ST Nut L(M8)x4
S Corner Support Plate L S Corner Support Plate L Kit
Item No. SFJ-138S SFK-138S
Parts
How to order
Item No. Quantity (pcs)



SF
()
-+
Y
3
Qo
Y
=
Q
o
=
Q
3
o

Adjuster Kit

HPlate B Adjuster M Caster

Adjuster Plate L Adjuster Caster Plate 80 Adjuster M16 Adjuster BM20(Stainless) Caster C

Adjuster Plate I;E)%tainless) Adjuster Caster ﬁ'l;‘ge 80(Stainless) ; M20x2.5 o9s]; 2% los
o a5 2510 9 152020, 40 40 s 12 ‘ M16x2 &

I e 4 4 5 ()| woss
ko ek, LF s |1y
K14 ritng | g QLLL M0 o IR Rl = [i] s - T A o

ol @ y o 2l o . | -
S| Y| |49 Dmlmg( w WH4§ o 4M8 3 ‘ | g
9 A M6 S 10-9 Drilling 3 ‘ 2. \ ;
& / e @ 5 Q
S ~ el 4o ® (Ll o @ =
77.5 63 i —— ; 7/
$60 »75 123
Material | Treatment | Weight Material | Treatment | Weight
Adjuster Plate L 55400 | Uni-Chrome | 0.65kg | Adgster Caster Pete 80 55400 [Uni-Chvome | 2kg [Meteral] Treatment]Load CapeciyWeight|__Bottom Vet Treament [Load ety Weight [ Material [Load Capacity | Weight
Adjuster Plate | 5304 —  0.66kg | Adister Caster Pte 80(Siainess) [SUS304 | —  [2.02kg - Adjuster M16S5400[2n Bleck| 500kg_|386g ] Aduster ) [SUSa04]Ectolic Pistg]_830kg |540g - Caster C | Nylon | 300kg | 902g
Adjuster Caster Plate L Adjuster Caster Plate 90 Adjuster BM16(Stainless) Caster B 70 Caster C(Stainless)
Adjuster Caster Plate 90(Stainless) !
8 54 8 4-¢65 s G}
14 166 b 165 . 12 4-99.5f
Driing |20, _45 Commnc ISE2 45 45 N M16x2 i 037{7% (} B\
— T T 0 2 & K/
AN L gl A% ¢ = ARz
§ —— | © 9 3 3| ® % Q @
o 4-9 Diilling/” | QHA} o PO ‘ 2 i’g ¢k 7 gg
8 - S G 8 « 18 i @ 25
g 3 e e MR il R NP e
¥ ame | 9 10-9 Drilling © . @ 8
ot { + ( b © © 875 )
- ot © -
120 36 RS i?j 63 e /L 1 K - K
- $75 122
Material | Treatment |Weight
‘Matevia\‘ Treatment ‘Weigm Adjuster Caster Plate 90 $8400 | Uni-Chrome | 2.5kg ‘Maxeﬂ’al‘ Treatment ‘Laai(}a)amw‘We\gm ‘ Material ‘Load Capaciy‘Weight ‘ Material ‘Load Capac\ly‘Weigm
Adjuster Caster Plate L|S5400 | Uni-Chrome 1.03kg | Aduster Cester Plee 90(Stainess) | SUS304]  —  [253kg | Adustr [SUS304[Ekctoy | 560k [375¢ | Caster B_|Phenol Resin| _150kg | 340g | Caster C(Stainless)|MC Nylon| 150kg [520g
Adjuster Caster Plate L(Stainless) Adjuster M20 Caster B(Stainless) &2
166 9 M20
_ 20, 45 : 86 fs 1T -
Y
L oa I _ L
14 Driling S’v?llin b o 3 [)‘j
oY 1 - “ I
S+ wie ¢ @
0 335 0 =]
s : - e
ki 4 & o _ ~
114 42 |\ 4m8 b A
%60 26
[ Materal | Treatment | Weight [Material | Treatment [Load Capacity Weight | Material _]Load Capacity] Weight
Adjuster Caster Plate L (Stainless)[SUS304] — | 1.04kg Adjuster M20[SS400|Zn Black| 500kg [536g | Caster B(Stainless)[Phenol Resin] 71.4kg | 285g
Item No. Name Compatible Frames Kit Contents
SFK-501A Level Adjuster Kit Compatible to all SF40 and @Adjuster Plate Lx1 @Adjuster M16x1
L 45 series (Groove Width 10mm) | @T Nut L(M8)x4 @Hexagon Socket Bolt(M8x20)x4
SFK-501S Level Adjuster Kit Compatible to all SF40 and ®Adjuster Plate L(Stainless)x1 @Adjuster BM16(Stainless)X1
L (Stainless) 45 series (Groove Width 10mm) | @ST Nut L(M8)x4 @Hexagon Socket Bolt(M8x20)Stainlessx4
; ~ Level Adjuster Kit SF-80-80 @Adjuster Caster Plate 80x1 @Adjuster M20x1 @Flat Washer(M8)x8
AdJiSter SFK-513A 80 SF-80-80-H ®T Nut L(M8)x8 @Hexagon Socket Bolt(M8x25)x8
SFK-513S Level Adjuster Kit SF-80-80 ®Adjuster Caster Plate 80(Stainless)x1 @Hexagon Socket Bolt(M8x25)Stainlessx8
Plate 80 (Stainless) SF-80-80-H @ST Nut L(M8)x8 @Adjuster BM20(Stainless)x1 @Flat Washer(M8)Stainlessx8
SFK-515 Level Adjuster Kit SF-90-90 O®Adjuster Caster Plate 90x1 @Adjuster M20x1 @Flat Washer(M8)x8
90 SF-90-90-H OT Nut (M8)x8 @Hexagon Socket Bolt(M8x25)x8
SFK-515S Level Adjuster Kit SF-90-90 @Adjuster Caster Plate 90(Stainless)x1 @Hexagon Socket Bolt(M8x25)Stainlessx8
90 (Stainless) SF-90-90-H @ST Nut (M8)x8 @Adjuster BM20(Stainless)x1 @Flat Washer (M8)Stainlessx8
SFK-502A | Level Adjuster Kit L Compatible to all SF40 and @Adjuster Caster Plate Lx1 @Caster Bx1 @Hexagon Socket Bolt(M6x10)x4
with Caster 45 series (Groove Width 10mm) | @Adjuster M16x1 @T Nut L(M8)x4 @Hexagon Socket Bolt(M8x20)x4
Level Adjuster Kit L Compatible to all SF40 and @Adjuster Caster Plate L(Stainless)x1 @STNutL(M8)x4 @Hexagon Socket Bolt(M8x12)Stainlessx4
SFK-502S f
. with Caster (Stainless) [45 series (Groove Width 10mm)3 | @Adjuster BM16(Stainless)x] @Caster B(Stainless)x] @Hexagon Socket Bolt(M8x20)Stainlessx4
Adjuster SFK-514a | Level Adiuster Kit 80 SF-80-80 @Adjuster Caster Plate 80x1  @Adjuster M20x]  @Hexagon Socket Bolt(M8x25)x8
Caster with Caster SF-80-80-H @Caster Cx1 @T NutL(MB)x8 @Flat Washer(M8)x8  @Hexagon Socket Bolt(M8x12)x4
+ SFK-514s | Level Adjuster Kit 80 SF-80-80 @Adjuster Caster Plate 80(Stainless)x1 - @Adjuster BM20(Stainless)x1 @Hexagon Socket Bolt(M8xe5)Stainlessx8
Plate with Caster (Stainless) SF-80-80-H @Caster C(Stainless)x] @ST Nut L(MB)x8 @Fat Washer(M8)Stainlessx8 @Hexagon Socket Bolt(MBx12)Stainlessx4
SFK-516 Level Adjuster Kit 90 SF-90-90 @Adjuster Caster Plate 90x1 ~ @Adjuster M20x1 ~ @Hexagon Socket Bolt(M8x25)x8
with Caster SF-90-90-H @Caster Cx1 @T NutL(M8)x8 @Flat Washer(M8)x8 @Hexagon Socket Bolt(M8x12)x4
SFK-516S | Level Adjuster Kit 90 SF-90-90 @Adjuster Caster Plate 80(Stainless)x] @Adjuster BV20(Stainless)x1 @Hexagon Socket Bolt(M8x25)x8
with Caster (Stainless) SF-90-90-H @Caster C(Stainless)x] @ST Nut L(M8)x8 @Flat Washer(M8)Stainlessx8 @Hexagon Socket Bolt(Mex12)x4

We sell Nut Material and ~ RRESRECER NTETGREIE RV E R
Bracket Material as well. P99 B @Angle Bracket L Material

Material Frame




SF
(2]
P
Q
=
o
Y
=
o
o
=
L
3
(1]

Environment *RoHS Compliant

SF40 ¢ 45seq:s

Foot Base

Foot Base 4080
78

19,2020 19

00931 A

nVai
) N\

a&&

yanY
&

o - { a
f:‘ 3 o 2-14 Drilling,
ﬂ‘ 20 Deep Spot Facing, Depth 125\ \ M16
=16

{Material)

HWUsable Frame ——
SF-40-80

{Material)

M8

<y

Foot Base 4590

86

20.5 45 20.5

~ M16
3 Y B are

§ WY M\ 2-14 Drilling,

20 Deep Spot Facing,
43 | 43 N Depth 12,5

t=16

HMUsable Frame ——
SF-45-90

*Green Procurement

Foot Base 4080 |2 Hexagon Socket Bolts (M12x25) Included

SS400 Uni-Chrome Plating
Weight/274g

Foot Base 4590 | 2 Hexagon Socket Bolts (M12X25) Included

SS400 Uni-Chrome Plating
Weight/371g

Foot Base 4080 |5 Hexagon Socket Bolts (M12x25) Stainless Included

SUS304

Foot Base 4590 | 5 Hexagon Socket Bolts (M12x25) Stainless Included

SUS304

(Stainless) Weight/276g (Stainless) Weight/374g
Foot Base 4080 (Foot Base 4080 (Stainless)) Foot Base 4590 (Foot Base 4590(Stainless))
Item No. *SFK-57A (FSFK-57AS) *SFK-B0A (JSFK-60AS)
Foot Base 8080 Foot Base 9090 Foot Base 80160
79 88 160
195 40 _ |195 215 45 215 20 120 20
M20 oy
I ay ~N R\ 0
N = N
N / o o © | 3 w| o o an @ @
p ~ M20 Nl &
w| Q Vi '4 © S 2 & 0 A 4 N
Rl s W10 o W oH@ QB
I 2 - o] I - =
9 O | 5| 49 Driling, N —& @\ Q| 4.9 Drilling, /
- 14 Deep Spot Facing, N 14 Deep Spot Facing, 80 80
39.5) 39.5 Depth 8.5 44 | 44 Depth 8.6 M20] 4.9 Driling,
14 Deep Spot Facing,
=16 t=16 =16 Depth 8.6

HMUsable Frame

HMUsable Frame

HWUsable Frame ——

N SF-80-80/H . SF-90-90/H . SF-80-160
¥ / ¥ / -\/
'S ‘> ‘>
(Material) ° (Material) ° {(Materialy N
SS400 Uni-Chrome Plating ISS400 Uni-Chrome Plating SS400 Uni-Chrome Plating
Foot Base 8080 |4 Hexagon Socket Bolts (M8%25) Included Foot Base 9090 |4 Hexagon Socket Bolts (M8x25) Included Foot Base 80160 |4 Hexagon Socket Bolts (M8%25) Included
Weight/625g Weight/861g Weight/1417g
SUS304 SUS304 SUS304
F(:got_ Base 8080 |4 Hexagon Socket Bolts (M8X25)Stainless Included Foot Base 9090 |4 Hexagon Socket Bolts (M8X25)Stainless Included Foot Base 80160 |4 Hexagon Socket Bolts (M8x25)Stainless Included
tainless) Weight/631g (Stainless) Weight/869g (Stainless) Weight/1431g
Foot Base 8080 (Foot Base 8080(Stainless)) Foot Base 9090 (Foot Base 9090(Stainless)) Foot Base 80160¢(Foot Base 80160(Stainless))
Item No. *SFK-B9A (FSFK-59AS) *SFK-54A (FSFK-54A8) *SFK-72A (kSFK-72A8)

Foot Base 408080

Foot Base 459090

Foot Base 90180

37 45 176
5 2M16 205 135 20.5
o | A | 2Mie I oD | —
o4 N DY 0
R = 8 A\ A Y @ | 2
S AN | 2 UL AAD |5 8 ¢ o
STWOW | 8 9 AP AN/ -
ol | Sllls o T® | ®
185(20 | 20 ji6. 22.5022.522.522 =
e 88 / 88
20 M20
3-14 Drilling 20 Deep Spot Facing, Depth 12.5 3-14 Drilling 20 Deep Spot Facing, Depth 12.5 4-9 Drilling 14 Deep Spot Facing, Depth 8.6
=16 MUsable Frame t=16 MUsable Frame t=16 MUsable Frame ——
. SF-40-80-80 SF-45-90-90 SF-90-180
B
(Material) «® (Material) (Material)
8S400 Uni-Chrome Plating 8S400 Uni-Chrome Plating SS400 Uni-Chrome Plating
Foot Base 408080 |3 Hexagon Socket Bolts (M12x25) Included Foot Base 459090 |3 Hexagon Socket Bolts(M12x25) Included Foot Base 90180 |4 Hexagon Socket Bolts (M8%30) Included
Weight/383g Weight/541g Weight/1899g
SUS304 SUS304 SUS304
Foot Base 408080 i Foot Base 459090 i Foot Base 90180 i
(Stainless) 3\’ ggﬁtg/%nggogcket Bolts (M12x25) Stainless Included (Stainloss) 3W ggﬁstgv‘%)gcket Bolts (M12x25) Stainless Included (Stainless) cv ggﬁsﬁngﬁ%:gel Bolts (M8x30) Stainless Included
Foot Base 408080¢Foot Base 408080(Stainless)) Foot Base 459090 Foot Base 459090(Stainless)) Foot Base 90180¢Foot Base 90180(Stainless))
Item No. *SFK-B5A (FSFK-65AS) *SFK-BBA (XSFK-66AS) *SFK-73AKSFA-73AS)
Parts
How to order
Item No. Quantity (pcs)

SFK-57A L]



D

Anchor Bracket

Anchor Bracket
(Anchor Bracket (Electroless Nickel Plating))

Item No. SFJ-70A(SFJ-70AS)
Anchor Kit L
{Anchor Kit L(Electroless Nickel Plating))
Item No. SFK-71A(SFK-71A8) BKit Contents

HMUsable Frame

SF40-45 series (Groove Width 10mm)
¥2F Frame excluded

are stainless.

| Anchor Plate

@Anchor Bracket X1
@T Nut L(M8)x2
@Hexagon Socket Bolt (M8x18)x2
% (Electroless Nickel Plating)Kit
Bolt and Nut in Stainless Kit

HMMaterial/Technical Data

Anchor Bracket Anchor Bracket
(Blectroless Nickel Piting)

Material S45C S45C
Anion Electrodeposition ~ Electroless Nickel
Black Coating Plating

Weight 577g 5778

Environment RoHS Compliant
Green Procurement

145

Anchor Plate

2-13 Drilling, 725 725 2-13 Diling,
4080 7o 7o 22 Deep Spot Facing, 4590 22 Deep Spot Fcing
3 = T Depth 8 10 3 Depth 8
8 g © 9 g e
] 4@
Ak ¢ )
o
2-14 Drilling 20 100 20 - N
: ‘ ‘ ‘ 214 Dnlhn"g 20 105 20
Il
91\ LT e NN ST ) AN
(Material) (Material) i '
SUS304 SUS304
ﬁg(élaor Plate With 4 Hexagon Socket Bolts (M12x35) Stainless ﬁgg&or Plate With 4 Hexagon Socket Bolts (M12x35) Stainless
Weight/1049g Weight/1224g
[Left] Anchor Plate Bracket Kit  [Right] Anchor Plate
Environment RoHS Compliant Anchor Plate 180 Anchor Plate —F 1305 =
Green Procurement 8080 . 70 9090 - -
S 4—9 Drilling, ‘%‘o § 4—9 Drilling.

40

S X} &
20 4
&

80

14 Deep Spot Facing,
“@ D Depth 8.5
°

45

) & 8 g &
* e W de o
2—14 Drilling 140 20 N
| | ) ) | 2-14 DriHin‘l’g 20, 150 20
S [T I T AN o ‘ i i ‘
(Material) ' ' ' ' ' (Material) _1‘ [ H Iam
SUS304 SUS304
Aonor Plate | with 4 Hexagon Socket Bolts (M825)Stainless Bhohor Plate | with 4 Hexagon Socket Bolts (MBX25)Stainless
Weight/1345g Weight/1601g
Anchor Plate 4080 Anchor Plate 4590 Anchor Plate 8080 Anchor Plate 9090
MUsable Frame
(Anchor Plate 4080)SF-4080, (Anchor Plate 4590)SF-45:90 'tem No. SFK-75A SFK-76A SFK-77A SFK-78A

(Anchor Plate 8080)SF-80-80, (Anchor Plate 9090)SF-90-90

Anchor Plate Bracket 4080 Kit

Anchor Plate Bracket 8080 Kit

Weight/1681g Weight/1985g

(Material)Base /' SUS304, Anchor Block “A6063 (Alumite Treatment)

Anchor Plate Bracket 45950 Kit
s

Anchor Plate Bracket 9090 Kit
Y

(Material)Base ' SUS304, Anchor Block . A6063 (Alumite Treatment)

4080 Kit 8080 Kit 4590 Kit 9090 Kit

{ Item No. SFK-75B SFK-77B SFK-76B SFK-78B
BMUsable Frame ——
(Anchor Plate Bracket 4080)SF-40-80
(Anchor Plate Bracket 8080)SF-80-80

@Anchor Base 4080 (or 8080)%1  @Anchor Block 4080x2 @Anchor Base 4590 (or 9090)X1  @Anchor Block 4590x2
(Anchor Plate Bracket 4590)SF-45-90 . @Hexagon Socket Bolt (M8x60)Stainlessx4 @Hexagon Socket Bolt (M8x60) Stainlessx4
. Kit Contents ¢ i «

(Anchor Plate Bracket S090)SF-8090 L R i L R i

We sell Nut Material and
Bracket Material as well.

T Nut L Material i @Hard Bracket L Material
P99 W @Angle Bracket L Material

Material Frame

é 14 Deep Spo} Facing,
E’\ Depth 8.5

Weight/2332g

SF
(]
f~d
Q
3
Q
Y
=
o
o
=
Y
E
(]

SF40-
5

°21S 1 &




SF
(7]
~d
)
3
o
o
-
o
o
=
)
3
o

SF40 ¢ 45s:res

Frae Cap

Material Polyamide

Weight In Drowing

Envionment RoHS Compliant
Green Procurement

Frame Cap N4040

=)
<

Frame Cap 4080

80

S

g &

HUsable Frame

SF-40-40, SF-40-40-1F/2F/3F/2H/SFK-40-

Weight/5.4g Weight/10.5¢
.’//% BMUsable Frame ’//%

=

0 SF-40-80, SF-40-80- 1F3#SF-40-160/SF-K-40-80

HMUsable Frame
SF-80-80/H % SF-80-160

M8

N

Frame Cap 8080
80

@ @

i 0
“"‘“—‘“‘- Weight/22.1g

80

Frame Cap 4040
(Black) (nght Gray)

Frame Cap 4080
(Black) (nght Gray)

Frame Cap 8080
(Black) (nght Gray)

Item No.

SFA-034B SFA-034G

SFA-007 SFA-007G

SFA-008 SFA-008G

*Use 2 pcs for SF-40-160 % Use 2 pcs for SF-80-160

Frame Cap 606018 Frame Cap 80801S Frame Cap 4545 Frame Cap 4590 Frame Cap 9090
60 80 45 %0 920
4 2 Y
= © g © ) 8 @ %
¢ $ C] L) % @
: Weight/
o Weight/12.5¢] ‘%ﬂﬁ Weight/17.4g Weight/14.28 AE[L__,% 282¢
MUsable Frame 7(/% MUsable Frame 7.’//% MUsable Frame ’//% MUsable Frame —(/%
SF-60-60-1S h SF-80-80-1S B SF-45-45/1F/2F/3F/2H, SF~K-45‘15/1 F/2F SF-45-0/1F, SF-K-45-90%SF-45-180 SF-90-90/H %SF-90-180
Frame Cap 60601S Frame Cap 80801S Frame Cap 4545 Frame Cap 4590 Frame Cap 9090
(Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray) (Black) Light Gray)
Item No. SFA-003 SFA-003G SFA-030 SFA-030G SFA-035B  SFA-035G SFA-004 SFA-004G SFA-016 SFA-016G

¥Use 2 pcs for SF-90-180

% Use 2 pcs for SF-45-180

Frame Cap 40-80-80 Frame Cap 40-DE45 Frame Cap 40-DE30 Frame Cap 40-DE6G0O Frame Cap 40-40-R
= 40 = Y
;‘ 5 R32
8 = ol AE
; + 4 S w0 2R 0 Nas
80 @ m; @@ 1 e
m,' A ni | ) | Weight/16.9g| \eight/5.8g K Weight/5.8g \eight/5.8g o \Weight/4.8g
MUsable Frame 7// MUsable Frame // HMUsable Frame 7./// HMUsable Frame 7./// BMUsable Frame ///
SF-40-80-80 . 4 SF-40-DE45 z SF-40-DE30 L SF-40-DEBO L SF-40-40R Z
Frame Cap 40-80-80 Frame Cap 40-DE45 Frame Cap 40-DE30 Frame Cap 40-DEGO Frame Cap 40-40-R
(Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray)
Item No. SFA-J9C SFA-J9CG SFA-J7B SFA-J7BG SFA-J7A SFA-J7AG SFA-J7C SFA-J7CG SFA-024 SFA-024G

Frame g?p 45-90-90

@

+ 74

@

90
45

Frame Cap 45-DE45

s

45

Frame Cap 45-DE30

Frame Cap 45-DE6G0O

&

N

45

Frame Cap 45-45-R

R35 ]
# |2
Q

2-R1

45 \R3

+ + 45
i EEO o g Vel o BV B yeigy75g o LR yegn7se S A %9 Weight/6.1g
. y Y Y . Z
MUsable Frame f,/ MUsable Frame —2 / HMUsable Frame 7/ HMUsable Frame f,/ HMUsable Frame f,/
SF-45-90-90 / SF-45-DE45 / SF-45-DE30 / SF-45-DE6O / SF-45-45-R /
Frame Cap 45-90-90 Frame Cap 45:DE45 Frame Cap 45-DE30 Frame Cap 45-DE6O Frame Cap 45:45-R
Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray) (Black) (Light Gray)
Item No. SFA-J9D SFA-J9DG SFA-J8B SFA-J8BG SFA-JBA SFA-JBAG SFA-J8C SFA-J8CG SFA-025 SFA-025G
Parts
How to order
Item No. Quantity (pcs)
SFA-034B L]



Frame Cap Lock Type N4040 /4045

) % Provided bolt enabled
to lock without Tap
g

/,\ Processing to Frame.
i . @ Q
Material - Polyamide (Cap), SWCHIOR(Screw), Chromate Black or Stainless(Screw)

Weight 7.3g(4040), 10.2g(4545) g

HMUsable Frame
SF-40-40

SF
(2]
P
Y
3
Q
Y
=
o
m
=
Y
3
()

HMUsable Frame
SF-45-45

Environment ROHS Compliant Green Procurement
Frame Cap Lock Type N404Q(Black)*! Frame Cap Lock Type 4040(Light Gray)*2

Frame Cap Lock Type 4545(Black)*3

Frame Cap Lock Type 4545(Light Gray) 4

SFK-07LB

Item No. SFK-06LB SFK-06LG

SFK-07LG

31 With Small Flat Screw with Cross Hole (M5X16) Chromate Black 32 With Small Flat Screw with Cross Hole (M5X16) Stainless

D Bracket Cap L / Hard Bracket Cap /G Cap

33 With Small Flat Screw with Cross Hole (M6X18) Chromate Black

44

- ‘ -
§ 20
D Bracket Cap L(Black) D Bracket Cap L(Light Gray)
Item No. SFA-J14 SFA-J14G
Hard Bracket Cap
Hard Bracket Cap(Black) Hard Bracket Cap(Light Gray)
Item No. SFA-J11 SFA-J11G
7
Hard Bracket G Cap(Black) Hard Bracket G Cap(Light Gray) j»
4
Item No. SFA-J12 SFA-J12G % 8
P 30

A=,

HMUsable Frame
(D Bracket Cap L)
D Bracket L
(Hard Bracket Cap)
Hard Bracket L/Black
L4080/Black
L4590/Black
(Hard Bracket G Cap)
Hard Bracket LG/Black
G80/Black
G90/Black
G80160
590180

We sell Nut Material and
Bracket Material as well.

T Nut L Material @ @Hard Bracket L Material
P99 @Angle Bracket L Material

SF40-

3#4 With Small Flat Screw with Cross Hole (M6X18) Stainless

°zIS 1 5

D Bracket Cap L

Hard Bracket G Cap

12,

=

59

BMMaterial/Technical Data

Material - Polyamide

Weight 6.0g(D Bracket Cap L)
1.8g(Hard Bracket Cap)
6.1g(Hard Bracket G Cap)

Environment RoHS Compliant
Green Procurement

123

Material Frame



SF
)
Q
=]
Q
Y
=
Q
o
=
Y
=
(]

SF40 ¢ 45seq:s

Slot Cap

M8

12.4

Slot Cap L(£=2000)
(Black) (Light Gray)
Item No. SFA-102 SFA-102G
Slot Cap L(2=2000) ’ )
(Blue) (Ivory) (Green) (Yellow) (Red) HEMaterial/Technical Data
Material  Polyethylene
Item No. SFA-102L SFA-102V SFA-102M SFA-102Y  SFA-102R Weight 46g/m
Environment RoHS Compliant
MUsable Frame Green Procurement

Slot Seal

*Please remove the bottom
part to install SF40 Series.

Compatible to all SF40 and 45 series

N i
./ (Groove Width 10mm)

10.6
10.4
|
\
©|
© o
N o
i
D\qg\m vV

Please remove to install

SF40 Series.
Slot Seal L(£=5000)
Item No. SFA-172
EMMaterial/Technical Data
Material Elastomer
Weight 68g/m
HMUsable Frame Envi RoHS Compliant
i i Green Procurement
Non Compa‘ublg to all SF40 and 45 series
_1;./ (Groove Width 10mm)
Parts - Exclusive Cutter for Slot Cap and Slot Seal is available.
How to order
Item No. Quantity (pcs)

SFA-102 L]



Cable Clamp L/ Slot Hook / Slot Hook L (U), (J)

[
R

L
R N—

K
o0
S
['9)
<
=}
<
Cable Clamp L(50 pcs/Pack)
(Black) (Light Gray)
Item No. C1P-B12C C1P-012C
Slot Hook L(U) Slot Hook L(J)
Item No. SFK-K33U SFK-K33J

HMUsable Frame

Cover Holder L/ Cover Support L6

Depth19

SF
(7]
—
Q
=]
Q
o
=
o
o
=
o
3
(]

Slot Hook L (U)
20 12

Cable Clamp L
VAN 4
o
o 7 i @
Noolmr i /\‘L ] &

B

20

]

Slot Hook L (J)
20

Compatible to all SF40 and 45 series
(Groove Width 10mm)

Cover Holder L

20.
15 15

ST

P
o <

20.5

Cover Support L6

Flat

2-Long Dirill

20

%ﬂm

MMaterial/Technical Data SF40-
Cable Clamp L  Slot Hook L (U), (J) 45
Material Polyamide  Polyamide r
Weight 2.5g/pcs  3.7g(U) ]
4.5g(J) 5

Load Capacity 2kg
Environment RoOHS Compliant
Green Procurement

Cover Holder L Cover Support L6 Cover Support L6 Flat BWKit Contents Tk
. *SFAKH7 XSFJK04 ¥SFUK14 (Cover Support L8 Kit)
tem No x x @Cover Support L6X1
OT Nut L(MB)x2 . A
@Truss screw (M5X10)X1 MMaterial/Technical Data
Cover Support L6 Kit - Cover Support L6 Flat Kit @Hexagon Socket Bolt (MBX15)x2 Cover Holder L Cover Support L6
{Cover Support LB(Stainless)Kit)  (Cover Support L6 Fiat (Stainless) Kit) Cover Support L6 Flat
over Suppor ainless)Kif over Support lat (Stainless) Ki ) over Suppo la
(Cover Support L8 Flat Kit) Meterial Polyamide ~ ABOB3S-T5
Item No. *SFK-KO4(§srickoas) — *SFK-K14(HsFeK148) @Cover Support L& Flatx Color/Light Gray - Alumite Treatment
:$ Nut L(!\/IES)?'\EA5 - Wt & i%ug\a\c%erﬂ\acgﬁ\kmne\saﬁg)ame}‘
russ screw X10)X eight 8g g(Cover Support
BUsable Frame - . @Hexagon Socket Bolt (MEX15)x2 HWith M5 Nut 21 g(Cover Support L6 Fla)
N Compatible to all SF40 and 45 series %Bolt and Nut in (Stainless) Kit Enitonment k RoHS Compliant
.':/ (Groove Width 10mm) are stainless. *Green Procurement
How to fix Cover
{Indication of Cover Holder, Cover Support, Resin Plate Dimension)
40 or 45
(Resin Plate)
(] O
EDH
= — — - EQD Cover Support L6
>, T = I T Cover Holder L
L~ N D Bracket L with Tap ; ]
i N Hard Bracket L with Tap b
m Hard Bracket LG with Tap
@Various Resin plates are available.
Sl -8 Refer P182~.
Ao B 3
Incase oft=5 (<500mm)  Incase oft=5 500mm pitch :
Incase oft=3 (<300mm)_ Incase of =3 300mm pitch <D0°r accessones>
[T Al
T 97 7 //
rk = = FEE Ry
Koot (LR o CHY A
i f = i BRI
\ s
) (8} o .
\ I the cover thickness is S, @Various parts for door are available.
Each Bracket with Tap '\ Cover Holder L, Cover Support L Frame and Cover surfaces become flat. Refer P140~.

We sell Nut Material a

Bracket Material as well.

nd

T NutL Material  @Hard Bracket L Material
P99 W @Angle Bracket L Material

Material Frame



SF
(7]
-
Q
=
Q.
Y
=
[=3
m
=
Q
3
(]

SF40 ¢ 45s:q:s

Slider L

Slider L

Item No. SFA-511

HWUsable Frame
Compatible to all SF40 and 45 series

Ny .
_-;“/ (Groove Width 10mm)

Minstallation list of recommendation Bolt-Nut

Appropriate Tightening Torque(N'm)

Slot Roller L40  Slot Roller L45

Item No. SFK-807 SFK-808

Name Installation Frame Recommended Bolt Recommended Nut
Slider L SF40-45 series Flat Bolt with Cross Hole(M4x25) | T Nut L(M4) 1.0
L . Slot Roller L40 Slot Roller L45
Resin Roller
Resin Roller
17 Bearing
|
4508 |
2.
% Smooth operation is MUsable Frame
possible because cutting N {L40) _ )
work is done with Roller. g/ Compatible to all SF40 series

(Groove Width 10mm)

{L45)

Compatible to all SF45 series
(Groove Width 10mm)

M8

N

Slider L

2-Counterbore for M4
from the back

BMaterial/Technical Data

Material  Polyacetal (Gray)

Weight 15g

Environment RoHS Compliant
Green Procurement

MMaterial/Technical Data
Material 6 Nylon(Resin Roller)
Steel(Bearing)
SC45C(Collar)
Weight 86.5g(L40)-120g(L45)
Environment RoHS Compliant
Green Procurement
*lInstallation bolt size M6

% With 2 Bearings-Collar-Washer
3 Appropriate Tightening Torque 9.0N'm

Example of using Slot Roller L

(To frame's movable part)

Hexagon Socket Bolt M6X45(L40)
Hexagon Socket Bolt M6X50(L45)

(As door roller)

Parts
How to order
Item No.

SFA-511

126

Quantity (pcs)




STANDARD FRAME

Complex Parts

7”7

127



Complex Parts

SF
(]
—
(Y
3
o
o
=
o
m
=
1Y
3
()

Flat Bar

BMaterial/Technical Data

Material Aluminium Alloy

Alumite Treatment
Section Performance and Unit Mass Refer Table Below
Environment RoHS Compliant Green Procurement

ltem No. H ¢ Geometrical Moment of Inertia(x10‘mm?) | Section Modulus(X10°mm?®) | Unit Mass
Ix ly Zx Zy (kg/m)
FlatBar15 T=2 2 =50~2000 SFF-A154 15 2 0.0562 0.001 0.075 0.01 0.08
g FlatBar15 T=3 £ =50~2000 SFF-A164 15 3 0.0843 0.0033 0.112 0.022 0.12
% Flat Bar20 T=2 £ =50~2000 SFF-A174 20 2 0.1333 0.0013 0.133 0.013 0.11
o
@ Flat Bar20 T=3 £ =50~2000 SFF-A184 20 3 0.2 0.0045 0.2 0.03 0.16
Flat Bar20 T=5 £ =50~2000 SFF-A194 20 5 0.3333 0.0208 0.333 0.083 0.27
Flat Bar30 T=2 £ =50~2000 SFF-A204 30 2 0.45 0.002 0.3 0.02 0.16
FlatBar30 T=3 £ =50~2000 SFF-A214 30 3 0.675 0.0067 0.45 0.045 0.24
Flat Bar30 T=5 £ =50~2000 SFF-A224 30 5 1.125 0.0312 0.75 0.125 0.41
Flat Bar40 T=3 £ =50~2000 SFF-A234 40 3 1.6 0.009 0.8 0.06 0.32
Flat Bar40 T=5 £ =50~2000 SFF-A244 40 5 2.666 0.0416 1.333 0.166 0.54
Flat Bar50 T=3 £ =50~2000 SFF-A384 50 3 3.125 0.011 1.25 0.075 0.40
Flat Bar50 T=5 £ =50~2000 SFF-A394 50 5 5.208 0.052 2.083 0.208 0.68

In case of specifying the length (Cut by SUS)
ltem No. Length (mm)

128 SFF-A154 :=800

aweld 49




SF
(]
—
Q
>
Q.
Y
=
o
o
=
Q
3
(]

Angle

HMMaterial/Technical Data

Material Aluminium Alloy

Alumite Treatment
Section Performance and Unit Mass  Refer Table Below
Environment RoHS Compliant Green Procurement

ltern No. H h ¢ Geometrical Moment of Inertia(X10‘mm?) | Section Modulus (X10°mm?®) | Unit Mass
Ix ly Zx Zy (kg/m)
Angle2020 T=2 £ =50~2000 SFF-A014 20 20 2 0.288 0.288 0.201 0.201 0.21
Angle2020 T=3 £ =50~2000 SFF-A024 20 20 3 0.403 0.403 0.289 0.289 0.30 g
Angle2040 T=2 £ =50~2000 SFF-A034 20 40 2 0.348 1.964 0.219 0.758 0.31 %
o
Angle2040 T=3 £ =50~2000 SFF-A044 20 40 3 0.489 2.828 0.315 1.108 0.46 @
Angle3030 T=2 £ =50~2000 SFF-A054 30 30 2 1.019 1.019 0.468 0.468 0.31
Angle3030 T=3 £ =50~2000 SFF-A064 30 30 3 1.458 1.458 0.681 0.681 0.46
Angle3030 T=5 £ =50~2000 SFF-A074 30 30 5 2.216 2216 1.071 1.071 0.74
Angle4040 T=2 £ =50~2000 SFF-A084 40 40 2 2.476 2.476 0.846 0.846 0.42
Angle4040 T=3 £ =50~2000 SFF-A094 40 40 3 3.581 3.581 1.239 1.239 0.62
Angle4040 T=5 2 =50~2000 SFF-A104 40 40 5 5.561 5.561 1.974 1.974 1.01
UF-51-40 2 =50~2000 A-032-4 40 51 14 12.86 24.32 4.899 7.661 291
Angle2550 T=3 £ =50~2000 SFF-A334 25 50 3 0.993 5.661 0.504 1.759 0.58
Angle5050 T=3 £ =50~2000 SFF-A344 50 50 3 7.149 7.149 1.964 1.964 0.79
Angle7575 T=6 £ =50~2000 SFF-A514 75 75 6 46.882 46.882 8.677 8.677 2.33
Angle100100 T=6 £ =50~2000 SFF-A524 100 | 100 6 114.390 114.390 15.718 15.718 3.14
Angle150150 T=6 £ =50~2000 SFF-A534 150 | 150 6 397.520 397.520 36.051 36.051 4.76

129



SF
0
~
Q
=}
Q
Y
=
Q
m
=
Y
3
(]

Complex Parts

Channel

HMMaterial/Technical Data

Aluminium Alloy

Alumite Treatment
Section Performance and Unit Mass  Refer Table Below
Environment RoHS Compliant Green Procurement

Material

. ia(X10'mm?® : X 3, 3 .
1temn No. H h ¢ Geometrical Moment of Inertia(X10‘mm*) | Section Modulus (X 10°mm?) | Unit Mass
Ix ly Zx Zy (kg/m)

Channel1515 T=2 £ =50~2000 | SFF-A114 15 15 2 0.277 0.181 0.37 0.196 0.22

Channel1530 T=2 £ =50~2000 | SFF-A124 30 15 2 1.47 0.231 0.98 0.22 0.30
(@)
g Channel2020 T=2 £ =50~2000 | SFF-A134 20 20 2 0.718 0.452 0.718 0.36 0.30
©
o
; Channel2040 T=2 £ =50~2000 | SFF-A144 40 20 2 3.668 0.576 1.834 0.403 0.41
o
3
© Channel2550 T=3 £ =50~2000 | SFF-A374 50 25 3 10.42 1.64 4.169 0.929 0.76

Channel1848 T=2 £ =50~2000 SFX-535 48 | 185 2 5.69 0.498 2.369 0.355 0.49

Panel Guard

Panel Guard T3 Panel Guard T5
5.5 7.5
!
| L
I | §
Fix by two-sided tape or screw. i
1 ‘ 3.5 1 55

|  Panel Guard T3 (2=3000) [ Panel Guard T3(2 =50~3000) Panel Guard T5 (2=3000) [ Panel Guard T5(2 =50~3000)

Item No. \ SFF-K32 \ SFF-K34 SFF-K52 | SFF-K54

=3000 Type is to be cut by customer. Effective range of use £ =(3000
MMaterial/Technical Data o2 P y g 2=(3000)

Material Aluminium Alloy
Alumite Treatment
Unit Mass 0.4kg/m
Environment RoHS Compliant Green Procurement

M Panel Guard Slat Cut Service Processing Contents Processing Symbol
o P £
3 [
? | M DVS
o} 45°
[0) L (
Sl ¢ ‘
0
» DVW
oY 45° 45° M
[0) Y l

Panel Guard T5 800mm In case both sides are cut aslant

Example| SFF-K54 800mm DVW (Or both sides are cut aslant)

of order

@ o Standard Length (Cut by customer) #=3100-Efective range of use 4=3000 I case of specifying the length (Cut by SUS) s«order by 0.1mm unit | O How to order
1 30 Example E Item No. Quantity (ocs) ~ Item No. Length (mm) 2 Item No. Quantity (pcs)
oforder] 2 SFF-K32 [ ] SFF-K34 :=800 & SFA-109 [ [ ]




SF
(7))
-
Q
=]
Q.
o
=
o
o
=
o
3
(]

Square

EMMaterial/Technical Data

Material Aluminium Alloy

Alumite Treatment
Section Performance and Unit Mass  Refer Table Below
Environment RoHS Compliant Green Procurement

Itern No. H h ¢ (Geometrical Moment of Inertia(X10‘mm*) | Section Modulus (X10°mm?®) | Unit Mass
Ix ly Zx 2y (kg/m)

Square1515 T=1.5 £ =50~2000| SFF-A254 15 15 1.5 0.249 0.249 0.332 0.332 0.22
Square1530 T=1.5 £ =50~2000| SFF-A264 30 15 1.5 1.406 0.454 0.937 0.606 0.34
Square2020 T=2 £ =50~2000| SFF-A274 20 20 2 0.787 0.787 0.787 0.787 0.39

o
Square2040 T=2 £ =50~2000| SFF-A284 40 20 2 4.445 1.437 2222 1.437 0.61 _§_
Square3030 T=2 £ =50~2000| SFF-A294 30 30 2 2.941 2.941 1.961 1.961 0.61 §
Square3060 T=2 £ =50~2000| SFF-A304 60 30 2 15.94 5.297 5316 3.531 0.93 @
Square4040 T=2 £ =50~2000| SFF-A314 40 40 2 7.336 7.336 3.668 3.668 0.82
Square4080 T=2 g =50~2000| SFF-A324 80 40 2 38.97 13.11 9.743 6.558 1.25
Square2550 T=2 £ =50~2000| SFF-A354 50 25 2 9.007 2.96 3.603 2.368 0.77
Square5050 T=2 £ =50~2000| SFF-A364 50 50 2 14.77 14.77 5.908 5.908 1.04
Panel Guard T3 {Resin Type)

= @7

| Panel Guard T3(Resin Type)
\ SFA-109

! Item No.

‘ It becomes Spacer of t=5 by installing t=3 Panel.
|

|

12

BMMaterial/Technical Data

Material Polyethylene(Silver)
Unit Mass 21g/m(2=2000mm/PCS)

| (34) |
5 Environment RoHS Compliant Green Procurement

Punching Plate Guard

(2.8)
Item No. ‘ EMP-020
BMMaterial/Technical Data
Material Nylon 6
A i Unit Mass 15g/m( 2=1000mm/PCS)
(5.4) Environment RoHS Compliant Green Procurement

+Installable to end face of t=3 Panel.

131



Complex Parts

SF
(]
-
Q
=]
Q
Y
=
[=}
o
=
o
3
(]

Note : This product will be delivered without
being Anodized.

HMMaterial/Technical Data
Material Aluminium Alloy  Geometrical Moment of Inertia Ix=3.70x10‘m*  Section Modulus Zx=3.68x10°m°®

5.2
Nan Alumite Treatment ly=3.70x10"m* Zy=3.68x10%m°

9 Unit Mass 1.1kg/m Environment RoHS Compliant Green Procurement

N > (18)

3 o (7—. o \ UF-35-35 2=50~2000

of | e item No. SFF-U14
12.2—
35.2

MMaterial/Technical Data

Material Aluminium Alloy Geometrical Moment of Inertia Ix=17.4x10*m* Section Modulus Zx=11.62x10°m°®
Nan Alumite Treatment ly=17.4x10"m* Zy=11.62%x10°m*

Unit Mass 1.9kg/m Environment RoHS Compliant Green Procurement

sued xo|dwo)

[\
B| pa2 \ UF-57-57 £=50~2000
\rL. 35 o Item No. SFF-U84
gI AVZAN 0
12.2 =< 570

EMaterial/Technical Data

Material Aluminium Alloy  Geometrical Moment of Inertia Ix=19.06%10*m* Section Modulus Zx=11.79X10°m®
Non Alumite Treatment ly=19.06x10*mm* Zy=11.79%10%m®

Unit Mass 2.3kg/m Environment RoHS Compliant Green Procurement

Nl p4a2
0 \ UF-H51-51 £2=50~2000
« Item No. SFF-U24
3]
12.2— 51.2
UF-85-85
02 EMaterial/Technical Data
| Material Aluminium Alloy  Geometrical Moment of Inertia Ix=100.0%10%*m* Section Modulus Zx=40.13X10°m®
Non Alumite Treatment ly=100.0x10*mm* Zy=40.13%10%mm®
Unit Mass 4.0kg/m Environment RoHS Compliant Green Procurement
g
| ga2 \ UF-85-85 £2=50~2000
50 Item No. SFF-U74
R R
122 \29 g5,
UF-80-80
142 EMaterial/Technical Data
= S Material Aluminium Alloy  Geometrical Moment of Inertia Ix=109.9%10*m* Section Modulus Zx=40.54X10°m®
g Non Alumite Treatment ly=109.9x10*mm* Zy=40.54%10%m°

Unit Mass 5.3kg/m Environment RoHS Compliant Green Procurement

\ UF-80-80 2=50~2000

80.2

SFF-U34

944 Item No.
o ﬁvT
o <

122k \(¢945,

EI @ Standard Length (Cut by customer) =403 Efecive range of use £=4000 I case of specifying the length (Cut by SUS)sxorder by 0.1mm unit
132 Examole| = ltemNo. Quantity (ocs) ~ ltem No. Length (mm)
sote] 3 SFF-U12 (] SFF-U14 =800




SF Light 15+15

15 BEMaterial/Technical Data
5.7 Material - Aluminium Alloy Geometrical Moment of Inertia x=0.28%10%mm*  Section Modulus Zx=0.37%10°mm®
© _ 1 134 Alumite Treatment ly=0.28%10*m* Zy=0.37x10°m®
NL—' UnitMass 0.35kg/m  Environment *RoHS Compliant *Green Procurement
ol 3 [ SF Light15-15 ( 2=2000) [ SFLight15-15 2=50~2000
- - -X Item No. | X SFF-L11 | X SFF-L14
L)
|
Best suited for installing sensor, etc. Y
Frame Cap 1515 Square Nut M3
15 3 55 2.4
M3
0 m m [to) \/
- i D
|
Material/Polyamide L’\jlr?l‘ %ir?rlériii’?;ing
Colpr/Light gray Weight/0.4g
Weight/0.9g = @L Bracket SSX1 % Material/A6063S-T5
= 2 @Hexagon Socket Bolt(M3x6) X2 Weight/21g(1) (2)
@ = .Square Nut(M3) x2 Please select Bolt and Nut according to the purpose.
[ Frame Cap 1515 [ Square Nut M3 L Bracket SS L Bracket SS Kit Bracket 1 Bracket 2
Item No. | ¥SFA-021G Item No. | «SFB-201 *SFJ-903 * SFK-903 X SFJ-901 X SFJ-902
SF Light 30-30
30 MMaterial/Technical Data
1%: Material - Aluminium Alloy Geometrical Moment of Inertia Ix=2.14x10%m*  Section Modulus Zx=1.42X10°m°
o ~ =4 Alumite Treatment ly=2.14x10%*m* Zy=1.42x10°m"
L - UnitMass  O.74kg/m  Environment %RoHS Compliant *Green Procurement @Please select Bracket from SF30 Series.
© [ SF Light30-30 ( 2=4000) [ SFLight30-30 £2=50~4000
g « 23l =x Item No. X SFF-L32 \ X SFF-L34
&
| $6.8
|
Y
Square Nut M6 Lock Nut C(M3) Anti-Skid Sheet L
3 © '
- 10 M6 5 I M4 with set screw
L L] [ 10 2
o[ A~ 1 ~ ™~
¥ ) o @ V) o4
‘ ol I 9{ od
Material/Polyamide Mgterial/StaipIess )
Color/Black = ) Wllh conductive function Material_/Compressed Urethane
Weight/2.3g Material/SS400 Weight/4g Compatible to Square Nut M6, M8
Uni-Chrome Plating s 50 Sheets/1 Pack
Weight/2.7g @ Weight/2.9g
[Frame Cap 3030 [Square Nut M6 S Lock Nut C(M5) S Lock Nut C(M4) S Lock Nut C(M3) [ Anti-Skid Sheet L
Item No. | *SFA-001 Item No. | % SFB-202 ¥SFN-LC5 ¥SFN-LC4 ¥SFN-LC3 Item No. | % SFA-902
SF Light 45-45
45 MMaterial/Technical Data
2{& 10188 8.5 Material - Aluminium Alloy Geometrical Moment of Inertia Ix=11.97x10m*  Section Modulus Zx=5.32x10°m®
—v _ Alumite Treatment ly=11.97x10m* Zy=5.32x10°m°
N UnitMass  1.65kg/m  Environment %RoHS Compliant™ *Green Procurement @Please select Bracket from SF40+45 Series
=¥ SF Light 45-45 (2 =4000) SF Light 45-45 £ =50~4000
Q9 x 5 A Item No. \ X SFF-L42 \ X SFF-L44

Frame Cap 4545 (Light) Square Nut M8 Lock Nut S(M3%) Anti-Skid Sheet L
45 13 6.5 s M4 with set screw o 5
M. \ — 1
l ‘ 8 . el o 11.5
) ,{% 25 _ ~ S[8]
[T} - T ] | ot i o (SR
¥ : 3 S @ [ M 2 ol |4
[T}
Material/Ponamiae - .
Color/Black ¢, & Material/Compressed Urethane
Weight/7.9g g Material/ SS400 Material/Equivalent to S10C Compatible to Square Nut M6, M8
Uni-Chrome Plating Uni-Chrome Plating 50 Sheets/1 Pack
Weight/5.5g Weight/7.0g Weight/2.9g
Frame Cap 4545 Lock Nut S(M6) Lock Nut S(M5)  Lock Nut S(M4) Lock Nut S(M3) i.Ski
(Light) Square NUEMB (=00 N S 1Mib)) (5 Lock Nut (5> (5 Lock Nut S(M4)) (5 Look Nut 8(3)) Anti-Skid Sheet L
* *SFB-4B6 * SFB-4B5 * SFB-4B4 * SFB-4B3
Item No. ¥ SFA-022 Item No. * SFB-204 FEFNLSE)  ESFNLSH  K(SENLSH £ (SFNLS®) Item No. * SFA-902

(S Lock Nut S): Stainless With conductive function

133

SF
(7))
-
[Y
=}
o
Y
=
o
m
=
Y
3
[}

sHed xa|dwo)




SF
()
-
o
=}
Q
Y
=
Q
o
=
Y
3
o

sped xajdwo)

134

Complex Parts

Adjuster + Foot as Single

Adjuster M12
Adjuster M12 (Stainless)

100
(1
0
|
]

121 (122)

( ): Adjuster M12| @
(Stainless)

0% $55

(14

ltem

Adjuster M16 Adjuster BM16
Adjuster M16S (short)  Adjuster BM16{Stainless)

Adjuster M12

[ [ Material | Treatment |[Load Capacity, Weight
SS400 Uni-Chrome Plati 500kg. 169g
Adjuster M12(Stainless)] SUS304 _|Electropolishing] 300kg | 165g

M12x1.75 |
‘ M16x2 M16x2
~ |
= L Q
3 o [$] Q2 U
< = Ll
o -
: |
) ‘
Adjuster _ L. |
M16 gl 1Ll 2
(Stainless)t St f=—— ®
960 875
Material | Treatment [Lcad Capeciyy| Weight | Bottom
Adjuster M16-M16{(short) | SS400 | Zn Black | 500kg |386g(2408) | Neo Prene Rubber|
Adjuster BM16 SS400 |Uni-Chome Plating| 560kg | 3758 SPCC
Adjuster BM16 (Stainless) | SUS304Electiopolishing 560kg | 3758 | SUS304 |

Adjuster M20 Adjuster BM20(Stainless)
M20x2.5
M20x2.5
g LJ | s n
8l ~ g - L
$60 75

Material [Treatment]Load Capecityl Weight Bottom
SS400 [Zn Black| 500kg | 536g | Neo Prene Rubber
SUS304

Adjuster M20
Adjuster BM20 (Stainless) |SUS304|Ekctopolishing| 880kg | 540g |

[ Adjuster M12  Adjuster M12(Stainless)

Adjuster M16 _ Adjuster M16S(Short) Adjuster BM16 Adjuster BM16(Stainless) _ Adjuster M20 _ Adjuster BM20(Stainless)

Item No. SFK-584 SFK-584U SFK-596 SFK-596S SFK-589 SFK-589S SFK-599 SFK-598S
Foot M6 Foot M8 v8 Foot M12 T‘ Mi2
M6 / e
“ 8 o :
© N
< |
s 5
“ ——
|
$25 ¢40 0‘50

Material/Axis: Low-Carbon Steel Wire Rod Bottom:Polyamide - Load capacity/30kg Weight/11g

Material/Axis: Low-Carbon Steel Wire Rod - Bottom'Polyamide  Load capacity/80kg  Weight/35g

Material/Axis: Low-Carbon Steel Wire Rod Bottom:Polyamide - Load capacity/100kg  Weight/71g

[ Foot M6

Foot M8

Foot M12

Item No. \ SFA-601

SFA-602

SFA-603

How to order

=]

Example
of order

syled

Item No. Quantity (pcs)

SFK-584 [ ]




Caster Pad

@Install to Fram's end face

@Install to Adjuster Plate

EDimension Table

,
§

h2_ ht

‘ Caster Pad ¢50-M12 Caster Pad ¢75-M16 D Hlh | h!| E E A B L t | M1 | M2 |LoadCapaciy(N)
ttem No. SFA-T03 SFA-T04 Caster Pad p50M12| 50 | 67 | 10 30 |34 |40 |69 | 35| 2 [mi2|mi2| se8
Caster Pad 75-M16| 75 | 95 | 24 5 35 | 42 | 50 | 84 | 35 2 |[M16|M12| 1176
HMaterial/Technical Data
Material Nylon(Black) (Caster)
Equivalent to SS400  Uni-Chrome (Adjuster-Bolt)
Weight 253g(50) 392g(p75)
Environment RoHS Compliant Green Procurement
Caster as Single ltem
Caster M8 Caster A Double-Wheel Casters M12
M8x 125 Caster A(Stainless)  yyzx17s 25 17 iz

22

14
—

81
67

/

Material/Rubber Load Capacity/30kg With Brake Available

35

103
68
><®

Material |Load Capacity|
189g(223g)

Caster A (Stainless) |

Nylon | 40.8kg | 147g(175g)

22

[t

[

69
60

Material/Nylon Load Capacity/150kg With Brake Available

Weight/154g(165g with Brake) () : with Brake Weight/210g(219g with Brake)
[ Caster M8 Caster M8 with Brake Caster A Caster A with Brake  Caster A(Stainless)  Caster A with Brake(Steiniess) ~_Double-Wheel Casters M12_ Double-Wheel Casters M12 ith Brake
Item No. SFA-701 SFA-702 SFK-582 SFK-583 SFK-582S SFK-583S TY60-12 TY60-12S
Caster B &, Caster B(Stainless) | Double-Wheel Casters M16 Caster C Caster C(Stainless)
2 F 20 M6 82
8 54 e 0
. r 1 /7 | 95 . 63 4 9.5 Y K
ﬁq}f\ & & © /\ @
/) any 4988
3T - ¥y I\
mua \% mkjea 5
¥ 8.
o 25
4 e o
w | (D) : =
ol | s E
A\
18.5
Material Load Capacity] Weight &4 Material |Load Capacity] Weight
Caster B Phenol Resin | 150kg | 340g Caster C Nylon 300kg
Caster B(Stainless)| Phenol Resin | 71.4kg | 285g | Material/Nylon  Load Capacity/170kg Only with Brake Weight/291g | [Caster C(Stainless)| _MC Nylon | 150kg | 520g
[ Caster B Caster B{Stainless) Double-Wheel Casters M16 with Brake Caster C Caster C(Stainless)
Item No. | SFK-595 SFK-595S TY75-16S SFK-594 SFK-594S

135

SF
2
-
[
3
Q
Y
=
Q
|
=
Y
E
()

syed xa|dwo)




Complex Parts

SF
(7))
P
Q
=
o
Y
=
o
o
=
L
3
(1]

Ad]ustero Caster P’ate aS S,ng’e ”‘em MEnvironment *RoHS Compliant *Green Procurement

Adjuster Plate SS Adjuster Caster Plate SS Adjuster Caster Plate 40
100 9
75 5-5.5 Drilling 135 5 5 508 e
8_ 30 27 10 6 8, 30 87 10 6 - g L L
—— T : T I
K \fb {b 01\7{& A o M16 b o
= 2 3 5-5.5 Drilling g - 9
o & R ¢ g ® | G &
: - o
N N \2-M12 ¢ i
« M12 ’ 8-5.5 Drilling )
" o1& Adjuster S 38
2 A = Caster ST &
43 Plate 40 & & &
. 4| E
= 122 (Stainless) + @ o ¢ i T
8] | 20 [2520] 36(42) | | 11¢i0
[ | Material | Treatment | Weight [ | Material | Treatment | Weight [ Material [ Treatment | Weight
Adjuster Plate SS | SS400 |uni-Chrome Plating] 0.24kg Adjuster Caster Plate SS | SS400 |uni-Chrome Plating] 0.45kg Adjuster Caster Plate 40 SS400 _|Uni-Chrome Plating|
Adjuster Plate SS{Stainless) | sus3o04 | — 0.24kg | | [Adiuster Caster Plate SS(Stainless)| SUS304 | — 0.45kg | | [Adjuster Caster Plate 40(Stainless)| SUS304
Adjuster Plate SS  Adjuster Plate SS(Stainless) Adjuster Caster Plate S Adjuster Caster Plate SS(Stainless) Adjuster Caster Plate 40 Adjuster Caster Plate 40(Stainless)
Item No. | *SFK-570A *SFK-570S *SFK-575A *SFK-575S *SFK-576A *SFK-576S
Adjuster Plate S Adjuster Caster Plate S Adjuster Caster Plate 50
- 120(114) o
% 135 87Drilling - er—s7s
13 25 31 6 6 1325 87 19| 47 Diiing L8, S o
9 Drilling of |
N i
@ 2 H-
El &« of - <, o
(@) 9 < « ¥l g
g © & 2 © © SRS
- ] 5 2M12 . M16
1 5 N o | ()
g o ¢ N_4-7 Drilling hd émufm S 3
43 aster
E 43 Mi12 102 Plate 50 z % =
a (Stainless)
7 166
[ [ Material | Treatment | Weight [ [ Material | Treatment | Weight [ [ Material | Treatment | Weight
Adjuster Plate S | SS400 |uni-Chrome Plating| 0.24kg Adjuster Caster Plate S | SS400 |uni-Chrome Plating| 0.44kg Adjuster Caster Plate 50 | SS400 |uni-Chrome Plating| 1.03kg
Adjuster Plate S {Stainless) | sus304 | — 0.24kg | | [Adiuster Caster Plate S{Stainless) | SUS304 | — 0.44kg | | [Adiuster Caster Plate 50(Stainless)| SUS304 | — 1.04kg |

[ Adjuster Plate S Adjuster Plate S{Stainless) Adjuster Caster Plate S Adjuster Caster Plate S(Stainless) Adjuster Caster Plate50  Adjuster Caster Plate50(Stainless)
Item No. \ * SFK-580A %X SFK-580S *SFK-581A XSFK-581S * SFJ-7B1 XSFJ-7B1S

2-9 Drilling, 14 Deep Spot Facing, Depth 4

Adjuster Caster Plate 60 Adjuster Plate L Adjuster Caster Plate L e o
9
125 100 9 - e
N e 14 Drilling | 20 45 86 15
215 15T 4~ %0 iz 20 45 25 10 ||
o & — o
HTRY © © 1 1 L 8
- Q
© A @ {} {} & 4-9 Drilling,
fk{E ‘¢\14 Drilling: 3 © Q 9 -
i: = o g
9 8.7 Drilli 2 gl ¥ -
Oy S ing H e 49 Dnllmgf\\ & g 4 4
Adiust o ¢ 40
juster HO {‘;} g W Adjuster |9 (335) Mie
Caster 9 M6 ¥
3 8 & Caster 4M6
Plate 60 @ A ; 4-M8)
: © o N\ Plate L
(Stainless) | ¥t N = L - | 0
= N am6 (Stainless)] = L
12] 30 [21(19]  54(55 M 60 120(114) 1 36042 ]
| Material | Treatment | Weight [ | Material | Treatment | Weight [ Material Tveatmem Weight
Adjuster Caster Plate 60 SS400 _|Uni-Chrome Plating] 1.03kg Adjuster Plate L | SS400 |uni-Chrome Plating| 0.65kg Adijuster $S400
Adjuster Caster Plate 60(Stainless)| SUS304 K Adjuster Plate L{(Stainless) | sus3o04 | — 0.66kg Adjuster Caster Plate L(Stainless

Adjuster Caster Plate 60 Adjuster Caster Plate 60(Stainless) Adjuster Plate L Adjuster Plate L(Stainless) Adjuster Caster Plate L Adjuster Caster Plate L(Stainless)

Item No. * SFK-592A %X SFK-592S * SFK-590A %X SFK-590S * SFK-591A X SFK-591S
Adjuster Caster Plate L60(Stainless) Adjuster Caster Plate 80 12 Adjuster Caster Plate 90 12
150 [ 165 e
185 4-9 Drilling 15 20 . 20 40 40 15 375 225_'_ 45 e 45 T15 L
14Diling | 59 45 86 34 B 2 ‘ {5 {5 B 2 4} é} \'JD 2
@) N
q vanli ? . y I ‘
-— A4 ] N M20 r B
1Y s o o R
2 Q 8| ¢ & 8 ¢ ol S
g - & - Y & 4-v8 . Py \ e M
43 | \Mmi6 hd o < o
o — 9 2 10-9 Drilling © © 10-9 Drilling “
: ¢ 4 || e © o o ITE ¢ ¢ 9
133 1 a2 [Nams 775 | - 15 25 |o75] 63 -
Material | Treatment | Weight [ [ Material | Treatment | Weight [ [ Material [ Treatment | Weight
AdJus(er Caster Plate Leo/sumess\\ SUS304 | — | 1.54kg Adjuster Caster Plate 80 | SS400 |uni-Chrome Plating| 2.0kg Adjuster Caster Plate 90 | SS400 |uni-Chrome Plating| 2.5kg
Adjuster Caster Plate 80 (Stainless)] SUS304 | — 2.02kg | | [Adiuster Caster Plate 90 (Stainless)| SUS304 | — 2.53kg |
[ Adjuster Caster Plate L60(Stainless) Adjuster Caster Plate 80 Adjuster Caster Plate 80(Stainless) Adjuster Caster Plate 90 Adjuster Caster Plate 90(Stainless)
Item No. X SFJ-7C1S * SFK-593A X SFK-593S * SFK-597A X SFK-597S

% Please refer P44, 79 and 112 for Caster Plates.

How to order
Item No. Quantity (pcs)

SFK-570A [ 1]

=]

Example
of order

s1led

136




_..w Standard Frame

Duct Cover S

Complex Parts

A\
i | —;s
0| N
" ) i
Q
©
O
o
]
a 8 8
= /
0c
- @
(2}
[0}
[
8 >
o
=
5 8
@]
SYi— 6
54\
_
(2}
g
o (=]
(&) ™)
2
[}
]
[a]
A
- 0c -

2] -
8 £
o
B |<
25
a
[0
e &
o |<
o |2
5 |x
S |&
a
o
2
[3
2
~
o
83
NG
fodirs
0o
"_.u__S
wmw
8=
3]
S0l
0gl<
oo
N
IN™
)
S
e
3
2

=4000

@ £ =4000 Type is to be cut by customer. Effective range of usef

Example of use Duct Cover

Duct Cover L (S)

Duct Piece L (S)

Duct Cap L (S)

Duct Clip L

SF-4045 Series
(SF-30 Series)

Duct Clip R

*Indication of the pitch to attach Duct Piece is 200mm.

137



Complex Parts

SF
[
-+
o
3
o
Q
=
[}
m
=
(Y
3
o

Duct Cover L

Duct Cover L Duct Piece L Duct Cap L

40

T

7

30

sped xajdwo)

-
S

131

15
Duct Cover L !
(2=4000) | (2 =50~4000) Duct Piece L Duct Cap L
Item No. SFF-DB2 \ SFF-DB4 Item No. SFA-DBP1 SFA-DBK1

@ 2 =4000 Type is to be cut by customer. Effective range of usef =4000

Duct Clip Kit
Duct Clip L Duct Clip R
; 3 -

| _83 _ 11 , 8.3 11
, R |
‘ P <
«© | ®
| == .
ltem to prevent Duct Cover from coming off
Duct Clip Kit MKit contents ——
@Duct Clip LX2
Item No. SFK-DACP @®Duct Clip Rx2
EMaterial/Technical Data MUsable Frame
" . S (Duct Cover S)

Duct Cover S/L Duct Piece S/L Duct Cap S/L Duct Clip L/R _-;,_./‘ Meet with all SF30 Series (Groove Width 8mm)

Material ~ Aluminium Alloy Alumite Treatment Polyamide Polyamide Polyamide (Duct Cover L)
(Special Order : Black Alumite is also available) Meet with all SF4045 Series (Groove Width 10mm)

Unit Mass 0.29kg/m(S) 3.0g(S) 0.7g(S) 1.0g/pcs
0.41kg/m(L) 4.5gL) 1.0g(L)

Environment RoHS Compliant Green Procurement

 — i
EI o Standard Length (Cut by customer)  2=4030Efectve range of use 2=4000  In case of specifying the length (Cut by SUS) sorder by 0.1mm unit U How to order
138 Example & Item No. Quantity (pcs)  Item No. Length (mm) 9’, Item No. Quantity (pcs)
ofader)] 2 SFF-DB2 [ 1 SFF-DB4 =800 & SFA-DBP1 [ ][]







Door+Panel Parts Fixed Hinge

SF
[
-+
o
3
o
(Y
=
Q
i
=
o
3
o

Fixed Hinge SS. S series Fixed Hinge L series
At At
A2 A Ml A2 A A2
Lounterbore for 4-1_(Q) 2 Counterbore for 4-M_(C) P
a ) it . ~
IR T o~ > T
LD @ Ll
N O b-©
@ il - @ il
@, I & (T
Zalll il
B ¢5 o g H
|
Les
R R
- ! [a] - o
27g (SS) - t 53g (L40) -
Material/Aluminium Alloy ~Alumite Treatment 34g (S) -7 75g (L45) g
HEnvironment RoHS Compliant Green Procurement
Name Item No. A B Al | A2 | Bt B2 | (O D t R | Indication of te Load
Fixed Hinge SS SFA-211
Fixed Hinge SS Kit SFK-211 21 | 25 | 36 | 75 | s 5 5 49
(Fixed Hinge SS(Stainless)Kit) (SFK-211S) 47
Fixed Hinge S SFA-221
Fixed Hinge S Kit SFK-221 32 30 48 8 8.5 35
(Fixed Hinge S (Stainless) Kit) (SFK-221S)
Fixed Hinge L40(M6) SFA-231
Fixed Hinge L40(M6)Kit SFK231 | 42 | 37 | 62 | 10 13| 6 |55 55 73
(Fixed Hinge L40(M6)Stainless Kit) (SFK-231S) 63
Fixed Hinge L45(M6) SFA-241
Fixed Hinge L45 (MB)Kit SFK-241 47 | 43 80 | 165 10 4.5
(Fixed Hinge L45(M6)Stainless Kit) (SFK-241S)
(Fixed Hinge SS Kit) (Fixed Hinge S Kit) (Fixed Hinge L40(MB)Kit) (Fixed Hinge L45(MB)Kit)
kit @Fixed Hinge SSX1 @Fixed Hinge SX1 @Fixed Hinge L40(MB)X1 @Fixed Hinge L45(MB)X1
Contents @Hexagon Soket Flat Head Cap Screw(M5x8)x4  @Hexagon Soket Flat Head Cap Screw(M6X10)x4  @Hexagon Soket Flat Head Cap Screw(M6X12)x4  @Hexagon Soket Flat Head Cap Screw(M6X15)x4
@T Nut SS(M5)x4 @T Nut S(MB)X4 @T Nut L(MB)X4 @T Nut L(MB)X4
#%Bolt and Nut for (Stainless) Kit is stainless.
Bolt of Stainless Kit is small flat screw with cross hole.
A1
A2 A A2|
Counterbore for 4-M (C) -
Il
ol
i @
RETS Yo
o |
5
R
- o
53g (L40) - [
53g (L45) '
Material/Aluminium Alloy Alumite Treatment
MEnvironment RoHS Compliant Green Procurement
Name Item No. A B A1 A2 | Bi B2 | (C) D t R | dicationef the Load
Fixed Hinge L40-S SFA-281
Fixed Hinge L40-S Kit SFK-281 37 125
Fixed Hi L40-S (Stainl Kit, (SFK-281S)
(Fixed Hinge (Staniess) K 37 | 62 63 | 13 6 | 55 | 35 | 55 73
Fixed Hinge L45-S SFA-291
Fixed Hinge L45-S Kit SFK-291 39 1.5
(Fixed Hinge L45-S (Stainless) Kit) (SFK-291S)
(Fixed Hinge L40-S Kit) (Fixed Hinge L45-S Kit)
kit @Fixed Hinge L40-SX1 @T Nut L(MB)*x2 @Fixed Hinge L45-SX1 @T Nut L(MB)*x2
Contents @Hexagon Soket Flat Head Cap Screw(MBX10)x2 @T Nut S(MB)X2 @Hexagon Soket Flat Head Cap Screw(M6x10)x2 @T Nut S(M6)x2
@Hexagon Soket Flat Head Cap Screw(MBX12)x2 @Hexagon Soket Flat Head Cap Screw(MBX15)x2

%Bolt and Nut for (Stainless) Kit is stainless.
Bolt of Stainless Kit is small flat screw with cross hole.

How to order
1 40 Item No. Quantity (pcs)
0]



SF
2
=+
o
=
o
[Y
=
Q
Ly
=
Q
E
(]

Slip-Joint Hinge Irregular Shape Slip-Joint Hinge
Al a %This drawing is R

¢(C)o(D)Depth of Spot |\, ®(c) ¢ (d)Depth of Spot spec. L spec is
Facing (E) for 4-M(B) Ste st Facing (e) for 2-M(b) a2. a., a _ a3 symmetry to this.
1]
BN EINAlL Py E
. J 1T
<, Ll
il el <
® 0
- e e Ll

| — ¢11¢6.5 Depth of Spot
28 105g (3020)
9g (SS) R75 114g (4020)

8
R7.5
114g (S) 120g (4520)
Electroless nickel plating Actrylic Paint 132g (L40) 123g (4030) 5
HMEnvironment RoHS Compliant Green Procurement 144g (L45) = 129g (4530) =

EMMaterial Aluminum Die-Casting (ADC12)

—F

(1.5)>H—

(1.5)=t—

80
80

Facing 4.4 for 2-M6

Item No. inati
Name Single Item {Bolt - Nut Kit_(Stainiess) J A Al A2 | (B) | (C) | (D) | (B) Indlcatglr\)‘r/\;fe‘t:rg)a Load
Electroless Nickel Plating ~ Acrylic Paint [Electroless Nickel Plating Acrylic Paint

Slip-Joint Hinge SS-L | SFA-2N2 | SFA-2N2P | (SFK-2N2S) | (SFK-2N2P) 26 41 75 5 55 | 95 | 44 73
Slip-Joint Hinge SS-R | SFA-2N1 | SFA-2N1P | (SFK-2N1S) | (SFK-2N1P) ) ) ) )
Slip-Joint Hinge S-L SFA-2N4 | SFA-2N4P | (SFK-2N4S) | (SFK-2N4P) 31 55 12
Slip-Joint Hinge S-R SFA-2N3 | SFA-2N3P | (SFK-2N3S) | (SFK-2N3P)
Slip-Joint Hinge L40-L | SFA-2N6 | SFA-2N6P | (SFK-2N6S) | (SFK-2N6P)

41 73 16 6 6.5 11 4.4 98

Slip-Joint Hinge L40-R| SFA-2N5 | SFA-2N5P | (SFK-2N5S) | (SFK-2N5P)
Slip-Joint Hinge L45-L | SFA-2N8 | SFA-2N8P | [(SFK-2N8S) (SFK-2N8P)
Slip-Joint Hinge L45-R| SFA-2N7 | SFA-2N7P | [(SFK-2N7S) (SFK-2N7P)

(Slip-Joint Hinge SS-L(R)Kit) (Slip-Joint Hinge S-L(R)Kit) (Slip-Joint Hinge L40-L(R)Kit) (Slip-Joint Hinge L45-L(R)Kit)
kit @Slip-Joint Hinge SS-L(R)X1 @Slip-Joint Hinge S-L(R)X1 @Slip-Joint Hinge L40-L(R)X1 @Slip-Joint Hinge L45-L(R)X1
Contents @Hexagon Socket Low Head Bolt(M5x8)Stainlessx4  @Hexagon Socket Low Head Bolt(MBX12)Stainlessx4 @Hexagon Socket Low Head Bolt(M6X15)Stainlessx4 @Hexagon Socket Low Head Bolt(MBX15)Stainlessx4
@ST Nut SS(M5)x4 @ST Nut S(MB)x4 @ST Nut L(MB)x4 @ST Nut L(MB)x4
Item No. —
Name Single Item (Bolt - Nut Kit_(Stainless) ) a|la |al|a2|a3|®] @] ()] (e |ndcatonoftheload
Electroless Nickel Platin Acrylic Paint [lectroless Nickel Plating]| Acrylic Paint (N/PIECE)
Slip-Joint Hinge 3020-L | SFA-2D2 | SFA-2D2P | (SFK-2D2S) (SFK-2D2P) 155 | 48 12
Slip-Joint Hinge 3020-R| SFA-2D1 | SFA-2D1P | (SFK-2D1S) (SFK-2D1P) ’
ip-Joint Hil - FA-2D4 FA-2D4P FK-2D4 FK-2D4P
Slip-Joint Hinge 40201 | S S s $) |5 > 113 | 205| 57 | 75| 16 | 5 | 55|95 41 73
Slip-Joint Hinge 4020-R | SFA-2D3 | SFA-2D3P | (SFK-2D3S) (SFK-2D3P)
Slip-Joint Hinge 4520-L | SFA-2D6 | SFA-2D6P | (SFK-2D6S) (SFK-2D6P) 23 | g2 185
Slip-Joint Hinge 4520-R | SFA-2D5 | SFA-2D5P | (SFK-2D5S) | (SFK-2D5P) '
Slip-Joint Hinge 4030-L | SFA-2E2 | SFA-2E2P | (SFK-2E2S) (SFK-2E2P) 205 | 64 16
Slip-Joint Hinge 4030-R| SFA-2E1 | SFA-2E1P | (SFK-2E1S) (SFK-2E1P) 155 ' 12 6 |65 11 | 44 08
Slip-Jaint Hinge 4530-L | SFA-2E4 | SFA-2E4P | (SFK-2E4S) | (SFK-2E4P) ’ 2 | 69 185 ’ )
Slip-Joint Hinge 4530-R | SFA-2E3 | SFA-2E3P | (SFK-2E3S) | (SFK-2E3P) '

(Slip-Joint Hinge 3020-L(R)Kit) (Slip-Joint Hinge 4020-L(R)Kit) (Slip-Joint Hinge 4520-L(R)Kit) (Slip-Joint Hinge 4030-L(R)Kit) (Slip-Joint Hinge 4530-L(R)Kit)
@Slip-Joint Hinge 3020-L(R)xX1 @Slip-Joint Hinge 4020-L(R)xX1 @Slip-Joint Hinge 4520-L(R)X1 @Slip-Joint Hinge 4030-L(R)X1 @Slip-Joint Hinge 4530-L(R)X1
Kit ~ @Hexagan Socket Low Head Balt(M5x8)Stainlessx  @Hexagon Socket Low Head Bolt(MEXB)Stainlessx2  @Hexagon Socket Low Head Bolt(M5X8)Stainlessx  @Hexagon Socket Low Head Bolt(MEX12)Stainlessx2  @Hexagon Sacket Low Head Bolt(M6X12)Stainlessx@
Contents @Hexagon Socket Low Head Bolt(MBX12)Stainless2 @Hexagan Socket Low Head Balt(M6x15)Stainlessx2 @Hexagon Socket Low Head Bolt(MBX15)Stainless*2  @Hexagan Socket Low Head Balt(MBX15)Stainlessx2 @Hexagon Socket Low Head Bolt(MBX15)Stainlessx2
@ST Nut SS(M5)x2 @ST Nut SS(M5)x2 @ST Nut SS(M5)x2 @ST Nut S(MB)x2 @ST Nut S(MB)x2
@ST Nut S(MB)x2 @ST Nut L(MB)x2 @ST Nut L(MB)x2 @ST Nut L(MB)x2 @ST Nut L(MB)x2

<3 @%
>
28
< . '
EMMaterial/Technical Data
Material Stainless
Weight  13g(SS)
o 168(S)
- 20g(L40)
22g(L45)
% e Environment RoHS Compliant
*Use it when the door is resin panel. e < (EIEED FEBUTEMERE
Name Item No. A B L C
Plate Nut for SS Hinge SFB-303 75 25 40 M5
Plate Nut for S Hinge SFB-304 ’ 30 45
Plate Nut for L40 Hinge SFB-305 9 37 55 M6
Plate Nut for L45 Hinge SFB-306 10 43 63

141



SF
()
-
[
3
o
[
=
o
o
=
Q
3
(]

Door-Panel Parts Freec Hinge

L Counterbore for 4M(C) A Al Y R 2 A A A Counterbore for 4M(C)
E * - - T s.g
7 \‘ ! \‘ [ &5
o | | | 3 - | | | @
A ] j = 7
5 8 N \‘ ‘\ \‘ ‘\ N 8z
o I %% < < I
I g © Nl .
ILEAN N2l
35.2g (SS) N ! ! o
479g (8)  ° Jiﬁ Ales B
71.2g (L40) R5.5 R5.5
Material/Aluminium Alloy Alumite Treatment 71.2 (L45) { | @N\L | | b -
MEnvironment RoHS Compliant Green Procurement J\ ry?‘/ £ y?‘” ¢‘ i T i T
Item No. Indication of the Load
Name A B | Al | A2 | B1 |B2|B3|B4|(C) t (N/Piece)
Single Item Bolt - Nut Kit Bolt-Nut(Stainless)Kit
Free Hinge SS-L SFA-21L (SFK-21L) (SFK-21LS)
- 16 | 20 | 48 | 8 7 35| 5 4 49
Free Hinge SS-R SFA-21R (SFK-21R) (SFK-21RS) 75| 16
Free Hinge S-L SFA22L | (SFK-22L) (SFK-22LS) '
21 | 25 |62 | 10 | 81 40
Free Hinge S-R SFA-22R (SFK-22R) (SFK-22RS)
Free Hinge L40(M6)-L | SFA-23L (SFK-23L) (SFK-23LS)
- 26 14 6 |45 73
Free Hinge L40(MB)-R | SFA-23R (SFK-23R) (SFK-23RS)
- 30 | 80 101 | 10 | 21 | 50
Free Hinge L45(MB)-L | SFA-24L (SFK-24L) (SFK-24LS) 285 "
Free Hinge L45(ME)-R | SFA-24R | (SFK-24R) (SFK-24RS) ' '
{Free Hinge SS-L(R)Kit) {Free Hinge S-L(R)Kit) {Free Hinge L40(MB)-L(R)Kit) (Free Hinge L45(MB)-L(R)Kit)

@Free Hinge S-L(R)X1 @Free Hinge L40(M6B)-L(R)X1 @Free Hinge L45(M6B)-L(R)X1
@Cross-Recessed Small Flat Screw(MBX12)x4  @Cross-Recessed Small Flat Screw(MBX15)x4  @Cross-Recessed Small Flat Screw(MBX15)x4
@71 Nut S(MB)x4 @T Nut L(MB)X4 @T Nut L(MB)X4

kit @Free Hinge SS-L(R)X1
Contents @Cross-Recessed Small Flat Screw(M5X8)x4
@T Nut SS(M5)x4

3% Bolt and Nut for [Bolt-Nut (Stainless) Kit] is stainless.

L Couterhore for 244 () Al R Al Counterbore for 2-M(C)
o A2 A A A3 a3 A A AD
N - — T ~
T <
@ i 3 _ H™
el | 1% | =] e
= 2 Il il 3 =
] i
@ I 8 8 Il &
(1117 Al
41.7g (3020 0 = 2 i 8
53:43 (4020) 8 gu(ﬂ Counterbore for 2-M6 | Counterbore for 2-M6 gu(ﬁ
53.4g (4520)
59.6g (4030) R5.5 9 ° R5.5
59.6¢ (4530) | YN ~ ~, P!
MEnvironment  RoHS Compliant Green Procurement ¥ SR =T
Item No. Indication of the Load
Name A|A|B|B |Al|A2|A3|B1|B2|B3|B4|B5|(C)]| t e the
Single Item| Bolt-Nut Kit | Bolt-Nut(Stainless)Kit
Free Hinge 3020-L | SFA-25L | (SFK-25L) | (SFK-25LS)
: 21 25 | 55 10 |76 | 75| 16 40
Free Hinge 3020-R | SFA-25R | (SFK-25R) | (SFK-25RS)
Free Hinge 4020-L | SFA-26L | (SFK-26L) | (SFK-26LS)
- 16 | 26 | 20 8 14 35 5 4 49
Free Hinge 4020-R | SFA-26R | (SFK-26R) | (SFK-26RS) o4 86
Free Hinge 4520-L | SFA-27L | (SFK-27L) | (SFK-27LS) 5 "5
Free Hinge 4520-R | SFA-27R | (SFK-27R) | (SFK-27RS) ' © ' o | 185 "
Free Hinge 4030-L | SFA-28L | (SFK-28L) | (SFK-28LS) » i '
Free Hinge 4030-R | SFA-28R | (SFK-28R) | (SFK-28RS)
- 21 —— 25 71 10 —— 91 40 6 | 45 73
Free Hinge 4530-L | SFA-29L | (SFK-29L) | (SFK-29LS) 5
5 15
Free Hinge 4530-R | SFA-29R | (SFK-29R) | (SFK-29RS)

{Free Hinge 3020-L(R)Kit) {Free Hinge 4020-L (R)Kit) {Free Hinge 4520-L (R)Kit) {Free Hinge 4030-L(R)Kit) {Free Hinge 4530-L (R)Kit)
@Free Hinge 3020-L(R)X1 @Free Hinge 4020-L(R)X1 @Free Hinge 4520-L(R)X1 @Free Hinge 4030-L(R)X1 @Free Hinge 4530-L(R)X1
kit @Cross-Recessed Small Flat Screw(MBX12)x2  @Cross-Recessed Small Flat Screw(M6X15)x2  @Cross-Recessed Small Flat Screw(M6x15)x2 @Cross-Recessed Small Flat Screw(M6X15)x2 @Cross-Recessed Small Flat Screw(MBX15)x2
Contents @ Cross-Recessed Small Flat Screw(M5x8)x2  @Cross-Recessed Small Flat Screw(M5x8)x2  @Cross-Recessed Small Flat Screw(M5x8)x2 @Cross-Recessed Small Flat Screw(MBX12)x2 @Cross-Recessed Small Flat Screw(MBX12)x2
@T Nut S(MB)x2 @T Nut L(MB)x2 @T Nut L(MB)x2 @T Nut L(MB)x2 @T Nut L(MB)x2
@T Nut SS(MB)x2 @T Nut SS(MB)x2 @T Nut SS(MB)x2 @71 Nut S(MB)x2 @T Nut S(MB)X2

% Bolt and Nut for [Bolt-Nut (Stainless) Kit] is stainless.

How to order
Item No.

142

Quantity (pcs)



SF
()
I~
o
=]
Qo
o
=
o
o
=
(Y
3
o

Choice of Fixed Hinge

In case door-side frame is SF30 series and the body frame is SF40 or 45 series. In case frames at door and body are the same series.

z Fixed Hinge Name Item No.
SF-20 series Fixed Hinge SS SFA-211
Y Fixed Hinge Name Item No. SF-30 series Fixed Hinge S SFA-221
SF-40 series Fixed Hinge L40-S SFA-281 SF-40 series Fixed Hinge L40 (M6) SFA-231
SF-45 series Fixed Hinge L45-S SFA-291 SF-45 series Fixed Hinge L45 (M6) SFA-241
Choice of Free Hinge and Slip-Joint Hinge
In case frames at door and body are the same series. (This drawing is L type) In case frames
at door and body
are different
(This drawing
is L type)
Frame B
z
=N \E
H‘— I Frame A
i (lINz .
In case frame A is SF-20 series.
Frame B Hinge Name Item No.
. Free Hinge 3020-L(R) SFA-25L (SFA-25R)
SF-30 series [ ot Hinge 3020-L(R)| SFA-2D2(SFA-2D1)
z Hinge Name Item No. . Free Hinge 4020-L(R) SFA-26L (SFA-26R)
SF-40 series | - -
SF-20 seri Free Hinge SS-L(R) SFA-21L (SFA-21R) Slip-Joint Hinge 4020-L(R)| SFA-2D4(SFA-2D3)
-20 series -
Slip-Joint Hinge SS-L(R) | SFA-2N2(SFA-2N1) SF-45 series | oc Hinge 4520'2"(R)( ) SFA-27L (SFA-27R)
o0 o Froe Hinge SL(R) SFA-22L (SFA-22R) .Sllp-Jomt H|r'1ge 4520-L(R)| SFA-2D6 (SFA-2D5)
Slip-Joint Hinge S-L(R) | SFA-2N4(SFA-2N3) In Cise f'a’E';e Als SF'S&_S‘e"eE —
- rame inge Name em No.
Free Hinge L40(M6)-L(R SFA-23L (SFA-23R -
SF-40 series = g - (M6) (( )) ( ) SF-40 series Free Hinge 4030-L(R) SFA-28L (SFA-28R)
Slip-Joint H'nge(L“r(;-'- (R) SFA-2N6 (SFA-2N5) Slip-Joint Hinge 4030-L(R)| SFA-2E2 (SFA-2E1)
Free Hinge L45(M6)-L(R SFA-24L (SFA-24R i |
SF-45 series 1o Hinge L ( ) SF.45 series |_Free Hinge 4530-L(R) | SFA-29L (SFA-29R)
Slip-Joint Hinge L45-L(R) | SFA-2N8(SFA-2N7) Slip-Joint Hinge 4530-L(R)| SFA-2E4(SFA-2E3)

143



Door+Panel Parts Free Size Hinge

2 O
® ]

I ‘.j"

EMaterial  Stainless SUS304
HEWeight 54.9¢g
MEnvironment RoHS Compliant Green Procurement

SF
(2}
-
o
3
Q
Y
=
Q
m
=
Y
3
(]

73

70

20 4-M3 Flat 20 t=2

S
Maximum Attaching Pitch)

Name Stainless Door Lock
Item No. SFA-3A1
Example of mounting Small Flat Screw with Cross Hole(M3)2 pcs

Length : See Table

Small Flat Screw with Cross Hole(M3)2 pcs
Length : See Table

Frame | Screw Length(m)

[CFor 20 6

[JJFor 30 8

T Nut (M3)

2 piece

T Nut % (M3)
2 piece *Please select by the Frame Shape.

It's usable with Lock Nut as well.

How to order
1 44 Item No. Quantity (pcs)
0]



SF
(7))
-
[
=
o
Y
=
o
m
=
Y
3
o

Pull

Pull G Type 40 Inner Pull
2 m 100
S| o 100 [——w
S =} 50 ‘ 91 |
Weight/azg ~ (#95) N 110 | 20 ( W ﬁf————a}
Material/AB063  Alumite Treatment -—(119:5) © i ! !
. @ ‘ 2-06 ‘
Setting Plate for Pull G ;5 119 o )
5 o 911 110 119) 68 86 64 Panel Drilling Dimension
5|
I "l ‘ ‘ oy
Hil
\4-R5
ﬁl 3\ N
o«
4 o U N,
HWeight Refer Drawing LCountervore for 44 Weight/20g = Weight/58g
MEnvironment % RoHS Compliant *#Pull G can be attachedViaterial/A6063  Alumite Treatment Material/SUS304 #With 2 M4 Nuts
Green Procurement from the surface.
Name Pull G Type Setting Plate for Pull G Inner Pull
Item No. *SFA-305 *SFA-306 *SFA-307
Pull A Type Pull B Type g Pull C Type 115
= ‘ ! ]
] 5 Ho-——©F : EOX)|
Spdt Facing for 2-M6 ‘ Countersink for 2:M5
| |
1l =
or iy ~w %
- ! 100 J
110 2-M6 Depth 8 $5.6 $15]
Material/Polycarbonate Black Weight/19g Material/Glass Fiber Reinforced Nylon Black Weight/30g Material/ZDC Satelite Chromeplating Weight/101g %’ g
Attaching Bolt for M6 Flat-Head Screw for M5 =
mo
=
T @
Name Pull A Type Pull B Type Pull C Type %
3
=
Item No. ¥SFA-301 ¥SFA-302 SFA-304
Pull Rail With Pull Rail Cap Pull D Type
With Pull Rail Cap A With Pull Rail Cap B
With Pull Rail Cap A and B (1piece each)
® ~
2 o] B g 145 :
N o) %]
i\ © o
20 20
o| o, with 2 T Nuts SS(M5)
Unit Mass/0.73kg/m mﬁ ﬁ .
Material/Aluminum Extrusion Weight/112g
Treatment/Alumite Treatment Usable Nut/SS Size (P30) Material/Polyamide (Light Gray) Weight/2g *With 2 Slip Stoppers
Name Gl Reil(¢=4000) Pull Rail( £ =50~4000) Pull Rail Cap A Pull Rail Cap B Pull D Type
@ Handle Rail Cut Length 4M: £ =(4030mm)
It's material to be cut by customer  tem No. *SFF-T05 *SFF-T02 ¥SFF-T04 *SFA-390 *SFA-391 *SFK-701
Effective use area £ =4000mm
How to install Pull G How to install Pull Rail
. (Pull Rail) {Indication of Panel
\ N T Nut SS(P30) Processing Dimension)
' | Anti-Skid Cap SS(P30)
' 20
o ° O
/ ° Af «l &
—,
@ You can open and close the doors in safety, ®lt's effective to reinforce or to prevent flexure,
if you install them to double door. when a door is constructed only by Resin Plate.

145



SF
(2]
P
Q
3
o
Y
=
o
o
=
L
3
(1]

146

SF Door+Panel Parts \Magnet Catch

Magnet Catch N(Adsorbability:29.4N)

Name Magnet Catch N

Item No. SFA-40A

EMaterial/Technical Data
Magnet Catch Housing
Material Stainless
Dark Brown Painting
Weight 35g(Magnet Catch N)

Magnet MG Bracket

)
/5
€ Ferrite  Aluminum

"
Countersink

for M3

HIn case of Door Frame [ ]120mm (Include Panel Frame)

Door Frame []20mm+ Body Frame []20mm
{MG Bracket SS Kit)

@6@; f
KFJJ;

gl 8
5%@ | 5
N
20 27 =
of
Weight 91.7g/set
Kit Contents

(MMagnet Catch NXx1
@MG Bracket SSx1

N i ®Truss Screw(M4x5)x2

ame MG Bracket S8 Kit (@Flat-Head Screw(M3x6)X1
®T Nut SS M3x1

Item No. SFK-4AA ®T Nut SS M5x2
(DHexagon Socket Bolt (M5x26)x2

Door Frame []20mm+ Body Frame []30mm
(MG Bracket S Kit)

SF-30-30

SF-20-20 Frame
or
Panel Frame SS

Weight 119.7g/set

Kit Contents

(MMagnet Catch NX1
@MG Bracket Sx1

i @Truss Screw(M4x5)x2
Name MG Bracket S Kit (@Flat-Head Screw(M3X6)X1
®T Nut SS M3x1
Item No. SFK-4AB ®T Nut S M5x2
(DHexagon Socket Bolt (M5x22)x2

Door Frame [ 120mm+ Body Frame [ 140mm+45mm

(MG Bracket L Kit)
H
SF-40-40

(SF-45-45)

SF-40-45 Series

SF-20+20 Frame

or
Panel Frame SS

Weight

968g/set

Kit Contents

(MMagnet Catch NXx1
@MG Bracket LX1

i @Truss Screw (M4x5)x2
Name MG Bracket L Kit (@Flat-Head Screw(M3%6)X1
®T Nut SS M3x1
Item No. SFK-4AC ®T Nut L M5x2
(DHexagon Socket Bolt (M5X15)x2

Door Frame [120mm- Body Frame [80mm (2 lines of grooves) +(190mm

(MG Bracket L80-90 Kit)

SF-SO-BO)N:*:B_L

(SF-90-90 @ Nbﬂ%

i
(am
—

SF-20-20 Frame
or

4

Panel Frame \ﬁ/—,%—\
-80+80(SF-80-160) ‘ 80 ‘
SF-90-90(SF-00+180) | (90) |
Weight 105g/set
Kit Contents
(MMagnet Catch Nx1
%MG Bracket IEBO~90>><1
N . i 3Truss Screw(M4x5)x2
ame MG Bracket L8O-90 Kit @Flat-Head Screw(M3x6)X 1
®T Nut SS M3x1
Item No. SFK-4AK ®T Nut L MB5x2
(DHexagon Socket Bolt (M5X14)x2

HIn case of Door Frame [ 130mm

Door Frame [ 130mm+ Body Frame []30mm
{MG Bracket S-S Kit)

Kit Contents

(®Magnet Catch NX1
@MG Bracket S-SX1

_ i @Truss Screw(M4Xx5)x2
Name MG Bracket S-S Ki @Flat-Head Screw(M3x8)x1
®T Nut S M3x1
Item No. SFK-4AH ®T Nut S M5x2
(DHexagon Socket Bolt (M5x10)x2

Door Frame [ ]30mm+ Body Frame [ ]40mm+J45mm
(MG Bracket L-S Kit)

17
(13)

(45)

Kit Contents

(MMagnet Catch NX1
@MG Bracket L-Sx1

Weight 101.9g/set

S Ki @Truss Screw (M4x5)x2
Name MG Bracket L-S Kit @Flat-Head Screw(M3x8)X 1
®T Nut S M3x1
Item No. SFK-4AE ®T Nut L MBx2
(DHexagon Socket Bolt(M5X12)x2

How to order

ltem No. Quantity (pcs)




SF
(]
v
Q
3
Q
Y
=
o
m
=
Y
E
(]

Door Frame []30mm+ Body Frame []60mm (2 lines of grooves)
(MG Bracket S60-S Kit)

SF-60-60-2S
(SF-60-90)
(SF-60+120)

Weight 63g/set

Kit Contents
- i (®Magnet Catch NX1
Name MG Bracket S60-S Kit @Truss Screw(M4x10)x2
@Flat-Head Screw(M3x8)X1
Item No. SFK-4AN @T Nut S M3x1

®T Nut 8 M4ax2

Door Frame [J30mm- Body Frame [180mm (2 lines of grooves)-[190mm
(MG Bracket L80-90-S Kit)

SF-80-80(SF-80-160)
SF-90-90(SF-90-180)

+

™
L 80 J 3
(90) (8 on the nsice)

Weight 111g/set

Kit Contents

(®OMagnet Catch Nx1
@MG Bracket L80-90X1
®Truss Screw (M4x5)x2

Name MG Bracket L80-90-S Kit @Flat-Head Sorew (Max)]
®T Nut S M3x1
Item No. SFK-4AL ®T Nut L M5x2

(DHexagon Socket Bolt (MBX14)x2

Min case of Door Frame [ 140mm

Door Frame []40mm- Body Frame []40mm
(MG Bracket L-L40 Kit)

(Body Frame [J40mm)

Weight 97g/set

Kit Contents
(MMagnet Catch Nx1
@MG BracketLx1
®Truss Screw(M4x5)x2

Name MG Bracket L-L40 Kit @Flat-Head Screw(M3x10)x1
®Accessory Nut L M3Xx1
Item No. SFK-4AM ®T Nut L M5x2

(@Hexagon Socket Bolt (M5X15)x2

{Body Frame [(145mm)

HBBracket for Magnet Catch Kit (For Frame Door)

(Square Bracket)

2-M4 Depth 7

{L-Shape Bracket)

{L-Shape Bracket) Material : A6063 Alumite Treatment

{Square Bracket) Material : A6063 Alumite Treatment
Item No. Kit Name Bracket Name A B C D Item No. Kit Name Bracket Name A|B|C|DJ|H
SFK-4AA MG Bracket SS Kit MG Bracket SS 20 | 15 | 15 5 SFK-4AH MG Bracket S-S Kit MG Bracket S-S 25 |15|25|15| 3
SFK-4AB MG Bracket S Kit MG Bracket S 15 8 25 9 SFK-4AE MG Bracket L-S Kit MG Bracket L-S 35 [225|/ 13 |65[25
(Unit : mm) (Unit : mm)
{MG Bracket L80-90) (MG Bracket L)
2-Long Drill

Material : A6O63 Alumite Treatment

Material : ABO63 Alumite Treatment

147



Door<Panel Parts \Magnet Catch

SF
2
=+
Q
=
o
(Y
=
o
m
=
Q
3
(]

Magnet Catch J(For Resin Panel Door)

Magnet Catch J(Adsorbability:14.7N)

Convex Part: Silver Name(Single Item) Magnet Catch J

Item SFA-40B

MG20P Bracket Kit

SF20 Series

Resin panel

% g MKit Contents MMaterial/Technical Data

E ®Magnet Catch JX1 Material Stainless (Magnet Catch Housing/MP20P Bracket)
m 'El OMG20P Bracketx1 Ferrite(Magnet)

2 o Name (Bolt and Nut Kit) MG20P Bracket Kit @Truss Screw (M4x5)x2 J

53 ®Flat-Head Screw(M3x10)x1 Dark Brown Painting

E @Hexagon Socket Bolt (M4x8)x2 Weight 38g(Magnet Catch J)

8 Item No. SFK-4AD :?aﬁu’ﬁgts(m%ﬂg 24g(MG20P Bracket)

Use Example of Magnet Catch Installation

{Dimension when using Resin Door)

MG20P Bracket Kit Magnet Catch J can be fixed to the frame directly in case of SF30-40-45 series.
5 5
5 Flat-Head Screw (M3x10) Flat-Head Screw(M3x10)

Cap Nut(M3
Cap NuL(M3) Flat-Head Screw(M3x10) Cap Nut(M3) p Nut(M3) Truss Sarew
pug)Z (M4x12)x2

3 X X
Truss Screw(MAX1Q)x2 < Truss Screw (M4x12)x2 3$ AT

~Magnet Catch J 0O

Magnet Catch J fj @ ! Magnet Catch J

T Nut L
(M4) x2

T Nut S(M4)x2 T Nut L(M4)x2

MG20P Bracket

2

*Please order by single item regarding screws for Magnet Catch in case of SF30-40-45.

Parts
How to order

1 48 ltem No. Quantity (pcs)
SFA-40B [ ]



SF
(2}
I~
[
>
o
[
=
o
T
=
[
3
(]

Magnet Catch G (Adsorbability : 10N)

Name(Single Item) Magnet Catch G

Item No. SFA-498
Magnet Catch G-SS Kit Magnet Catch G-S/L Kit(Common)
Magnet Catch G Magnet Catch G
33 2-¢3%7-Long Drill
2:03X7-Long Dril Plate to attach Magnet Catch G 20 33 Plate to attach Magnet Catch G 30
i -4} <= RS A= 70
i B
© ®+4— : Za 2-M3 2:¢6.6x11-Long dill
& ouia 20 7|

33
70

N2-M3 ot PN X .
r—)tj_\ s 8 gﬁ: = n 4/4,\* 4 |y 6.;

20
40
24
|
T T

(vl
208 2:6 Drilling <@ T Cowersink for M3 185 = MMaterial/Technical Data
‘ 6. [ 228 L L Material ABS (Magnet Catch)
T = 9.5 o H— — SPCC Uni-Chrome
ﬁ‘ = 16 4 @é** - oS (Door Side-Setting Plate)
Countersink for M3, 4 & t=3.2 e Weight 14g(Magnet Catch G)
Atraching Frame SF20 Series SF30 Series SF40-45 Series
Name(Bolt and Nut Kit) Magnet Catch G-SS Kit Magnet Catch G-S Kit Magnet Catch G-L Kit
Item No. SFK-4X4 SFK-4X5 SFK-4X6
{Magnet Catch G-SS Kit) {Magnet Catch G-S Kit) {Magnet Catch G-L Kit)
=~ ®Magnet Catch GX1 @®Magnet Catch GX1 @®Magnet Catch GX1
~  @Plate to attach Magnet Catch G 20x1 @®Plate to attach Magnet Catch G 30X1 @Plate to attach Magnet Catch G 30X1
S eCap Nut(M3)x2 @Cap Nut(M3)x2 @Cap Nut(M3)x2
% @Truss Screw(M3X6)x2 @Truss Screw(M3X6)x2 @Truss Screw(M3X6)x2
3 @Hexagon Socket Bolt (M5Ex8)x2 @Hexagon Socket Bolt (MBX10)x2 @Hexagon Socket Bolt (MBX15)x2
& @T Nut SS(MB)x2 @T Nut S(MB)*x2 @T Nut L(MB)*x2
@Flat-Head Screw (M3x8)x2 @Flat-Head Screw(M3x10)x2 @Flat-Head Screw (M3x10)x2
Magnet Catch CR-N (Adsorbability:23N) CR Bracket CR Plate-N Magnet Catch CR-J Example of installation
ean SPeC|  \agnet Catch CR-J (Adsorbability:13N) (CR Plate-J) W
’ . % ot s i
‘ 5 ] N 7 Vg G
% & - Truss Sorew (M3x5)x2.
= £ "IN 2 g
2 v 11 g
Q 9
{Attaching Pitch)38 (3 a2 @ T Nut S(M4)x2
{Long drill details drawing) o] 0
Inside parenthesis is for MG CR-J 3% Inside parenthesis is for CR Plate-J s

Installing Example of Magnet Catch Cr-N Kit

*In case of using S Kit In case of S-S Kit Name | 2€net Catch CR Magnet Gatch CR-N CR Plate-N
R Magnet Plte Sares) N J SKit S-SKit LKit L-SKit 40140kt L45LKit (CR Plate-J)
Magnet Catch CRN
i ltemNo. | SFA-44A SFA-44B  SFK-4EA SFK-4EC SFK-4EB SFK-4ED SFK-4EE SFK-4EF  SFA-4EA(sFaes)
s
F T \stot Assist 855
23
HKit contents
S Kit S-S Kit L Kit L-S Kit L40-L40 Kit L45-L Kit BMaterial/Technical Data
Door Rim U20mm £30mm J20mm £30mm 040mm £U40mm Materill  ABO63(CR Plate-CR Bracket)
Body Frame 030mm 030mm 040-045mm 040-045mm £40mm 040-045mm Resin(Housing)
@Magnet Catch CR-NX1 |@Magnet Catch CR-NX1 |@Magnet Catch CR-NX1 |@Magnet Catch CR-Nx1 |@Magnet Catch CR-NX1 |@Magnet Catch CR-NX1 Neodymium (Magnet)
@OCR Plate-NX1 @T Slot Assist B55X1  |@CR Plate-Nx1 @CR Plate-Nx1 @CR Bracketx1 |@TSlot Assist B55x1 @CR Magnet Platex] | @CR Plate-Nx1 @CR Bracketx1 P o P
A :CCR E;racketéw s :ER I\/RIagnet SP\atFest :EJR BRracketX'\ s :CCR V\Qagnet;\atFexé oarns?-gaé:essej SmaQH Fiat Screw :CR I\gagnet SP\atFeXWS Stainless (Fixing Disc:CR Magnet Plate)
I ross-Recessed Small Flat Screw | @Cross-Recessed Small Flat Screw | @Cross-Recessed Small Flat Screw | @Cross-Recessed Small Flat Screw 13X10(Stainless): Cross-Recessed Small Flat Screw i -] i
M M tainless) M M3x8(Stainless) x2 @Accessory Nut L-M3x2 | M3x10(Stainless)x2 Weight 16,72 Magnet Catch CRN (.Smgle ttem))
Contents | @ST Nut SS(M3)x2 | @ST Nut S(M3)x2 @ST Nut SS(M3)x2  |@ST Nut S(M3)x2 @Tiuss Soren M4x 10(Stainess) 2 | @Accessory Nut L-M3x2 89g(Magnet Catch CR-J (Single Item))
@Truss Screw M4xB(Stainless) x4 | @Truss Screw MAX10(Stainless)x4 | @Truss Screw @Truss Screw )x4 | @ST Nut S(M4)x2 @Truss Screw M4x6 (Stainless) x4 Environment RoHS Compliant
@Truss Screw M4x10(Stainless)x2 | @ST Nut S(M4)x4 @Truss Screw M4X12(Stainless)x2 | @Truss Screw MAxX12(Stainless)x2 | @Truss Screw M4X12(¢ 2 | @Truss Screw M4x12(Stainless)x2
@ST Nut S(M4)x2 @ST Nut L(M4)x2 @ST Nut L(M4)x2 @ST Nut L(M4)x2 @ST Nut L(M4)x2

149



Door+Panel Parts Magnet Catch with Limit Switch

SF
»
-
Q
=
[=3
Y
=
Q
Ly
=
Y
3
(]

Magnet Catch with Limit Switch (Adsorbability:29.4N) Swich Spec: ON when door i closed. 1 O—>—o0 2

. Rated Voltage V] |Resistant Load[A] | Lumped Load[A] |Induction Load[A]
Name | Magnet Catch with Limit Switch AC125 5 15
AC250 5 — 3
DC30 5 — 1.5
Item No. SFA-42A
Puropose Example
Name Door Component

SF-20-20 Series
SF-30-30 Series
SF-40-45 Series
SF-30-30 Series

ML Bracket SS Kit
ML Bracket S Kit
ML Bracket L Kit
ML Bracket S-S Kit

SF-20-20 or
Panel Frame SS

HEMaterial/Technical Data

Material PBT (Case) MLBracket LS Kt | o 200 | "5F40-45 Series
Ferrite (Magnet) SF-20-20 Series
Weight 52.5g ML Plate Resin Panel | SF-30-30 Series

SF-40-45 Series
3*Bolt and Nut isn't included to ML Plate.

(Magnet Catch with Limit Switch)

HMIn case of Door Frame [ /20mm (Include Panel Frame)

Door Frame []20mm+ Body Frame [130mm __5
(ML Bracket S Kit)

Door Frame []20mm- Body Frame [120mm
(ML Bracket SS Kit)

®@
®® D ®
o6 0) 9 @6 /b
a — 19 ] % @
| j M o
oo SIS § e gl N e
SF-20-20 Frame L™ N SF-20-20 Frame =~k -

- Ot @ P
o 2 O N6 or & P ®
Panel Frame @ Panel Frame o o ™o

20 (40 N2 Z
30 29.8
Weight 181g/set Kit Contents Weight 221g/set : ‘
(Magnet Catch with Limit Switchx] Kit Contents
(@ML Bracket SSX1 (MMagnet Catch with Limit Switchx1
e e
at-Head Screw(M3x6)xX at-Head Screw (M3X6)x
Name i ®For Flat Washer M4x2 Name i ®For Flat Washer M4x2
ML Bracket SS Kit %T UL GS. M3%2 ML Bracket S Kit ?T NULSS MaXs @T(Nut 3 M)5><2
T Nut SS M5x2 ®Hexagon Socket Bolt (M4Xx18)x2
Item No. SFK-4CA (®Hexagon Socket Bolt (M4x18)x2 Item No. SFK-4CB @Hexagon Socket Bolt (M5x15)x2
(@Hexagon Socket Bolt (M5X15)x4 (@Hexagon Socket Bolt (M5x18)x2

Door Frame [120mm- Body Frame [[]80mm (2 lines of grooves)-C90mm
(ML Bracket L80-90 Kit)

®® QIONEIN

Door Frame [ |20mm+ Body Frame [ 140mm-C45mm 5
(ML Bracket L Kit)

a () /@@/ /@
@6 "
SeETT. o g (@-8 .
ok O o i S mbl
F-20-20 Fi i O SFO080(SF80160) R—N@%m
20- < 8080 (SF-80- S
gr 020 frame (& @ SF-90°90(SF-90-180) —
Panel Frame G 74\ @ SF-2020 or w
@ O O N~ @ Panel Frame \
k40 _Li98 &5
Weight 217 5g/set 4s) - s) SF-80-80(SF-80-160)
eigl 5g/se ; £.90-90(SF-90+180) )
Kit Contents SEO090ISF 90160 Kit Contents

Weight 125g/set (OMagnet Catch with Limit Switch]

@ML Bracket L80-90x 1
@T Nut SS M3x2

(MMagnet Catch with Limit Switchx1
®@ML Bracket X1 @®ML Platex1

%Flat-Head Screw (M3x6)x2 2

N i SFor Flat Washer M4x2 N . i DT Nut L MBx2

ame ML Bracket L Kit ?T NUt 88 MoxD T N(Ut L M5>><2 ame ML Bracket L80-90 Kit %For Flat Washer( M4x)2
(®Hexagon Socket Bolt (M4x18)x2 ©Hexagon Socket Bolt (M4x18)x2

Item No. SFK-4CC @®Hexagon Socket Bolt (MEX15)x2 Item No. SFK-4CJ (Hexagon Socket Bolt (M5X14)x2
(©@Hexagon Socket Bolt (M5X22)x2 (®Flat-Head Screw(M3x6)x2

HIn case of Door Frame [ 130mm

Door Frame []30: Body Frame [ ]40mm+J45mm

Door Frame [130mm- Body Frame [_30mm 5® o
(ML Bracket S-S Kit) (ML Bracket L-S Kit)
B |l
N 28
| o N
]
10\ @
20.8
(24.8)

Kit Contents
(MMagnet Catch with Limit Switch X1

Weight 284.7g/set

Kit Contents

150

(MMagnet Catch with Limit Switchx1

@ML Bracket L-Sx1 @ML Platex1

@Flat-Head Screw (M3x8)x2

%ML Bracket S-SX1 (@ML M;agnet Platex1 3

.S Ki Flat-Head Screw(M3X8)x2 S Ki For Flat Washer M4x2

Name ML BracketS-SKit G or Fiat Washer Max2 Name ML Bracket LSKit 7 \its Maxa OT Nut L Msx2
®T Nut S M3x2 @T NutS M5x2 (®Hexagon Socket Bolt (M4X18)x2

Item No. SFK-4CD ®Hexagon Socket Bolt (M4x20)x2 Item No. SFK-4CF ©®Hexagon Socket Bolt (M5x15)x2
®Hexagon Socket Bolt (M5X10)x2 (@Hexagon Socket Bolt (M5x22)x2

How to order

ltem No. Quantity (pcs)




Door Frame [130mm- Body Frame []60mm (2 lines of grooves)
(ML Bracket S60-S Kit)

SF-60-60-2S
(SF-60-90)
(SF-60-120)

Door Frame [130mm* Body Frame []80mm (2 lines of grooves)+90mm
{ML Bracket L80-90-S Kit)

SF-80-80(SF-80+160)
SF-90-90(SF-90-180)

‘/A®/®@ o @

SF-60-60-2S ) ! L 80 _ 6.
(SF-60-90., SF-60-120) ¢/ 80-80(SF-80-160) L (90) 2.5 on the inside
&)
Weight 179g/set Weight 162g/set
€ & Kit Contents € € Kit Contents

(MMagnet Catch with Limit SwitchXx1
®@ML Magnet Plate 1x1

(MMagnet Catch with Limit SwitchX1
@ML Bracket L80-90x 1

%ML Platex1 ( ) %ML Magnet Plate 1x1

.S Ki DFlat-Head Screw (M3x8)x2 190-S Ki For Flat Washer M4x2

Name ML Bracket S60-S Kit BT NuL S MBS Nut S MBX2 Name ML Bracket L80-90-S Kit OTNULS MBxD BT Nut L MBx2
(@Hexagon Socket Bolt (MBX10)X2 @Hexagon Socket Bolt (M4x18)x2

Item No. SFK-4CN ®For Flat Washer M4x2 Item No. SFK-4CK ®Hexagon Socket Bolt (M5X14)x2
(@Hexagon Socket Bolt (M4X18)x2 (@Cross-Recessed Small Flat Screw (M3x8)x2

HMIn case of Door Frame [ 140mm

Weight 266g/set

Door Frame [ ]40mm- Body Frame []40mm
(ML Bracket L40-L40 Kit)

L
I
N
%
C]
S

Door Frame []40mm+ Body Frame []45mm

(ML Bracket L45-L40 Kit)

_ 40 )
Ré?/ 5 o
B

W55 @ﬁ/
* a5, D—t Il H\*g N%D ﬁ =8 3
MENEAN on 2] | T
P g
| |
! 40 7EL40.2 L 45 710(35)

Kit Contents

(MMagnet Catch with Limit Switchx1
@ML Platex1 (®Flat-Head Screw(M3x10)x2
@For Flat Washer M4x2 ®ML Bracketx1

Weight 293g/set

Kit Contents

(MMagnet Catch with Limit Switchx1
@ML Bracket L-SX1 @ML Platex1

@ %ML Magnet P\a(te 1X1 )

N .| i T Nut L M5x2 N | i 5Flat-Head Screw (M3x10)x2

ame ML Bracket L40-L40 Kit ML Magnet Piate 1x1 lame ML Bracket L45-L40 Kit BAcoEsS0ny NUt L (MB)XD
®Hexagon Socket Bolt (M4x18)x2 (DHexagon Socket Bolt (M4x18)x2

Item No. SFK-4CL @Accessory Nut L(M3)x2 Item No. SFK-4CM ®For Flat Washer M4x2  @T Nut L(M5)x2
(©@Hexagon Socket Bolt (M5x22)x2 (Hexagon Socket Bolt (M5x22)x2

HMBracket for Magnet Catch with Limit Switch Kit (For Frame Rim Door)
(ML Bracket SS)

{ML Bracket S) {ML Bracket)

2-M5
Depth 15 2-M5

Depth 15

Material/A6063  Alumite Treatment Material/A6063 Alumite Treatment

Material/A6063  Alumite Treatment

{ML Bracket S-S) (ML Bracket L-S)

2-M5 Depth 15

Material/A6063 Alumite Treatment

Material/A6063 Alumite Treatment

SF
(7]
-~
o
=
Q.
Y
=
o
m
=
Q
3
()




Door.Panel Parts Magnet Catch with Limit Switch

SF
(7))
—
[Y
=1
(=}
Y
=
o
m
=
Y
3
[}

* (ML Magnet Plate 1)
¥ {CR Magnet Plate)

(ML Bracket L80:90)

Counterbore for 2-M3

BMMaterial/Technical Data

EMaterial/Technical Data ML Magnet Plate1

CR Magnet Plate

Material ~ Aluminium Alloy Material  SPCC Stainless(SUS430)
Alumite Treatment Weight 25.2g 25.68
Weight 36.48 Environment  %RoHS Compliant *Green Procurement

Environment RoHS Compliant
Green Procurement

(ML Plate)

152

MMaterial/Technical Data
Name ML Plate
Material SUsS304
Item No. SFA-42E UEE® — 70EB
Environment RoHS Compliant
Green Procurement
Dimension Indication when using Resin Panel t5 Door
FlatHead S (M3x10)x2 Flat-Head Screw (M3X10)X2
al-riead ocrew Hexagon Socket Bolt (M4x18)x2
5 Hexagon Socket Bolt (M4Xx18)x2
= Flat Washer (for M4) X2
Flat Washer (for M4) x2
M t Catch Limit
Cap Nut(M3) x2 Magnet Catch Limit Cap Nut(M3)x2 genet Lateh -
@
[e0) N
T i o N
o YRS S o
b ; \ ML Plat ML Plate
ate RTR—
——— Hexagon Socket Bolt (M5X10) X2
& Hexagon Socket Bolt (M5x8) X2 *ag ( )
T Nut SS(M5)x2 T Nut S(M5)x2.
20 | 248
Flat-Head Screw (M3x10)x2 Flat-Head Screw (M3x10)x2
5 Hexagon Socket Bolt (M4X18)x2 = Hexagon Socket Bolt (M4X18)x2

Cap Nut(M3)x2

Flat Washer (for M4) x2
Magnet Catch Limit

Flat Washer (for M4)x2

Magnet Catch Limit Cap Nut(M3) x2

© @
)} : Y
Ni N o 1\ Y
~— T AN 1
ML Plate

Hexagon Socket Bolt (M5X14)Xx2

Hexagon Socket Bolt (M5X14)x2
Flat Washer (M5)x2

Flat Washer (M5)Xx2

T Nut L(M5)x2

T Nut L(M5)x2

4.8

*Bolt and Nut aren't included,

How to order
Item No.

Quantity (pcs)




]
7
2

|
il

I

Name(Single Item)

Magnet Catch G with Limit Switch

Item No.

SFA-499

MG-

G Limit SS Kit

2-6.5X3.4 Long Drill ﬁ

Magnet Catch G with Limit Switch
(Adsorbability: T9N)

MG-G Limit S/L Kit(Common)

(150)

2-6.5%3.4 Long Drill ﬁ

ﬁ N 2- Long drill
COM NO NC p COMNO NC | 90
WO W g 8
ol (&1 | 2m3 < 2-M3
36 - [ 36 Q
LTJ T | g LTJ T vyﬁ N h f\ i
43 ~ 43 o W RS
© e — 19| &2 &
— o
JE=C"F J =" 3
] illing™ %1 L 60 N o o
L 60 | 2-6 Drilling ol 3
33 s L Countersink for 2-M3 r% MMaterial/Technical Data
Countersink for 2:M3 ﬁ ST E Material ABS (Magnet Catch with G Linit Switch)
% © EI - 5 SPCC Uni-chrome (Door Siderinstaling Plate)
s ’ Weight 40g(Magnet Catch with G Limit Switch)
1.6 Retentivity 3
Attaching Frame SF20 Series SF30 Series SF40-45 Series
Name (Bolt and Nut Kit) MG-G Limit SS Kit MG-G Limit S Kit MG-G Limit L Kit

Item No.

SFK-4X1

SFK-4X2

SFK-4X3

SIUBIU0D )|

{MG-G Limit SS Kit)

@®Magnet Catch G with Limit Switchx1

@T Nut SS(M5)x2

OMG-G Limit Installing Plate 20X 1
@Truss Screw(M3x6)x2
@Flat-Head Screw (M3x8)x2
@Hexagon Socket Bolt(M5X8)x2
@Cap Nut(M3)x2

{MG-G Limit S Kit)

@®Magnet Catch G with Limit Switchx1
OT Nut S(MB)*x2

OMG-G Limit Installing Plate 30X1
@Truss Screw(M3x6)x2

@Flat-Head Screw(M3x10)x2
@Hexagon Socket Bolt(MBX10)x2
@Cap Nut(M3)x2

{MG-G Limit L Kit)

@®Magnet Catch G with Limit Switchx1
@T Nut L(MB)*x2

OMG-G Limit Installing Plate 30X1
@Truss Screw(M3x6)x2

@Flat-Head Screw(M3x10)x2
@Hexagon Socket Bolt(MBX15)x2
@Cap Nut(M3)x2

SF
(7))
-
Q
=}
Q
Y
=
Q
m
=
L
3
(]




SF
0
-
Q
=]
Qo
Y
=
Q
i
=
Q
3
(]

154

Door+Panel Parts safty Door Switch Kit

(33.8)

%
8.2
4.4
:
1l 35
78

HW-G)

Please remove it after fixing.

=

(5) g
i

A

4

Resin Stopper is the part to position Operation key.

HExample of Use

Panel Door

HKit Contents

HKit selection

Combination of Rim and Door
Frame at Rim-side Door Side Name ttem No.
120 Series Safty Switch Kit SS-PA SFK-471A
30 Series Resin panel Door t=5 Safty Switch Kit S-PA SFK-472A
[140-45 Series Safty Switch Kit L-PA SFK-473A
020 Series Safty Switch Kit SS-SSA SFK-HE4A
030 Series 120 Series Frame Door Safty Switch Kit S-SSA SFK-HE5A
40 Series Safty Switch Kit L40-SSA SFK-HEGA
045 Series Safty Switch Kit L45-SSA SFK-HE7A
030 Series Safty Switch Kit S-SA SFK-HE8SA
140 Series 130 Series Frame Door | Safty Switch Kit L40-SA SFK-HE9A
045 Series Safty Switch Kit L45-SA SFK-HF1A

HBWe also sell Safty Switch as a Single Item.

Name

Item No.

HS6B Safty Switch(with Operation Key)

SFK-HS6B

M Spec

IDEC Model [HS6B-03B01] Safty Switch

[HS9Z-A62]

Operation Key

Environment RoHS Compliant

B Operation Characteristics

Direct Circuit Operation Power*

60N and up

Direct Circuit Operation Stroke™

8mm and up

% Power and stroke to separate when assuming the case which contact-point
deposits with the power of 10N per 1 contact point.

M Safety Standard

1ISO14119
EN1088
IEC60947-5-1

EN60947-5-1 (DEMKO Approval )
GS-ET-15 (BG Approval )

UL508 (UL Listing Approval )

CSA C22.2 No.14(c-UL Listing Approval )

B Operation Characteristics

Contact Point

Contact Symbol

Operation Characteristics

3NC o1
31

(Completion of inserting Operation Key) (Completion of pulling out Operation Key)

2
11 T 120 Stroke
220 112 [J:Contact Point ON(Close)
21-22 "
320 | 313 [J:Contact Point OFF (Open)

¥Please refer the next page regarding part's shape detail and installing position.

Kit Component
Install at Rim-side Install at door side
©) ® Dimension of Part Drawing ® @ ® ® @ ®
NEIRBIEE
& | Safty Switch Kit Hexagon Socke Bolt (M4x10) ST Nut SS
2 SS-PA Herason Socket Bo Stainlessx2 (M4)x2
3 [Safty Switch Kit EX380N SOCKEL B0\ seom Socket Bl (Mx12) ST Nut S | Truss Screw(M4x15) Heagon Nut(M4)
2| SPA SDP Platex1 Max20)  |Stainlessx2 (M4)x2 | Stainlessx2 Stiess ind 22
O | Safty Switch Kit Hexagon Socke Bolt (M4x15) ST Nut L
g L-PA Stainlessx2 (M4)x2
Safty Switch Kit Safty Switch Bracket] 20185114 O Hexagon Socket Bolt (M4x8) | Flat Washer M4 | ST Nut SS Flat Washer M4
SS-SSA §8-88x1 | o "™ 3 Stainlessx2 Stainlessx2 | (M4)x2 Stainlessx2
Safty Switch Kit| HS6B  |Safty Switch Bracket, 29(071175/ 3 Hexagon Socket Bolt (MBx12) ST Nut S
S-SSA Safty Switch S-SSXx1 : ' Stainlessx2 (M5) X2 |Hexagon Socket Bot (V4x10) ST Nut SS
Safty Switch Kit |(with Operation Key)|Saifty Switch Bracket 0ol36 15 Stainlessx2 (M4)%x2
3 L40-SSA X1 L40-SSx1 40— 15| 5 | Hexason Socket Bot |ereem vk Bot (Wx15) ST NutL
2 |Safty Switch Kit Safty Switch Bracket| ™ |79 40| 04 (Mai% 8) Stainlessx2 (M5)x2
o| L45-SSA L45-SSx1 : Stainlessx2 Flat Washer M5
8 | Safty Switch Kit Safty Switch Bracket| 50(43]32(25/ 3|3 Heragon Socket Bott (M5x12) | StainlessX2 | ST Nut S
S-SA S-Sx1 ) StainlessX2 (M5)x2
Safty Switch Kit Safty Switch Bracket| 33 %55 Hexagon Socket Bolt (M4x12) | Key Spacer | ST Nut S
L40-SA L40-Sx1 e 5 Heragon Socket Bot (M515) ST Nut L |StainlessX2 X1 (M4)x2
Safty Switch Kit Safty Switch Bracket 28l |30/ 3 Stainlessx2 (M5)x2
L45-SA L45-SX1
How to order
Item No. Quantity (pcs)




SF
2
=
Q
=]
Q.
Y
=
o
m
=
Y
3
o

Safety Switch Kit A Installation Drawing

(Resin Panel Door t=5)

40 19
20 21.5 7
Y
7
Q ° @ ? 8
%)
= ?ﬂ —— N ? ¥
of i | o
0 I ] ] & )
B = 2
it -—-— - - (\\® Ay [8Y) [sV)
HHe =" 0 0
7 \ \@ 0 0
®®
< (e ¢ *
Safty Switch Kit SS-PA Safty Switch Kit S-PA Safty Switch Kit L-PA

(0120 Series Frame Door)

@3\20 e Q?® 85.2
F
{8

j‘ — T
8[@ = A
@

Safty Switch Kit S-SSA

45 60.2
g
og
2o
S 7
m g
& =]
| o2
20 .20 ] ]
Safty Switch Kit L40-SSA Safty Switch Kit L45-SSA =
{030 Series Frame Door)
? o 40 76 45 i
%0 r 8 ¢ ‘ s
/ y Od | 5OE 0 (| []7 ﬁ 1
OF | 7Q|grzzz7—o, o E=ruihn o 19SE, R
8 1 ; S| —EHGER S| RS
| BT / 0920 05120
7 O§j§ . oC | 950 7] 0 %) T
Q == U] [ ol L. == [ ] [ o == \
® SIS B:S ® @@ iy A ]:5 @ - @6 = ]:S
| [o)é i E St 9 SRS
9 8 Z 30 30
Safty Switch Kit S-SA Safty Switch Kit L40-SA Safty Switch Kit L45-SA
Part Drawing
@SDP Plate (@Safty Switch Bracket (®Key Spacer
(Use for Resin Panel t5 Door) (Use for Frame Door) (Use for SF-30-30 Frame Door)
150
7 136 7 10,
N
<
30
y 4 4 o
= P 1.5
@ 43i o o 5.3 14 3,5
o \4ma 1 459 N
49 52 8 45 < n
~ H
: Q%E e
MMaterial Aluminium Alloy ! ‘\ U
Name SDP Plate Alumite Treatment
WWeight 138g
Item No. SFA-470 Envionment RoHS Compliant 2-Long Drill R2.1
Green Procurement

155



SF
()
—
o
>
Q.
Q
=
o
o
=
Q
3
(]

Door<Panel Parts safty Door Switch Kit

&

30

240

8.5
4
36.2

91

N
N
54.8

 —— h

Please remove it after fixing.

Resin Stopper is the part to position Operation key.

BExample of use

Panel Door

Frame Door

HKit Contents

HKit selection

Combination of Rim and Door Name tem No

Frame at Rim-side Door Side )
120 Series Safty Switch Kit SS-PB SFK-HFAB
30 Series Resin panel Door t=5 Safty Switch Kit S-PB SFK-HFBB
[140-45 series Safty Switch Kit L-PB SFK-HFCB
120 Series Safty Switch Kit SS-SSB SFK-HE4B
30 Series 1120 Series Frame Door Safty Switch Kit S-SSB SFK-HE5B
40 Series Safty Switch Kit L40-SSB SFK-HE6B
145 Series Safty Switch Kit L45-SSB SFK-HE7B
030 Series Safty Switch Kit S-SB SFK-HE8B
40 Series 130 Series Frame Door | Safty Switch Kit L40-SB SFK-HE9B
145 Series Safty Switch Kit L45-SB SFK-HF1B

HBWe also sell Safty Switch as a Single Item.

Name

Item No.

HS5B Safty Switch(with Operation Key)

SFK-HS5B

W Spec

IDEC Model [HS5B-02B] Safty Switch
[HS9Z-A52] Operation Key

Environment RoHS Compliant

B Operation Characteristics

Direct Circuit Operation Power*

60N and up

Direct Circuit Operation Stroke™

8mm and up

3% Power and stroke to separate when assuming the case which contact-point

deposits with the power of 10N per 1 contact point.

M Safety Standard
ISO14119/EN1088/

IEC60947-5-1/EN60947-5-1 (TUV Approval)

GS-ET-15(BG Approval) /UL508 (UL Listing
CSA C22.2No.14(c-UL Listing Approval)

B Operation Characteristics

Approval) /

Contact Point Contact Symbol

Operation Characteristics

2NC

(Completion of inserting Operation Key)

Stroke

3-4
1-2 |

(Completion of pulling out Operation Key)

[J:Contact Point ON (Close)
[J:Contact Point OFF (Open)

¥Please refer the next page regarding part's shape detail and installing position.

Kit Component
Install at Rim-side Install at door side
©) ® Dimension of Part Drawing| ® ® ® ® @ ©®
NEIRBEE
& | Safty Switch Kit Hexagon Socket Bolt (M4x12) ST Nut SS
5 SS-PB Stainlessx2 ()2 Flat-Head Screw Spring
g |Safty Switch Kit Flat Washer M4 | ST Nut S |y Cap Nut(M4)
3 S-PB SDP Plate BX1 Hocn Scet ot s | Stainlessx2| (M) x2 SE'V."‘IX‘ 5;22 ‘g’ta.dl‘e’ '\X"g Stainlessx2
o [Safty Switch Kit Stainlessx2 STNatL |~ amess ainiess
8 L-PB (M4)x2
Safty Switch Kit Safty Switch Bracket] 090185114| 0 Hexagon Socket Bott (V4x8) | Flat Washer M4 | ST Nut SS Flat Washer M4
SS-SSB SS-SSx1 50 i 3 Stainlessx2 Stainlessx2| (M4)x2 Stainlessx2
Safty Switch Kit| HS5B  |Safty Switch Bracket, Hexagon Socket Bolt (M5x12) ST Nut S
S-SSB|SaftySwitch|  S-SSX1 22/27/115 3 He‘fmsx@‘%%?f’“ Stainlessx2 (M5) X2 F'?‘,;;‘Zaﬁ fg)ew ST Nut SS
Safty Switch Kit |with Operation Key)| Safty Switch Bracket . % ; % (M4)x2
g | L40SsB Xt L40-SSx1 | 2236|215 505 SHINIeSSX2 | anodetio 1549 STyt L | Stainiessx2
3 |Safty Switch Kit Safty Switch Bracket| ™ |79/ 4|4 Stainlessx2 (M5)x2
o L45-SSB L45-SSX1 ) Flat Washer M5
[o] . P - | .
8 |Safty Switch Kit Safty Switch Bracket Heregn SocetBot (V5x12) | StainlessX2 [ ST Nut S
S-SB S-Sx1 50/43|32/25/ 3| 3 StainlessX2 (M5)x2 FlatHead S
Safty Switch Kit Safty Switch Brackel] [ 3| |pal 5 ?};,,ji% oy | Key Spacer ST Nut S
L40-SB L40-Sx1 40— 40— 5 Heragon Socket Bolt (M5x15) STNUtL | gainlessxe| X1 (M4)x2
Safty Switch Kit Safty Switch Bracket| 28 130|3 Stainlessx2 (M5)x2
L45-SB L45-Sx1
How to order
1 56 Item No. Quantity (pcs)




SF
)
-+
[
=}
o
Y
=
Q
m
=
Q
3
(]

Safety Switch Kit B Installation Drawing

(Resin Panel Door t=5)

40 61.3 45 , 56.3

30 71.3

20 81.3 | Di

4
N
i})

O
72 |
e
OIS
O

T J iR o

=] 0 /@@ /@ ©) [{}'*
N <

> (m @]
o u? ;\ L C\"*O;x”ijwo ] N T 1} =T i

(o] Tk D (o] Al (o)} A o))
0 LI LTI | ol :
= T e I 18 = 18 - P
& aa] B jas) | & jus) \ 7A: s \
A g 3 ‘\D e

©OO®

Safty Switch Kit SS-PB Safty Switch Kit S-PB

(0120 Series Frame Door)

®_20 97

30 87

N
A
\
N
N

Safty Switch Kit SS-SSB

0 77 45 72
| | }
Gdb—@ £ —10; D@ e
o DSl J Rl o
9 EE 9 cliGEp
E4pRE] R g8
D‘ e = T s
Q & G- ."g" g
‘ in| in| = _—
20| & [C I jas] I 3
=

Safty Switch Kit L40-SSB Safty Switch Kit L45-SSB

(0130 Series Frame Door)
45 82.8

87.8

5
B

T T

jum

T §
Jge

S

30 _
A
@
s}
H\o
®
©@
-
9Q
®
40
0 jD
KT TN
S
%

9
.

30
i No)
30
éﬁo
=

(o]

v
o
h
crr
I
=

]

Safty Switch Kit L40-SB Safty Switch Kit L45-SB

Safty Switch Kit S-SB

Part Drawing
(@SDP Plate B (2Safty Switch Bracket
(Use for Resin Panel t5 Door) (Use for Frame Door)
60
75 45 o 175 6
4.5 T‘ 4.5 M
& } N 2-Long Drill 7
3 o R2.25
o 0
(] o
2-M4
4C37| 195 21 19.5
MMaterial  Aluminium Alloy
Name SDP Plate B Alumite Treatment
HWeight 45g
Item No. SFA-4HF3 MEnvionment RoHS Compliant
Green Procurement

157



Door+Panel Parts safty Door Switch Kit

SF
(7]
—
Q
=]
Q
o
=3
o
o
=
o
3
(]

HKit selection

Combination of Rim and Door

Frame at Rim-side Door Side Name ttem No.

120 Series Safty Switch Kit SS-PC SFK-471C
30 Series |Resin panel Door t=5 | Safty Switch Kit S-PC SFK-472C
14045 Series Safty Switch Kit L-PC SFK-473C
020 Series Safty Switch Kit SS-SSC SFK-HE4C
30 Series 1120 Series Frame Door Safty Switch Kit S-SSC SFK-HE5C
140 Series Safty Switch Kit L40-SSC SFK-HE6C
45 Series Safty Switch Kit L45-SSC SFK-HE7C
30 Series Safty Switch Kit S-SC SFK-HE8C
140 Series |130 Series Frame Door | Safty Switch Kit L40-SC SFK-HE9C
45 Series Safty Switch Kit L45-SC SFK-HF1C

B Safety Switch Dimensional Outline Drawing IWg also sel! Safty Switch as a single item.
(with Operation Key)

Safty Door Switch (with Operation Key)
28.2

Name Iltem No.

‘“- 13 .
% T 62 Safty Door Switch(R) SFA-43A
943 R Y % Safty Door Switch(T) SFA-43B

M Spec

OMRON Model [D4GS-N2R] Safty Door Switch(R)
[D4GS-N2T] Safty Door Switch(T)

: Position to set Operation Key (R [D4GS-NK2] Operation key

Environment RoHS Compliant

R2.15+0.05
Installing Hole

NN
N O
Kt
oo
1 " ,T;
50 35

g Dimension M Operation Characteristics
[ (109 Inserting Power of Operation Key MAX 15N
Pulling-Out Power of Operation Key MAX 30N
BExample of use Whole movement (22mm)
Forced separation power  MIN 60N
Panel Door Forced separation stroke ~ MIN 10mm

M Safety Standard
EN (TUV) Standard to comply with CE Marking. NC contact is Positive Break authorized.
Authorized by various overseas standard UL, CSA, etc.

M Operation Characteristics

Contact Point Contact Symbol Operation Characteristics
2 (Completion of inserting Operation Key) (Completion of pulling out Operation Key)
J/L
11 T 120 Stroke
2NC 31 ’ 320 11-12 | | | CJ:Contact Point ON(Close)
31-32 | | | [:Contact Point OFF (Open)
HKit Contents ¥Please refer the next page regarding part's shape detail and installing position.
Kit Component
Install at Rim-side Install at door side
[©) ® Dimension of Part Drawing| ® O) ® ® @) ®
Alslc]p]E]F
& |Safty Switch Kit Hexagon Socket Bolt (M410) ST Nut SS
2 SS-PC Safty Door " Sodket Bo Stainlessx2 (M4)x2
3 |Safty Switch Kit| Switch(R) SDP Platex1 (Kﬁg?zgc) et Bol Hevagon Socket Bolt (M4x12) ST Nut S | Truss Screw (M4x15) Hexagon Nut(M4)
3 S-PC (with Operation Key) Stainlessx2 Stainlessx2 (M4)x2 | Stainlessx2 Stainless Kind 1%2
9 |Safty Switch Kit X1 Hexagon Socket Bolt (M4x15) ST Nut L
S L-PC Stainlessx2 (M4)x2
Safty Switch Kit Safty Switch Bracket] 1090185/14| O Hexagon Socket Bolt (M4x8) | Flat Washer M4|ST NUt SS Flat Washer M4
SS-ssc SS-SSx1 ol 3 Stainlessx2 Stainlessx2 | (M4)x2 Stainlessx2
Safty Switch Kit Safty Switch Bracket 02/27/175| 3 Hexagon Socket Bolt (M5X12) ST Nut S
S-SSC S-SSx1 ! ) Stainlessx2 (M5) X2 | Hexagon Socket Bolt (M4x10) ST Nut SS
- Safty Switch Kit Safty Switch Bracket| 936015 Stainlessx2 (M4)x2
g | L40-SSC | safyDoor | LAO-SSX1 | 01" 15 | 5 | Hexagon Socket Boit |80 SoetBnt (515 ST NutL
3 [Safty Switch Kit| Switch(T) |Safty Switch Bracket 17214024 (M4x18) Stainlessx2 (M5)x2
o L45-SSC |lwith Operaion eyl L45-SSx1 ’ Stainlessx2 Flat Washer M5
8 Safty Switch Kit X1 Safty Switch Bracket 50(43]32(225/ 31 3 Heragon Socket Bott (M5x12)|  StainlessX2 | ST Nut S
S-SC S-Sx1 ! Stainlessx2 (M5)x2
Safty Switch Kit Safty Switch Bracket| 33 %5 5 Hexagon Socket Bolt (M4x12)| Key Spacer | ST Nut S
L40-SC L40-SXx1 ol gl 5 Heragon Socket Bot (M515) ST Nut L |StainlessX2 X1 (M4)x2
Safty Switch Kit Safty Switch Brackel| | og| | 90| 3 Stainlessx2 (M5)x2
L45-SC L45-SX1

How to order
1 58 Item No. Quantity (pcs)
0]



Safety Switch Kit C Installation Drawing

(Resin Panel Door t=5)

30

16.5 2

g g
Safty Switch Kit SS-PC Safty Switch Kit S-PC

40
45

2\,

16.5

16.5.2

v ¢
Safty Switch Kit L-PC

{020 Series Frame Door)

Safty Switch Kit SS-SSC

722

Z777721"0

Safty Switch Kit L40-SSC

82.2

B}

Safty Switch Kit S-SSC

r 45 67.2
(1| SOz =

o — iR a

i

Eeps

« e — + 5
i ==l ‘;I
20

Safty Switch Kit L45-SSC

(030 Series Frame Door)

2=
R i
6]

==

30 T ®® o3
(o] O Uj‘
:[\%Q %ED - g
Taps
{ @?%W;qﬁf—_ﬁ—( o

Safty Switch Kit S-SC Safty Switch Kit L40-SC

Safty Switch Kit L45-SC

Part Drawing
@SDP Plate (@Safty Switch Bracket
(Use for Resin Panel t5 Door) (Use for Frame Door)
150
7 136 7 10
N
s
v ¥ s 2
& Al 3
@ ﬁ{ ol—¢-
P \ama ! 0
o - 4.5 <
49 52 8 45
MMaterial Aluminium Alloy
Name SDP Plate Alumite Treatment
HWeight 138g
Item No. SFA-470 MEnvionment RoHS Compliant
Green Procurement

(®Key Spacer
(Use for SF-30-30 Frame Door)

30

1.5

4-R1
AN U
~

2-Long Dirill

159

o
©
o
=
m
a
=
=3
=
@
=

SF
)
(Y
=}
o
o
=
o
m
=
Y
3
()

Joued - Jooq




Door+Panel Parts safty Door Switch Kit

SF
)
=+
Q
=]
Q.
Y
=
Qo
m
=
Q
3
(]

* Small Solenoid Switch with built-in 4 Contact Points. B Kit selection

Combination of Rim and Door Name ltem No

Frame at Rim-side Door Side )
020 Series Solenoid Switch Kit SS-SS SFK-HF4A
030 Series | 120 Series Frame Door | Solenoid Switch Kit S-SS SFK-HF4B
J40-45 Series Solenoid Switch Kit L-SS SFK-HF4C
030 Series 030 Series Frame Door Soleno?d Sw?tch K?t S-S SFK-HF4D
040-45 Series Solenoid Switch Kit L-S SFK-HF4E

HBWe also sell Safty Switch as a single item.

Name Item No.

HS5E Solenoid Safty Switch (with Operation Key)| SFK-HS5E

M Spec
IDEC Model [HS5E-D4401-G] Solenoid Safty Switch

B Safety Switch Dimensional Outline Drawing [HS9Z-A52] Operation Key

35 61.6 .
30 402O Environment RoHS Correspondence
17

wof £ Countersink

w§% o T s

R | W i

< o —

20‘*"
!
I
!

o (20 forz:ma B Operation Characteristics

= ;I:M Direct Circuit Operation Power*| 80N and up
68,/ 56 - — - "
15 Direct Circuit Operation Stroke™] 12mm and up
2 * Power and stroke to separate, assuming the case which contact-point
deposits with the power of 10N per 1 contact point when it1s not locked.

<30 ]

|

|

LL M Safety Standard
ISO14119

IEC60947-5-1

EN60947-5-1 (TUV Approval)

1 Resin Stopper is the part to position Operation key. EN1088
|

22|

St
106 F322+
145.7

L

=

Please remove it after fixing. GS-ET-19(BG Approval)
UL508 (UL Recognition Approval)
CSA C22.2 No.14(c-UL Recognition Approval)

[J:Contact point ON(Close)
B Types of Contact Point [J:Contact point OFF (Open)

When unlocked by

Condition 1 Condition 2 Condition 3 Condition 4 manual lock release key|

Condition of Safety Switch Door is closed. Door is closed. -Door is open. -Door is open. *Door is closed.
-Machine is operatable. |-Machine is inoperatable. [-Machine is inoperatable. |-Machine is inoperatable. | |-Machine is inoperatable.
+Solenoid is no excitation. |-Solenoid is excitation. |-Solenoid is excitation. |-Solenoid is no excitation. | |Solenoid is no excitation.

Picture of Door Condition

Manual lock release

M LOCKUNLOCK
EAT

, Al A2 Al
Circuit Drawing | = R
ngTon  sgow oo s5Tpe
agioz  wgiow 55 o
Door +Close (LOCKED) +Close (UNLOCKED) |-Open
Main circuit
2NC Between 11 and 42
(:)2 ;\)1 INC l\(/lonitor circu;t
I e Door isclose.
M:\'Vifjt‘nel‘; H\i 12 AHJ 42 BeMeeﬂ 21 and 22
Monior cicut©2— 22 | Monitor circuit|
Monitor cicuit 1 5\);} 52 1NC (Lock)
Between 51 and 52
Solenoid Power Source Between Af and A2 (Common for all systems) [ OF F (non-excitation) |-ON (excitation) +ON (excitation) +OFF (non-excitation) | |-OFF (non-excitation)

® Main circuit: It sends out protective door's interlock signal, connecting to control circuit etc of machine's driving part.
© Monitor circuit: It sends out signal which monitors opening and closing protective door, or excitation/non-excitation of Solenoid.

How to order
1 60 Item No. Quantity (pcs)
L]



SF
()
I~
Q
=]
[=3
Q
=
o
m
=
Q
3
(]

HKit Contents

Kit Component

Rim-Side Installment Door-Side Installment
® @ ® ® ® ® Q) ® @ @ ®
Solenoid Switch Kit Hexagon Socket Bolt ST Nut SS
- (M5x15)Stanlessx2 (M5)x2
Solenoid Switch Kit Hexagon Socket Bolt ST Nut S ST Nut SS
S-SS HSSE [N5x1)Saessx2 (M5)x2 (M5)x2

Flat-Head Screw|Hexagon Socket Bolt Hexagon Socket Bolt
Hexagon Socket Bolt| Flat Washer M5| ST Nut L |Key Plate| Key Block Flat Washer M5|
<1 <1 (M4x10) | (M5x20) (M5x55)

Solenoid Solenoid  |Hexagon Socket Bolt

Soencid Swloh K| s oty ‘Switch| Switch Plate | (M4x40)

g viy:eots . :
'TSS — (with Operation Key) X1 Stainlessx4 W20l | Stainlessx2 | (M5)x2 StainlessX2| StainlessX2 Stainlessx2 Stainlessx2
Solenoid Switch Kit x1 Hexagon Socket Bolt ST Nut S
- M5x18)Stinlssx2 (M5)x2 ST Nut S
Solenoid Switch Kit Hexagon Socket Bolt ST NutL (M5)x2
- (M5x20)Stanlessx2 (M5)x2

Solenoid Switch Kit Installing Drawing

(020 Series Frame Door)

faa
55

I—Ui%
6l 493

Solenoid Switch Kit S-SS

|
i
\z)

20

g Y

6. 493 6 49.3

Solenoid Switch Kit L-SS

(0130 Series Frame Door)

9_ 45
e ey
e e Rk ge]
- [8Y)
g Y i=nqrully
‘N
E— 6] 493 | o —
Solenoid Switch Kit S-S Solenoid Switch Kit L-S
Part Drawing
@Solenoid Switch Plate (DKey Plate (®Key Block
209 o 70
9 9 ~ 191 N 9 9 52
= O
ol E 62 N 5 Q7 ?} ©- {%
N N N ) vl 105 47 )/ =
S 2-Long Drill =3 S o) 25/ 20
55 4-M4 Tapping 5.5 - SI 2.55 Drili
65 106 38 2 < _2:M5 Depth 15 -5.5 Drilling
N 2-M4 Tapping O(b
o) Y
by 345 | 20 |75 “; J LL J
MMaterial Aluminium Alloy M 8
Name Solenoid Switch Plate Alumite Treatment N
HEWeight 195g
Item No. SFA-4HF4 IEnvironment RoHS Compliant
Green Procurement

161



Door-Panel Parts safty Door Switch Kit

SF
)
Q
=]
Q
Y
=
Q
o
=
o
=
(]

Noncontact Safety Switch Kit

It hardly gets dust and is easy to align.
It resounds to safety category 4 (EN954-1) by the combination with exclusive relay module.

HKit Contents

Frame at Door Side Frame a.t R|m-§ ide Name Item No.
Frame Series |Line of groove|
020 Series 1 HS7A2020 Kit SFK-HS7A
0130 Series 1 HS7A2030 Kit SFK-HS7B
2 HS7A2060 Kit SFK-HS7C
O )
20 Series 040 Series ; HS7A2040 Kit SFK-HS7D
45 Series ; HS7A2045 Kit SFK-HS7E
0130 Series 1 HS7A3030 Kit SFK-HS7F
2 HS7A3060 Kit SFK-HS7G
. 040 Series 1
O
30 Series 45 Serios 1 HS7A3040 Kit SFK-HSTH
W Safty Switch Dimensional Outline Drawing 2
040 Series 2 HS7A3080 Kit SFK-HS7J
16 i i
7 7 I —40 Series —40 Series ! HS7A4040 Kit SFK-HS7K
125 135 | 35 12.5] 45 Series 045 Series 1
A% gﬁ%j( ﬁl&% o 98 040 Series 045 Series HS7A4045 Kit SFK-HS7L
T s ® :Si T
I o et ‘ Hl We also sell Noncontact Safety Switch as a single item.
= I = ol =
° i . % Z © Name ltem No.
| Minimum Bend | || ‘{ Noncontact Safety Switch SFA-HS7A
! Radius 30 BB |
_ kS | o MSpec EMotion Area
8 § L A IDEC Model [HS7A-DMC5912] g s
m o
2 g M Safty Standard 8
T o
= BExample of use IEC60947-5-1/ ENB0947-5-1 6
s IEC60947-5-2/ EN60947-5-2 =
IEC60947-5-3/EN60947-5-3 4 ~
UL508 (UL Listing Approval) / 2 1
CSA C22.2 No.14 -2 —‘1 (‘) 1‘ 2
[0] — =
EContact System
0  5(Sao) 15(Sar)
Bron/Bel® © et pontsopen ()] S@0: Minimum movable distance when safety output is ON.
ICmdm?ﬂ}f s (I} Sar: Maximum movable distance when safety output is OFF.
. Inaetinite area
Viite/Black© > *© Note) If actuator's time to move between Sao from
. . 2 fli ill
IDrawmg of Installing Parts ES’re?(rj ggoeetse(:r\;er-r 500ms, conflict will be detected
Plate HS7A = —
55 5
6-M3 /%?@@ 4.5 Q2
S < © @Installing position can be decided depending on the purpose by various kinds of parts' combinations.
¢ < T
s o 1 L 8 ﬂ
0 te)
o 4 16 S Example of Combination
34 16
Angle HS7A
30 30
(e
S
oY
8 o
.
N
55 16 o)
75 175_ A, | Nut HS7A
N
Parts
How to order
162 ltem No. Quantity (pcs)

SFK-HS7A [1[]



SF
(]
-
Q
=]
Q
Y
=
o
o
=
o
3
(]

Noncontact Safty Switch Kit Installation Drawing

{020 Series Frame Door)
©©K 2 ®O@
A=Below 5mm , 12 A=Below 3mm >
| -
¢4 ;
B 1
[\ QU N
|/ O
= o=
Olel I \®
& O <
D)
- @x
30 500
HS7A2020 Kit HS7A2030 Kit HS7A2060 Kit
Item No. Contents*Component Qty.
HS7A 1
Plate HS7A 1
Hexagon Socket Bolt M3x8(Stainless) | 2 Item No. Contents-Component Qty.
Hexagon Socket Bolt M4x10(Stainless)| 2 HS7A 1
Iltem No. Contents-Component Qty. Flat Washer M4 (Stainless) 4 Plate HS7A 2
HS7A 1 SFK-HS7B ST Nut SS(M4) 2 Hexagon Socket Bolt M3x8 (Stainless) | 4
Plate HS7A 2 Angle HS7A 1 SFK-HS7C Hexagon Socket Bolt M4x10(Stainless)| 2
SFK-HS7A Hexagon Socket Bolt M3x8(Stainless) | 4 Hexagon Socket Bolt M3X12(Stainless)| 2 Flat Washer M4 (Stainless) 4
Hexagon Socket Bolt M4x10(Stainless)| 4 Nut HS7A 1 ST Nut SS(M4) 2
Flat Washer M4 (Stainless) 4 Hexagon Socket Bolt M4x12(Stainless)| 2 Hexagon Socket Bolt M4x12(Stainless)| 2
ST Nut SS(M4) 4 @ | ST Nut S(M4) 2 ST Nut S(M4) 2
®e8 Mzo
®

45

I
ﬂk O O
LW 90
40
HS7A2040 Kit HS7A2045 Kit
HS7A3040 Kit
Item No. Contents-Component Qty.
Item No. Contents-Component Qty. HS7A 1
HS7A 1 Plate HS7A 2
Plate HS7A 1 Hexagon Socket Bolt M3x8(Stainless) | 4
Hexagon Socket Bolt M3x8 (Stainless)| 2 Hexagon Socket Bolt M4x10(Stainless)| 2
Hexagon Socket Bolt M4X10(Stainless)| 2 Flat Washer M4 (Stainless) 4
Flat Washer M4 (Stainless) 4 s ST Nut SS(M4) 2
FK-HS7E
SFK-HS7D ST Nut SS(M4) 2 Angle HS7A 1
Angle HS7A 1 Hexagon Socket Bolt M3X15(Stainless)| 2
Hexagon Socket Bolt M3X12(Stainless)| 2 Flat Washer M3 (Stainless) 2
Nut HS7A 1 4 Nut HS7A 1
10 | Hexagon Socket Bolt M4x15(Stainless)| 2 @ | Hexagon Socket Bolt M4X15(Stainless)| 2
@ |ST Nut L(M4) 2 @ |ST Nut L(M4) 2
{130 Series Frame Door (D)
2 M @
2
3 1 3
990 ?
D]
o ) Qe D
o
&O @ S O @Jﬁ Q GO0
B i DE®
o JJSC 2o
60 060
S O . : O
HS7A3060 Kit 80
®6@
Item No. Contents-Component Qty. HS7A3080 Kit
HS7A 1
HS7A3030 Kit Plate HS7A 2 Item No. Contents*Component Qty.
Hexagon Socket Bolt M3X8 (Stainless)| 4 HS7A 1
Iltem No. Contents:Component Qty. Hexagon Socket Bolt M4x12(Stainless)| 4 Plate HS7A 2
HS7A 1 SFK-HS7G Flat Washer M4 (Stainless) 4 Hexagon Socket Bolt M3x8(Stainless)| 4
Plate HS7A 2 ST Nut S(M4) 4 SFK-HS7J Hexagon Socket Bolt M4x12(Stainless)| 2
SFK-HS7F Hexagon Socket Bolt M3x8 (Stainless)| 4 Angle HS7A 1 Flat Washer M4 (Stainless) 4
Hexagon Socket Bolt M4x12(Stainless)| 4 Hexagon Socket Bolt M3x15(Stainless)| 2 ST Nut S(M4) 2
Flat Washer M4 (Stainless) 4 Flat Washer M3 (Stainless) 2 Hexagon Socket Bolt M4X18(Stainless)| 2
ST Nut S(M4) 4 ( Nut HS7A 1 ST Nut L(M4) 2

163



Door+Panel Parts Noncontact Switch Kit

SF
()
-+
o
=}
o
Y
=
o
o
=
Q
3
o

(030 Series Frame Door®)

®

HS7A3040 Kit

Item No. Contents-Component Qty.
HS7A 1
Plate HS7A 1
Hexagon Socket Bolt M3x8(Stainless) | 2
Hexagon Socket Bolt M4x12(Stainless) 2
Flat Washer M4 (Stainless) 4
SFK-HS7H ST Nut S(M4) 2
[€ Angle HS7A 1
Hexagon Socket Bolt M3x12(. 2
) |Nut HS7A 1
Hexagon Socket Bolt M4X15(Stainless)| 2
@ |ST Nut L(M4) 2
{040 Series Frame Door) (140-045 Series Frame Door)
)
®6@ 40
) O
[ )
[ O 0O @
) O
L |
O U :
®6@
HS7A4045 Kit
Item No. Contents:Component Qty. HS7A4040 Kit
HS7A 1
Plate HS7A 1
Hexagon Socket Bolt M3x8(Stainless)| 2
Hexagon Socket Bolt M4X18(Stainless)| 2 Item No. Contents-Component Qty.
Flat Washer M4 (Stainless) 4 HS7A 1
SFK-HS7L Angle HS7A 1 Plate HS7A 2
Hexagon Socket Bolt M3X12(Stainless)| 2 ~ Hexagon Socket Bolt M3x8(Stainless) 4
Nut HS7A 1 SFK-HS7K Hexagon Socket Bolt M4x18(Stainless)] 4
Hexagon Socket Bolt M4X15(Stainless)] 2 Flat Washer M4 (Stainless) 4
ST Nut L(M4) 4 ST Nut L(M4) 4

How to order
1 64 ltem No. Quantity (pcs)
L]



._“.. Standard Frame

Door ¢ Panel

Clean Equipment

165



Door<Panel Parts clean Fan Unit

SF
(7]
P
Y
3
[=3
Q
=
o
m
=
Y
3
()

Clean Fan Unit 3m Clean Fan Unit 5m

B Spec
Name Clean Fan Unit 3m (HEPA:100V) Clean Fan Unit 3m (ULPA:100V)  [Clean Fan Unit 5 (HEPA:100V) |Clean Fan Unit 5 (HEPA200V)| Clean Fan Unit 5 (ULPA:100V) ‘C\ean Fan Unit 5 (ULPA200V)
Item No. SFA-H031 SFA-U031 SFA-H051 SFA-H052 SFA-U051 SFA-U052
Dust Collction Eficiency (By dustin the if] | More: than 99.99% (Particle more than 0.3um) | More than 99.99% (Particle more than 0.1~0.2um) |More than 99.99% (Particle more than 0.3um)| More than 99.99% (Particle more than 0.1~0.2um)
Main Filter Low pressure loss HEPA Filter Low pressure loss ULPA Filter Low pressure loss HEPA Filter Low pressure loss ULPA Filter
Main Filter ltem No. SFA-HFO3 SFA-UF03 SFA-HF05 SFA-UF05
Air Volume (mi/min) 3.0(3.5) 2.5(3.0) 5.0(5.0) 4.0(4.0)
Blowout Speed (m/sec) 0.38(0.44) 0.31(0.38) 0.39(0.39) 0.31(0.31)
Noise (dBA) 53(54) 54(56) 55(56) 53(56)
Consumed Electricity (W) 28(36) 27(36) 43(46) 51(53) 43(46) 50(52)
Power AC100V1950/60Hz AC100V1¢50/60Hz | AC200V1¢50/60Hz| AC100V1$50/60Hz | AC200V1$50/60Hz
Dimension (mm) W400xXD400XH165 W500XD500xH185| W500XD500XH200 | W500XD500XH185 | W500XD500XH200
Weight (kg) 6.5 11.5

Power code with ground plug 5m Pouwer code with ground plug Sm ‘Terminal Box Connect\on‘ Power code with ground plug Sm ‘Terminal Box Connection
Saran net - with Pre-Filter

Attachment:Packing for installing to air outlet , Installing Screw

Standard Equipment

Name Clan Fen Uit 10ri(HEPA:100V)Clen Fen Unit 107 (HEPA200V) Cean Fn Unit 101 (ULPA100V)Clean Fn Urit 10r(ULPA200V) Cean Fn rit 151 (HEPA100V) [Clan Fen Uit 15i(HEPA200)[Clean Fan Unit 161 (ULPA1001) Cean Fn Unit 15 (ULPA200)
IltemNo. SFA-H101 SFA-H102 SFA-U101 ‘ SFA-U102 SFA-H151 ‘ SFA-H152 SFA-U151 SFA-U152
Dust Collction Eficency (By dustn the aif] | More than 99.99% (Particle more than 0.3um)| More than 99.99% (Particle more than 0.1~0.2um) |More than 99.99% (Particle more than 0.3um)| More than 99.99% (Particle more than 0.1~0.2um)
Main Filter Low pressure loss HEPA Filter Low pressure loss ULPA Filter Low pressure loss HEPA Filter Low pressure loss ULPA Filter
Main Filter ltem No. SFA-HF10 SFA-UF10 SFA-HF15 SFA-UF15
Air Volume (ni/min) 10.0(10.0) 7.0(7.0 15.0(15.0) 13.0(13.0)
Blowout Speed (m/sec) 0.51(51.0) 0.35(0.35) 0.37(0.37) 0.32(0.32)
Noise (dBA) 56(57)
Consumed Electricity (W) 98(114) 100(118) 98(113) 103(117) 141(157) 141(158) 141(158) 140(156)
Power AC100V1$50/60Hz|AC200V1$50/60Hz|AC100V1$50/60Hz|AC200V1$50/60Hz|AC100V1$50/60Hz|AC200V1$50/60Hz|AC100V1$50/60Hz|AC200V1$50/60Hz
Dimension(mm)  |W610xXD610xH185|W610XD610xXH200|W610XD610XH185| W610xD610XH200|W610XD1220XH200|W610XD1220XH215|W610XD1220XH200|W610XD1220XH215
Weight (kg) 14.5 22.0

Power code with ground plug 5m | Terminal Box Connection| Power code with ground plug 5m | Terminal Box Connection| Power code with ground plug 5m {Terminal Box Connection| Power code with ground plug 5m| Terminal Box Connection
With Saran Net and Pre-Filter
Accessory:Packing for installing to air outlet , Installing Screw

Standard Equipment

® Number in () is for 60Hz spec. Noise is measured at 1m from air outlet in anechoic room. @ The size of 200V spec's H includes terminal box.

B Characteristics

® Easy Installation
With the hole or nut (M4) on the blower
and exclusive plate enabled easy
installation.

® Metallic Silver Body

Simple appearance with the similar - =
color with stainless frame.

® 200V Specification
Single Phase 200V is lined up.
(Only 100V spec for Green Fan Unit 3mi)

o LED Operation Indicator
Operation condition can be confirmed
easily.

® Long Life
With the pre-filter to collect the dust,
the main filter extends the life time
and the blower is protected.

® Overcurrent Protection
Circuit-protector built-in switch on the
body protects air blower from burnout
by insulating overcurrent.

How to order
Item No. Quantity (pcs)

166



SF
2
-+
o
3
o
(Y
=
Q
il
=
Q
3
o

Dimensional Outline Drawing . .
Type . ] ] . . Wiring Drawin,
ye @Terminal Box is provided with 200V Spec.(Height+15) g g
Dimension of installing part AC100V, 1¢, 50/60Hz
- % ] sw_
360 & CN1
R E— ! Black
( ; _‘ i £ - Back08 \Rmn‘ Yellow 0.5 - : Black
s ! | :%/ s White 0.5° = Do Red 2 Red M
o ! & g Green ONs - oNg s Mi Gray
® 2 £
o L
5 - geld—-— | =
> i o
5 s Symbol Name
c 4 | - AC100V/DC2V 2 SW | Switch with Circuit Protector (1A)
3. | — FM | Fan Motor
= T =] 3
Black Red C Condensor
3m Mg — DC | DC Power Source Board (HD4077613)
TR Filter ! LED | High-Intensity LED (red)
N ‘ 3?[) J CN1 | Connector for Fan
| -- CN2 | Connector for Display Lamp
‘ + | CN3.4| Connector for Bimethal Thermometer
BS | Bimethal Thermometer (90°C)
151 370 15
400
Dimension of installing part
e P AG100V, 1¢, 50/60Hz
479 Inside parenthesis and dashed line is 200V spec.
460 4-Long drill
Il
L .
: | .
L ! Back 05 | Yelowos
- e -——+-——+ e PP e B
| = f
z ‘ s g Mhie0S =
=3 + ; i+ E\ue‘UvS
= z =
‘ Gz g3
5m 1
S I
[ ]
Act0ov/pcav|'® 2
T F e
15] \F 470 J\ L1S Blacek QRBed
500 oNZyY
[ o] 1
I I
Dimension of installing part Fiter ) x|
=3
589
570
[ | Al aLong il
o) | g
g ! Symbol Name
2 g8 ——t— SW | Switch with Circuit Protector (383V43)
g i FM | Fan Motor
P ‘ C | Condensor
3 o | b DC | DC Power Source Board (HD4077613)
1 LED | High-Intensity LED (red)
10m CN1 | Connector for Fan
CN2 | Connector for Display Lamp
CN3 | Connector for Earthing
IS AC100V, 1¢, 50/60Hz
" = = 3 = * ‘ Inside parenthesis and dashed line is 200V spec.
A ‘ W_
£ g Bk05 (\(\ | Yellow05
. Red 05 ) e Lomo) A b
— L 5 % ]
‘ White 0.5 i
‘ Blue 0.5
= 2l 3l
IS £ o Green 9 8
o — : I
I —| o [ ]
S J S actoov/ncav| ",
- i 8 |
) 15 1190 15 P eie
=1 —Ig 1220 1!\ Black Red
5 =
= 1180 o Fiter | i
- 1060 o x|
15m I a0 7 W |
- . | . .
kI Dimension of installing part Symbol Name
SW_ | Switch with Circuit Protector (339v3A
| FM Fan Motor
S8 +—-—- == C Condensor
DC | DC Power Source Board (HD4077613)
LED | High-Intensity LED (red)
L ‘ CN1 | Connector for Fan
N * ! * = CN2 | Connector for Display Lamp
%l‘e &-Long drill CN3 | Connector for Earthing

167



Door<Panel Parts Ciean Fan Unit

SF
0
—
Q
=]
Q.
Y
=
o
m
=
Y
3
(1]

Fixed by four exclusive plates

HDimension Indication at Attaching Part

Clean Fan Type |Frame at Installing Part Sie éf peing p;l(mm)
Clean Fan Unit

s SF30 Series | 412 | 392

i L 115N Clean Fan Unit 3m | SF40 Series | 402 | 382

\ 1 s SF45 Series | 397 | 377

‘ o I SF30 Series | 512 | 492

1 r Clean Fan Unit 5m | SF40 Series | 502 | 482

At = e T SF45 Series | 497 | 477

| Fong Bott_ |1} "\ intating Frame SF30 Series | 622 | 602

\J ; l‘ Clean Fan Unit 10n | SF40 Series | 612 | 592

L == SF45 Series | 607 | 587

4 ‘ UN st s o SF30 Series | 622 [1.212

(DPreparation of the attaching part =1 | Clean Fan Unit 15m |_SF40 Series | 612 [1,202
Please refer "Size indication of attaching part” and set up. SF45 Series | 607 1,197

‘ M Table to select Plate

Installing Parts
@ ®
Clean Fan Unit 3m | Clean Fan Unit 3ni Installing Plate AX2| Clean Fan Unit 3m Installing Plate BX2
Clean Fan Unit 5m | Clean Fan Unit 5m Installing Plate AX2| Clean Fan Unit 5m Installing Plate BX2
Clean Fan Unit 10m Clean Fan Unit 10m Installing Plate BX2

Clean Fan Unit 10-15m Installing Plate AX2
Clean Fan Unit 15m ean Fan L m instafing Flate Clean Fan Unit 15m Installing Plate Bx2

Clean Fan Type @

Hexagon Socket Bolt (M5)

M Dimensional Outline Drawing of Attaching Plate (mm)

Clean Fan Unit 3 + 5+ 10 - 15n Installing Plate A Size - Thickness : Refer Table Below

< A o
Fk B s B ﬂ
(=] f #‘ % o
(@Fixing the exclusive attaching plate l N 366
Please determine the parts referring the "Plate selection table". %o,
‘ EMaterial AGO63

Clean Fan Unit 3 + 5 + 10ni Installing Plate B  Size - Thickness : Table Below

) [ O\
= B S c > 2045 "V
H——rq Sk
3 =
° ‘x &
B W
i 0 + 0 1 \ase

EMaterial A6063

Hexagon Socket
Button Bolt(M4)

.
1 19,
| A
) A

311 I \Us.06

EMaterial A6063

M Size
Drawing Dimension (mm) | THickness (m)|\weight
Name Item No. A B C D i (5
Clean Fan Unit 3m Installing Plate A SFA-HO3A |360 (171 3 1155
Clean Fan Unit 5m Installing Plate A SFA-HO5A [460(221| — | — 147.8
Clean Fan Unit 10 - 15ni Installing Plate A | SFA-H10A |570|276 5 305.5
Clean Fan Unit 3m Installing Plate B SFA-H03B |440(100|240|211 3 176.6
Clean Fan Unit 5m Installing Plate B SFA-HO05B |540| 95 [350 (261 216.9
@®GCompletion Clean Fan Unit 10m Installing Plate B SFA-H10B |650|100|450|316 5 435.5
Clean Fan Unit 15n Installing Plate B SFA-H15B Refer Drawing 844.6

How to order
1 68 Item No. Quantity (pcs)
0]




Main Filter for exchange

HFilter exchange drawing

M Table to select Main Filter for Exchange

‘ Body Case Clean Fan Unit Body Main Filter :
A Attaching Screw(M4) Name Item No. | Weight(kg)
RN Ve Clean Fan Unit Body 3m (HEPA:100V)|HEPA Filter for Exchange 3ni| SFA-HF03 14
NN i Clean Fan Unit Body 3m (ULPA:100V) |ULPA Filter for Exchange 3m| SFA-UF03 .
¢ > Clean Fan Unit Body 5ni (HEPA:100V) .
i ] i| SFA-HF
ffpf'"s oot / Cloan Fan Unit Body 51 (HEPA200V) HEPA Filter for Exchange 5| S 05
or Doy LaTe) Q Clean Fan Unit Body 5 (ULPA:100V) 15
lean Fan Unit Body 5m : )
ivi LPA Filter for Exch i| SFA-UF05
Connector Receiving Part < Clean Fan Unit Body 5 (ULPA:200V) ul ilter for Exchange 5m
Clean Fan Unit Body 10ni (HEPA:100V) .
HEPA Filter for Exchange 10nt| SFA-HF10
Clean Fan Unit Body 10m (HEPA00V)| T " 1 1 Excee 10m oa
Clean Fan Unit Body 10ni (ULPA:100V) ) .
FA-UF1
Clean Fan Unit Body 10m (ULPA200V) ULPA Filter for Exchange 10n | SFA-UF10
Packing Clean Fan Unit Body 15m (HEPA:100V) )
HEPA Filter for Exchange 15m | SFA-HF15
Fiter Clean Fan Unit Body 15m (HEPA200V)| o e o Exchage for 60
* Please exchange filters after taking the screw out by driver. Clean Fan Un!t Body 15": (ULPA:1 00v) ULPA Filter for Exchenge 15 | SFA-UF15
* Please position the connector for indication light. Clean Fan Unit Body 15 (ULPA:200V)

If dust accumulated to the Main Filter, air would hardly pass it, and wind speed and air volume decreases. Generally, the condition that
they become 1/2 corresponds the life time. Indication of exchanging Main Filters is about 1 year inside general room, and about 5 years
inside the room with ISO class 7 (Class 10,000), in case of continuous operation.

Please see P166 for the types of main filter by machine types. .
B Packing seal for exchange(With two-sided tape on one side only.

If you want to increase the adhesion, please use two-sided tape on both sides.)
Main Filter temNo. | Weight(g)

Name

Filter for Exchange 3m (HEPA:ULPA common

Packing seal for exchange 3m

SFA-HP03

17.0

Filter for Exchange 5mi (HEPA:ULPA common,

Packing seal for exchange 5m

SFA-HP05

225

Packing seal for exchange1Om

SFA-HP10

25.0

(
Filter for Exchange10ni (HEPA:ULPA common
(

Filter for Exchange15m (HEPA:ULPA common)| Packing seal for exchange15m | SFA-HP15 | 41.0

Indication of Clean Space

@What is the standard of cleanness?

Generally, cleanness inside booth is expressed like Class100 or Class1000, etc. The fewer the number, the better the cleanness level.
Although we wish to get better cleanness level, we need to consider about cost and the balance with outside cleanness.

@Standard of cleanness (clean room)

As the idiomatically used stanq?rds, t.here is FED standard (Fedgral Clean Room Class _JAmount of Particle (More than 0.5um)
standard FED-STD-209E) and it's defined by the amount of particle 100,000 100,000

included in 1cf (cubic feet). It is the standard which expresses how much 10,000 10,000

small dust which has the diameter of 0.5um can exist in a space of 1cf. 1,000 1,000

The cleanness level becomes higher if the number of particle is fewer. 100 100

@Approximate value of ventilation frequency
The following table shows the approximate value of ventilation frequency by classes. It is the standard that indicates how many times
ventilation must be done per 1 hour. The cleanness level becomes higher if the ventilation frequency increases.

Formula for ventilation frequency in clean booth can be indicated as follows.

Clean Room class General Numeric Value Air volume (i~ min) X60min
100.000 20~30 times,”h Number of ventilation per 1 hour (times/h) = Space capacity (m)
10,000 30~70 times.”'h or Average speed of airflow (m“sec)XVentilating area (ni)x3600cc
1,000 100~200 times.h Space capacity (ni)
100 200~600 times,” h * Please take this just as indications because it differs according to

conditions of Surrounding cleanliness and Ventilating wind speed.

Example of Use

169

o
®
o
=
m
a
=3
=
=
@
E
=

SF
(7]
-
Q
=]
Q.
Y
=
o
o
=
o
3
[}

Joued - Jooq




SF
(]
—
Q
=}
Q
Y
=
o
m
=
L
3
(]

170

Door-Panel Parts

Ball Catch

rom the back
ounterbore for 2-M4

BEMaterial/Technical Data

Material Zinc Alloy (ZDC) (Ball Catch)
Chrome Plating Treatment

Weight 24g(Ball Catch)

Pulling Load (Reference Value):18.6N

Inserting Load (Reference Value):27.5N

Name(Single Item) Ball Catch
Item No. SFA-41A
How to order
Item No. Quantity (pcs)

Ball Catch

BW Bracket SS Kit

SF-20-20 Frame or
Panel Frame SS

Material/SPHC  Uni-Chrome Plating

Kit Contents

@Ball CatchX1

@BW Bracket SSX1

@Flat-Head Screw(M4x6)x2

@Flat-Head Screw(M4x8)x2

@T Nut SS M4x2

@T Nut SS M5x2

@Hexagon Socket Bolt
(MBEX8)x2

BW Bracket S Kit

SF-20-20 Frame or
Panel Frame SS

Kit Contents

@Ball Catchx1

@BW Bracket SX1

@Flat-Head Screw(M4x6)x2

@Fat-Head Screw(M4x8)x2

@7 Nut SS M4x2

@T Nut S Mb5x2

@Hexagon Socket Bolt
(M5x10)x2

BW Bracket L40 Kit

SF-20-20 Frame or
Panel Frame SS

SF-40-40

2-$5.5

Kit Contents

@Ball CatchXx1

@B\W Bracket L40X1

@Flat-Head Screw(M4x6)x2

@Fat-Head Screw(M4x8)x2

@7 Nut SS M4x2

@T Nut L M5x2

@Hexagon Socket Bolt
(MBX12)%2

BW Bracket L45 Kit

SF-20-20 Frame or
Panel Frame SS

Material/A6063 Alumite Treatment

Kit Contents

@Ball CatchXx1

@BW Bracket L45X1

@Flat-Head Screw(M4x6)x2

@Flat-Head Screw(M4x8)x2

@7 Nut SS M4x2

@7 Nut L Mbx2

@Hexagon Socket Bolt
(MBX15)x2

Name(Bolt and NutKit) | BW Bracket SS Kit

BW Bracket S Kit

BW Bracket L40 Kit BW Bracket L45 Kit

Item No. SFK-4BA

SFK-4BB

SFK-4BC SFK-4BD




Use Example when using Ball Catch

<Dimension Indication when using SF-20-20 Frame or Panel Frame SS Door>

SF-20-20 Frame or
Panel Frame SS

By

T
N W] N
N2
0 |
Q BW Bracket SS
20 15

BW Bracket SS Kit

5
SF-20-20 Frame or
Panel Frame SS
g

~
™

o~ -
z::i BW Bracket L40

AN
DS EC%

)]

@)

40 8

BW Bracket L40 Kit

SF-20-20 Frame or
Panel Frame SS

SF-20-20 Frame or
Panel Frame SS

N
[So]

OO@E\

30 9.2

BW Bracket S Kit

BW Bracket S

[Jd 5]
N

39.5

45 8

BW Bracket L45 Kit

BW Bracket L45

171

o
@
o
=
m
a
=
S
3
@
=

SF
]
—+
Q
=]
Q
Y
=
Q
o
=
Q
3
(]

joued . Jooq




Door-Panel Parts

SF
(2]
—
Q
=}
Q
Y
=
Q
m
=
o
3
(]

Panel Fix Rubber 30(for t=3)  Panel Fix Rubber 2030
Panel Fix Rubber 4045(for t=3) Panel Fix Rubber 4045

Panel Fix SS Panel Fix S Panel Fix L

14 R14.2 "oy R15 9
R7 (R18.5) (13) (R20) an
5 % 9
\< - p ©
D wlg—— 0|5 (j
o RSN lzale
= wl=
3, ;i o2 ‘
55 55
92 (' ): 4045(for t=3) (' ):4045
o WPlate Thickness Mapping
TmcknessName (o =3) | (for 1) 2030 4045
3 ©] ©] ©] X X
5 X X X O O
Frame | SF-30 [SF-40-45/ SF-20 | SF-30 [SF-40-45|

BMMaterial/Technical Data

5 " K @ Standard Length Products (L=2000) are to be cut by customer.
Material (Panel Fix)PP/Light Gray

Uit (F‘“t”,be”lCFS,Mg%ﬂj(S(Jénst)hgt]\c/Ru&gegéu/gh&?ray Name Panel Fix SS Panel Fix S Panel Fix L Panel Fix Rubber (§=5000m)
nit Mass Panel FIX 3/.08/m g/m g/m = =R~ = =h0~, = =H0~i =, =
For bt ) (1500R) 525620 BUBE(4046 (£=2000) (2=50~2000) (#=2000) (=50~2000) (£=2000) (R=50~2000) 30(for t=3)4045(fort=3) 2030 4045
. Panel Fix Rubber (8=5000m) 6385(2030) 7428(4045) |tem No. ~ |SFA-P11 SFA-P14 SFA-P21 SFA-P24 SFA-P31 SFA-P34 SFA-142 SFA-144 SFA-141 SFA-143
Enironment RoHS Compliant Green Procurement

Panel Clamp Panel Clamp
30(for T3) 20(for T3)30(for T5) 4045(for T3) 4045(for T5)
R17 11 10
R8.5 88 \ ﬂ\
\ R7.6 7 © -
o 1 < .
< ™ —T a
5 3 o
28] 28] © s
35
MMaterial/Technical Data
Material  CSMB0°+5°(Synthetic Rubber)/Light Gray
Weight 51.4g(30(for T3) ) 111g(for 4045T3) Name Panel Clamp(8=5000mm) Panel Clamp(8=5000mm)
216g(20(for T3)30(for T5)) 528g(for 4045T5) 30(for T3) 20(for T3)30(for T5) 4045(for T3) 4045(for T)
Environment i
) BT = o) S Item No. SFA-125 SFA-121 SFA-126 SFA-123
Seal Cover SS Seal Cover S Seal Cover L
20 325
12
7 s 10 12 6-R0.2 15 17.5
o 3-R0.2 N o o 6-R0.2
o /] o / o
ol © [ © N I ol i1
o W 3+ W o F——
n ~
n ‘q 0 —| 0
Lif : -
8 T
10
BMMaterial/Technical Data
Material  CSMB0°+5°(Synthetic Rubber)
Light Gray — — —
N = = =
Weight 357g(SS) lame Seal Cover SS(8=2500mm) Seal Cover S(£=2500mn) Seal Cover L(£=2500mn)
516g(S) 801g(L)
Enitoment - RoHS Compliant Green Procurement Item No. SFA-131 SFA-133 SFA-135

How to order
1 72 ltem No. Quantity (pcs)
L]



awei piepuels g'l,

How to install Panel Fix and Panel Fix Rubber

(Indication of Installation Size and Parts Selection)
Plate Dimension:W-3 Frame A
= e
o I Iz !
£ I I e Slant Cut only one side
b 5 or cut both sides.
5 I I e |
§ I Resin Plate I g - ‘
(s}
s |1l paretrn ||l | 3
g | 1] NE 5
= } } Panel Fix Rubber + ‘ & (Example of cut)
QC Joint /::: 7F:::i: Ez /| Mating Part is cut aslnat
\ Panel Fix
LLJ L—J ‘ } Cut bottpm of
Y Panel Fix Dimension W-Z — gsgs‘ef‘x ///
w when using
Qc.
Panel Fix . Resin Plate ;
Frame A (Resin) Panel Fix Rubber Thickness QCJoint | X |Y |Z
§F20 Series|  Panel Fix S8 | phane! B 1 amm | QG doint S8 [19.525| 50 , ) ,
ubber 2030 ® Cut aslant only one side or both ® Cut aslant mating part. @ Cut bottom of Panel Fix
) ) Panel Fix . sides. <Example of cutting> Rubber when using QC.
SF30 Series |  Panel Fix S Rubber 2030 3mmor5mm | QC Joint S |27 | 30 | 60
45 Seri : Panel Fix :
SF40-45 Series | Panel Fix L Rubber 4045 Smmor5mm | QC Joint L |35 |40 | 80
How to install Panel Clamp
{Indication of Installation Size and Parts Selection)
Plate Dimension : W+X Frame A
® Resin Plate needs to be notched
when using QC Joint.
X 5 i Q9
8 =
§ : ol g8
3 & ] o
2 i T m
E Resin Plate %a ¢ -g §
S 2l R g8
: =N y |
Panel Clamp Notching Dimension:Z / -?o-
W ~
Frame A Panel Clamp Resin Plate Thicknessy  QC Joint X|Y|Z
SF-20 Series | Panel Clamp 2030 3mm QC Joint SS |10 | 6 |25.5
SF-30 Series |Panel Clamp 2030 | 3mm or 5mm | QC JointS |16 9 |36 ® Insert Resin Panel into the groove ® Push Panel Clamp into ® Cover can be fixed with
before assembling the frames. the gap between Resin the simple appearance
SF-40 Series |Panel Clamp 4045| 3mm or 5mm | QC JointL |23 |12 Panel and Frame's and Resin Panel won't jolt.
47.5] groove.
SF-45 Series | Panel Clamp 4045 3mm or 5mm | QC JointL |24 |13

How to use Seal Cover

® |t can fill a gap between Resin Panel ® As a stopper when making a resin ® To protect Aluminum Frame.
and frame. door.

173



Door+Panel Parts panel Frame[For Small and Medium Door]

SF
(7]
-
[
3
Q.
Q
=
o
m
=
(Y
3
[}

Panel Frame SS / Panel Hold T5 / TC Block SS

Panel Frame SS Panel Hold T5

10

> 5(10
el
T
B
¢_A

25

hdl

7.5

15

* Based on a groove shape SF20.

Panel Frame SS
g %/Panel Hold T5 Name Panel Frame SS £=4000 Panel Frame SS £=50~4000 Panel Hold TS

& > Item No. SFF-T62 SFF-T64 SFA-108

&

TC Block SS

3T Block ss
8

%M>5 Tapping is needed to the cut surface of Panel Frame.
(Refer P209~ for details)
BMMaterial/Technical Data
Material Aluminium Alloy(Panel Frame)
Alumite Treatment
Ethylene Vinyl Acetate(Panel Hold T5)
ZDC2(TC Block SS)

Weight 0.6/m(Panel Frame)-Frame £=4030mn
14g/m (£=2000mm/pcs) (Panel Hold T5)
45g(TC Block SS)

Environment RoHS Compliant Green Procurement

*#Hexagon Socket Bolt M5X15 with 2 pcs

30

0.5

55
$5.1

)
8
=]
m
o
[=5
=i
3
@
3
=

View Z

Name TC Block SS

Item No. SFK-Q01

Size indication for Panel Frame

(Size indication for Panel Frame, Resin Plate)

Panel Frame SS

L=500

TC Block
SS

W-37
W=500

Panel Hold

There is a risk that the Panel Frame sags if cover size becomes more than 500 X 500. We recommend that you use SF20 or SF30 series to build the frame.

II_:i’arts g

ow to order

1 74 Item No. Quantity (pcs)
SFF-T62 [ ]



SF
(7]
-
o
3
o
(Y
=
Q
il
=
o
3
(]

Installment Indication for Resin Panel Door (Small door)

(In case of Single Swing Door) (In case of Hinged Double Door)

% £ Ee : .

SF-45-45

—
H-4
H
—
—
H-4
H

2 L-4 2 2 1/2L-3 = 1/2L-3 2

Fixed Hinge
(P140)

) o o ) | *Refer from P140 for Hinge and Magnet Catch. |
® This drawing is example of using Fixed Hinge (M6).

Installment Indication for Panel Frame Door(Small and Medium Door)

(In case of Single Swing Door) (In case of Hinged Double Door)
% Panel Frame SS or SF-20+20 Frame /; Z\ Panel Frame SS or SF-20-20 Frame /E
/ ] £ AN
o N

SF-45-45

iy
iy
==
T

(P142)

Free Hinge 1

L-A-B L-A-B | 2B LaB

L

2L

(Dimension Indication when creating Panel Frame Door)
SF20 or SF30 | SF40 or SF45
200|330 (700|200 |330|700
§ § landup| § § land up
329|699 329|699
Amm | 4.6(SF20) 5.0(SF30-40-45)
Bnm | 3 [25] 2 [ 3 [25] 2

/\ /
S0
>
c .
3 N
[ —
@
2 H-4
H
>
L —
L —
T
>
2 H-4
H

| 3 Refer from P140 for Hinge and Magnet Catch. |

® This drawing is example of using Free Hinge 4520L.

Installment Indication for Frame Door(Medium and Large Door)

(In case of Single Swing Door) (In case of Hinged Double Door)
2L 2z i 2z
N N
b b bt

—
H-4
H
—
—
H-4
H

N
B L-A-B A A L-B-A BX2 |.BA A
2L

(Dimension Indication when creating Frame Door) When using Fixed Hinge
Z SF20] SF30 SF40 or SF45
250|440(215|400|700 (1000
Lmm § Bndup § S § fnd up
439 399|699|999
Bom | 2 |3 ]2 |5]|4[3]|2
Amm | 1 2 2

% Refer from P140 for Hinge and Magnet Catch. |

® This drawing is example of using Fixed Hinge S.

175



Door+Panel Parts Rail[For Small Sliding Door]

SF
()
I~
o
=]
Q.
Q
=
o
o
=
Q
3
(0]

Sliding Door Rail (Resin)

Slide Rail (2 Rows) Slide Rail (3 Rows)
18 26
2 |16 2 6
. |
LfN) N
N = o oo | =ho
3 3

@ Standard Length Products ( £ =2000)are to be cut by customer.

Slot Connector L+ For SF40-50 series (Groove Width 10mm)

N Slide Rail (2 Rows) Slide Rail (2 Rows) Slide Rail (3 Rows) Slide Rail (3 Rows)
_ ame (2=2000) (2=50~2000) (2=2000) (2=50~2000)
% Item No. SFA-RO1 SFA-R04 SFA-R11 SFA-R14
Slot Connector SS Slot Connector S Slot Connector L
13
13 ol 13 P
[to) i
o
BMMaterial/Technical Data o
Slide Ralil Slot Connector e o ©
Material ABS Polypropylene
Light Gray Light Gray
Unit Mass  0.18kg/m (2 Rows) 0.08kg/m(SS) Q 7
0.28kg/m (3 Rows) 0.07kg/m(S) 9
0.08kg/m(L)
Enitomet RoHS Compliant Green Procurement
@ Standard Length Products ( £ =2000)are to be cut by customer.
o0 MUsable Frame Name Slot Connector SS Slot Connector S Slot Connector L
@S _\‘-/ (8=2000)  (£=50~2000) (8=2000) (£=50~2000) (£=2000) (£=50~2000)
D (X
|=-’|-| ..-a Sliding Rail-«----oeo Joint to each Slot Connector ~ Item No. SFA-R51 SFA-R54 SFA-R61 SFA-R64 SFA-R71 SFA-R74
2 Slot Connector S8---- For SF20 series (Groove Width 6mm)
g' @ Slot Connector S-+++++ For SF30 series (Groove Width 8mm)
@
=i

Sliding Door Rail (2 Rows) / 3 Rows (Aluminum)

Sliding Door Rail (2 Rows) Sliding Door Rail (3 Rows)
39
30
2,727 12 2
1,011,087
| l 2 o
- wlo
@ N --— Eo 2 I ol N
ol "
T
¥For T Nut S @ ¥For T Nut S
@ Standard Length Products ( £ =4000)are to be cut by customer.
. Sliding Door Rail (2 Rows)  Sliding Door Rail (2 Rows)  Sliding Door Rail (3 Rows) Sliding Door Rail (3 Rows)
ame (2=4000) (2=50~4000) (2=4000) (2=50~4000)
Item No. ¥SFF-R02-T ¥SFF-R04-T ¥SFF-R12-T ¥SFF-R14-T
Attaching Plate (2 Rows) Attaching Plate (3 Rows) Slide Spacer
125
Dy 3.2
0 q )
MMaterial/Technical Data - ~ H 5
Sliding Door Rail Attaching Plate Slide Spacer NL
Material Aluminium Alloy SPCC (2 Rows) Polyethylene 0 1
Alumite Treatment SPHC (3 Rows) Black o g ~ 3 N
Uni-chrome Plating © ©
Weight 0.72kg/m (2 Rows) 28g (2 Rows)  60g f \Q’%\
0.90kg/m (3 Rows) 35g (3 Rows)  (£=2000mn/pcs) . L1y
Eniionment sk RoHS Compliant *Green Procurement W < H
25
* Attaching Plate can connect Frames together as well.
N Attaching Plate Attaching Plate Slide Spacer
ame (For 2 Rows) (For 2 Rows) (2=2000)
Item No. *SFA-502 ¥SFA-512 ¥SFA-107
SF Frame o Parts
Standard Length (Cut by Customer)  Effective range of use £=2000 In case of specifying the Iength (Cut by SUS). How to order
176 Item No. Quantity (ocs)  tem No. Length (mm)  3Order by 0.1mm unit I oy g, Quantity (pcs)
SFA-RO1 SFA-R04  2=800 SFA-502 [



SF
)
-
o
=}
o
Y
=
Q
o
=
o
3
(]

Dimensional Indication of Installing Slide Rail and Slide Door Rail

(Slide Rail)
@2 Directions Type @3 Directions Type
5 (i
~ X ~
(O . ‘
@ ] s
M \_Slide Rail
<
) I (sr? I
I I
Plate t=5
o o
(oal i | i 4 Slide Spacer
oy ™ O%qu oo o, ™ Slot Connect
o) [=r=]
|20] N AU |20]

3
S
(]
(i

45 45

k

(Sliding Door Rail)

30 (e} =]
30 15 = 15 @ 9
T Nut 2 § s
% % m
Sliding Door 5 e §
e 1 ES ot
N ol [
N ! =
Attaching Plate Pull % %
© i
<| |
< Sliding Door Rail ‘
Slide Spacer !
DN ] 4 T Nut |
WM ‘
Euss I S
ﬁ N . Overlapping Part | EPlate size
oGt Attaching Plate *Plate Thickness:--t =5
*Lateral: L+15
45 (In case overlapping 30mm)
* longitudinal:
Slide Rail: H—34
Sliding Door Rail: A—26

177



SF
@
Q
=}
Q
Y
=
Q
m
=
Y
S
(]

joued . Jooq

o
@
o
=
m
a
=5
=
=
@
£
=

178

DoorePanel Parts siiding Door Frame[For Medium Size Sliding Door]

Sliding Door Frame/Panel Joint Kit

Frame for Sliding Door’s Rim Panel Joint Kit
11.5
75 |2
18
9 =
$ 2
o 49557 | ]
QA
— g
©
2 5
d He +
S
10,28 47 Q
MMaterial/Technical Data & d Jés @
Material Aluminium Alloy (Frame)
SUS304 (Panel Joint) _
Alumite Treatment t=2
Environment *RoHS Compliant
*Green Procurement
Geometrical Moment of Inertia - x=2.47 X 10%mm* —
_ Sliding Door Frame Sliding Door Frame
ly=0.357 X 10%m* Name Name Panel Joint Kit
Section Modulus Zx=1.247 x10%m3 £=4000 2=50~4000
Zy=0.602Xx10m3 * *
Weight 0.58ke/m(Frame) Item No. *SFF-D02 *SFF-D04 Item No. SFK-130
54g(Plate Bracket) @ Cut length is the material to be cut by customer. £ @S Plate Bracket SS-LX1
Effective range of use £ =4000 £ £ @T Nut SS(MB)X4
S @Hexagon Socket Button Bolt(M5x6)X4

Rail Guide Kit/Sliding Door Wheel

Rail Guide Kit

Long Spot-Facing
for M3 Bolt

Sliding Door Wheel

@Dirilling to install wheel is needed for ;rr %
the frame which is set to the bottom. (2- ¢ 4)
Please refer “How to order” below about
the Drilling. ~
B
BMMaterial/Technical Data
Rail Guide Wheel
Material Polyacetal Polyacetal . . . -
Weight 2.8g 6.4g Name Rail Guide Kit Name Sliding Door Wheel
Include Lock Screw(M3x12)x1 Truss Screw(M3x5)x1
Enviranment RoHS Compliant Item No. SFK-5A3 Item No. SFA-504

Unit Construction

(18)

(23)

Resin Plate
‘ ‘ ‘ / t=5mm
I
‘ Panel Hold T5
I
- ! | Rail Guide
N
777777777 8 @+ i | ® ‘
q - p ‘ o Include Lock
7]
Recommendation: | é | 24 sn;:wes; 1C 2
° Pull G Type | 8 | 26 (Self Tapping) it K
S - | % N Panel Joint Kit
i I o | z ;:-' Sliding Door Rail (3 Rows)
e [ = (P176)
|
} T I Slot Connector SS.S.L
(W,/2)—47.5:Plate Dimension (P176)
A
,,,,,,,,, G~ e+ i [ 3 Body Frame
o SF-20.30.40-45 series
5 (W 2)+9.5 5 «
(W 2)+19.5 (Rail Pitch)
SF Frame Parts
Standard Length (Cut be Customer) How to order
Item No. Length (mm)  Drilling No. to install Corocon  Quantity (pcs) Item No. Quantity (pcs)
SFA-41A (=800 CH SFK-130 L]




G

MMaterial/Technical Data

Material

Weight

Environment

Polyacetal(Slide)

Stainless (Attaching Plate)

45g(S-SSA/B)
658g(8)

63g(L-S)

RoHS Compliant
Green Procurement

Folding Door Slider S-SSA

Folding Door Slider S-SSB

20

20
1 Counterbore for 2-M4 Counterbore for 2-M4
T A

&

Up when Door opens to left

&
T

Down when Door opens to right

M4Xx8 Bolt

575
57.5

oy

Down when Door opens to right
Up when Door opens to left

Folding Door Slider S

0] 1
q

&
@

2-Counterbore for M4

8
8§
M4x8 Bolt
a'i'(—
i
<
*For Left, Right, Up and Down
Folding Door Slider L-S 20
1
4
@ 2-Counterbore for M4
g
A ﬁ]/
M M4x8 Bolt
4
EE
VT

*For Left, Right, Up and Down

Kit Contents

@Folding Door Slider
Block SX1

@Folding Door Slider
Plate SSX1

@ST Nut SS(M4)x2

@®Hexagon Socket
Bolt(M4x8)
Stainlessx1

@Flat Screw(M4x8)
Stainlessx2

@Spacerx|

Usable Frame 35"
(Structural Member)
SF-30 Series
{Door»
SF-20-20

Kit Contents

@Folding Door Slider
Block Sx1

@Folding Door Slider
Plate SX1

@ST Nut S(M4)x2

@Hexagon Socket
Bolt(M4x8)
StainlessX1

@Flat Screw(M4x12)
Stainlessx2

@Spacerx|

Usable Frame 35"
(Structural Member)
SF-30 Series
{Door»
SF-30-30

Kit Contents

@Folding Door Slider
Block LX1

@®Folding Door Slider
Plate SX1

@ST Nut S(M4)x2

@Hexagon Socket
Bolt(M4x8)
Stainlessx 1

®Flat Screw(M4x12)
Stainlessx2

@Spacerx1

Usable Frame 35"
(Structural Member)
SF-40-45 Series
{Door»
SF-30-30

Name

Folding Door Slider S-SSA  Folding Door Slider S-SSB  Folding Door Slider S Folding Door Slider L-S

Item No.

SFK-801A

SFK-802A SFK-803A

SFK-804A

Size Indication for Folding Door Slider

L=500~1300 Olndication of Parts Choice
Folding Door Siider L3 L2 L4 1 L5 Frame A Frame B FF(l)(\j(ljingDDoosr‘le'd:rslg)B I;olltsing II;oor ;Lderng:: - }-(:ir:‘ge aSS . I—:livnge;(;zoR
. . olding Door Slider oS- -0lding Door Slider S- IXe inge ree Hinge
Uppen) SF30 Series | SF20 Series | Note) (SFK-802A) | Note) (SFK-801A) | (SFA-211) | (SFA-253)
¥ = . : Folding Door Slider S |Folding Door Slider S|Fixed Hinge S| Free Hinge S-R
Catch SF30 Series | SF30 Series | ™ (sFK-803A) (SFK-803A) | (SFA-221) | (SFA-223)
1 . ] Folding Door Slider L-S |Folding Door Slider L-S|Fixed Hinge S |Free Hinge L40-R
i e SF40 Series | SF30 Series | ™(grk.g04n) (SFK-804A) | (SFA-221) | (SFA-233)
T . . Folding Door Slider L-S |Folding Door Slider L-S|Fixed Hinge S |Free Hinge L45-R
; SF45 Series | SF30 Series | ™(sFK.g04A) (SFK-804A) | (SFA-221) | (SFA-243)
8 y Note) When the folding door opens to left, Folding Door Slider S-SS is up-side-down.
=] . . . .
e & /// ﬂ ODimension Indication
= % % Frame A Frame B L1 2 415
Pull [=Less than 500-700 9.5
L1 SF30 Series | SF20 Series | (L-L3-L4-L5-35)/2 | L1+35 | L=Less than 700-1000---7.5 | 1 |3.5
o L= L=1000-1300 ---5.5
i ‘nﬁ}f H ( ) L=Less than 500-700 ---9.5 5 |as
T SF30 Series | SF30 Series L-L3-L4-1L5-36)/2 | L1+36 | L=Less than 700-1000---7.5 .
Frame B Catch / [=1000-1300 5.5
| L=Less than 500-700 ---9.5
+ = L SF40 Series | SF30 Series | (L-L3-L4-L5-41)/2 | L1+41 | L=Lessthan 700-1000---7.5 | 2 |4.5
N [=1000-1300 55
Folding Door S\ider/ Frame A (LL3L4-L5-44)/2 | L1444 L=Less than 500-700 ---9.5 2 |as
o ) } i i L=Less than 700-1000 7. X
(Lower) (Door in this drawing opens to right.) SF45 Series | SF30 Series L Less bn 7993000 25

179

SF
(7))
-
Q
=]
Q.
Y
=
o
o
=
Y
=
(]




Door<Panel Parts Magnet Catch [for Folding Door]

SF
()
—
o
3
o
(Y
=
o
o
=
(Y
3
(o}

MG Bracket S-SS Kit for Folding Door MG Bracket S Kit for Folding Door

®
®
20_\8
3
%J\yl
Folding Door — 4 (&
MG Bracket 7 Slider 3-88 / ,
Counte k for 2-M3,
ountersink for @ i A
mib

Magnet Plate >
for Folding Door SS

Folding Door Slider S

8 (Magnet Catch Nx1 ®T Nut SS(M3)x2 £ (Magnet Catch Nx1 ®T Nut S(M3)X1

= & MG Bracket Sx1 ®T Nut S(MB)x2 = & @MG Bracket SX1 ®T Nut S(M5)x2

Y E @Truss Screw(M4x5)x2  @Hexagon Socket Bolt(M5x22)x2 ¥ € ©Truss Screw(M4x5)x2  (DHexagon Socket Bolt(M5X10)x2
8 @Flat Screw(M3x12)x2  @Magnet Plate for Folding Door $5X1 8 @Flat Screw(M3x8)X1

#Refer from P146 for details of Magnet Catch as Single Item.
(Choice Indiction of MG Bracket for Folding Door)

MG Bracket L-S Kit for Folding Door

Frame B

05120
(45) 25 @
Frame A Frame B MG Bracket for Folding Door Foking Door Slider L3 Folding Door Shder LS
y - 2 - YT -
SF-30 series SF-20 series MG Bracket § SS.Kn for FOk_jmg Do £ (OMagnet Catch NX1 @Flat Screw(M3x8)x1  (DHexagon Socket Bolt(M5X15)x2
SF-30 series SF-30 series MG Bracket S Kit for Folding Door £ & @MG Bracket L-SX1 ®T Nut S(M3)X1
SF-40-45 series SF-30 series MG Bracket L-S Kit for Folding Door| 8 ®@Truss Screw(M4x5)X2 ®T Nut L(M5)x2
Name MG Bracket S-SS Kit for Folding Door MG Bracket S Kit for Folding Door MG Bracket L-S Kit for Folding Door
Item No. SFK-4AJ SFK-4AF SFK-4AG
% Please refer from P146 to use for other purpose than Folding Door
ML Bracket S-SS Kit for Folding Door ML Bracket S Kit for Folding Door
(@) DO ®
20 8.
®" a
@
L s SRR
3
ML Plate [P\ O @
5 Folding Door ]\
5 i for 2u3 Slider S-SS L
2 ountersink for ol 0 \@
9.5 [10]

Magnet Plate & o @ 30 _ 362 _Ng

for Folding Door SS 57

(DMagnet Cateh with Limit Switch AX1 - ®FIlat Screw (M3x8)x2

2 gr’\\/\/alaﬁnglci&civ%nh Limit Switch AX1 DFlat Screw (M3x12)x2 9
2 ate: X -SX X
% Refer from P150 for details of Magnet Catch as Single Item. § § %Eclexagvo\r) Soﬁket Eo\t(mimg)xe '-\FA,L\‘E{aSC(ﬁ%)LE 5 é %mt I\BAEgcrfgtt SI&?IeEX] "T'laNtﬂaSS?lsAFSf?;gél 2
0 X
(Choice Indiction of ML Bracket for Folding Door) 8§ ST Ut 88 (M3yx2 (@Heragon Socket Bolt(M5X15)x2 § @Hexagon Socket Bolt(M5X10)x2 @T Nut S(M3)x2
» © O ®Hexagon Socket Bolt(M4x20)x2

®NMagnet Plate for Folding Door $Sx1 @DHexagon Socket Bolt(M5X18)x2

ML Bracket L-S Kit for Folding Door

Frame B

Folding Door Slider L-S Folding Door Slider L-S
Frame A Frame B ML Bracket for Folding Door
F- i SF-20 seri ML Bracket S-SS Kit for Folding D
SF-30 series seres racket S-S5 Kit for Folding DO0| -5 537 ot Caton with Limit Switoh AX1_@Hexagon Sooket Bolt (MAx20)x2 T NUt L(MBIX2
SF-30 series SF-30 series ML Bracket S Kit for Folding Door &£ @ML Bracket L-Sx1 ®Flat Screw (M3x8)X2 ®T Nut S(M3)x2
SF-40-45 series SF-30 series ML Bracket L-S Kit for Folding Door 8 @Hexagon Socket Bolt(M5x15)x2  ®Flat Washer for M4x2
Name ML Bracket S-SS Kit for Folding Door ML Bracket S Kit for Folding Door ML Bracket L-S Kit for Folding Door
Item No. SFK-4CH SFK-4CG SFK-4CE

*Please refer from P146 to use for other purpose than Folding Door

How to order
1 80 Item No. Quantity (pcs)
L]



181



Panel-Sheet

SF
»
P
Q
=]
o
(Y
=
Q
i
=
[
3
(]

Wooden Board

Wooded board (particle board) Work board Melamine resin coated board

Products/Options

Board thickness (mm) Surface mat Color Maximum size (mm)

Wooded Board

(Particle Board) 9.12,0r 15 (White end face)
16.5 (including mat) Rubber mat (1.5) G
Work Board 7 Antistatic mat (2.0 ) (white ond face) 900 1800
(including mat) Conductive mat (2.0) *with ground cable

Melamine Resin 17 Melamine resin (1) White
Coated Board (including mat) Gray

[oued . Jooq

o
]
=]
m
=)
=
k=]
3
[
=
=

Resin Panel

Products/Options

Standard color Panel thickness (mm) Density Atmospheric temperature Maximum size

Polyvinyl Chloride (PVC) Transparent 3or5 1.40 Up to 60 C 1000 X% 2000

Polyeth halate (PET) Transparent 3or5 1.27 Upto70 C 1000 %X 2000

Ii
Transparent 30r5 1.19 Up to 80 C 1000 X 2000

alal
Polycarbonate (PC) Transparent 3or5 1.20 Upto 130 C 1000 %2000

* If you require antistatic processing for panels, notify when requesting for quotation.

Note : Regarding Panel-Sheet products on this catalogue only describe JPN SPEC.
Please contact in detail to Each Sales Branch.

182



SF
(7]
-
Q
=
o
Y
=
[=3
m
=
Q
3
(]

Anti-Static Sheet-Partition Sheet

Picture (Left) Carbon Print (Right) Anti-Static Sheet

Handling Items and Rough Indication for Selection

NETNS Thickness (mm) | Standard Color |Surface Specific Resistivity*' | Gravity (g/cm?®)  |Flame Proofing Grade *2| Maximum Size (mm)
Anti-Static Sheet 0.3 10
Transparent 10°Q 1.35 Flameproof 2nd Grade| 5400x3100
Anti-Static Sheet 0.5
Anti-Static Sheet(Carbon Print) 0.3 s .
Transparent (Carbon Print) ™ 10°Q 1.35 Flameproof 2nd Grade| ~ 5400x3100
Anti-Static Sheet(Carbon Print) 0.5
Partition Sheet 0.3 12
Transparent 10°Q 1.35 _— 5400%x3100
Partition Sheet 0.5

(OSUS meets the thickness other than those above, too. Please contact us.
3% Carbon Print is treated on one side. When you use, printed surface becomes outside. Please earth the carbon print.

juswdinb3 ues|)
|aued . JooQ

Steel Plate Panel

MEnvironment RoHS Compliant Green Procurement

Handling Items and Rough Indication for Selection

With Frame]  Material | Thickness(mm) Mesh size Gravity  |Maximum Size(mm) |Surface Treatment

Aluminum Panel A5052 2 - 2.68 1000x2000 |Alumite Treatment

Stainless Panel NO2B — —
—— SUS304 1.5 7.93 1000x2000 —————

Stainless Panel #400 - One side polish

) -
Option — 7. 1 X2 —
Stainless Expand Panel (M Type) P SUS304 T=15 W=1.7 SW=22 LW=50.8 93 000%2000
)

Stainless Net (S Type
i (

el Standard| ~ A5052 2 $12xP18 2.68 1000X2000 |Alumite Treatment
Stainless Expand Panel (S Type T=1.2 W=1.4 SW=12 LW=30.5
] Line Diameter 1.6 P=12.7
Option 4 - 7. 1 X2 -
ption|  SUS30 Line Diameter $2.6_P=30.0 % 0002000
Aluminum Checkered Steel Plate |l A5052 3 — 2.68 1000%x2000 —

(OSUS meets the thickness other than those above, too. Please contact us.

183



184



= = Technical
Data

185



Technical Data Free Unit

SF
»
-+
Q
=1
o
(Y
=
o
o
=
Q
3
(]

EASY To Check,
EASY To Order,
EASY To Assemble. 1

—
8
s
(7]
=),
o
Q
)

Please contact to SUS
in order to make your own image.

186



SF
(72}
-
0
=
o
]
o
m
=
o
E
©

Reference Example of Free Unit

SF-30 - 30 Frame No. Name Quantity
1 | SF2-30-30 640L 6
2 | SF2-30-30 1340L 4
3 | SF2-30-30 400L 2
4 | SF2-30-30 1000L 4
5 | D Bracket S Kit 22
6 | D Bracket S Kit with Tap 8
7 | Plate Bracket S-L Kit 4
8 | Cover Support S Kit 10
9 | Fixed Hinge S Kit 4
10 | Pull A 4
11 | Magnet Catch N 4
12 | Sliding Door's Rail 1340L| 2
13 | Slide Spacer 2
14 | Plate 6
15| TNutS M6 12
16 | Hexagon Socket Bolt M6X10 12
17 | TNutS M5 10
18 | Truss Screw 18
19 | Sliding Door Aclyc t=5 Clear | 2
20 | Door Aclyc t=5 Clear | 2
21 | CoverA Aclyc t=5 Clear| 2
3 22 | CoverB  Aclyc t=5 Clear | 1
2 23 | CoverC Aclyc t=5 Clear | 1

No. Item No. Name Quantity Note

1 SFF-324 SF-30-30 L =640 6

2 | SFF-324 SF-30-30 L = 1340 4

3 SFF-324 SF-30-30 L = 400 2

4 | SFF-324 SF-30-30 L = 1000 4

5 SFK-018 D Bracket S Kit 22

6 SFK-019 D Bracket S Kit with Tap 8

7 SFK-104 Plate Braket S-L Kit 4

8 SFK-K02 | Cover Support S Kit 10

9 SFK-221 Fixed Hinge S Kit 4

10 | SFA-301 Pull A 4

11 SFA-40A Magnet Catch J 4

12 | SFF-R04 Sliding Door's Rail L = 1340 2

13 | SFA-107 Slide Spacer L = 2000 2

14 | SFA-502 | Plate (For Sliding Door's Rail) 6

15 | SFB-002| T NutS (M6) 12

16 | SFB-561 Hexagon Socket Bolt (Uni-Chrome) M6X10 12

17 | SFB-001 T Nut S (M5) 10

18 | SFB-558 | Truss Screw M5X10 18

19 Sliding Door 914 X685 (Drilling included) 2 Aclyc t =5 Clear
20 Door 938x%317 (Drilling included) 2 Aclyc t =5 Clear
21 Cover A 694 %494 (Drilling included) 2 Aclyc t =5 Clear
22 Cover B 998x638 (Drilling included) 1 Aclyc t =5 Clear
23 Cover C 1338x%x998 (Drilling included) 1 Aclyc t =5 Clear

187



Technical Data Free Unit

SF
(7))
-
Q
=}
Q
Y
=
o
m
=
o
3
(]

Reference Example of Free Unit

SF2-40-40 Frame Name Quantity
SF2-40-40 720L
SF2-40-40 800L
SF2-40-40 420L
SF2-40-40 1900L
SF2-40-40 1110L
SF2-40-40 710L
D Bracket L Kit
Frame Cap 4040
Level Adjuster Kit L

YN GIENTAI NIE P

NI EISISIINIEIINES

750

SF-K+45+45 Frame Name Quantity

SF-K-45-45 1910L TW

SF-K-45-45 510L TW

SF-K-45-45 510L

SF-K-45-45 360L

SF-K-45-45 450L TGM

D Bracket L Kit

TG Joint Kit 40-45

®|N[o|o||wn|=|Z

=B
gy oR(RO~~

Level Adjuster Kit with Caster L

450

188



SF-K+45-45 Frame
(How to use Clean Booth)

1845

Name

Quantity

SF-K-45-45 1500L

SF-K-45-45 1600L

Adjuster M12

SF-K-45-45 520L

SF-K-45-45 1755L

SF-K-45-45 1845L TR

NGNS INIERP-

D Bracket L Kit

N
RPN~ IA O

SF2-45-45/1F/2F Frame
(How to use Clean Booth)

2000

Name

Quantity

SF2-45-45-2F 1610L

D Bracket L Kit

SF2-45-45-2F 2000L

Frame Cap 45-45 (Black)

SF2-45-45-1F 560L

SF2-45-45-1F 1610L

SF2-45-45 1610L

IINIT N EIENIRIINIER P

SF2-45-45 910L

(N[ I ENIENIEN NI EN

189

SF
(2]
~
Q
=}
Q
Y
=
Q
m
=
Y
3
(]




Technical Data Free Unit

SF
(]
-
Q
3
Q
Y
=
[
m
=
Q
3
(]

Reference Example of Free Unit

SF-60-60-2S Frame No. Name Quantity
(How to use Clean Booth) > 1 |SF-60-60-2S 1880L 4
2 | Hard Bracket S3060 Kit 44
3 |SF-60-60-2S 2000L 4
4 | SF-60-60-2S 2380L 5
5 |SF-60-60-2S 575L 2
6 |SF-60-60-2S 610L 4
o
g
SF-60-60+2S Frame No. Name Quantity
(How to use Clean Booth) 1 | SF-60-60-2S 1180L 6
2 | Hard Bracket S3060 Kit with Tap| 40
3 | SF-60-60-2S 2600L 2
4 | Frame Cap 60+60-2S (Light Gray) 4
5 | SF-60-60-2S 2040L TL 4
6 | Foot Base 60602S 4
7 | Adjuster M16 4
8 | SF-60-60-2S 2480L 2
9 | SF2-30-30 1280L 4
S 10 | Hard Bracket S Kit with Tap| 16
& 11 | Truss Screw M5X10 52
(Include to install Cover D and E)
12 | Cover Holder S 42
13 | Cover A 2
14 | Cover B 1
Back (1:25) 15 | Cover C 4
: 16 | Cover D 2
17 | Cover E 1
18 | Truss Screw M5X15 42
° 19 | After Nut S M5 24
SIS (Include to install Cover D and E)
] 20 | After Nut Support S (50 pieces)| 1
of
@ E@ 4X4-M8 Depth 24
¢ 8
~
P

190



SF2-40-40
(How to use Clean Booth)

40

1920
1880

2020

4-M10 Depth 50/

Name

Quantity

SF2-40-40 3740L

4

D Bracket L Kit

60

SF-40-40-R 2307L TL50

Level Adjuster(KC-280-4:Takigen)

Frame Cap 40-40-R (Black)

SF2-40-40 2160L

Njo|o| sl =2

SF2-40-40 250L

AINA AN

SF-60-60-1S+SF-20-20

(How to use Equipment Rack+Safty Cover)
o

Q

2070

Name

Quantity

SF-20-20 660L

Hard Bracket SS Kit with Tap

SF-20-20 1000L

N
SO

Frame Cap 20-20 (Black)

e
N

SF-20-20 1160L

Blind Bracket SS

SF-20-20 980L

Level Adjuster Kit with Caster L

©|m|N|o|n| s (wv|= | Z

SF-60-60-1S  830L

Hard Bracket L Kit

SF-60-60-1S  800L

SF-60-60-1S 1080L

SF-60-60-1S  680L

SF-20-20 524L

SF-20-20 572L

Pull A Type

Flag Hinge SS-R Kit

Flag Hinge SS-L Kit

ML Bracket SS Kit

Truss Screw M6X10

Cover A

Cover B

Cover C

Cover D

Truss Screw M5X10

Cover Holder SS(To install Cover)

Truss Screw M5x15(To install Cover)

SF-20-20 960L

Angle Bracket SS2040 Kit

= |o|o|w N
S IS SEN IS S NN ENTSEN NPT PPN TN

191

SF
(]
—
Q
=]
Q.
o
=
o
o
=
o
=)
(]




Technical Data waterial Property

SF
(]
-
Q
3
Q.
Y
=
Q
o
=
Q
3
(]

Material Property

6061:Heat-treated type corrosive-resistant alloy. It's used for bolt and rivet component because the welded
joint's strength is low, though it has pretty high bearing value by T6 treatment.

6NO01:Alloy with moderate strength for extrusion. With the intermediate strength between 6061 and 6063, it has
good property for extrusion and press-hardening heat treatment. Therefore, big and thin material with
S F complicated sectional shape can be produced. It's also good in corrosive-resistance and weldability.

series

6063:Representative alloy for extrusion. Although the strength is lower than 6061, it has good property for extrusion.
Complicated sectional shape can be produced and it's good in corrosive-resistance and for surface treatment.

Aluminum Material Data

SUS will use both materials depending on Usage
Material ABN01SS-T5 A6063S-T5
Tensile Strength 270N/mm’ 187N/mm’
Bearing Force 225N/mm’ 147N/mm’
Longitudinal Elastic Modulus 69972N/mm’” 68600N/mm”®
Hardness Brinell Hardness 88HB Brinell Hardness 60HB
Treatment Anodizing Thickness: More than 9 um
Frame Material Data
@Technical Data Table
Geometrical Moment of Inertia X10'mm’ | Section ModulusX10°mm’® | |x x E ly X E [Cross Section| Unit Mass | Frame Slot Width
Aluminum Frame Ix ly Zx Zy X10°N-mm® | X10°N-mm’ mm? kg/m mm
SF-20-20 0.74 0.74 0.74 0.74 0.52 0.52 182 0.49 6
SF-20-20-1F 0.83 0.75 0.78 0.75 0.58 0.52 194 0.52 6
SF-20-20-2F 0.81 0.81 0.79 0.79 0.57 0.57 195 0.53 6
SF-20-20-3F 0.81 0.89 0.78 0.89 0.57 0.62 208 0.56 6
SF-20-20-2H 0.74 0.89 0.74 0.89 0.52 0.62 200 0.54 6
SF-20-40 5.12 1.36 2.56 1.36 3.58 0.95 324 0.88 6
SF-20-40-1F 5.40 1.53 2.70 1.44 3.78 1.07 344 0.93 6
SF-20-60 15.97 1.97 5.30 1.97 11.17 1.38 465 1.26 6
SF-20-80 36.13 2.58 9.03 2.58 25.28 1.81 607 1.64 6
SF-40-40-2S 8.89 8.89 4.45 4.45 6.22 6.22 478 1.29 6
SF-40-40-2S-1F 9.78 9.32 5.08 4.66 6.84 6.52 522 1.41 6
SF-40-40-2S-2F 9.60 9.60 4.89 4.89 6.72 6.72 497 1.35 6
SF-40-60-SS 27.03 12.63 9.01 6.31 18.91 8.84 665 1.80 6
SF-40-80-SS 63.52 18.39 15.88 9.20 44.45 12.87 994 2.70 6
SF-20-40-40 6.61 6.61 3.82 3.82 4.63 4.63 429 1.16 6
SF-20-20-R 0.55 0.55 0.48 0.48 0.38 0.38 150 0.40 6
SF-20-DE30 0.80 0.98 0.60 0.77 0.56 0.69 228 0.61 6
SF-20-DE45 0.82 0.92 0.59 0.69 0.57 0.64 221 0.59 6
SF-20-DE60 0.86 0.92 0.63 0.73 0.60 0.64 227 0.61 6
SF-25-25 1.64 1.64 1.31 1.31 1.15 1.15 288 0.78 6
SF2-30-30 2.84 2.84 1.89 1.89 1.99 1.99 332 0.90 8
SF2-30-30-1F 3.03 2.76 1.98 1.84 2.12 1.93 339 0.92 8
SF2-30-30-2F 3.05 3.05 1.96 1.96 213 2.13 351 0.95 8
SF2-30-30-3F 2.99 3.24 1.91 2.16 2.09 2.27 361 0.98 8
SF2-30-30-2H 2.69 3.23 1.79 2.15 1.88 2.26 345 0.93 8
SF2-30-60 20.56 5.33 6.85 3.56 14.39 3.73 592 1.60 8
SF2-30-60-1F 20.92 5.81 6.97 3.75 14.64 4.07 615 1.66 8
SF-30-90 66.26 8.44 14.72 5.62 46.36 5.91 905 2.44 8
SF-30-120 152.58 11.24 25.43 7.49 106.76 7.86 1191 3.22 8
SF-30-60-2H 21.23 6.23 7.08 4.21 14.86 4.36 631 1.70 8
SF-K-30-30 2.38 2.38 1.59 1.59 1.67 1.67 270 0.73 8
SF-K-30-60 16.68 4.63 5.56 3.09 11.67 3.24 483 1.30 8
SF-50-50-2S 21.67 21.67 8.67 8.67 15.16 15.16 859 2.32 8
SF-50-50-2S-1F 22.23 21.40 8.87 8.56 15.55 14.97 862 2.33 8
SF-50-50-2S-2F 22.26 22.26 8.77 8.77 15.58 15.58 874 2.36 8
SF-50-100-2S 153.40 42.48 30.68 16.99 107.34 29.72 1614 4.36 8

192



SF
()
-
Q
=
Q.
o
=
o
m
=
Y
3
(]

@Technical Data Table

Geometrical Moment of Inertia X10'mm’ | Section ModulusX10°mm® | |x x E ly X E |Cross Section| Unit Mass |Frame Slot Width

Aluminum Frame Ix ly Zx Zy x10°N-mm* | x10°N-mm® mm? kg/m mm
SF-35-35 5.12 5.12 2.93 2.93 3.58 3.58 412 1.11 8

SF-35-35-1F 4.98 517 2.84 2.92 3.48 3.62 394 1.06 8

SF-35-35-2F 5.37 5.37 2.98 2.98 3.76 3.76 405 1.09 8

SF-35-35-2H 4.83 5.23 2.76 2.99 3.38 3.66 376 1.02 8

SF-35-70 35.09 9.04 10.03 5.16 24.55 6.33 667 1.80 8

SF-35-70-1F 33.94 9.47 9.70 5.36 23.75 6.63 659 1.78 8

SF-35-70-2F 34.26 9.42 9.79 5.27 23.97 6.59 656 1.77 8

SF-60-60-2S 41.38 41.38 13.79 13.79 28.95 28.95 971 2.62 8

SF-60-60-2S-1F 45.34 43.31 14.65 14.44 31.73 30.30 1071 2.89 8

SF-60-60-2S-2F 43.75 43.75 14.66 14.66 30.61 30.61 1011 2.73 8

SF-60-90 111.61 52.65 24.80 17.56 78.10 36.84 1156 3.12 8

SF-60-120 242.90 65.97 40.48 21.99 169.96 46.16 1526 412 8

SF-30-60-60 27.28 27.28 7.88 7.88 19.09 19.09 863 2.33 8

SF-30-30-R 2.42 2.42 1.53 1.53 1.69 1.69 305 0.82 8

SF-30-DE30 3.15 3.86 1.58 2.00 2.20 2.70 412 1.11 8

SF-30-DE45 3.21 3.72 1.56 1.86 2.25 2.60 401 1.08 8

SF-30-DEG60 3.33 3.70 1.67 1.89 2.33 2.59 410 1.10 8

SF2-40-40 10.48 10.48 5.24 5.24 7.33 7.33 643 1.74 10
SF2-40-40-1F 9.76 10.08 4.69 5.04 6.83 7.05 704 1.90 10
SF2-40-40-2F 9.66 9.66 4.74 4.74 6.76 6.76 589 1.59 10
SF2-40-40-3F 9.97 10.51 4.94 5.25 6.98 7.35 618 1.67 10
SF2-40-40-2H 9.74 10.44 4.87 5.22 6.82 7.31 612 1.65 10
SF2-40-80 72.30 19.92 18.07 9.96 50.59 13.94 1114 3.01 10
SF2-40-80-1F 70.50 20.32 17.62 10.14 49.33 14.22 1105 3.11 10
SF-40-160 498.81 38.58 62.35 19.29 349.03 27.00 2049 5.54 10
SF-K-40-40 7.50 7.50 3.75 3.75 5.25 5.25 492 1.33 10
SF-K-40-80 55.37 14.44 13.84 7.22 38.74 10.10 856 2.31 10
SF-80-80 129.84 129.84 32.46 32.46 90.85 90.85 1703 4.60 10
SF-80-160 1000.9 295.39 125.11 73.84 700.35 206.69 3891 10.51 10
SF-80-80-H 182.84 182.84 45.71 45.71 127.94 127.94 2616 7.06 10
SF-90-90-H 303.40 303.40 67.42 67.42 212.30 212.30 3270 8.83 10
SF-40-80-80 94.15 94.15 27.56 27.56 65.88 65.88 1550 4.19 10
SF-40-40-R 7.82 7.82 3.53 3.53 5.47 5.47 566 1.53 10
SF-40-DE30 9.89 10.64 3.73 4.20 6.92 7.45 694 1.88 10
SF-40-DE45 9.87 10.37 3.59 3.99 6.91 7.26 676 1.83 10
SF-40-DE60 9.99 10.53 3.74 4.14 6.99 7.37 679 1.84 10
SF2-45-45 15.24 15.24 6.78 6.78 10.66 10.66 783 2.10 10
SF2-45-45-1F 13.91 14.65 5.90 6.51 9.73 10.25 732 1.98 10
SF2-45-45-2F 14.09 14.09 6.14 6.14 9.86 9.86 717 1.94 10
SF2-45-45-3F 14.41 15.02 6.39 6.67 10.08 10.51 736 1.99 10
SF2-45-45-2H 14.3 14.71 6.35 6.53 10.01 10.29 731 1.98 10
SF2-45-90 125.54 32.50 27.90 14.44 87.84 22.74 1543 4.17 10
SF2-45-90-1F 117.42 32.07 26.09 14.10 82.16 22.44 1438 3.88 10
SF-45-180 804.81 60.75 89.42 27 563.14 42.51 2636 712 10
SF-K-45-45 11.74 11.74 5.22 5.22 8.21 8.21 628 1.70 10
SF-K-45-45-1F 10.88 11.33 5.04 5.03 7.61 7.93 590 1.60 10
SF-K-45-45-2F 11.13 11.13 4.99 4.91 7.79 7.79 585 1.58 10
SF-K-45-90 87.17 22.87 19.37 10.17 60.99 16.00 1102 2.98 10
SF-90-90 204.97 204.97 45.55 45.55 143.42 143.42 2143 5.79 10
SF-90-180 2136.6 598.51 237.4 133 1495.02 418.79 6320 17.07 10
SF-45-90-90 149.53 149.53 28.83 28.83 104.63 104.63 2052 5.54 10
SF-45-45-R 11.33 11.33 4.52 4.52 7.93 7.93 664 1.79 10
SF-45-DE30 14.91 15.95 4.95 5.7 10.43 11.16 851 2.30 10
SF-45-DE45 14.73 15.49 4.72 5.36 10.31 10.84 821 2.22 10
SF-45-DEG60 14.94 15.93 4.86 5.73 10.45 11.15 834 2.26 10
SF-60-60-1S 49.32 49.32 16.44 16.44 34.51 34.51 1380 3.73 10
SF-80-80-1S (L=4000) 90.46 90.46 16.35 16.35 63.30 63.30 1461 3.94 10

| % E Unit Mass | X E = Geometrical Moment of Inertia mm* X Longitudinal Elastic Modulus N/ mm’
Steel Frame X10°N-mm® kg/m @Indication of Frame Selection
g | L30x30xt3 2.92 1.32 Ix X E (Aluminum Frame) = | X E (Steel Frame)
Y
= T 235 ly X E (Aluminum Frame) =1 X E (Steel Frame)
@ | L65X65%t6 60.51 5.91
S L75X75Xt6 94.87 6.85
© | []50x50%t2.3 32.72 3.34
§ | [150x50x%t3.2 41.98 4.50
2 | [160x60xt2.3 58.24 4.06
S [J75X75%12.3 11.75 5.14

193



Technical Data indication of Allowable Load

SF
2
-
[
3
o
[
=
Q
m
=
Q
3
()

Indication of Frame's Allowable Load

@Calculated as center-concentrated load by both ends supported beam.
@Assumed the load when flexure volume reaches 1/1000mm of the frame's length as the allowable load.

Both Ends Supported  Allowable Load Both Ends Supported  Allowable Load

Name L=1000 Centralized Flexure imm | L=500 Centralized Flexure 0.5mm Name L=1000 Centralized Flexure 1imm | L=500 Centralized Flexure 0.5mm
Allowable Load (N) Allowable Load (N) Allowable Load (N) Allowable Load (N)

SF-2020 25 99 SF-3535 172 688
SF-2040 (Width) 45 181 SF-3570 (Width) 304 1214
SF-2040 (Height) 172 688 SF-3570 (Height) 1179 4714
SF-2060 (Width) 66 265 SF2-4040 349 1397
SF-2060 (Height) 537 2147 SF2-4080 (Width) 665 2660
SF-2080 (Width) 86 344 SF2-4080 (Height) 2415 9659
SF-2080 (Height) 1208 4832 SF-40160 (Width) 1296 5183
SF-40402S 299 1194 SF-40160 (Height) 16753 67013
SF-4060SS (Width) 424 1697 SF-K4040 252 1008
SF-4060SS (Height) 908 3631 SF-K4080 (Width) 485 1940
SF-4080SS (Width) 614 2457 SF-K4080 (Height) 1860 7439
SF-4080SS (Height) 2125 8499 SF-8080 4336 17344
SF-204040 222 888 SF-8080H 6130 24518
SF-2020R 18 74 SF-9090H 10190 40761
SF-2525 55 221 SF-80160 (Width) 9921 39685
SF2-3030 95 380 SF-80160 (Height) 33617 134467
SF2-3060 (Width) 179 715 SF-408080 3162 12649
SF2-3060 (Height) 678 2714 SF-4040R 262 1049
SF-K3030 80 320 SF2-4545 508 2033
SF-K3060 (Width) 156 622 SF2-4590 (Width) 1085 4338
SF-K3060 (Height) 560 2241 SF2-4590 (Height) 4188 16753
SF-3090 (Width) 283 1134 SF-45180 (Width) 2040 8162
SF-3090 (Height) 2226 8904 SF-45180 (Height) 27031 108123
SF-30120 (Width) 376 1503 SF-K4545 394 1576
SF-30120 (Height) 5111 20442 SF-K4590 (Width) 768 3072
SF-60602S 1390 5562 SF-K4590 (Height) 2927 11710
SF-6090 (Width) 1767 7067 SF-9090 7026 28105
SF-6090 (Height) 3728 14912 SF-90180 (Width) 20102 80408
SF-60120 (Width) 2217 8867 SF-90180 (Height) 71761 287044
SF-60120 (Height) 8162 32646 SF-459090 5024 20094
SF-306060 917 3666 SF-4545R 381 1522
SF-3030R 81 325 SF-60601S 1655 6619
SF-50502S 725 2902 SF-80801S 3038 12153
SF-501002S (Width) 1389 5555

SF-501002S (Height) 5048 20192

Indication of Unit's Allowable Load

Uniformly-Distributed Load  Loaded evenly to the frame  Condition: Calculated based on that each frame's flexure volume is 1mm at the center of the frame in the flat surface of 1000mmX1000mm.

Unit's Allwable Load L=1000 Unit's Allwable Load L=1000

\000 700 Name Uniformly-Distributed Load | Concentrated Load Name Uniformly-Distributed Load | Concentrated Load
1 Q Allowable Load (N) |Allowable Load (N) Allowable Load (N) |Allowable Load (N)

1 SF-2020 180 112 SF-3535 1101 688
SF-2040 (Width) 279 174 SF-3570 (Width) 1943 1214
SF-2040 (Height) 1079 674 SF-3570 (Height) 7543 4714
SF-2060 (Width) 398 249 SF2-4040 2146 1341
o SF-2060 (Height) 3366 2104 SF2-4080 (Width) 3916 2447
S SF-2080 (Width) 506 316 SF2-4080 (Height) 14837 9273
- E SF-2080 (Height) 7577 4736 SF-40160 (Width) 6966 4354
SF-40402S 1835 1147 SF-40160 (Height) 102932 64333
SF-4060SS (Width) 2552 1595 SF-K4040 1548 967
SF-4060SS (Height) 5578 3486 SF-K4080 (Width) 2856 1785
SF-4080SS (Width) 3617 2261 SF-K4080 (Height) 11426 7141
SF-4080SS (Height) 13054 8159 SF-8080 25531 15957
SF-204040 1364 853 SF-8080H 36091 22557
SF-2020R 116 72 SF-9090H 65217 40761
& SF-2525 344 215 SF-80160 (Width) 53336 33335
SF2-3030 590 369 SF-80160 (Height) 180724 112952
Concentrated Load Loaded to the center of the frame —_ SF2-3060 (Width) 1075 672 SF-408080 18619 11637
SF2-3060 (Height) 4212 2632 SF-4040R 1612 1007
© SF-K3030 512 320 SF2-4545 3106 1941
AC ‘0, SF-K3060 (Width) 995 622 SF2-4590 (Width) 6316 3948
4 SF-K3060 (Height) 3585 2241 SF2-4590 (Height) 25599 15999
SF-3090 (Width) 1651 1032 SF-45180 (Width) 10708 6692
SF-3090 (Height) 13820 8637 SF-45180 (Height) 165212 103258
SF-30120 (Width) 2117 1323 SF-K4545 2408 1505
SF-30120 (Height) 31726 19829 SF-K4590 (Width) 4474 2796
o SF-60602S 8365 5228 SF-K4590 (Height) 17892 11183
8 SF-6090 (Width) 10289 6431 SF-9090 40921 25576
- SF-6090 (Height) 22428 14018 SF-90180 (Width) 105495 65934
SF-60120 (Width) 12485 7803 SF-90180 (Height) 417936 261210
SF-60120 (Height) 49100 30687 SF-459090 29257 18286
SF-306060 5514 3446 SF-4545R 2326 1454
SF-3030R 505 315 SF-60601S 9955 6222
SF-50502S 4411 2757 SF-80801S 19445 12153

SF-501002S (Width) 8000 5000

SF-501002S (Height) 30692 19183

B

194



Indication of Bracket's Allowable Load (Slip)

Size Bracket Name Allowable Load(N) _Size Bracket Name Allowable Load (N)
SS | D Bracket SS 833 L D Bracket L 2058
D Bracket 2040 1887 D Bracket 4080 5055
Hard Bracket SS 833 D Bracket 4590 5055
Hard Bracket SSG 833 Hard Bracket L 2058
Hard Bracket SSW 2020 1290 Hard Bracket LG 2058
Hard Bracket SS 2040 1470 Hard Bracket LW 5422
Hard Bracket SSG 2040 1470 Hard Bracket L 4080 2940
Hard Bracket SSW 2040 2233 Hard Bracket G 80 3920
Hard Bracket SS 2060 1960 Hard Bracket G 80160 7056
Hard Bracket SSG 2060 1960 Hard Bracket LW4080 8542
Hard Bracket SSW2060 4360 Hard Bracket GW80 8542
< Angle Bracket SS 686 Hard Bracket L 4590 2940
Angle Bracket Hard SS 686 Hard Bracket G 90 3920
l Angle Bracket SS 2040 1176 Hard Bracket G 90180 7056
Angle Bracket SS 2060 1617 Hard Bracket LW4590 8542
QC Joint SS 345 Hard Bracket GW90 8542
S Blind Bracket SS 196 Angle Bracket L 40 1666
S D Bracket S 1176 Angle Bracket Hard L40 1666
D Bracket 3060 2825 Angle Bracket L 4080 2352
i Hard Bracket S 1176 Angle Bracket L 45 1666
'5&" Hard Bracket SG 1176 Angle Bracket Hard L45 1666
Hard Bracket SW 3030 3035 Angle Bracket L 4590 2352
Hard Bracket S 3060 1960 Offset Angle L4080 2352
Hard Bracket SG 3060 1960 Offset Angle L4590 2352
Hard Bracket SW 3060 4307 S Blind Bracket L 1274
AN Bracket Hard Bracket S 3090 2744 QC Joint L 800
Hard Bracket SG 3090 2744 TG Joint 4045 1560
Hard Bracket S 50 1960 TG Joint 60 1560
Hard Bracket SG 50 1960 TG Joint 80 Kit(When using (180 Frame) 7687
Hard Bracket SW 3090 5737 S Double Joint 40 1200
Angle Bracket S 980 S Double Joint 45 1200
Angle Bracket Hard S 980 S Double Joint 60 1200
Angle Bracket S 3060 1568 S Double Joint 80 1200
Angle Bracket S 3090 2352
Angle Bracket S 50 1568
S Blind Bracket S 686
QC Joint S 395
TG Joint 30 945
S Double Joint 30 1200
KF Joint 535

195

SF
(2}
I~
[
=}
o
Q
=
o
o
=
[
3
(]




Technical Data Hexagon Socket Bolt, SI Unit List

SF
(7))
-
Q
=}
Q
Y
=
[=3
m
=
[
3
(]

Hexagon Socket Bolt Excerpt from JISB1176 (1988)

Remarks 1. Don't use the staff which the name is in parenthesis as
possible as you can.

Developed length (1), length of thread part (s) and length of
incomplete thread is by appendix table 2.

2.
_ / Y L_ H‘ 3. Base shape of hexagonal hole can be circular cone or circle.
o \ a N ,-/P =1\ /\\ w 4. There must not have significant eccentric to the hexagonal
\ ~
5.
6.

30°  Cone Base
25
R d

hole.
I K L] [ Inner chamfering can be done to the hexagonal hole.
e i Put parallel or slash knurling to the side of the head.
B m X s m b However, knurling in not needed by specification. In this
H a case, allowable difference of D is h13 according to JIS B
H | <~ 0401 (Dimensional tolerance and engaging).
7. Spanner for this bolt is JIS B 4648 (Hexagonal bar spanner).
Unit mm
Size of Screw(d) | M3x0.5 | M4X0.7 | M5X0.8 M6 M8 M10 M12 | (M14) | M16 | (M18) | M20 | (M22) | M24 | (M27) | M30
Pitch P 0.5 0.7 0.8 1 1.25 1.5 1.75 2 2 2.5 25 2.5 3 3 3.5
Basic Dimension 3 4 5 6 8 10 12 14 16 18 20 22 24 27 30
el o] o] 9]
Alowable Tolerance —0.1 —0.15 —0.2
Basic Dimension | 5.5 7 [ 85 | 10 13 | 1e 18 21 | =24 [ 27 30 a3 | s6 [ 4o | as
P Alowable Tol o o o o o
lowable Toleance | .3 —0.36 —0.43 —0.52 —0.62
Basic Dimension 3 4 \ 5 \ 6 8 \ 10 12 14 \ 16 \ 18 20 22 \ 24 27 \ 30
H
o) [} [9] [9) []
Allowable Tolerance —0.25 —0.3 —0.36 —0.43 —0.52
e About 0.2 0.3 0.3 0.4 0.5 0.6 0.7 0.8 1 1 1 1 1 1.5 1.5
Basic Dimension 2.5 3 a 5 6 8 10 12 14 14 17 17 19 19 22
= Alowable Torance +0.080 +0.105 +0.130 +0.230 +0275
+0.020 +0.030 +0.040 +0.050 +0.065
c About 2.9 3.6 4.7 5.9 7 9.4 11.7 14 16.3 16.3 19.8 19.8 22.1 22.1 25.6
m MIN 1.6 2.2 2.5 3 4 5 6 7 8 <} 10 11 12 13.5 15
R MIN 0.1 0.2 0.2 0.25 0.4 0.4 0.6 0.6 0.6 0.6 0.8 0.8 0.8 1 1
da MAX 3.6 4.7 5.7 6.8 9.2 11.2 14.2 16.2 18.2 20.2 22.4 24.4 26.4 30.4 33.4
K About 0.6 0.8 0.9 1 1.2 1.5 2 2 2 25 25 25 3 3 3.5
a—b MAX 0.2 0.2 0.3 0.3 0.4 0.5 0.7 0.7 0.8 0.9 0.9 1.1 1.2 1.3 1.5
E MAX 1-

Hexagon Socket Bolt Drilling Dimension (Reference Value)

D' D' Unit mm
D D Size of Screw(d)| M3 | M4 | M5 | M6 | M8 | M10 | M12 | M14 | M16 | M18 | M20 | M22 | M24 | M27 | M30
di 3 4 5 6 8 10 12 14 16 18 20 22 24 27 30
T Ii T d' 34 | 45 | 55 | 66 9 1 14 16 18 20 22 24 26 30 33
d' I T 55 7 85 10 13 16 18 21 24 27 30 33 36 40 45
d d: 6.5 8 9.5 11 14 | 175 | 20 23 26 29 32 35 39 43 48

3 4 5 6 8 10 12 14 16 18 20 22 24 27 30

d d
]| 27 | 36 | 46 | 55 | 74 | 92 | 11 | 128 | 145 | 165 | 185 | 205 | 225 | 25 | 28

k‘ x ! H" 33 | 44 | 54 | 65 | 86 [108 | 13 | 152|175 | 195|215 | 235|255 | 29 | 32
Remarks Bolt Hole Dimension (d') above is according to JIS B 1001.

1
I|x|o|o

1

List of Sl Unit for Main Amount

Name of Name of

Amount Existing Unit S| Unit Equivalent Amount Existing Unit SI Unit Equivalent
um 1u=1um t kg(t can be used together) | 1t=10°kg
- Weight
1A=10"""m car mg 1car=200mg
_ —1 Density* a2 /md 3 o2 /i 3
Length | ft m 1ft=3.048X10"'m Concentration kgf-s*/m kg/m 1kgf+s°/m*=9.80665kg/m
in (A can be used together)| 1in=2.54X10"2m Momentum | kgf-s kg'm/s 1kgf-s=9.80665kg ' m/s
mile 1mile=1.60934x10°m mgmgm off kgf-m-s2 kg'm? 1kgf-m-s?=9.80665kg m?
a 1a=10?m? kef 1kgf=9.80665N
Power N
yd? 1yd?=2.01168%10m? dyn 1dyn=10"°N
ft2 m? 1f°=9.29030x102m?  MOMentof}ygf. N-m 1kef-m=9.80665N-m
Area ower
in? (a can be used together)| 1in?=6.4516x10"“m? 1kgf/cm?=9.80665%10*Pa
kgf/cm?
acre 1acre=4.04686x10°m? 1kgf/cm?=9.80665%10'bar
mile? 1mile®=2.58999%10°m? bar 1bar=10°Pa
cc cm® 1cc=1cm?® at(Technical Atmosphere) | Pa 1at=9.80665%10*Pa
Pressure
L.l dm® (L. can be used together)| 1L=1dm? atm (Presure) (bar can be used together) | 1atm=101325Pa
Volume| gal 1gal=4.54609%x107° mH20,mAg 1mH20=9.80665%10°Pa
gal m® 1gal=3.78541%x107° mmHg 1mmHg=133.322Pa
barrel 1barrel=1.590x10~" Torr 1Torr=133.322Pa

196



Technical Data How to use Nut

How to use Nut

T Nut + Anti-Sliding Cap
\

i\\
s‘ll’ Please insert Nut from

T-Shape

Surface the edge of the frame.

Fit in the surface with projection to T-shape surface of Nut.

* If the direction is not right, fixing may not enough.

After Nut + After Nut Support

After Nut Support

\ ; Insert the After Nut
g
/24

\J' Support.

Press and set the After After Nut
Nut between the claws

of After Nut Support.

After Nut Support

Lock Nut

Insert Free Nut and rotate
in the groove.

T Nut SS

for SF-20 Seri P30
/z_@ﬁ\ﬁ\ o s Anti-Sliding Cap SS
OF 17 T Nuts
S d; for SF-30 Seri P60
=S O ST SBI [t Siing Cap S
for SF-40 Series T NUt L P98
KL Anti-Sliding Cap L40
%
T Nut L
for SF-45 Seri P
S HErEREE Anti-Sliding Cap L45 98
It's hardly slide with Anti-sliding
Cap.
—r -
L

7

7~
&@‘f 7 for SF-30 Series After Nut S P61

:bg After Nut Support S

for 5720 Saries [T NULSS_|
After Nut Support SS

for P05 Seies | A NUEL | g
After Nut Support L

Nut can be positioned in the
right place by After Nut Support,
and it hardly displace because
of the convenient lock function.

for SF-20 Series| Lock Nut SS | P30

for SF-30 Series | Lock Nut S P61

=TS
for SF-40-45 Series| Lock Nut L P99
-
()
Q
By tightening the set screw,
position of the Nut is fixed and
hardly moves. After Nut Support
can also be used and hardly
! = moves as a temporary setting.
—UJ

for SF-20 Series | Free Nut SS | P30

for SF-30 Series | Free Nut S P61

for SF-40-45 Series| Free Nut L~ |P100

Nut can be inserted in the condition
that is remained in bracket, etc.

SF
(2]
~
Q
=}
Q
Y
=
Q
m
=
Y
3
(]




SF
(]
—
Q
3
Q
Y
=
[=}
o
=
Y
3
(]

198

Technical Data

QC Joint Kit

How to joint Bracket

1 Drill-Processed Frame 2 QC-processed frame
for QC Joint
QC-Round Metal Tool
Insert QC Joint.
« Drill-processing for QC Joint is @ QC Joint
needed on one of the frames. P\ with Tap)
7 QC Joint D\ Hexagon Socket Bolt
4 3
Tighten QC Joint and Bolt
with Hexagonal Wrench.
Rotate QC Joint 90°, and connect
to the QC-Processed Frame.
TG Joint Kit
1 B & 2
I gp % \ TG Plate
+ Tapping for bolt
tigphpterlwging is needed Lor TG Put the Bolt for TG through
to one frame, and the TG Plate, and fix
wrench hole processing  pyiing temporary with spacing.
is needed to another
frame. 4| @ ol
4 / 3
Set the head of the bolt
and TG Plate to another
/ [ frame, and slide to the
specific position.
Tighten with Hexagonal Wrench and fix it.
Instruction for use of TG Joint
Set the rotation stopper to the top.
When using TG Joint Kit 30 with
) Adjuster Plate S and Adjuster Caster
e o Plate ) Plate S together, please pay attention to
the direction of TG Plate.
Double Joint Kit
1 ﬁ ﬁ\ Hexagon Socket Bolt 2 Insert' T Nut and Insert Double
& v Bolt first. Joint to the
“\Double Joint drilled frame.
&\ T Nut
- Drilling is needed to
one of the frames. Frame @
Frame O Ve
4 3

Tighten with Hexagonal Wrench
with adjusting the position.

Fix up Frame 2 to Frame
1, and slide T Nut and
Bolt from both sides to
connect to Double Joint.

Frame @O




SF
(7]
[~
Q
=
o
Y
=
o
o
=
Y
3
()

Tapping Bolt

1 Drilling is needed to the frame which fixes with Tapping Bolt. 2 Fix Tapping Bolt temporary by Electric Driver.

Tapping Bolt
Drilling & N

4 Tighten by Torque Wrench to fix. 3 Insert the head of the
‘ bolt to another frame's

groove, and slide to
the specified position.

1 Drilling for KF Joint is needed to one of the frames. 2 Put the frame to KF Joint pin.

Drill-processed Frame for KF Joint
KF Joint
Holder

#%Drilling for KF
Joint is needed

* Manual tool is recommended,
because the reaction of torque up
is big if electric drill is used.

How to assemble KF Joint

KF Joint

Pin to one of the
\ A Frames.
4 Appearance from the opposite side is clear because 3 Tighten set screw (sharp edge) by Hexagonal Wrench.

the drilling for KF Joint is not penetrated.

Flat Suvface>\

Inside Outside (Joint processing cannot be seen.)

>

Maintain the beauty of flat face.

199



Technical Data Free Unit

SF
(]
-
Q
3
Q
Y
=
Q
o
=
QL
3
(]

Each L-Shape Bracket

1 2
Insert the bracket kit to
"\\Q frame's groove.
Nij=3
&
S
Fix bolt and Nut temporary to bracket. ‘E!ﬂ ? -~
N—

) i ’ MW%

Adjust the frame's
position, and tighten NS
finally. v

Fix temporarily,
adjusting the bracket's
position.

Angle Bracket

2
Insert T Nuts to both Adjust positioning and
frames at first. fix temporary for only,
one of the frames.

Blind Bracket
1

Fix Blind Bracket
temporary to frame.

Insert the Blind Bracket fixed in 1 to
another frame's groove.

sition well and tighten
hig et screw by

Bracket (Block Bracket)

2 3
AR
)
& %

Fit R Bracket and
tighten to the tap
on the frame's end
faces.

Tap processing is needed
to the frame's end faces.
(P209~)

200



T8
T} Standard Frame

Technical Data

201



SF
(2]
-+
Q
3
o
Y
=
o
o
=
o
3
(1]

Technical Data How to Assemble SF Unit

How to Assemble SF Unit

Before Assembly | 1. Please assemble in wide space on flat floor.

* Example of using TG Joint Kit and Hard Bracket

2. Classify the Frames by dimensions and parts.

1 Base Assembly

¢ 4 T Nuts

®

3
® Top Surface 2 T Nut

Top Surface
2 T Nuts

Insert 4 T Nuts to back
(Install Adjuster Plate)

* Please don't forget to insert Nuts.

®
4 T Nuts

Bracket is fixed temporary.

Top Surface 4 T Nuts

2 Put up poles

How to assemble
TG Joint(P216)

% q

Wnch Hole

* Please confirm the directions.

5 Assemble top surface (2)

A

Insert 2 T Nuts
to undersurface.

6 Turn unit upside-down, and install Adjuster and Caster

202



SF
]
-
Q
3
Q.
Y
=
o
mn
=
Y
3
o

* Don't forget to prepare T Nut and Free Nut to install Top Plate and Cover.

3. Scratch marking-off on Frame 4. Confirm the quantity of Nuts to insert before assembly.

3 Put up intermediate poles 4 Assemble top surface (1)

<P Fix Bracket temporary.

Fix TG Joint temporary

Attach T Nut and Bolt with enough looseness.

Insert 2 T Nuts to
inner side of each frame.

7 Tighten finally with adjusting the Frame's position. 8 Completion

& &

* Please clean the surface with alcohol,
etc after assembly.

203



SF
(2]
—~
Q
=]
Q.
o
=
o
o
=
o
3
(]

204

Technical Data How to install

How to install Panel

How to fix by Bracket's Tap

(How to install)

@ Fasten Resin Panel to the tap
of D Bracket or Hard Bracket
by bis.

(Selection Indication)

@ Panel installation is easy even
after assembling frame, and
the Panel's surface becomes
as same as Frame's surface.

(How to install)

®Insert After Nut in frame's
groove, and fasten Resin Panel
by bis.

(Selection Indication)

® High-airtightness component
with lessen the gap with frame.

(How to install)

® Fix Resin Panel in to the
frame's groove, using Panel
Fix.

(Selection Indication)

® Beautiful appearance without
bis. Displacing is possible after
assembly.

(How to install)

® Fit Resin Panel into the frame's
groove before assembling the
frame, and fix by Panel Clamp
completely.

(Selection Indication)

® Appearance is clear.

® Frame assembly and inserting
Panel is done at the same time,
so it's suitable for unit in face.

(How to install)

@ Resin Panels become a Sliding
Door, using Slide Rail and Slide
Spacer.

(Selection Indication)

@ Sliding Door Structure at low
cost.

(How to install)

@ Sliding Door's rim frame is used
as a Sliding Door with installing
rollers to the convex part of the
slide rail.

(Selection Indication)

@ Suitable for medium size.

(How to install)

® Fasten Aluminum Sash Kit to
Aluminum Frame by bis to
install.

(Selection Indication)

® Suitable for large size.

(For details)
Bracket with Tap

SF-20 series P32~
SF-30 series P63~
SF-40 - 45 series | P101~

(For details)

After Nut to fix Resin Panel.

After Nut SS P23~
After Nut S P61~
After Nut L P99~

(For details)

Panel Fix
Panel Fix Rubber p172

(For details)

Panel Clamp

P172

(For details)

Slide Rail
Slot Connector
Slide Spacer

P176

(For details)

Slide Rail
Slot Connector

P176

Frame for Sliding Door's Rim
Panel Joint Kit

Rail Guide

Sliding Door Wheel

P178

Panel Guard

P130




SF
(7))
-
Q
=}
Q
Y
=
Q
m
=
o
3
(]

Resin Door

(How to install) (For details)

@ Attach hinges to Resin Panel Installation size\ P175
and use as a door. Fixed Hinges | P140~

(Selection Indication)

® Door structure at low cost.

(How to install) (For details)
® Make a rim by various kinds of Installation size| P75
Frame to use as a door. Panel Frame

(Selection Indication) TC Block

® Medium to large size door Fixed Hinges | P140~
structure.

P174

o

(How to install) (For details)
® Make a rim by Frames, and Folding Door Slider | P179
attach Folding Door Slider to
slide the frame's groove.
(Selection Indication)
® You can use the covering's
outer space effectively when
opening and closing.

(How to install)

® Fasten Aluminum Sash Kit to
Aluminum Frame.

(Selection Indication)

® To construct large size door.
Handles are standard adoption.

(How to install) (For details)

® Fix Vinyl Sheet to Aluminum Vinyl Sheet ‘ P182
Frame's groove by Sheet Fixing Flat Bar ‘ P128
Plate or drilled Flat Bar.

(Selection Indication)

@ Covering structure at lower cost
than Hard Resin Panel.

(How to install) (For details)

® Vinyl Sheet becomes a curtain Vinyl Sheet ‘ P182
using Green Frame and Ring
Runner.

(Selection Indication)

® Door structure at lower cost
than Hard Resin Panel.

205



SF
(7))
-
Q
=]
Q.
o
=3
o
o
=
o
3
(]

Technical Data as A

Q What is the indication of selecting aluminum frame?

A

SF series is composed of 3 series as follows.

SF20 series (groove width 6mm). For small size covering, rack for small parts, etc.

SF30 series (groove width 8mm). For medium size covering, conveyer frame, etc.
SF40-45 series (groove width 10mm). For large size clean booth, equipment table,
component material, etc.

Please solve the mass of the products at first, and select the frame referring Indication of
allowable load (P194).

@ What is the indication of selecting bracket?

A

Q How much is the cutting tolerance of aluminum frame?

A

Q How is aluminum frame finished?

A

Usable bracket is written separately by each series. Please refer Indication of bracket's allowable load (P195).

-In case that L-shaped bracket interferes product or panel, please select QC Joint, TG Joint, KF Joint, S Double
Joint, Tapping Bolt, S Blind Bracket or Plate Bracket.

-In case that aluminum frame overhangs to cantilever, please use Truss Joint, Turn Bracket or Hard bracket
DE135/45 and construct large size stay.

+0.5mm less than specified size.

A. In SF series, frame's surface is anodized to finish (more than 9um). Cut surface is not anodized.
* Black anodizing is also available. Black anodizing cost will be added to our price list. g

* Please refer the standard black anodized Frame and Bracket in the series page.

* Frame without anodizing for conduction measure can also be ordered specially.

F
Y

@ How is aluminum frame cut?

A

It's cut by tip saw for mild steel. Please cover the cut surface by Frame Cap after assembling frame.

(@ Can JIS standard hexagonal nut and square nut be used for SF series?

A

No. The area of pressure by sitting is cordoned by using the exclusive nut, and SUS is

manufacturing the nut to prevent aluminum material from buckling.
* Exclude SF Light series.

Coution

(@ Does Nut fall down when frame is stood vertically?

A

206

Please attach "Anti-Skid Cap" to T Nut and insert to the frame's groove. Or in case of inserting later, please use
"Easy Nut", "After Nut Support" and "Lock Nut". "Anti-Skid Cap" and "After Nut Support" is provided as 50pieces/
pack.




@ What is appropriate tightening force in using Nut or Hexagon Socket Bolt?

A

Size of screw  Appropriate tightening force  (Appropriate tightening torque-reference)
M3 3.2KN ( 1.9N-m) Alumi
uminum may buckle or Nut

M4 5.1KN ( 41N m) may break if you tighten harder m
M5 7.4KN ( 7.4N- m) than the appropriate tightening =

force. We recommend using T =
M6 9.0KN (1 0.8N- m) Nut to the tightening palt‘tl which =
M8 15.5KN (24.9N-m) intensity applies. Coution

@ How can we fix Resin Panel to Aluminum Frame?

A

Please select fixing method according to your purpose.

In case you stick Panel to outer frame --- Please insert T Nut (with Anti-Skid Cap) to frame's
groove at first, and fix by Truss Screw.

In case you fasten Panel to inner---Fixing method is in P47, 82 and 125. With this method,

frame by bis the appearance is good and removing Panel is easy, so
it's suitable for Safety Cover, etc.

In case you fit into inner frame. ---Fixing method is in P214 and 215. With this method,

drill-processing or fastening with bis aren't necessary, so
it's suitable for the purpose of emphasizing design.

@ How can we install doors to Aluminum Frame?

A

Please select the installing method according to your purpose.

Resin Panel Door---Please refer Resin Panel (P182) and Hinge-Pull, etc (P140 ~ ).

Frame Rim Door---+-+ Please select Panel Frame (P174) or SF20 series (P24 ~ ) and create the door.
* Please construct frame rim with SF30 series for large size door.

@ How can we fix Adjuster or Caster?

A

Usable adjuster and caster are provided by each frame size.

SF20 series (P43,44)
SF30 series (P77,78)
SF40 - 45 series (P119)

Q What are the precautions for assembly?

A

-Please assemble frames in wide space on flat floor.
-Regarding squaring and surface matching in assembling frame, it's convenient to fit Chamfering Jig from outside.
- Purchasing Lock Nut at the beginning is recommended as reserve parts.

- Please check whether you forgot to tighten all bolts or not after assembly.
- SUS also responds Unit Assembly Service.

Coution

207

SF
(7))
-
Q
=}
Q
Y
=
Q
m
=
o
3
(]




SF
(]
=
Q
=]
Q
Y
=
Q
o
=
Y
3
(]

Technical Data Frame Processing

Frame Processing List

Please specify by processing No. (P208~219) or in the drawing when you want the frame processing below.

Item No. Length(mm)

ProcessingNo.

(SF2-30-30 | 4=800| TGS

Specify by drawing in case of no Processing No.

Processing Name Processing Contents Note Category
Drilling A Drillin Please refer the processing number list in P214~219
| In case A=8/11.1/13.1/15.1 for drilling TG Joint, S Double Joint, Tapping Bolt and SFZ-002
‘ KF Joint.
‘ T In case A<20 and other than above : : SFZ-003
| In case A=20 Specify by drawing. SFZ-009
Counterbore A 8 c
SF30 seri
[ © (for MesHeerxlae:on Socket Bolt)| &€ " °
,—t‘ j—y—f g ozl SF40(45)seri 125 " -
; ! T W (for M8 Hevaoer:Igickel Bolt) 9 4 {13) Specify by drawing. SFZ-004
[ J OJQ | ﬁo SF20 series 55 95 6 (Refer P196)
Al (for M5 Hexagon Socket Bolt)| ™ i
DA
(for M12 Hexagon Socket Bolt)| 14 20 | specify
Spot Facing other than above SFZ-009
: M5 Depth15 SFZ-005
End Face Tapping M Dot s [?e o oa Refer P209~211 —
S o . Drilled to the deapth of 50 SFZ-008
A\ - M12 Depth 363% - A
- O Specify by drawing. —
Ry M12 Helisert 1.5D SFZ-006
M14 Depth 42 Specify by drawing. SFZ-007
Side Tapping MO
7 ﬂ Taping on Frame Side Specify by drawing. SFZ-009
1 d
QC Joint Processing
Drilling for QC Joint Refer P212~213 SFZ-002
High Accuracy Cut %, A=0.5 Standard Cutting Size Tolerance
HC ] =0.2~
(HC) FETY . A 0(22 é?‘gOOmm) Specify by drawing. SFZ-015
Slant Cut U X=45° Specify by Processing No. below. SFZ-016
[T\ R’y Specify by drawing for others.
=== 45°<X<90°(0.5° Unit) ) ) SFZ-013
() X<45° Specify by drawing. T SFzo1a
Cost to cut nonstandard size L=A , - X .
Cut the dimension of 30mm=A=<50mm It's adapted when receiving the specification to cut SFZ-009
- more than 30mm and below 50mm.
Notching «B< , L=100mm
. A AXB=900m ™ 56mm<L=200mm
N
L | |79 900mi<AXB | L=100mm if . FZ-009
AT # =2700mi 100mm<L=200mm Speciy by drawine. s
[l
N L=100mm
2700mi<AXB [ 50mm<L=200mm
C-Chamfering o C Below 0.5
%/ g g?:g 150 Specify by drawing. SFZ-009
‘ C 10.1 and up

45°Slant Cut Frame Processing Number List

Please specify Processing No. below to the Frame when using Hard Bracket DE135/45 in P41-74-109

Item No.

Length(mm) Processing No.

[E))(sF2-30-60] ¢=800] DHs |

% Specify by drawing in case of no Processing No.
% Specify in drawing other than intended Frames.

Processing No. 45°Slant Cut Shape Intended Frame Processing No. 45°Slant Cut Shape Intended Frame
= SF-20~2oEor Black; SF-30-60-2H +

SF-25-25(or Black _K-30-
SF-40-40-2S (or Black) gg.gos-gow

DSS SF-30-30 (or Black) DHW SF-30-120
SF-K-30-30 3
SF-35-35 SF-60-90
SF-50-50-2S SF-50-100-2S
SF-60-60-2S (or Black) SF-60-120
SF-40-40 (or Black) SF-40-80 (or Black)
SF-80-80 (or Black/H) SF-40-160
SF-K-40-40 SF-45-90 (or Black)

Dsw SF-K-45-45 DVS or Blacl
SF-90-90 (or Black/H) SF-K-40-80
SF-60-60:1S SF-K-45-90
SF-80-80:1S SF-80-160

F-90-1

SF-20-40 (or Black) gFig1gg
SF-20-60 Panel Guard T3(SFF-K34) %

DHS 258128 DVW gaFnes| 5(;%(; T5(SFF-K54) %
SF-40-80-SS ) ’

SF-30-60(or Black) |

#0nly DVS-DVW

208



Tapping on Frame's Cut Surface

* You can order in your drawing, too.
* Please inquire regarding the nonstandard depth.

* Only when YG Joint, S Double Joint and KF Joint will be drilled together with tapping, please specify L or R.

SF20 Series

SF-20:20(1F-2F-3F-Black-2H Included) i SF-20-40(1F-Black Included) 20

! a A

M5 Depth 15 2-M5 Depth 15, d
Item No Length(mm) Tapping Item No. Length(mm) Tapping

[ SF-20+20 | =800 | TL or TR case of ot scesTW) | ( SF-20+40 | =800 | TL or TR caseof bt sicesTW) |
SF-20-60 SF-40-40-2S(1F-2F-Black Included) w©

S R L R

4-M5 Depth 15,

SF-20-80 SF-40-80-SS

L R L R
SF-20-40-40 SF-40-60-SS o

L R
SF-20-20-

M4 Depth 12

,_
=s)
T
EYA
90

L]
4-M8 Depth24

M8 Depth 24
SF30 Series
SF2-30-60(1F-2H Included) 30 SF2-30-30(1F-2F-3F-2H Included)
e | = 30
T s g
—————— - A i
777777 N e =74 M8 Depth24,
2-M8 Depth 24
SF-K-30-60 30 SF-K-30-30 o
L == s
M8 Depth24
2-M8 Depth24
SF-30-120 SF-30-90
L R L R
SF-60-90 o SF-60-60-2S(1F-2F-Black Included)

209

SF
(7))
-
Q
=]
o
Y
=
o
o
=
o
3
(]




Technical Data Frame Processing

SF
(]
f~d
Q
3
Q
Y
=
Q
mn
=
Y
=
(]

Tapping on Frame's Cut Surface

SF30 Series

SF-30:60-60 SF-50-50(1F-2F Included)

""""""""" L R
L R
SF-50-100 50
L R
4-M8 Depth 24 /
SF-30-30-R
YN
75k
M8 Depth 24

SF-60-120

L R

B
74

4-M8 Depth 24

SF40 Series

SF2-40-80(1F)

L R L ) R
SF-80-80(Black-H Included) SF-40-160
L R T R
"""""" 4-M12 Depth 36 g
SF-K-40-40

SF-80-160 80

A
¥
4-M8 Depth 24 é(

SF-40-80-80 SF-K-40-80
L R L R
SF-40-40-R SF-40-DE45 (DE30-DE60 Included)

L L R R - )ﬂ g L TN T R
D?E LA
M10 Depth 30

M12 Depth 36

210



SF
(7]
[~
o
=]
o
Q
=1
o
y
=
o
3
()

SF45 Series

SF2-45-90(1F Included) s SF2-45-45 (1F-2F-3F-2H Included)
il 45
L R L I R
. : M12 Helisert 1.5D
2-M12 Helisert 1.5D
SF-90-180 SF-45-180
L R L R
4-M8 Depth 24
SF-K+45-45 (1F-2F Included) SF-90-90(H Included) %
J ﬂE ¢[50
L R L R Eﬁ: E 8
o Fiiy D &
gﬁu D6 |
4-M8 Depth 24
SF-45-90-90 SF-K-45-90
45
0 R L R
2-M12 Helisert 1.5D,
SF-60:60-1S SF-80-80:1S 80
T
L b R L =& F= R ®
M12 Helisert 15D, M12 Helisert 1.5D
SF-45-DE45 (DE30-DE6O Included) SF-45-45-R
45
L R L R @Nﬂ 2
M12 Helisert 1.5D 45
— M12 Depth 36
Panel Frame
20
L R
M5 Depth 15

211



SF
0
P
[
=
Q
Y
=
o
o
=
Y
3
o

212

Technical Data Drilling Symbol for QC Joint

Drilling Symbol for QC Joint

< QC Joint Assembly Contents >

Drilling for QCJoint

QC Round
Metal Tool

QC Joint
¢
$%

~_Hexagon Socket Bolt

<Position and size of the hole to insert round metal for QC Joint>
A A
B Drilling - —
A size B size

SF-20 series 9.8 71
SF-30 series 15 1.1
SF-40 series 20 13.1
SF-45 series 19.5 13.1
SF-K-45 series 20 13.1

Insert QC Joint to frame's groove (last-in is possible), and fit another frame with QC round metal installed to combine by tightening bolt.

It's easily squared and hardly makes gap because 2 frames pull each other. Appearance is clear without outer joint part's overhang.
Also, assembly process is shortened because there's no need to set Nuts to frame before.

® Please specify by QC Joint processing number when you use each QC Joint
in P37,69,113.

®Please mind the direction because QC Joint cannot be inserted to the
surface without groove.

Item No. Length(mm)  Processing No.

== (E])( sFF-324 | ¢=800] Qcs |

QC Joint Processing List

1 Row X 1 Row 1 Row X 2 Rows

{RwX3Rows 1 Row X 4 Rows 2 Rows X 2 Rows 2RwmsX3Rws 2 Rows X 4 Rows

¥ SF-20-20 SF-20:20-1F | SF-20:40 SF-20:40-1F | SF-20-60 SF-30-120 | SF-20-80 SF-40-40-2S | SF-40-40-2S-1F | SF-40-60-SS | SF-60-120 SF-40-80-2S

2 [SF2-30-30 |SF-20-20-2H |SF2-30-60 |SF2-30+60-1F | SF-30-90 SF-40-160 |SF-50:50:2S | SF-50+50-2S-1F | SF-60-90 SF-50-100-2S | SF-80-160
o = SF-K-30-30 |SF2-30-30-1F | SF-K-30:60 |SF2-30-60-2H SF-45-180 |SF-60:60:2S | SF-60-60-2S-1F SF-90-180
S\ 2 SF2-40-40 SF2-30-30-2H | SF2-40-80 SF2-40-80+1F SF-80-80
3 SF-K-40-40 |SF2-40-40-1F | SF-K-40-80 |SF2-45-90-1F SF-80-80-H
e SF2-45:45 | SF2-40-40+2H | SF2-45-90 SF-90-90
] SF-K-45-45 |SF2-45-45-1F | SF-K-45-90 SF-90-90-H
= SF-60-60-1S | SF2-45-45-2H
=] SF-80-80-1S | SF-K+45:45+1F

L L
Qacs %
R R

Qcw %
Qcv %
Qcy %




swielq piepuels 5:”1

Reference Example of QC Joint
QCS

QC Joint Kit Table

clo-NR | Frame Name QCSs QCw QcCC Qcv QCY
SF-20-20 SS Kitx2
SF-20-20-1F SS Kitx1 SS Kitx2
SF-20-20-2H
SF2-30-30-1F ! !
SF2-30-30-2H
ST L40 Kitx2
1 Row x 1 Row | SF;K:40-40
SF2-40-40-1F L40 Kitx1 L40 Kitx2
SF2-40-40-2H
SF2-45-45 .
SF.K-45-45 L45 Kitx2
SF2-45-45-1F L45 Kitx1 L45 Kitx2
SF2-45-45-2H
SF-K-45-45-1F
SF-60-60-1S L60 Kitx1 L60 Kitx2 L60 Kitx2
SF-80-80-1S L80 Kitx1 L80 Kitx2 L80 Kitx2
SF-20-40 SS Kitx2 SS Kitx4 SS Kitx2/SS40 Kitx1 . .
SF-20-40-1F SS40 Kitx1 SS40 Kitx2
gE_zlfgosgo S Kitx2 S Kitx4 S Kitx2/S60 Kitx1 ) )
SF2.30-60-1F S60 Kitx1 S60 Kitx2
1 Row X 2 Rows g::ﬁgoegoz"'
SF-K-40-80 L40 Kitx2 L40 Kitx4 L40 Kitx2/L80 Kitx1 L80 Kitx1 L80 Kitx2
SF2-40-80-1F
SF2-45-90 . . . .
SF-K-45-90 L45 Kitx2 L45 Kitx4 L45 Kitx2/L90 Kitx1 Lo0 Kitx1 L90 Kitx2
SF2-45-90-1F
1 Row X 3 R SF-20-60 SS Kitx2 SS Kitx4 SS Kitx2/SS60 Kitx1 SS60 Kitx1 SS60 Kitx2
ow X 3 Hows 'SF-30-90 S Kitx2 S Kitx4 S Kitx2/S90 Kitx1 S90 Kitx1 S90 Kitx2
SF-20-80 SS Kitx4 SS Kitx8
1 Row X 4 R SF-30-120 S Kitx4 S Kitx8 S Kitx4/S120 Kitx1 S120 Kitx1 S120 Kitx2
ow X 4 Rows 'SF40-160 L40 Kitx4 L40 Kitx8
SF-45-180 L45 Kitx4 L45 Kitx8
SF-40-40-2S . . SS40 Kitx4
SF-40-40-2S-1F S840 Kitx2 SS40 Kitx4
SF-50-50-2S . . S50 Kitx4
SF-50-50-2S-1F S50 Kitx2 S50 Kitx4
2 Rows X 2 Rows | SF-60-60-2S . . S60 Kitx4
SF-60-60-2S-1F S60 Kitx2 S60 Kitx4
SF-80-80 . . X
SF-80-80(H) L80 Kitx2 L80 Kitx4 L80 Kitx4
SF-90-90(H) L90 Kitx2 L90 Kitx4 L90 Kitx4
2 Rows X 3 Rows | SF-40°60-SS SS40 Kitx2 SS40 Kitx4 SS40 Kitx2/SS60 Kitx2 SS60 Kitx2 SS60 Kitx4
SF-60-90 S60 Kitx2 S60 Kitx4 S60 Kitx2/S90 Kitx2 S90 Kitx2 S90 Kitx4
SF-40-80-2S SS40 Kitx4 SS40 Kitx8
SF-50-100-2S S50 Kitx4 S50 Kitx8 S50 Kitx4/S100 Kitx2 S100 Kitx2 S100 Kitx4
2 Rows X 4 Rows | SF-60-120 S60 Kitx4 S60 Kitx8 S60 Kitx4/S120 Kitx2 S120 Kitx2 S120 Kitx4
SF-80-160 L80 Kitx4 L80 Kitx8
SF-90-180 L90 Kitx4 L90 Kitx8
Precautions for using QC Joint

* There is a part which cannot use on frame's groove after * In case of using plate like Level Adjuster Kit, etc together
QC Joint processing. )

Please do the
Tapping on vertical

Series A Size(mm) frame, and fix the

SF20 Series 19.5 plate at 3 points,

SF30 Series o7 because QC Jomt .

SF40-45 Seri 35 and the holes with
al mark overlap.

213



SF
)
P
o
3
o
Q
=
[
i
=
(Y
3
(]

214

Technical Data Driling Symbol for S Double Joint

Drilling Symbol for S Double Joint

<S Double Joint Assembly Contents>

Hexagon

& S Duble
Joint
&\ T Nut

Drilling

“\Socket Bolt

/ Frame @

-

<Position and Size of the Hole to insert Round Metal for S Double Joint>
Frame @ ] ]
A A
[ ( O O|
- & @]
AN ) 5,3
B Drilling A Size B Size
SF30 series 15 111
SF40 series 20 131
SF45 series 20 15.1
SF60-60-1S 20 151
SF80-80/1S/H 20 13.1

@S Double Joint:---- Drill a hole to insert S Double Joint metal on frame @ and insert nuts to frame (O, then fix from the both sides of metal for joint by bolt.
It's easily squared and hardly makes gap because 2 frames pull each other. Appearance is clear without outer joint part's overhang.

Please specify S Double Joint Drilling No, below to the Frame when using
S Double Joints in P70-114.

Item No. Length(mm)  Processing No.

mp (=) SFF-324 | ¢=800] WJs |

S Double Joint Processing List

Groove Type

1 Row X 1 Row Type

1 Row X 2 Rows Type 1 Row X 3 Rows Type 1 Row X 4 Rows Type 2 Rows X 2 Rows Type

(Include 1F-2H Types)

SF2-30-30 SF2-30-60 SF-30-90 SF-30-120
. o SF2-30-30-1F SF-K-30-60
SF30 Series | S Double Joint Kit 30 SF2-30-30-2H
SF-K-30-30
SF2-40-40 SF2-40-80 SF-40-160
. o SF-K-40-40 SF-K-40-80
SF40 Series | S Double Joint Kit 40 SF2-40-40-1F
SF2-40-40-2H
SF2-45-45 SF2-45-90 SF-45-180
SF-K-45-45 SF-K-45-90
S Double Joint Kit 45 SF2-45-45-1F
SF45 Series SF-K-45-45-1F
SF2-45-45-2H
S Double Joint Kit 60 SF-60-60-1S
S Double Joint Kit 80 SF-80-80-1S SF-80-80(H)
WJs
wWJw
wJC
Exclude 1F-2H Types




Example of S Double Joint

Reference

WJC

215



SF
2
—
o
=}
Q.
[
=
o
iyl
=~
[
3
()

Technical Data Drilling Symbol for TG Joint and Tapping Bolt

Drilling Symbol for TG Joint and Tapping Bolt

<TG Assembly Contents>

<Position and Size of the Hole to insert Round s [ C_ & brine cs
@ Metal for TG Joint and Tapping Bolt> / [
¥ A Size | B Size | C Size ECEEC i SGERC
#1 SF20 Series| 10 20 | A3(7) Al B B | A
SF30 Series| 15 30 |A-3(12) A B B A
- L d SF40 Series| 20 | 40 |A-3(17) i K i oC 50
Tapping #2 SF45 Serigs| 22.5 45 |A-3(195) OO FCEE e O
" )" %2 SF60-60-1S| 30 — — N )] ' S|
Wrench Driling \/ 31 Only Tapping Bolt 2 Only TG Joint 3.L.C 8 Drilling .cll.38
Drilling for SF20 : 6 Drilling
&TG Joint--+--- After Tap processing on the end face of one frame, fix metal for TG Joint temporary to tighten from wrench hole of another frame to combine.

It's easily squared and hardly makes gap because 2 frames pull each other. Appearance is clear without outer joint part's overhang.

@Tapping Bolt---  Joint as same as TG is possible without tap-processing or metals for TG Joint.

Please specify TG processing number below for frame to be drilled wrench Item No. Length(mm) _ProcessingNo.
hole, when you use any TG Joint or Tapping Bolt. _ —
mp [Z])( sFF-324 | ¢=800] TGS ]
#<Optional Specification for Frame Cap> Within Outer Size Item No. Length(nm)  Processing No. ] 3 |(A Size=3:Both end surfaces)

If you want to make Frame Cap within outer —) _ 3R | (A Size—3:0nly right side)
[ SFF-324 I 2_8001 TGS ] 3L (A Size—3:0nly left side)

size, please use options.

TG Joint + Tapping Bolt Processing List 31 Only Tapping Bolt 32 Only TG Joint

R 1 %2 %2
Groove Type 1RowX1Row L AR SF-20-20 [ SF2-30-30/SF-K-30-30 [l SF2-40-40 / SF-K-40-40 [l SF2-45-45 Wl SF-60-60-1S

351

52
8 SF-20-20-1F | SF2-30-30-1F |l SF2-40-40-1F /SF-K-40-40-1F | SF2-45-45-1F

oA 31 #2
[’ii Groove Type 1RowX1Row<{2 Flat Surfaces) ®O0bject Frame - [EEAEA EZEEE HZ Ao wmd B2y
S

’E‘ Groove Type 1RowX1Row(3 Flat Surfaces) ., E}i‘] Groove Type 1RowX1Row{2H) o
NI IRy SF-20-20-3F [l SF2-30-30-3F [ SF2-40-40-3F JISF2-45-45-3F IR SOty SF-20-20-2H [l SF2-30-30-2H W SF2-40-40-2H W SF2-45-45-2H




._“.v Standard Frame

51
L JolIRS el R SF-40-40-2S W SF-60-60-2S

ﬁ Groove Type 2RowsX2Rows

“
O
=

TGU

PN b ¥ SF-40-40-2S-1F M SF-60-60-2S-1F

m Groove Type 2Rowsx2Rows({1 Flat Surface)

%1
¥ SF-40-40-2F [ SF-60-60-2S-2F

e-

m Groove Type 2RowsX2Rows{2 Flat Surfaces) ®O0bject Fram

L
TGU
TGA

%%%0
&
n
ki
N
[T
(2]
=
3 s T 3
15} o S S
= ~ = &
L
@
%0
@
=)
N
N
[T
(2]
3
O = LL o
5] 5] 5] 3
L = = x
w
@
%0
o
S
&
N
[T
w
o
s = = 3
= o i &
[V O] [O] 7]
[ F F :
o
£
]
[
ksl
2
e}
o
*
= (a) w
(O] [O)
| g ¢
)
=
[}
o
o
X
s
o
o
= ] = -
%) =) <
8§ B 8 @
>
. [}
>
o
o
—
(O]

(Only SF-30-60)

SF2-40-80-1F @ SF2-45-90-1F

SF2-30-60°-1F

-20-40-1F

SF.

1RowX2Rows(1 Flat Surface) #O0biject Frame-

Groove Type

et
&
_ )

(2]
m
=

TGUW

ju]
(]
el

TRowX4Rows

LYo aa e Rl SF-20-80 el SF-30-120 |l SF-40-160 | SF-45-180

Groove Type
[TGSW]|

[ TGS |

1RowX3Rows
NN SF-20-60 |@il SF-30-90

R Groove Type

X

TGWW|

TGWW|

[TGSW]

TGS

[TGW ]

it

Sty Uis) N

REET,

217



Technical Data Drilling Symbol for KF Joint

SF
(2]
~
Q
=]
Q
Y
=
Q
m
=
o
3
(]

Drilling Symbol for KF Joint

<KF Joint Assembly Contents> <Drawing of Position, Size and Depth of the Hole for KF Joint>
#O0bject frame*+-SF-35-35,/1F /2F /2H-SF-35-70,/1F /2F
Drilling for KFJoint
20 15.1 Drilling 20 Frame with a flat surface
KF Joint L R Frame with groove on all surfaces

Holder
g - —= Sa—
KF Joint
Pin
\ g % % Hole doesn't penetrate through the flat
surface as drawing above.
@KF Joint-- After KF Joint processing on one of the frame, insert KF Joint Holder. Insert KF Joint Pin to another frame and inset to KF Joint Holder, and tighten

by set screw to combine. Tightening is easier from one side as drawing above. Frame with a flat surface doesn't disturb the appearance to joint.

Item No. Length(mm) Processing No.

Please specify KF Processing No. below to the Frame to drill a hole for KF Joint
in case using KF Joint in P70. ‘ [ SFF-3A4 I 2 =BOOI KFS ]

Joint Processing List

[}(j Groove Type 1RowX1Row ®Object Frame-- KRR

KFS

Groove Type 1RowX1Row({2 Flat Surfaces) @O0bject Frame- - [EEEEAA
KFA
R
Groove Type 1RowX1Row<{Opposite Faces Flat) @Object Frame-- [EEEAN
KFS

~

218



_.Sr Standard Frame

SF-35-70

@®Object Frame-+-

Oo ! Groove Type 1RowX2Rows

o

SF-35-70-1F

@ O0bject Frame-+

1RowX2Rows {1 Flat Surface)

Groove Type

KFD

%
.g\}

/

A/ /ey
D )

@ Groove Type 1Rowx2Rows<{2 Flat Surfaces) 0biject Frame - I3

BSimple looking by using KF Joint because drilled hole cannot be seen externally.

[
=}
(2]
£
S
o

219



Memo

220



